
Bearcat 2021 Accessories Price List
Sales Part No Part Description in Use Price

14519-00 COUPLER, 2-5/16, 20,000 LB  N/A USE PART W/ Product LET 0.00
14519-00B COUPLER, 2-5/16, 20,000 LB 154.00
14787-00 HOSE ASSY, CRANKCASE DRAIN 29.00

17854 DEBRIS BAG OBS use 70355-00 0.00
18946-00 BAG, ECHO BEARVAC OBS use 31339-00 0.00
31605-00 METER, TACH/HOUR 50.00
32086-00 CUTTER, TRIPLE BLADE BRUSH 65.00
34772-00 HOSE ASSY, 10MM CRANKCASE DRAIN 28.00
70075-00 KIT, CH6730H ENGINE SHIELD 189.00

70089 LEAF TAMPER ASSY 44.00
70093 WEATHERPROOF KIT 95.00
70096 SCREEN, WLDT FINE BOLT 8HP 114.00
70098 TOW HITCH, CHIPPER SHREDDER OBS use 77000-00 0.00

70135-00 KIT, CH6720H/CH6627H ENGINE SHIELD 130.00
70251 BLOWER ATTACHMENT PACKAGE 8HP 624.55
70252 BLOWER ATTACHMENT PACKAGE 5HP OBSOLETE 0.00

70262-00 KIT, 2 PIECE LOG STRIPPER PLATE 77.00
70303 SCREEN,WLDT WIDE FINE CLIP, OBS use 76202-12 0.00
70305 SCREEN, WLD WIDE MED TAPERED, OBS use 76204-12 0.00
70312 SCREEN, WLD NARROW FINE TAPERED OBS use 76210-12 0.00
70314 SCREEN, WLD NARROW MEDIUM TAPERED OBS use 76212- 0.00

70355-00 KIT, 3" DISCHARGE DEBRIS BAG 129.10
70456-00 KIT, 4.5" ROTOR ALIGNMENT TOOL 102.55

70487 COMMERCIAL BLOWER PACKAGE 1030.70
70492 SCREEN, WLD NARROW LEAF TAPERED OBS use 76214-12 0.00
70494 SCREEN, WELDMENT WIDE LEAF TAPERED OBS use 76206-1 0.00
70531 SCREEN WLDT 3/4 DIA LARGE C/S OBS use 70531-10 0.00

70531-10 WELDMENT, SCREEN 3/4 DIA LARGE C/S 170.00
70559 SCREEN,WLDT LARGE WET DEBRIS OBS use 70559-10 0.00

70559-10 WELDMENT, SCREEN LARGE WET DEBRIS 170.00
70649 WELD, LEAF TAMPER LARGE C/S OBS use 70649-12 0.00

70649-12 LEAF TAMPER, WELDMENT (LARGE C/S) 43.00
70703 WELDMENT, LARGE FINE SCREEN OBS use 70703-10 0.00

70703-10 WELDMENT, LARGE FINE SCREEN 260.00
71052-00 KIT, LS STROKE LIMITER 125.00
71072-00 KIT, CHIPPER ELECTRIC BRAKES 472.80

71110 ATTACHMENT - BLOWER/VACUUM 2326.95
71113 TOW HITCH, WHEELED OBS use 77000-00 0.00
71125 KIT, 8" VACUUM 835.40

71576-00 KIT, 6" CHIPPER ELECTRIC BRAKES 331.20
71605-00 KIT, PTO STAND EXTENSION 253.40
71615-00 KIT, PTO DOLLY 290.00

71666 KIT, 6 INCH BLOWER EXTENSION 355.50
71677 KIT, COUPLER ADAPTER 2" OBSOLETE 0.00
71711 KIT, 4 INCH BLOWER EXTENSION 260.00

Bear Cat -2021 Price List Educational Services Commission of New Jersey 
NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Educational Services Commission of New Jersey 
NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71725-00 KIT, LOW PROFILE DISCHARGE 303.40
71731-00 KIT, FINE-CHIP ROTOR 2161.25

71921 KIT, HOUR METER 175.00
71930-00 KIT, 6" LOW PROFILE DISCHARGE 299.00

72730 KIT, CHIPPER ELECTRIC BRAKES OBS use 71072-00 0.00
73013-00 KIT, NO SPARK MOWBALL 45.00

73060 KIT, TRIMMER BLADE 25.00
73071 KIT, AUTO FEED 5" PTO 887.10
73123 KIT, EZ TRIM MOWER SLOW SPEED 80.00
73244 KIT, AUTO FEED 9" TOWABLE 1150.00

73606-00 KIT, BEARVAC VACUUM HOSE 200.00
73607-00 KIT, BEARVAC CASTOR WHEEL OBS use 76967-00 0.00
73640-00 KIT, NOZZLE WEAR PLATE 49.20
73771-00 KIT, SHREDDER SHIELD 121.00
73899-00 KIT, TRIMMER MANUAL HOLDER 20.20
74000-00 KIT, ENGINE GUARD 119.00

74146 KIT,PINTLE HITCH 222.50
74548-00 14" SABRE TOOTH BLADE 0.00
74601-00 KIT, AUTO FEED 1242.90
74634-00 KIT, 4-1/2 CHIPPER DISCHARGE 240.00
74662-00 KIT, WOODS 4-1/2 OPT. DISCHARGE 148.20
74737-00 KIT, HOSE AND CLAMP 100.20
74745-00 KIT, CHUTE EXTENSION 435.00
74773-00 PLATE, ROTOR WEAR 180.00
74891-00 KIT, TRIMMER LINE HOLDER 99.00
74898-00 KIT, AUTO FEED 8" PTO 1004.50
75291-00 KIT, SPARE TIRE 194.70
75325-00 KIT, AUTO FEED 5 INCH PTO 775.00
75411-35 SCREEN, SMALL COARSE {SC2206} 45.00
75496-35 SCREEN, SMALL FINE {SC2206} 50.00
75579-00 KIT, 6 IN SAFETY BAR (DOMESTIC) 1270.80
75580-00 KIT, 8 + 9 IN SAFETY BAR (DOMESTIC) 1335.00
75581-00 KIT, 12 IN SAFETY BAR (DOMESTIC) OBSOLETE 0.00
75591-00 KIT, TOW FOUR WHEEL OBS use 77000-00 0.00
75685-00 ASSEMBLY, DISCHARGE TRANISTION 158.00
75739-00 KIT, SWING AWAY DEBRIS LOADER OBSOLETE 0.00
75753-00 KIT, TAILGATE ADAPTER 238.25
75754-00 KIT, DEBRIS LOADER LIGHTS OBS use 77105-00 0.00
75761-00 KIT, TOOL BAR 120.35
75768-00 KIT, LINER WEAR DL8390/DL10570 80.00
75873-00 KIT, CHUTE EXTENSION (DL12725) 181.20
75888-00 KIT, CHUTE EXTENSION (DL8390/10570/12653/12720) 166.95
75896-00 KIT, QUICK SPLIT 245.00
75899-00 KIT, THROTTLE DOWN 95.00
75908-00 KIT, FENDERS WITH LIGHTS 163.90
75981-00 ASSEMBLY, LEDGE EXTENSION N/A use 76243-00 0.00
76195-00 KIT, 8 IN SAFETY BAR 1150.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76196-00 KIT, 6 IN SAFETY BAR 965.00
76202-12 SCREEN, WLD WIDE FINE TAPERED OBS use 77386-12 0.00
76204-12 SCREEN, WLD WIDE MED TAPERED OBS use 77387-12 0.00
76206-12 SCREEN, WELDMENT WIDE LEAF TAPERED OBS use 77389-1 0.00
76210-12 SCREEN, WLD NARROW FINE TAPERED OBS use 77382-12 0.00
76212-12 SCREEN, WLD NARROW MEDIUM TAPERED OBS use 77383- 0.00
76214-12 SCREEN, WLD NARROW LEAF TAPERED OBS use 77385-12 0.00
76241-00 KIT, 4-WAY WEDGE W/ STRIPPER 21-27 TON, OBS use 76960 0.00
76243-00 KIT, LEDGE EXTENSION 115.00
76269-00 KIT, 12/14" CONTAINER OBSOLETE 0.00
76273-00 KIT, LOG SPLITTER SUPPORT 55.30
76466-00 KIT, BEARVAC LINER 49.00
76474-00 KIT, LS CYLINDER BRACE 80.00
76636-00 KIT, LOG STRIPPER PLATE 55.55
76775-00 KIT, FINE CHIP DISK OBS use 71731-00 0.00
76820-00 KIT, ADJUSTABLE FEED SPEED 195.00
76893-35 SCREEN, 2" FINE 50.00
76945-00 KIT, CH6730H SAFETY BAR 860.25
76960-00 KIT, 4-WAY WEDGE W/ STRIPPER 21-27 TON 237.50
76965-00 KIT, 4-WAY WEDGE 33-TON STRIPPER 200.80
76966-00 KIT, LOG STRIPPER PLATE 33-TON 55.00
76967-00 KIT, BEARVAC CASTOR WHEEL 130.00
77000-00 KIT, TWO WHEEL TOW 201.00
77041-00 KIT, DEBRIS LOADER TRAILER 1579.00
77073-00 KIT, LINER DEBRIS LOADERS 104.00
77105-00 KIT, DEBRIS LOADER LIGHTS 177.10
77189-00 KIT, LOG SPLITTER CRADLES 86.40
77196-00 KIT, CYLINDER BRACE 47.10
77200-00 KIT, LS FENDERS AND TAIL LIGHTS OBS use 77510-00 0.00
77204-00 KIT, 4-WAY WEDGE AND STRIPPER PLATE OBS use 77560-00 0.00
77211-00 KIT, LOG STRIPPER PLATE OBS use 77515-00 0.00
77232-00 KIT, COUPLER REPLACEMENT 155.00
77353-00 TRAILER, 3" CHIPPER/SHREDDER 899.00
77382-12 WELDMENT, NARROW FINE TAPERED OBS use 78824-00 0.00
77383-12 WELDMENT, NARROW MEDIUM TAPERED OBS use 78825-0 0.00
77385-12 WELDMENT, NARROW LEAF TAPERED OBS use 78827-00 0.00
77386-12 WELDMENT, WIDE FINE TAPERED 125.10
77387-12 WELDMENT, WIDE MEDIUM TAPERED OBS use 78821-00 0.00
77389-12 WELDMENT, WIDE LEAF TAPERED OBS use 78823-00 0.00
77398-00 KIT, LINER DEBRIS LOADER 8 AND 10 139.50
77438-00 KIT, 3" C/S SUPPLEMENTAL TRAILER 40.00
77445-00 KIT, TRIMMER LINE HOLDER 20.00
77450-00 KIT, DEFLECTOR 36.00
77464-00 KIT, RECIEVER MOUNT DL 116.00
77510-00 KIT, LOG SPLITTER LIGHT 253.40
77514-00 KIT, 4 WAY WEDGE 178.00
77515-00 KIT, LOG STRIPPER PLATE WIDE OBS use 70262-00 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77524-00 KIT, TRIMMER WRENCH SET 14.50
77560-00 KIT, 4-WAY WEDGE W/ STRIPPER PLATE OBS use 71504-00 0.00
77639-35 SCREEN, 2" WET DEBRIS 50.00
77640-00 KIT, CYLINDER BRACE LS21 167.68
77641-00 KIT, CYLINDER BRACE LS27 168.64
77700-00 KIT, WIDE BODY TRAILER 45.00
77701-00 KIT, NARROW BODY TRAILER 45.00
77898-00 KIT, E-STOP SWITCH 6" OBS use 73637-00 0.00
78015-00 KIT, HW METAL COVER 15.00
78035-00 KIT, 9" ENGINE SCREEN 78.60
78184-00 KIT, DURA-TIRE SG {Set of Two} 250.00
78187-00 KIT, SG HOUR METER 65.00
78209-00 KIT, SG BRAKE 245.00
78213-00 KIT, MANUAL HOLDER SG FAMILY 50.00
78218-00 KIT, TOW BAR SG FAMILY 175.00
78219-00 KIT, 2" COUPLER FOR 2" HITCH 55.00
78224-00 KIT, SIDE FLAPS SGXTR 60.00
78225-00 KIT, SIDE FLAPS SGPRO 70.00
78287-00 KIT, SIDE FLAPS SGACE 50.00
78357-00 KIT, BELT TENSION PEN 75.00
78820-00 KIT, 3 IN DEBRIS SCREEN - FINE 130.00
78821-00 KIT, 3 IN DEBRIS SCREEN - MEDIUM 95.00
78823-00 KIT, 3 IN DEBRIS SCREEN - WET 76.00
78824-00 KIT, 3 IN DEBRIS SCREEN NARROW - FINE 130.00
78825-00 KIT, 3 IN DEBRIS SCREEN NARROW - MEDIUM 65.00
78827-00 KIT, 3 IN DEBRIS SCREEN NARROW - WET 65.00
33635-00 KIT, MAGNETIC LABELS PW AND GEN RACKS 94.00

85-571-420E GN7100E LIFT BAR OBS use 90300056BE 0.00
85-571-912 PARALLEL BOX FOR 1 X 2000 AND 1 X 3000 WATT INVERTER   0.00
85-591-900 PARALLEL KIT 2000W 30A/120V OBS use 90300023BE 0.00
85-591-901 PARALLEL KIT 3500W 50A/125V OBS use 90300024BE 0.00
85-591-902 CABLE, IG2000 PARALLEL OBS use 90300022BE 0.00
90300022BE PARALLEL CABLES, 2 X 2000W 73.00
90300023BE PARALLEL KIT, FOR 2 X 2000W 184.00
90300024BE PARALLEL KIT, FOR 2 X 3500W 229.00
90300025BE PARALLEL KIT, 1x2KW & 1x3500W 219.00
90300029BE COVER, GENERATOR ECHO BEARCAT OBSOLETE 0.00
90300030BE RACK,STEEL -  GENERATOR OBSOLETE 0.00
90300056BE LIFTING BAR SET 0.00
90300062BE COVER, IG3500E ALL WEATHER 28.00
90300065BE WHIRL-A-WAY, 14" OBSOLETE 0.00
90491046BE BEARCAT, PUMP SAVER -16OZ 20.00

96190000000 NOZZLE SET, #3.0 W/HOLDER OBSOLETE 0.00
96190000003 GUN, FRONTLOAD 3400PSI BLK OBS use 96190000175 0.00
96190000004 WAND, TELESCOPING 18' OBSOLETE 0.00
96190000005 NOZZLE, LONG RANGE SOAP OBSOLETE 0.00
96190000006 ROTARY NOZZLE ASSY, #3.5 OBSOLETE 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



96190000007 NOZZLE SET, #030 PACKAGED OBS use 96190000180 0.00
96190000008 NOZZLE SET, #035 PACKAGED OBS use 96190000182 0.00
96190000011 NOZZLE, Q/C BRASS SOAP PKG OBS USE 96190000167 0.00
96190000013 COUPLER, PIVOT 90 DEG 1/4" QC 27.00
96190000014 GAUGE SET, 5000 PSI OBSOLETE 0.00
96190000015 KIT, SOAP INJ (LOW PRESS) 29.00
96190000017 ASSY, GUTTER CLEANER 15.00
96190000018 WATER BROOM ASSEMBLY, 3GPM OBSOLETE 0.00
96190000022 ANTIFREEZE, BOTTLED OBS use 90491046BE 0.00
96190000023 WHIRL-A-WAY, 12" (HS HEAD) OBS use 90300065BE 0.00
96190000024 WHIRL-A-WAY, 16" YELLOW OBSOLETE 0.00
96190000025 NOZZLE, ROTARY 3200 PSI 48.00
96190000027 HOSE SET, DISCHARGE 50FT 2" OBS use 90750012BE 0.00
96190000028 HOSE SET, DISCHARGE 50FT 3" OBS use 90650003BE 0.00
96190000029 HOSE SET, DISCHARGE 50FT 4" OBS USE 90450003BE 0.00
96190000031 HOSE SET, SUCTION 25FT 2" OBS use 90750013BE 0.00
96190000032 HOSE SET, SUCTION 25FT 3" OBS use 90650004BE 0.00
96190000033 HOSE SET, SUCTION 25FT 4" OBS USE 90450004BE 0.00
96190000134 4000 PSI REPLACEMENT GUN WAND ASSEMBLY OBS use 96 0.00
96190000145 GENERATOR COVER OBS use 90300029BE 0.00
96190000148 NOZZLE, Q/C 25 DEG-020 PKG OBSOLETE 0.00
96190000149 NOZZLE, Q/C 25 DEG-025 PKG OBSOLETE 0.00
96190000150 NOZZLE, Q/C 25 DEG-030 PKG OBSOLETE 0.00
96190000151 NOZZLE, Q/C 25 DEG-035 PKG OBSOLETE 0.00
96190000152 RACK, UNIT DISPLAY BLACK OBSOLETE 0.00
96190000153 SET  PRESSURE WASHER ACC.OBSOLETE 0.00
96190000155 NOZZLE SET, #025 NO MANUAL OBSOLETE 0.00

GNRACK GENERATOR DISPLAY RACK OBS use 90300030BE 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



Bearcat 2021 Parts Price List
Sales Part No Part Description in Use Price

35316-00 DECAL, SC-4213 SERIAL NUMBER 14.25$          
31989-00 DECAL, 3" CHIPPER CHUTE 11.35$          
76976-10 BRACE, FENDER 29.55$          
35315-00 DECAL, SC-3013 SERIAL NUMBER 10.00$          

15419 BOLT, 5/16"X8-3/4"L-TYP BATTERY 17.60$          
78294-10 BRACKET, RHS SIDE FLAP SGACE 29.60$          
72865-10 PLATE,  AXLE SAFETY 24.65$          
77484-10 RING, DL DISCHARGE 23.50$          
75204-10 ANGLE, IDLER BRACKET 29.15$          
36669-00 MANIFOLD, OVERRUN AND REVERSE CHECK -10 599.60$        
74354-10 PLATE, EXT. LOCK 23.70$          
35314-00 DECAL, SC-2013 SERIAL NUMBER 9.45$            
31768-00 CATALOG, CRARY BEAR CAT DOMESTIC 0.75$            
77873-10 BRACKET, HOUSING 25.80$          
34505-00 HARNESS, E-STOP WIRE 144.00$        
34790-00 DECAL, ST5.30-12 LOAD RATING SG 25.10$          
34701-00 CABLE, BRAKE ASSY LD SERIES 314.20$        
34716-00 HARNESS, HONDA SG KILL SWITCH 32.50$          

12559 MOTOR, 3.45 CU IN HYDRAULIC 1,282.60$    
14256-00 AXLE, 2500 LB TORSION 541.30$        
34661-00 HARNESS, BRIGGS HW KILL SWITCH 30.50$          
32326-00 HARNESS, CHIPPER TRAILER 121.00$        

12765 MOTOR, 1.24 CU. IN. HYD 987.90$        
34662-00 HARNESS, HONDA HW KILL SWITCH 30.00$          
76932-10 BRACKET, LIGHT LH 31.51$          
77209-00 KIT, CH500H OEM OWNERS 174.40$        
70463-00 KIT, LS OIL FILTER 117.60$        
35266-00 DECAL, ECHO WT MAINTENANCE 9.25$            
33853-00 DECAL, HW SAFETY INFORMATION 6.60$            
34564-00 SWITCH, NORMALLY CLOSED E-STOP 80.00$          
33681-00 SHIELD, TRIMMER 68.00$          
78826-00 KIT, 3 IN DEBRIS SCREEN NARROW - STANDARD 80.60$          
34507-00 SEAL, KIT MASTER LIFT CYL (JD600) FOR 34506-00 48.00$          

16588 ASSEMBLY, HYDRAULIC FILTER 56.00$          
73636-00 KIT, E-STOP SWITCH 8"/9" 443.10$        
34420-00 MOTOR, 45.45 CID HYDRAULIC 688.90$        
73637-00 KIT, E-STOP SWITCH 6" 446.60$        

12175 DECAL, BLADE DANGER ISO 3.30$            
73678-10 WELDMENT, BELT GUIDE 29.45$          

73035 ASSEMBLY, HYD CONTROL BOX 1,481.10$    
75715-10 WELDMENT, HOSE SUPPORT 134.10$        
78119-00 KIT, E-STOP SWITCH 5" 514.40$        
72404-12 STRIP, AXLE SPACER 26.85$          
31658-00 AXLE, 2000 LB TORSION 434.90$        
33798-00 BLADE, 30 DEGREE 1/4" CHIPPER 24.40$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77589-00 KIT, 3" NARROW SHREDDER KNIVES 142.20$        
16522B PIN, 1/2" X 5/8" CLEVIS 3.85$            

71846-10 PLATE, HITCH SADDLE 16.85$          
35259-00 DECAL, MODEL ECHO SC-2013 11.75$          
35260-00 DECAL, MODEL ECHO SC-3013 11.75$          
35261-00 DECAL, MODEL ECHO SC-4213 11.75$          

36328-00B BEARING, 2 IN BORE FLNG BLK 4 BOLT 68.00$          
12314 BEARING, 3/4 BALL 10.30$          
70468 KIT, TWO BELT UPGRADE 269.00$        

71839-00 ASSEMBLY, 6" FEED ROLLER SERVICE 513.80$        
31154-00 SHAFT, 6 SPLINE 5" CHIPPER 168.00$        
78822-00 KIT, 3 IN DEBRIS SCREEN - STANDARD 99.30$          
74811-10 SHIM, DISCHARGE SPACER RING 16.55$          
76862-40 ADJUSTOR, SHREDDER 41.33$          
78267-12 HINGE, SG TRAILER 44.36$          
34268-00 CHAIN, #35 X 60 PITCH W/ C LINK 16.45$          
78375-00 KIT, CH611DHM MANUAL VALVE 1,727.50$    
78414-00 ASSEMBLY, HANDLE WITH DECALS CBC SGPRO 234.00$        

17958 PULLEY,CAST 4" OD,1"BORE,B GRV 45.50$          
32693-00 ASSEMBLY, SWITCH MOMENTARY N/O 94.00$          
70754-10 SUPPORT, 9 INCH CHIPPER FLAP 21.91$          

12674 CONTROL, LOFA HYDRAULIC 1,219.20$    
33281-00 SENSOR, M18 PROXIMITY 128.00$        
32346-00 HARNESS, 3" CS TRAILER 125.00$        

13937-00B MOTOR, 24 CU IN HYDRAULIC 1,099.20$    
72781-00 SPACER, TRIMMER HEAD 8.15$            
13944-00 MOTOR, 19 CU IN HYDRAULIC 1,056.70$    
32305-00 HARNESS, BRIGGS ENGINE KILL SWITCH 90.00$          
76086-00 KIT, CH9540H 3 PT PTO BRACE 76.20$          
32045-00 GUIDE, RECOIL ROPE 17.40$          
34273-00 CABLE, 3 SPEED HWS 29.00$          

16559 BELT, 3B83 BANDED 117.00$        
34767-00 BRACKET, LED LICENSE LIGHT 9.55$            
15138-00 BOLT, 5/16 X 2-1/2 FLANGE NC 1.20$            
78291-10 SPACER, 5/8 OD X 11 GA X 0.750 5.35$            
74653-00 PLUG, LINE HOLDER TUBE 16.00$          
32883-00 BELT, 2RBX56 82.00$          
70168-00 ASSEMBLY, 8 INCH DISCHARGE CHUTE 359.60$        
35263-00 DECAL, ECHO SMALL 4.25$            
13897-00 VALVE, 4 POSITION W/DETENTS 1,166.50$    

0403-0127-00B SHEAVE, 5V15.0-5 GROOVE E 352.70$        
78301-00 WELDMENT, PLATED ADJUSTMENT PIN SGACE 55.00$          

16764 AXLE, 3000LB TORSION 552.10$        
12455B SHEAVE, 3BQ12.4, SK 145.00$        

74790-12 WELDMENT, T-BOLT 40.73$          
76938-10 TUBE, 1.75 OD X .109 WALL X 1.150 21.15$          

70738 KIT, TOOL STEEL BLADE 70.15$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71271 WELDMENT, CHIPPER CLUTCH PEDAL 120.30$        
73912-00 WELDMENT, DISCHARGE PIN 38.50$          
73713-12 WELDMENT, FEED CRANK 69.35$          
12457B BUSHING, SD 1-3/8" 64.30$          

75851-12 SPACER, 1/2 OD X 14 GA X .36 9.05$            
32324-00 HARNESS, CHIPPER TRAILER 142.00$        

17959 PULLEY,CAST 4"OD,3/4"BORE,B GR 45.00$          
16768 CHAIN, HITCH EXTENSION 35.86$          

71848-00 ASSEMBLY, 4.5" PTO DRIVELINE 394.80$        
14971-00B LATCH, RH HINGE 27.40$          

16091B T-BOLT CLAMP 8-3/8" 19.00$          
76477-00 PAD, FOAM FUEL TANK DAMPER 9.55$            

74297-12B SPACER, STANDOFF 19.15$          
73766-00 SPACER, .50 X 1.25 9.60$            
73760-00 SPACER, .63 OD X .75 23.50$          
41158B BUSHING 3.25$            
71315 CUSHION, TRAILER 32.11$          

78033-00 ASSEMBLY, BELT SHIELD WITH DECALS 555.50$        
75891-12 SPACER, 1/2 OD X 14 GA X .43 8.75$            
77915-00 ASSEMBLY, BELT SHIELD W/DECALS 578.10$        

73087 TUBE, HYD RESERVOIR 23.20$          
77593-00 TUBE, 1-1/16 OD X 0.82 X .455 10.00$          
76770-00 SPACER, .75 X .532 X 1.390 10.05$          
73931-12 SPACER, VALVE SPOOL 8.95$            

73281 COVER, IDLER SPRING 24.65$          
77856-00 ASSEMBLY, 3 IN DOM BODY COMPONENTS 293.00$        
73290-12 TUBE, SPRING CLUTCH 7.90$            
74453-12 WELDMENT, SHAFT ENGAGEMENT ARM 48.70$          
76472-00 PAD, FOAM LS CYLINDER BRACE 10.25$          

70357 PIVOT TUBE 10.25$          
71632 CABLE, 3/16 X 24-1/2 26.25$          
72974 SHAFT, CHIPPER TOP PIVOT 21.75$          

70036B SPACER, 0.75 X 0.62 6.90$            
73485-00 PIN, RETAINER 8.05$            
72229-12 TUBE, CASTOR 20.85$          

70115 SPACER .75 * 1.55, WITH HOLE 17.40$          
73544-00 KIT, RESHARPENED BLADES 62.90$          
17088B BUSHING, JA 7/8 25.00$          

76358-00 SHAFT, SHREDDER 23.40$          
71437 DEBRIS SCREEN, STUMP GRINDER 8.20$            
72517 COVER, IDLER SPRING 10.55$          

75035-12 U-BOLT, TANK 32.99$          
73895-00 CAP, LARGE SHAFT 33.58$          

70114 SPACER, .75 * 2.46" 11.90$          
71108-10 BRACKET, VACUUM SUPPORT 44.88$          
74836-00 TUBE, 1.5" X 2.125" HEAT SHRINK 10.75$          
74991-12 SPACER, .63 X 1.035 9.60$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



32330-00 DECAL, CHECK WHEELS 2.40$            
71634 SPACER, .63 X 3.06 21.75$          

73696-00 LEVER, FLOW CONTROL 23.55$          
73373-00 WELDMENT, SPINDLE HW MODELS 37.53$          
70362-12 SPACER, .63 X .63 PULLEY 4.95$            
73301-35 BATTERY, HOLD DOWN 21.15$          

70898 TUBE, IDLER ARM 16.30$          
72724 HANDLE, TRIMMER HEIGHT ADJUST 26.60$          

72766-12 WELDMENT, TRIMMER AXLE (HONDA) 62.15$          
72706-12 WELDMENT, TRIMMER AXLE 72.60$          

70741 KEY, 3/16 X 3/16 X 3 3/4 5.10$            
16486 FOAM, BOTTOM SEAL 6.40$            

74865-12 WELDMENT,BOTTOM HINGE 50.45$          
12324 CABLE, BRAKE CONTROL 22.00$          

75505-12 WELDMENT, TRIMMER AXLE 64.75$          
71256-33 TUBE, DISCHARGE LOCK PIVOT 12.95$          
73632-35 HOLD DOWN, BATTERY 27.56$          
73911-00 PIN, CLUTCH PIVOT 23.40$          

70902 SHAFT, IDLER PIVOT 26.31$          
72820-12 STRIP, SWITCH MOUNT 21.05$          

73240 KEY, 3/16 X 1/4 X 3/4 STEP 11.85$          
73542-12 WELDMENT, PIVOT ROD 68.50$          
15868-00 KEY, .375 X .230 22.50$          

70687 CHIP-N-VAC SHREDDER KIT 111.55$        
46885-00 SPACER, .75 X 2.06 10.65$          
74600-00 KIT, FORAGE CHOPPER DISCHARGE 80.00$          
74124-12 WELDMENT, HEAT SHIELD 118.85$        
73481-00 SHIELD, TUBE 9.35$            

71257 SHAFT, IDLER PIVOT 22.47$          
74041-12 SPACER, IDLER SHEAVE 5.35$            
77331-00 SPACER, 7/8 OD X 0.562 ID X 2.38 12.05$          

0122-0224-00B KEY, 5/8 SQ X 2-1/2 18.75$          
80023 SPACER, RH 8.05$            

75481-12 ROD, BRAKE 28.76$          
77762-00 SPACER, 1-1/2 X 11/16 13.60$          
72775-12 CLAMP, HANDLEBAR 24.54$          
71882-12 WELDMENT, SHREDDER GRATE 58.75$          
75731-35 WELDMENT, VACUUM INTAKE 275.00$        
75503-12 WELDMENT, TRIMMER AXLE 43.79$          
71682B SPACER, .75 X 1.18 16.55$          

71540-12 WELDMENT, LOG SPLITTER WEDGE 221.00$        
71105 SPACER, .875 X .81 5.55$            

73959-35 HINGE, ACCESS COVER 29.35$          
74431-00 BUSHING, IDLER PIVOT 14.05$          

71316 WELDMENT, IDLER ARM 71.80$          
32845-00 HOSE, 1/2" X 3" FUEL LINE 14.10$          
77692-00 KIT, WT24T 14 DEG ANGLE REDUCTION 37.80$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



70206-12 PIN, SCREEN RETAINING 26.80$          
72819 SPACER, 1-1/2 X 1/2 11.30$          

75323-10 SPACER, 5/8 OD X 11GA X 0.760 5.70$            
71562-00 ASSEMBLY, WIDE BODY RENTAL HOPPER W/DECALS 198.40$        
78001-10 SPACER,  15/16" X 1.32" 12.95$          
70496-10 BRACKET-BELT GUARD (W/HOLE) 12.95$          
76367-00 SPACER, 1 OD X 1-1/8 X 5/8 ID 7.25$            
32332-00 DECAL, SAFE COUPLING 2.90$            
77346-00 SERVICE, PUMP MOUNT 80.05$          

7507B CLAMP, TUBE 25.37$          
78255-00 KIT, 6"  TRAY/KNEEBAR 891.20$        
78289-00 KIT, CLUTCH 34834-00 REBUILD (SGACE) 90.60$          
77296-00 KIT, WT24 OWNERS 22.26$          

72267 KIT, BLOWER OWNERS 73.50$          
73751-12 WELDMENT, AIR SHUTOFF PIVOT 43.43$          
74545-00 KIT, 12/14 CHIPPER OWNERS 38.12$          
76624-00 FENDER, BLACK PLASTIC DRILLED 35.91$          

70287 WELDMENT, 2 BELT IDLER 71.40$          
70327-00 CONDUIT, 1/4 X 32 WIRE 23.90$          
77620-00 SHAFT, .50 X 3.0 10.50$          
75735-12 WELDMENT, INLET ADPATER 85.95$          
74388-00 CRANK, CHUTE ROTATOR 25.70$          

70397 ROD- DOOR PIVOT 10.60$          
77302-00 SHAFT, WIDE ROTOR FLAIL MOUNT 22.80$          
72173-33 SPACER, CHIPPER ANVIL 29.28$          
74952-12 WELDMENT, CLEVIS 100.95$        

72679 CONDUIT, 1/4 X 16 WIRE 7.70$            
75812-12 TUBE, LEDGE 41.70$          
78154-00 WELDMENT, PLATED ADJUSTMENT PIN SGXTR 62.00$          
75401-00 SPACER, .75 X .750 9.30$            
36097-00 COUPLER, SPLIT 1" TO 1/2" SHAFT (see Notes) 109.55$        
74729-00 SHAFT, VACUUM FAN 64.30$          
77264-00 PIN, FLAIL ROTOR NARROW BODY 14.15$          
76254-00 TUBE, SPACER 1-3/4 X 1.520 26.75$          
75854-00 SEAL, 1 X 7 FOAM 3.15$            
78174-00 WELDMENT, PLATED ADJUSTMENT PIN SGPRO 63.00$          
75237-00 CRANK, DISCHARGE 48.00$          
72919-35 WELDMENT, CONTROL ARM 193.85$        
71847-00 PAD, FOAM HANDLEBAR 28.90$          

71352 WELDMENT, CONTROL ARM 189.45$        
71352-35 WELDMENT, CONTROL ARM 189.45$        
72911-10 WELDMENT, TOP GRAB ROLLER 294.00$        
74221-00 KIT, 065/365 TRIMMER OWNERS 62.60$          
75317-35 WELDMENT, SAFETY BAR 198.00$        

73159 CHAIN, HOSE SUPPORT 29.70$          
74795-12 ARM, CLUTCH 67.85$          
75906-12 SPACER, 1-1/4 OD X 11 GA X 1.25 9.95$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77714-00 KIT, VENTED TANK PARTS 44.91$          
77745-12 WELDMENT, WHEEL BRAKE 48.30$          
33883-00 DECAL, SPARK ARRESTOR 3.40$            

12639 PULLEY, 4-1/4 X 7/16 A 28.96$          
73697-00 CLEVIS, FLOW CONTROL 24.02$          
75720-35 WELDMENT, VACUUM INTAKE 275.00$        
77564-00 KIT, 6 INCH SUPPORTS WITH STEEL TANK 207.00$        
74283-00 BAR, ROLLER GRIP 25.88$          

70187 SMALL ROTOR KNIFE SHAFT 10.40$          
73614-40 BRACKET, BAG HANGER 22.65$          
15160-00 BOLT, 5/16 X 5/8 FLANGE NC 0.70$            
15258-00 BOLT, 5/16 X 1 1/4 FLANGE NC 0.70$            
73541-12 WELDMENT, CLUTCH PEDAL 91.80$          
75272-10 ROD, BRAKE 34.47$          
73714-00 ASSEMBLY,FAN HOUSING/INTKE W/DECALS 178.00$        
71278-10 BRACKET, LH TAILLIGHT 28.80$          
71279-10 BRACKET, RH TAILLIGHT 28.80$          
77643-00 SHAFT, KNIFE 10.80$          

71579 SPACER .63 X 6.44 12.65$          
72493 KIT, CHIPPER BLADE 1/4" 115.80$        
70031 KNIFE SHAFT 10.90$          

74119-12 ARM, THROTTLE CONTROL 22.00$          
75949-00 TRIM, SLOT EDGE COVER 16.50$          

16487 FOAM, SIDE SEAL 7.35$            
70867-10 GUIDE, BELT DL ENGINE MOUNT 22.10$          
72982-12 WELDMENT, TRIMMER AXLE 71.85$          
78359-10 SPACER, 2-1/4 X  3.43 24.15$          
77713-00 KIT, WT24S WELDED CLUTCH WHEEL REPLACEMENT 186.00$        

70256 ANGLE, 8 HP GUARD SUPPORT 11.20$          
75502-00 KIT, SHREDDER 92.30$          
77129-00 ASSEMBLY, SWITCH BOX SERVICE PART 159.20$        
73950-12 WELDMENT, CONTROL ARM 169.05$        
77966-00 KIT, CH911DH DDC TRAY/KNEEBAR 772.50$        
77963-00 KIT, 8"/9" DDC TRAY/KNEEBAR 769.20$        

72472 JACKSHAFT, PTO CHIPPER 43.59$          
15118-00 BOLT, 5/16 X 3/4 SERR FLANGE NF 1.95$            
78088-10 BRACKET, HW KILL SWITCH 15.90$          
73992-12 COLLAR, CHIPPER LOCK 27.85$          

70254 ANGLE GUARD SUPPORT 5HP 29.90$          
78265-10 BRACE, LHS SG FENDER 24.10$          
78266-10 BRACE, RHS SG FENDER 24.10$          
77968-00 KIT, CH922DH DDC TRAY/KNEEBAR 768.50$        

70782 3HP FRAME W/ DECALS 372.60$        
75853-00 SEAL, 1 X 14.13 FOAM 4.05$            
77662-00 ASSEMBLY, TRIMMER HANDLE BAR 79.00$          
73884-10 WELDMENT, HOSE HOLDER/PLUG 41.00$          

16503 SEAL, ADAPTER SIDE 8.35$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71708 CONDUIT, 1/4 X 47 WIRE 18.85$          
74679-00 KIT, CHOPPER BLADE 84.00$          
75861-12 WELDMENT, CLEAN OUT DOOR 75.75$          
74438-00 INFO, CASE SKID STEER 34.80$          
74439-00 INFO, NH SKID STEER 34.80$          
77618-00 KIT, SC2170 SHREDDER KNIVES ADDITIONAL 68.80$          
74972-00 WELDMENT, FILLER BLADE 68.80$          

70319 SPACER, PLAIN .75 X 1.55" 10.85$          
77704-00 ASSEMBLY, RH WHEEL 108.85$        
77705-00 ASSEMBLY, LH WHEEL 108.85$        
76057-00 WELDMENT, FILLER BLADE 74.20$          
74117-00 HOSE, AIR INTAKE 61.25$          
76895-00 KIT, SC2170 OWNERS 50.80$          
71166-10 WELDMENT, FRONT BELT GUIDE 40.92$          
75543-10 PLATE, LICENSE 24.55$          
74681-12 WELDMENT, DISCHARGE BASE 603.40$        
75858-12 WELDMENT, DISCHARGE BASE 609.90$        
74355-10 HINGE, CHUTE EXT 23.01$          
75600-12 WELDMENT, ARM STEERING 49.65$          
73864-00 PIN, CHIPPER PIVOT 87.15$          
75529-12 SHAFT, LONG AXLE 20.70$          
72750-00 KIT, BIG CHIPPER SAFETY BAR LATCH 1,557.30$    
75738-10 SPACER, 5/8 OD X 11 GA X 2.13 20.95$          
73182-12 HINGE, BELT GUARD 29.45$          
75626-35 WELDMENT, FAN HOUSING 757.10$        
71865-40 WELDMENT,  CHIPPER CLUTCH PEDAL 128.20$        
73622-10 HANDLE, LOWER BEARVAC 40.86$          
72957-00 ASSEMBLY, 8" DISCHARGE CHUTE 342.10$        
75692-35 WELDMENT, FAN HOUSING 685.40$        
78210-10 BRACKET, RHS MANUAL HOLDER SGXTR SGPRO 21.45$          

12041 SEAL, 1/2 X 1 1/2 X 79 FOAM 25.29$          
77740-12 WELDMENT, BELT KICKER SUBARU 25.78$          
74329-12 BAR, BRAKE COMPENSATOR 9.60$            
76672-00 KIT, CH6730H OWNERS 240.00$        
77994-10 COLLAR,  CHIPPER  LOCK 29.10$          
77601-00 CH6730H ANVIL, SUPPORT KIT 80.50$          
73773-12 GUIDE, HONDA BELT 26.85$          
74169-12 WELDMENT, CONTROL ARM 168.45$        
74169-35 WELDMENT, CONTROL ARM 168.45$        
77800-00 ASSEMBLY, WTI90 LINE HOLDER 44.10$          
75852-12 PLUG, SWITCH 12.30$          
75103-10 WELDMENT,  HOOD HINGE 59.20$          
78361-00 KIT, CHIPPER BLADE (1/2 INCH) 247.00$        
73634-12 WELDMENT, SP LONG AXLE 72.15$          

70064 C/S KNIFE SHAFT 12.45$          
72568-33 HINGE, EXTENSION TRAY 36.47$          
70416-10 WELDMENT, PTO C/S STAND 100.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78093-00 KIT, HW AND SG KILL SWITCH 50.00$          
70217 WELDMENT,BLOWER IMPELLER 5+8HP 55.40$          
73199 TUBE, 8" DROP 41.93$          
70973 KIT, WIDE SHREDDER 178.50$        

73449-10 WELDMENT, REAR STABLIZER 61.70$          
70454 LIGHT INSTALLATION KIT 90.35$          

77247-12 BRACKET, CABLE ANCHOR 15.55$          
73645-00 ASSEMBLY, EXHAUST DOOR 96.35$          
75318-12 WELDMENT, CONTROL ARM 161.95$        
73678-12 WELDMENT, BELT GUIDE 28.95$          

70073 KIT, 70050 OWNERS 53.00$          
33957-00 PULLEY, 4.0/2.5 X .875 53.00$          
78400-00 ASSEMBLY, SGACE BELT SHIELD WITH DECALS CBC 324.80$        
75928-33 LOCK, SAFETY BAR 18.65$          
77150-12 WELDMENT, ROLLER SLIDE 267.00$        
34935-00 HARNESS, LOW OIL ALERT 21.40$          
75501-12 WELDMENT, TRIMMER AXLE 48.50$          
75530-12 WELDMENT, SP LONG AXLE 67.40$          
70320-12 WELDMENT, BAIL TRIMMER KILL 26.43$          
73354-10 WELDMENT,   SPACER 26.49$          
75876-12 WELDMENT, RING CLAMPING 68.05$          
74222-12 LOCK, SAFETY BAR 29.95$          
71492-33 HINGE, EXTENSION TRAY 40.04$          
75428-12 MOUNT, PUMP 41.42$          
71954-00 KIT, 4" BELT GUIDE 88.40$          
74167-33 SHIELD, SAFTEY BAR SWITCH 55.30$          
78413-00 ASSEMBLY, BELT SHIELD WITH CBC DECALS SGPRO 330.40$        
75639-12 WELDMENT, TRAILER DEBRIS LOADER 404.40$        
74550-00 PIN, CHIPPER LIFT 73.05$          

70074 KIT, 70080 OWNERS 64.75$          
73571-12 WELDMENT, IDLER 93.05$          
76890-00 KIT, CH8720iH OWNERS 282.00$        
78409-00 ASSEMBLY, BELT SHIELD WITH CBC DECALS SGXTR 328.30$        
74546-00 WELDMENT, LH ONE WAY CLUTCH 53.80$          
74547-00 WELDMENT, RH ONE WAY CLUTCH 53.80$          

70101 MAINTENANCE KIT, 8HP B + S 96.35$          
77218-12 PLATE, CAST WEDGE BOTTOM 25.55$          
70417-10 WELDMENT, PTO C/S POST 68.20$          
75162-35 WELDMENT, TANK FUEL 446.10$        
74571-12 WELDMENT, CHIP DEFLECTOR 43.10$          
74516-12 WELDMENT, BELT KICKER 25.37$          
77219-00 SPACER, BEARING HUB 17.35$          
77300-00 ASSEMBLY, 3 IN DOM NAROW BODY 290.00$        
76684-10 WELDMENT, AXLE BEARVAC PUSH 49.35$          
75208-10 BRACKET, IDLER MOUNT 20.35$          

70643 WELDMENT,BV MEDIUM SCREEN 52.40$          
74555-10 WELDMENT, SPACER 2.00 x 2.55 27.98$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



72295-10 WELDMENT, 8"/9" TOP SAFETY BAR 99.20$          
71924 WELDMENT, ROTOR SHAFT 181.70$        

32004-00 SPRING, RETAINER COMPRESSION 2.95$            
78202-10 BRACKET, ADJ PIN SG FAMILY 14.75$          
73887-10 WELDMENT, 4" HOSE NOZZLE 65.10$          
74428-12 PIN, LOCKUP 24.28$          
78201-10 BRACKET, BRAKE CABLE SGXTR SGPRO 14.85$          
75495-00 KIT, OWNERS SC2206 74.30$          
78091-10 BRACKET, SG340 KILL SWITCH 17.85$          
75713-12 MOUNT, ENGINE SUPPORT 35.38$          
73757-12 WELDMENT, AIR HANDLE 43.19$          

70109 BRACKET, SLIDING HITCH 25.41$          
74206-35 BOX, RESET BUTTON 45.40$          
71054-12 WELDMENT, EXTENSION TRAY 365.40$        
73205-10 SPACER, 7/8 X 3/4 6.10$            
73767-12 GUIDE, BRIGGS BELT 12.25$          
71960-00 KIT, STUMP GRINDER BEARINGS 117.05$        

71678 WELDMENT, COUPLER ADAPTER 126.95$        
73775-12 BRACKET, TRIMMER KILL SWITCH 12.40$          
75656-12 WELDMENT, HITCH 446.70$        
74407-12 HANDLE, BRAKE 21.85$          
74222-33 LOCK, SAFETY BAR 28.15$          
75391-10 WELDMENT, AXLE PIVOT 38.21$          

71368 ANGLE, CABLE ATTACHMENT 28.20$          
71837-12 WELDMENT, CASTOR 62.75$          

72754 WELDMENT, TRIMMER PULLEY 56.70$          
77224-12 WELDMENT, PUMP MOUNT 72.45$          
70931E KIT, SC3342XE OWNERS 63.00$          
16684B HOSE ASSY, -10FMJSW90/-10FMJ X 42 63.00$          

75091-10 WELDMENT,  HYDRAULIC TANK 316.50$        
75106-00 SEAL, ENGINE 28.70$          
71280-10 COLLAR, CHIPPER LOCK 19.81$          
71627-00 ASSEMBLY, CH611DHXE/XF TRAILER W/ DECALS VIN 4,651.50$    
78182-00 KIT, SG TEETH 500 SERIES GREEN (ROCKY SOIL) 167.00$        
78183-00 KIT, SG TEETH 500 SERIES RED (SAND/CLAY) 167.00$        
72420-12 ANVIL, 4 INCH CHIPPER 29.65$          
75608-10 WELDMENT, TOW BAR 64.50$          
72204-10 SPACER, 2.0 X  1.88 16.25$          
73581-12 GUIDE, BELT 19.60$          
71626-00 ASSEMBLY, CH611DH TRAILER/DECALS 4,709.00$    

70897 WELDMENT, IDLER ARM 49.15$          
73668-12 WELDMENT, BELT SHIELD 194.40$        
75427-35 WELDMENT, C/S AXLE 65.90$          
76626-00 KIT, BOBCAT WC-5A VALVE ORIFICE 79.10$          
74709-12 WELDMENT, INNER BELT GUARD 72.60$          
74638-00 ASSEMBLY, HITCH 198.00$        
74721-00 KIT, TRUCKLOADER IDLER 335.10$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



73619-12 WELDMENT, AXLE PIVOT 132.75$        
71717-10 HANDLE, RENTAL HOPPER 38.07$          
73479-12 WELDMENT, IDLER 80.35$          
72242-12 ADAPTER, 6 INCH HOSE 50.60$          
74380-12 WELDMENT, UPPER PIVOT 60.85$          
77924-10 BRACKET, HWS ENGAGE CABLE 10.15$          

70145 KIT, 70085 OWNERS 88.15$          
72710-12 WELDMENT, AXLE PIVOT 28.62$          
75176-10 WELDMENT, SHAFT ENGAGEMENT ARM 37.04$          
74690-10 STAND, JACK 35.01$          
72794-12 WELDMENT, TANK STRAP 51.50$          
73671-40 WELDMENT, CASTER WHEEL MOUNT 48.20$          
74784-10 COLLAR,  CHIPPER  LOCK 19.28$          

73158 SPACER, 1.0 X 3-1/8 10.45$          
72086-10 WELDMENT, 6"  TOP SAFETY BAR 109.05$        
74023-00 SHAFT, CHIPPER DRIVE 178.10$        
73704-00 KIT, 74500 OWNERS 146.55$        

71381 KIT, NARROW SHRED-RECT KNIVES 121.75$        
76528-00 ASSEMBLY, CHIPPER CHUTE SUPPORT 100.45$        

71671 HOSE, 6 IN X 7 IN 38.89$          
76866-10 HINGE, EXTENSION TRAY 34.47$          
34699-00 SHEAVE, 1B4.6 SDS 37.00$          
73479-10 WELDMENT, IDLER 81.60$          
75175-10 HANDLE, ENGAGEMENT 44.60$          
78643-00 KIT, SPRING CLUTCH 34834-00 52.20$          
77885-12 WELDMENT, 5"/6" ANVIL SPACING 29.85$          
76217-12 WELDMENT, ENGINE MOUNT PLATE 71.05$          
75009-00 ASSEMBLY, DISCHARGE ROTATOR 339.70$        
75650-12 LINER, WEAR 26.23$          
73698-00 FOAM, PLATE SEAL 15.10$          
73615-10 BRACKET, CLUTCH CABLE 22.80$          
75180-10 WELDMENT, SHIELD HEAT 68.90$          
73450-10 GUIDE, TRAILER SUPPORT 29.89$          
75924-10 HANDLE, HWT HEIGHT ADJUST 26.85$          
74595-00 KIT, 76854 OWNERS 154.00$        
75138-00 KIT, SC3269 OWNERS 77.00$          
74551-12 GUARD, 6 INCH CHIPPER ROCK 85.00$          
17879B PIN, 3/8 X 1-1/2 LYNCH CMS F1 5ANS 15.50$          

75767-00 KIT, LINER WEAR DL12725 78.00$          
74161-10 WELDMENT, PIVOT TUBE 86.10$          
73978-10 WELDMENT, MOTOR  COVER 88.10$          
76796-10 BRACKET, IDLER 68.35$          

72568-12B HINGE, EXTENSION TRAY 36.19$          
71633-10 ANGLE, SPRING ANCHOR 20.25$          

70205 KIT, TOOL STEEL CHIPPER BLADE 61.00$          
71042-00 KIT, WV HARD BOTTOM BAG 245.00$        
75352-10 HINGE, CHUTE EXT 21.26$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71526-10 WELDMENT, CONTROL PIVOT 86.05$          
17997 KIT, REPLACEMENT PULLEY + SPACER 57.40$          

78477-00 ASSEMBLY, CH4420 CHIPPER HOUSING CBC 313.30$        
78199-10 WELDMENT, LOWER HANDLE SGXTR 165.00$        
74062-10 WELDMENT, IDLER  ARM 148.80$        
77542-00 KIT, CONTROL SWTICHES (6 IN GAS) 382.00$        
75532-12 WELDMENT, AXLE PIVOT 153.75$        
78492-00 ASSEMBLY, CH45540 CHIPPER HOUSING CBC 424.10$        
75519-35 COVER, FRONT TRIMMER 25.15$          
78180-00 WELDMENT, ROTOR SHAFT SGXTR SGPRO 100.70$        

70071 GUARD, SHREDDER INLET 16.85$          
77497-00 ASSEMBLY, 6 INCH SCREEN 253.00$        
74328-10 BRACKET, ROD HANGER 25.30$          

72252 ASSY, CHIPPER DISCHARGE 492.90$        
72589 ASSEMBLY, S CHIPPER DISCHARGE 492.90$        

75040-10 WELDMENT, IDLER 133.05$        
78645-00 KIT, SPRING CLUTCH 34675-00 & 34676-00 68.80$          
72499-10 SPACER, 1-3/4 X 7/16 X .120 8.60$            
73396-00 KIT, SC5627B OWNERS 174.00$        
77291-00 KIT, SC3206 OWNERS 87.00$          

70316 SHREDDER KIT 2HP 65.25$          
71050-10 WELDMENT, BLOCK ADJUSTOR 43.50$          
73587-12 PLATE, SWITCH MOUNT 17.50$          
74356-12 WELDMENT, IDLER 102.25$        
76679-10 WELDMENT,  CHUTE SUPPORT 84.95$          
77461-00 KIT, SC3305E OWNERS 90.00$          
71012-10 WELDMENT, BLOWER VAC INLET 199.20$        
73623-10 WELDMENT, BEARVAC HEIGHT ADJ. 40.95$          
72678-10 BRACKET,  SCREEN HOLDER 22.75$          
76993-10 WELDMENT, HITCH BOTTOM 96.05$          
31736-00 TAIL LIGHT, OVAL LED 27.70$          
70213-10 WELDMENT, BLOWER ATTACHMENT 8HP 278.00$        
77050-40 WELDMENT, FAN HOUSING 1,041.20$    
77011-10 WELDMENT, HANDLE 46.50$          
71106B SPACER, .875 X 1.25 4.65$            

78676-00 ASSEMBLY, CBC HYDRAULIC TANK SERVICE PART 281.00$        
76525-10 LEVER,  CLUTCH ENGAGEMENT 28.80$          

71063 WLDMNT, REAR HITCH MOUNT 86.55$          
76523-12 GUARD, MUFFLER KOHLER 19.25$          
76084-10 WELDMENT, BRACE  PTO 3-POINT 41.43$          
78642-00 KIT, SHOE CLUTCH 34834-00 68.20$          
77997-10 BRACKET, SENSOR  SHORT MOUNT 14.65$          
75209-10 PLATE, IDLER MOUNT 19.70$          
74358-10 GUARD, LOWER BELT 19.70$          
77540-00 KIT, CONTROL SWITCHES (5 INCH) 414.70$        
74516-10 WELDMENT, BELT KICKER 25.76$          
70481-10 WELDMENT, LARGE BLOWER 317.20$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



74028-12 LEVER, CLUTCH ENGAGEMENT 14.90$          
73142-10 WRAP, HOSE 50.00$          
77538-00 ASSEMBLY, TILT BODY (SERVICE) 120.90$        
75951-10 BRACKET, SENSOR  SHORT MOUNT 20.20$          
72050-10 MOUNT, 5"/8"/9" KNEEBAR PROX SENSOR 38.38$          
74190-10 HANDLEBAR, CHIPPER 26.26$          
70006-00 ASSEMBLY, CONTROL COVER W/ DECAL 32.62$          
73995-12 WELDMENT, ENGINE MOUNT 52.15$          
72668-10 WELDMENT, BELT GUIDE 61.60$          
75345-10 TUBE, HITCH 67.65$          
78441-00 ASSEMBLY, DL8 HOUSING CBC 982.40$        
74526-00 KIT, FC200 OWNERS 68.15$          
76555-10 WELDMENT,  MOTOR COVER 73.70$          
76690-00 KIT, VACUUM WHEELS SP 211.00$        
74636-00 KIT, 77413 OWNERS 90.35$          

70664 WELDMENT, BV WET DB SCREEN 34.28$          
77536-00 KIT, CONTROL SWITCHES 353.80$        
72090-12 WELDMENT, 5" TOP SAFETY BAR 102.40$        

70332 WELDMENT, LARGE SCREEN COARSE 183.60$        
75649-12 LINER, WEAR 43.60$          
74731-10 WELDMENT, CHUTE EXTENSION 164.00$        
74167-12 SHIELD, KNEEBAR SWITCH 49.40$          
74897-00 HOSE, EXHAUST CONNECTING 54.95$          
78232-10 WELDMENT, LOWER HANDLE SGPRO 165.00$        
76921-10 BRACKET, FENDER 22.20$          
78286-10 BRACKET, LHS BRAKE CABLE SGACE 16.65$          
78290-10 BRACKET, RHS BRAKE CABLE SGACE 16.65$          
78542-00 ASSEMBLY, CH5627 SHIELD / DECALS CBC 168.00$        
75200-10 WELDMENT, BELT IDLER 112.00$        
77900-00 KIT, CH922DH DSE FIELD FIX 740.60$        
78401-00 ASSEMBLY, SGACE HANDLE WITH DECALS CBC 225.00$        
75677-10 WELDMENT, HOSE SUPPORT 101.90$        
75725-12 WELDMENT, HOSE INLET 96.30$          
72320-10 WELDMENT, ENGINE SCREEN 170.00$        
78461-00 ASSEMBLY, DISK COVER FC200 CBC 192.70$        

70578 TUBE,COMM BLOWER EXTENSION 147.80$        
76280-00B HOSE, FLEXIBLE 8" ID X 4 FT LONG 137.10$        
78410-00 ASSEMBLY, HANDLE WITH DECALS CBC SGXTR 229.00$        
75774-33 WELDMENT, SWITCH BRACKET 44.84$          

12176 DECAL, SHREDDER SIZE ISO 5.75$            
77979-10 WELDMENT, LEFT  BEARING BRACKET 32.28$          
77882-10 PLATE, DSE  FRONT - SELL TO NORTHERN POWER ONL 13.97$          
70994-10 WELDMENT, COMM. BLOWER VAC 442.80$        
77087-10 WELDMENT, IDLER ARM 101.35$        
70424-00 SSEMBLY, 12" DL DISCHARGE may also need 70203-0 548.70$        
77721-40 WELDMENT, DISK COVER 185.55$        
70465-00 KIT, LS FLEX DRIVE COUPLER 121.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75210-10 ANGLE, FENDER GUSSET 20.67$          
75844-12 WELDMENT, LEVER 116.80$        
74948-10 BRACKET, IDLER 22.18$          
77393-00 BODY, TRIMMER W/DECALS (SERVICE) 111.70$        
73242-10 BRACKET, SENSOR PICKUP 18.65$          
32361-00 DECAL, NATM COMPLIANCE 6.25$            
77519-40 WELDMENT, BEARING SUPPORT 125.50$        

71659 KIT, 620/824 OWNERS 75.65$          
74537-00 KIT, 76824 OWNERS 75.95$          
75413-00 PANEL, C/S W/ECHO BEARCAT 69.65$          
75494-12 PLATE, OVERFLOW BOTTLE 25.35$          

71445 KIT,STUMP CUTTER TEETH 115.20$        
70026-00 ASSEMBLY, DISK COVER 199.25$        
76951-00 KIT, CH5540 OWNERS 135.05$        
75520-00 PANEL, C/S W/ECHO BEARCAT  DECAL 70.95$          
71352-10 WELDMENT, CONTROL ARM 189.45$        
72453-10 CLAMP,  CHIPPER DISCHARGE 26.20$          
76855-40 WELDMENT, CHUTE 198.00$        

71287 ROD, IDLER TIE 37.28$          
77086-10 WELDMENT, STORAGE HITCH 346.60$        
75671-12 WELDMENT, TOOL MOUNT 134.75$        
77439-10 MOUNT, BATTERY BOX 48.35$          
77910-00 KIT, CH911DH DSE FIELD FIX 732.80$        
75532-10 WELDMENT, AXLE PIVOT 155.10$        
78200-10 WELDMENT, PIVOT PIN SG FAMILY 21.15$          
75904-00 KIT, 6 INCH HOURMETER 155.25$        
73052-00 ASSEMBLY, DDC CAP AND GASKET 70.80$          
75806-35 WELDMENT, BEAM 540.80$        
72919-10 WELDMENT, CONTROL ARM 193.85$        
73904-00 SHIM, 12 IN. DISK 21.60$          
74744-00 KIT, 77412/13 BLADE 173.00$        
75726-10 WRAP, HOSE SUPPORT 43.30$          
75936-35 WELDMENT, BEAM LS33340 539.20$        

70267 SCREEN, WDLT MINI MEDIUM 65.75$          
78446-00 ASSEMBLY, DL10 HOUSING 979.70$        
72814-12 WELDMENT, STUMPGRINDER SPINDLE 109.70$        
78273-10 BRACE, HITCH STAND SG TRAILER 39.77$          

72216 ASSY, REAR HITCH MOUNT 103.65$        
77607-00 KIT, LS21 ENGINE CONVERSION 593.70$        
77249-10 WELDMENT, BELT GUARD SUPPORT 37.25$          
76723-00 KIT, BATTERY DISCONNECT 179.15$        
74030-10 WELDMENT, AXLE FRAME 165.60$        
78295-00 KIT, RUSSIAN DECALS 181.15$        
71320-10 WELDMENT, LOWER BELT GUARD 60.40$          
71225-00 KIT, BIG CHIPPER ROTOR ALIGNMENT 42.81$          
78114-00 KIT, CLUTCH 34676-00 REBUILD 154.00$        
72460-10 ANGLE, FLAP ANCHOR 20.13$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75965-10 BRACKET, MOUNT  HYDRAULIC PUMP 37.24$          
72923-10 PLATE, CONTROL BOX 32.71$          
72204-12 SPACER, 2.0 X 1.88 15.90$          

70100 MAINTENANCE KIT 5 HP B + S 55.70$          
76689-00 KIT, VACUUM WHEELS PUSH 191.50$        
71587-10 ANGLE, RH FENDER SUPPORT 36.73$          
73626-10 WELDMENT,BEARVAC ENGINE SUPPORT 80.50$          
77254-10 WELDMENT, AXLE 3 IN CHIPPER 40.25$          
78644-00 KIT, SHOE CLUTCH 34675-00 160.00$        
75939-00 KIT, OWNERS LS21160 114.10$        
75926-00 KIT, OWNERS LS27270 114.15$        
78838-00 KIT, WIDE SHREDDER ECHO 181.10$        
70253-12 SPOUT, BLOWER TUBE 16.55$          

70087 SHAFT, DOOR PIVOT 8.30$            
74635-00 KIT, 77412 OWNERS 85.20$          
76563-40 WELDMENT, TOP  ROLLER COVER 51.30$          
78839-00 KIT, NARROW SHREDDER ECHO 145.85$        
73774-10 HANDLE BAR, LOWER TRIMMER PAINTED 34.70$          

71692 WELDMENT, HANDLEBAR 148.25$        
76691-00 WHEEL, BEARVAC SP LEFT 123.15$        
76692-00 WHEEL, BEARVAC SP RIGHT 123.15$        
75887-00 CHIP, 8 IN. RELAY (DOMESTIC) 88.15$          
77194-12 WELDMENT, LS CYLINDER BRACE 79.95$          
34768-00 HARNESS, SG TRAILER 178.00$        
78113-00 KIT, CLUTCH 34675-00 REBUILD 182.00$        

71096 WELDMENT, WHEEL BRACKET 54.60$          
75877-00 POLE, GUIDE ORANGE 21.94$          
75073-10 WELDMENT, ROLLER  SLIDE 277.00$        
74506-35 WELDMENT, DISK COVER 186.00$        
74115-00 MANIFOLD, HONDA EXHAUST 187.00$        
78462-00 ASSEMBLY, FC200 INFEED CHUTE CBC 178.95$        
77377-12 PLATE, CAST WEDGE BOTTOM 18.90$          
71621-10 WELDMENT, IDLER SUPPORT 160.85$        
77380-00 KIT, WEDGE W/ SPACERS 190.00$        
78192-35 DISK, ROTOR SGXTR SGPRO 66.85$          
74751-00 ASSEMBLY, DISHCARGE CHUTE 1,205.80$    
77970-00 KIT, CH5540H DDC TRAY/KNEEBAR 842.40$        
74204-12 SHIELD, KNEEBAR SWITCH 48.35$          
73831-00 ASSEMBLY, UPPER HANDLE BAR WITH GRIPS 68.25$          
78003-10 WELDMENT,   SHAFT COVER 31.66$          
76552-12 GUIDE, TRAILER SUPPORT 29.80$          
75208-12 BRACKET, IDLER MOUNT 20.10$          
77686-00 KIT, OWNERS LS27 LOG SPLITTER 204.00$        
75007-12 WELDMENT, ROTATOR COVER 82.10$          
78203-40 WELDMENT, BAIL SGXTR 52.25$          
75403-35 PLATE, DEFLECTOR 21.00$          
76923-00 ASSEMBLY, SC2170 SERVICE HOPPER 217.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76762-00 ASSY, 2 INCH S/C HOPPER 220.00$        
72297-40 WELDMENT, 8"/9" SAFETY KNEEBAR 177.30$        
78064-00 TRANSMISSION, WHEEL VAC 222.00$        
74981-33 PLATE, JACK MOUNT 20.35$          
73258-12 WELDMENT, HOSE HOLDER 47.25$          
78262-10 WELDMENT, STUMP  GRINDER TRAILER 502.10$        
73588-33 WELDMENT, SWITCH MOUNT 124.25$        
75679-10 WELDMENT, HOSE SUPPORT 87.35$          
71629-10 MOWBALL, CAST TRIMMER PAINTED 32.63$          
72899-33 WELDMENT, TOP CHIPPER HOUSING 301.80$        
76758-40 SCREEN, 2" COARSE 41.16$          
73111-10 WELDMENT, CHUTE SUPPORT 77.80$          
76015-35 CHANNEL, MOUNT QUICK SPLIT 28.60$          
71617-10 BRACKET,  CHUTE SUPPORT RH 43.15$          
71588-00 ASSEMBLY, 4.5" PTO DRIVELINE 292.00$        
78646-00 KIT, SHOE CLUTCH 34676-00 175.60$        
73730-00 KIT, 3" C/S BELT GUIDE 45.45$          

72735 KIT, CHUTE SUPPORT 93.20$          
76228-12 PLATE, CAST WEDGE BOTTOM 16.30$          
72980-40 WELDMENT, 9" TOWABLE KNEE BAR 147.95$        
34792-00 BUMPER, CHOCK SG TRAILER 16.65$          
78233-40 WELDMENT, BAIL SGPRO 52.65$          
71247-10 RING, DISCHARGE SPACER 18.55$          
34824-00 BUMPER, SG TRAILER 18.65$          
77428-00 KIT, DL10 OWNERS 97.25$          
76755-35 PLATE, DEFLECTOR 19.75$          

16640 ADAPTER, -12FMFFORING/-12MORING 19.85$          
77982-00 ASSEMBLY, 9" CHIPPER DISK 1,244.20$    
76995-10 WELDMENT, HITCH TOP 80.70$          
74938-10 WELDMENT, CHIPPER 3 PT. 365.90$        
73004-10 WELDMENT, CHUTE SUPPORT 81.70$          
78189-00 ASSEMBLY, BODY WITH DECALS SGXTR 706.70$        
34783-00 POCKET, 500 SERIES LOPRO ANGLE 21.45$          
78284-10 BRACKET, RHS MANUAL HOLDER SGACE 21.55$          
78285-10 BRACKET, LHS MANUAL HOLDER SGACE 21.55$          
75398-00 WELDMENT, C/S ROTOR 194.25$        
74571-10 WELDMENT, CHIP DEFLECTOR 43.60$          
74536-10 WELDMENT, ENGINE TIE 132.80$        
72461-10 STRIP, FLAP RETAINER 22.55$          
72896-00 KIT, CH6720/30H AXLE 508.50$        
75034-35 WELDMENT, CHIPPER HITCH 419.10$        
70510-10 WELD, BATTERY BOX 44.09$          
77197-12 BRACKET, RIGHT TAIL LIGHT 44.15$          
77198-12 BRACKET, LEFT TAIL LIGHT 44.15$          
72705-10 DISK, TRIMMER HEAD 25.55$          
73483-10 ANGLE, FLAP ANCHOR 26.05$          

70489 KIT, 3 + 5 HP BRUSH 79.50$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78214-10 BRACKET, TOW BAR SG FAMILY 27.55$          
77797-00 ASSEMBLY, CH4400 ROTOR 448.30$        
77798-00 ASSEMBLY, CH45540 ROTOR 448.30$        
77799-00 ASSEMBLY, CH450H ROTOR 448.30$        
73900-00 KIT, BLADE (12/14 INCH) 448.70$        
70691-10 WELDMENT, PTO IDLER ARM 64.10$          
74078-12 WELDMENT, CHUTE LOCK 19.48$          
71720-10 STRIP,  THROTTLE CONTROL 19.53$          
75869-00 KIT, PSC6D FIELD 103.05$        

70490 KIT, 8HP BRUSH 112.55$        
74203-12 BRACKET, SWITCH 24.05$          
78476-00 ASSEMBLY, CH4420 SHIELD W/ DECALS CBC 80.60$          
76981-10 WELDMENT, IDLE ARM 84.10$          
75122-10 BRACE,  IDLER 46.55$          
72420-10 ANVIL, 4 INCH CHIPPER 30.03$          
71492-10 HINGE, EXTENSION TRAY 40.04$          
73947-12 PADDLE, CHIPPER DISK 20.49$          
77370-00 KIT, PLUS 1 SERVICE TOOL 887.00$        
71828-00 ASSEMBLY, 8" & 9" PTO DRIVELINE 470.50$        
73990-12 WELDMENT, CONTROL PIVOT 86.05$          
76804-10 STAND, JACK 37.52$          
77350-00 ASSEMBLY, 4 X 24 CYLINDER 569.90$        

72772 ASSEMBLY, SHIELD W/DECALS 38.05$          
78841-00 KIT, SPARK ARRESTER HONDA TRIMMER 38.52$          
77957-00 KIT, CH611DH DSE FIELD FIX 784.40$        
71592-00 ASSEMBLY, 8" & 9" PTO DRIVELINE 426.20$        
71028-10 WELDMENT, PTO BLOWER ADAPTER 117.05$        
73154-10 WELDMENT, END ARM 124.05$        
78026-00 ASSEMBLY, 9" PTO DRIVELINE 512.70$        
78679-00 ASSEMBLY, 8"/9" TRAY W/ DECALS 275.10$        
78858-00 ASSEMBLY, 8" BOBCAT INFEED CHUTE W/ DECALS 363.00$        
31296-00 MANIFOLD, HYDRAULIC VALVE 1,332.30$    
31636-00 AXLE, TORSION SUSPENSION 541.30$        
33296-00 HARNESS, 8" GAS DDC CONTROLLER 721.90$        
33297-00 HARNESS, 6" DIESEL DDC CONTROLLER 729.80$        
14125-00 CONTROLLER, CHIPPER (PROGRAM BEFORE SHIPPING 899.90$        
36110-00 TIMER, DATCON DELAY 286.40$        

16967 VALVE, SOLENOID CARTRIDGE 391.90$        
12813 HARNESS, AUTO FEED 430.90$        
12661 PUMP, PTO HYDRAULIC FEED 447.40$        
12778 HOSE, 12 INCH X 12-1/2 FT 246.20$        

77252-12 WELDMENT, SUPPORT LEG SHORT 65.60$          
36267-12 TUBE, LEDGE EXTENSION 66.85$          
73518-12 ASSEMBLY, BAIL HW TRIMMERS 26.49$          
31696-00 PUMP, HAND PRIMER 17.65$          
33982-00 ISOLATOR, UNIVERSAL MOUNT 18.15$          
32124-00 BELT, 4L180 ARIMID 19.20$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



34766-00 LIGHT, LED LICENSE PLATE 19.70$          
32824-00 CAP, NON-VENTED EPA/CARB APPROVED 19.95$          
75247-00 HOSE, 66" FUEL LINE 20.15$          
32930-00 BELT, BX30 20.70$          
15186-00 BOLT, 1/2 X 3 CRG GR8 20.90$          

0150-0050-00B CLEVIS, ADJ ROD END 3/8-24UNF 17.40$          
12628 PAINT, BEARCAT ORANGE TOUCH UP 21.15$          

35264-00 DECAL, ECHO SC SIDE 21.40$          
34782-00 POCKET, 500 SERIES LOPRO STRAIGHT 21.45$          

18259-00B LINK, CONNECTOR #60 O-RING CHAIN 18.15$          
36693-00 CAP, FUEL TANK VENTED 18.40$          
36261-00 BUMPER, 1" OD W/1/4" STUD 18.65$          
33676-00 PULLEY, ENGINE 4.0 X .875 B GROOVE 23.90$          
33900-00 KEY, DSE 24.20$          

12824 HOSE ASSY, -8FMJ/-8FMJ X 36" 25.40$          
33376-00 HOSE, -8 FMJ/-6FMJ X 31" HYDRAULIC 26.15$          
34832-00 CABLE, THROTTLE PUSH/PULL SGACE 26.70$          

16904 LIGHT, RH TAIL 19.40$          
16903 LIGHT, LH TAIL 20.20$          

15777-00 LOCKNUT, 5/8-11 SECURITY 21.20$          
30450-00 WIRE ASSY, 37" FM SPADE AND RING 21.40$          
34697-00 BUSHING, .594 ID X 1.0 OD X 3.25 21.45$          
14344-00 DECAL, 113 DB 16.40$          
34686-00 COLLAR, CLAMPING 3/4 ID 21.70$          
14280-00 GASKET, EXHAUST MANIFOLD 21.70$          
34838-00 DECAL, EBC LOGO TAGLINE 2.17 X 6.04 18.15$          
14901-00 CABLE, 24" NEG (R / R) 21.95$          

12573 BELT, 3L X 52 22.15$          
31477-00 DECAL, CHIP IT LARGE 24.20$          
14308-00 CLAMP, SINGLE CONDUIT 22.15$          
30221-00 COUPLER, NEOPRENE INSERT FLEX DRIVE COUPLING 22.45$          
36387-00 SPRING, EXTENSION 1/2 X 2.00 X .075 22.45$          

71164 ANGLE, HITCH STORAGE 15.85$          
31774-00 PULLEY, 2-3/4" X 7/8 AB 13.70$          
32393-00 BEARING, 1/2 INCH FLANGE 9.20$            
41289B ADAPTER, -6MORING/-6MJIC 90 DEG 9.85$            

73480-00 TUBE, PIVOT 9.85$            
12574 BEARING, 1/2 FLANGE 9.95$            
12620 SPRING, CONTROL BAR 9.95$            
12326 PAD, FOAM HANDLEBAR 10.35$          

31770-00 IDLER, 1-7/8 DOUBLE FLANGE 11.70$          
32125-00 CHAIN, #35 X 54 PITCHES W/CLINK 11.95$          
34784-00 BOLT, LOPRO 1.75 INCH 11.95$          
15782-00 CLIP, 1" E 12.20$          
77243-12 BRACKET, IDLER 12.70$          
34738-00 BEARING, 3/4 ID X 1-3/8 OD 34685-00 13.35$          

71696 HOSE, 15 INCH FUEL LINE 13.45$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



36694-00 FITTING, TANK FUEL PICK-UP TUBE 14.10$          
13871-00 CHAIN, #35 X 62 PITCH W/CONN. LINK 14.85$          

16202 SPARK PLUG, CJ8 14.95$          
77243-00 BRACKET, IDLER ENGAGEMENT 14.95$          
15882-00 BOLT, 5/16-18 X 3/4 ZP FLANGE SHOULDER 15.45$          
16654B CLEVIS ASSEMBLY 15.60$          

18524-00 CLAMP, 1-1/2" MUFFLER 15.60$          
17114B 15*8 1/2*10" BOX FOL STITCH 15.85$          

0150-0080-00B CLEVIS, ADJ ROD END 1/4-28UNF 15.85$          
34837-00 DECAL, SGACE 10.10$          
32027-00 DECAL, SC3208 CE INFO AND NOISE 10.60$          
34680-00 DECAL, MODEL CH9540HP 13.45$          
13852-00 BEARING, 3/4 FLANGE 4.10$            
15021B BOLT, 5/8 X 4-1/2 HEX HD G5 ZP 4.35$            

33334-00 ADAPTER, USB FEMALE TO FEMALE 4.60$            
15441 KEY 1/4 * 3/8 * 2" 4.80$            

11811B ADAPTER, -8MNPT/-8MJIC 5.10$            
15578 BOLT, M14-1.5 X 20 HEX HD GR 8.8 5.30$            
17496 PIPE CAP, 1/4" GALV.,HEX HEAD 5.85$            
17692 SPRING, 3/4"OD EXTENSION 5.85$            

14255-00B CLAMP, 2-1/2 HOSE 6.60$            
12626B ADAPTER, -10MORING/-8MJIC 7.10$            

32021-00 SPRING, TILT CONTROL COMPRESSION 7.30$            
31540-00 LOGO, CHIP IT (WHITE) 7.30$            
16196B CLAMP, 4" HOSE 7.60$            
16330B ADAPTER, -10MORING/-10MJIC 7.60$            
72511 SPACER, 5/8 OD X 11 GA X 3.80 7.85$            

31458-00 DECAL, MODEL CH8720iH 5.30$            
12748 DECAL, FEED POSITION 5.60$            

31467-00 DECAL, MODEL SC5720B 6.05$            
36378-00 DECAL, LOCK 6.30$            
32158-00 DECAL, ST4.80-8 LOAD RATING 6.55$            
18285-00 HINGE, REF 18282-00 3.15$            
78190-10 WASHER, CLUTCH HONDA SGXTR 3.80$            

15773-00B SCREW, 1/2X2 FL HD CAP (ASTM F835) 2.05$            
15728-00 NUT, 9/16 CENTER LOCK GRB ZP 2.05$            

69239 SPACER IDLER PIVOT 2.05$            
14048-00B CLAMP, 9/16 COATED 2.30$            

12830 CONNECTOR, .25 INSULATED MALE 2.55$            
15244B NUT, 1" CENTERLOCK NC ZP 2.65$            

76111-00 INSTRUCTIONS, 8" PLUS 1 2.65$            
70285 SPACER .54OD X .50" LG 2.65$            
16657 CABLE CLAMP SHIM 2.80$            

15146B NUT, HEX 3/4" CENTERLOCK NC ZP 2.80$            
15612B BOLT, 1/2-13x1-1/4 SERR FLANGE CMS F1 5ANS 2.90$            
15483B SCREW, 1/2 * 2-1/2" FLT HD SKT 3.05$            

15469-00 BOLT, 3/8-24 X 1-1/4 HCS GRADE 5 3.05$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15786-00 SCREW, 5/16-24 X 5/8 SQ HD SET 3.05$            
15786-00B SCREW, 5/16-24 X 5/8 SQ HD SET 3.05$            
15961-00 BOLT, M12 X 1.25 X 25 GR 10.9 HEX HEAD ZP 3.05$            

15573 PIN, M10 X 65 SPRING 3.15$            
76985-00 SPACER, 1/2" OD X 14GA WA X 0.26" 3.15$            
12647B ADAPTER, -6MORING/-6MJIC 3.30$            
16808B PIN, 3/8 X 2-1/2 LYNCH 3.65$            

15706-00 BOLT, 3/8 X 5 NC ZP FULL THD GR5 3.80$            
0103-0828-00B BOLT, 5/8 X 3-3/4 HEX GR5 ZP 3.90$            

12519 TAG, 5" C/S SALE 3.90$            
34693-00 BUSHING, IGUS FLANGE 1/2 ID X 19/32 OD 3.90$            
31713-00 DECAL, ECHO BEARCAT 6.82 X 1.90 (WHITE) 3.65$            
15574B SCREW, WS365305 1.15$            
15501B BOLT, 3/8X3-1/4 HXHD GR5 ZP 1.15$            
15014B BOLT, 1/2-13x1-1/2 HEX HD GR5 CMS F1 5ANS 1.15$            
15272B BOLT 3/8 * 4" HHCS GR5 NC ZP 1.20$            

0103-0711-00B BOLT, 3/8 X 2-1/4 HEX GR5 CMS F1 5ANS 1.20$            
15907-00 SCREW, 5/16-18 X 1 IN ZP THREAD ROLLING 1.20$            
15187B SCREW #10 * 1/2 FLANGE TEK ZP 1.40$            

36146-00B SOCKET, DEUTSCH CONNECTOR 1.40$            
15617B BOLT, 3/8-16x3/4 SERR FLANGE CMS F1 5ANS 1.40$            
15382B BOLT, 3/8-16x1 SERR FLANGE GR5 CMS F1 5ANS 1.40$            
15478B BOLT, 1/2-13x1-3/4 GR5 HCPS CMS F1 5ANS 1.45$            

0123-0429-00B CLAMP, HOSE 5/16 X 5/8 DIA MAX 1.65$            
0103-0756-00B BOLT, 1/2 X 2-3/4 HEX GR5 ZP 1.65$            

15015B BOLT, 1/2-13x2 GR5 HEX CAPSCREW CMS F1 5ANS 1.65$            
15274B BOLT, 3/8 X 4-1/2 HHCS GR5 NC ZP 1.70$            

0103-0704-00B BOLT, 5/8 X 1-1/4 HEX GR5 ZP 1.70$            
0122-0236-00B KEY, 3/8 SQ 1-3/4 1.70$            

16378 CLAMP, 15/32 SPRING 1.70$            
15339B BOLT, CARR 1/2-13x2 GR5 CMS F1 5ANS 1.70$            
15142B BOLT, 1/2*3.00 GR5 CARRIAGE ZP 1.90$            
15173B BOLT 1/2*3 1/4 HCS GR5 ZP 1.90$            

18548-00 ROLLER, NYLON .75OD X .502ID X .440 1.90$            
15698-00 BOLT, 3/8X2-1/4 NF GR8 ZP HHCS 1.95$            

0934-0004-00B GROMMET, 1/4 X 5/8 RUBBER 0.60$            
15477B BOLT, 5/16 * 2" GR5 NC ZP CRG 0.60$            
15276 LAGSCREW 3/8 X 1-1/4 HEX 0.60$            

15141B BOLT, 3/8*1-3/4 GR5 HCS ZP 0.60$            
15434 KEY, SQUARE 3/16"*1-1/2"LG PLN 0.60$            

0104-0120-00 SETSCR SQR 3/8-16X1-1/2 CUP 0.60$            
15057B BOLT, CARR 3/8-16x1 GR5 CMS F1 5ANS 0.60$            
15256B SCREW, 3/8 X 3/4 SQ HD SET ZP 0.60$            
15425B WASHER, 1" SAE FLAT ZP 0.70$            
15373 WOODRUFF KEY,3/16 X 3/4"  #9 0.70$            

15140B BOLT 5/16 X 2 GR5 HCS CMS F1 5ANS 0.70$            
15242B BOLT 1/4 X 1 SOC HD CAP SCRW 0.70$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15413B BOLT 1/2-20*3/4"GR5 HHCS NF ZP 0.85$            
17579 DETENT BALL 0.85$            
17007 CAP, 7/8" PLASTIC 0.85$            

17571B PIN, 1/4 X 1-1/2 ROLL 0.85$            
15827-00 RIVET, AL BLIND 1/4 X 1/2 DOME HEAD 0.85$            

15294 WASHER 3/4 SAE FLAT GR8 YELLOW 0.85$            
15560B BOLT, 5/16-18x2-3/4 GR5 HCPS CMS F1 5ANS 0.85$            
15013B BOLT, 1/2*1-1/4" GR5 HHCS NC ZP 0.95$            
15102B BOLT, CRG 3/8 X 2-3/4 GR5 ZP 0.95$            
15418B KEY, 1/4 SQ X 1-1/2 LG PLAIN 0.95$            
15653 SCREW, #8-32 X 2" PAN SLT MACH 0.30$            

15003B BOLT, 5/16-18x3/4 GR5 HEX HD CMS F1 5ANS 0.30$            
15129B WASHER, 5/8 SAE FLAT CMS F1 5ANS 0.30$            
15094B BOLT 1/4 * 1-3/4" GR5 HHCS ZP 0.30$            
15300B BOLT, 5/16 X 5/8 GR5 HEX CPS CMS F1 5ANS 0.30$            
15396B BOLT, 5/16-18x7/8 HHCS GR5 CMS F1 5ANS 0.30$            

15904-00B NUT, 5/16-18 NYLOCK-FLANGE 0.30$            
15367B BOLT, 5/16X3/4 GR5 NC ZP CRG 0.30$            
15519 BOLT, M 8-1.25X20 GR8.8 HHD ZP 0.30$            

15388B NUT, 3/8-16 NE NYLOCK CMS F1 5ANS 0.30$            
15219B BOLT, 5/16-18x1 GR5 HHCS CMS F1 5ANS 0.30$            
15051B NUT, 3/8-16 SERRATED FLANGE CMS F1 5ANS 0.35$            
15041B WASHER, 3/8" FENDER ZP-32PCS/LB 0.35$            
15005B BOLT 3/8*3/4 GR5 HEX CAPSCW ZP 0.35$            
15098B WASHER,3/4"SAE FLAT ZP,21PC/LB 0.35$            

15819-00 BOLT, 5/16 X 1 CRG GR5 UNPLATED 0.35$            
15089B NUT, 1/2 NC ZP JAM 0.35$            

15900-00 NUT, 1/4-20 NYLOCK-FLANGE 0.35$            
15042B NUT, 3/8" HEX NC ZP 0.15$            
15355B NUT, 1/4-20 NE NYLOCK CMS F1 5ANS 0.15$            

15751-00 BOLT, M6 X 1.0 X10 MM HHCS 0.15$            
15031B WASHER, 3/8 FLAT (67PCS/LB) CMS F1 5ANS 0.15$            
15250B WASHER, 5/16 FLAT CMS F1 5ANS 0.15$            
15179B BOLT 1/4*1/2 HCS G5 ZP 0.15$            
15343B BOLT 1/4 X 5/8" HHCS GR5 ZP 0.15$            
15380B PIN, 3/32 X 3/4 COTTER 0.15$            

34833-00 FLAP, SIDE SGACE 10.00$          
14989-00B ELBOW, 4" 90 DEG RUBBER 25.00$          
13875-00 CONTROL, TRANSMISSION SHIFT 46.00$          
34737-00 SHOE, CLUTCH 34675-00 46.00$          
36100-00 TUBE, HYDRAULIC LS27270 46.00$          
34558-00 CABLE, 3 SPEED WV 46.00$          
13997-00 SPACER, ENGINE 25.50$          
15332B SCREW, 1/4"-20X1/4" KNR CUP SKT SET 0.10$            

76947-12 SPACER, 0.75 X 1.180 BLACK 4.25$            
32275-00 BLOCK, SLIDE 48.00$          
32126-00 SPROCKET, 35B48T WITH .500 HUB ID 26.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15260B WASHER, 3/8 SAE FLAT CMS F1 5ANS 0.10$            
75810-12 PLATE, SPACER BOTTOM 8.00$            
15266B PIN 1/8" X 7/8" SPRING 0.10$            

0936-0025-00B WASHER, 1/4 SAE FLAT ZP(222PCS/LB 0.10$            
15125B NUT, 1/4"-28 UNF ZP 0.10$            

78471-00 ASSEMBLY, 4.5" INFEED WITH DECALS 160.00$        
15030B WASHER, 1/4 FLAT (149PCS/LB) CMS F1 5ANS 0.10$            
15216 WASHER,7/16"SAE FLT ZP, 110/LB 0.10$            

15460B MCH SCW#10-24*3/4"PAN HD PH ZP 0.10$            
72452-10 SPACER,  CHIPPER DISCHARGE 13.50$          
75271-10 BRACKET, TAIL LIGHT 49.50$          

71700 KIT, 71785 SERVICE 167.00$        
78279-10 BRACKET, LICENSE PLATE SG TRAILER 22.00$          
13985-00 COUPLER, FEMALE FLATFACE -8 49.00$          
15423B SCW,MCH 10-24*1/2"PAN HD,PH ZP 0.10$            

33981-00 ISOLATOR, STUD/STUD MOUNT 12.50$          
18675-00 CABLE, PUSH/PULL THROTTLE 224.40$        
15153B NUT, 5/16 HEX NC - ZP 0.10$            
15375B PIN, 1/8x1.00 ZP COTTER CMS F1 5ANS 0.10$            
15410 SPRING LOCK PIN, 1/8 X 3/4 IN. 0.10$            

15397B NUT, 10/24 NYLOCK TYPE NM, ZP 0.10$            
15087B NUT, 1/4 CENTERLOCK NC ZP 0.10$            

34407-00 PULLEY, 5.0 X 3 IN. IDLER 50.00$          
12212 KIT, ASGE COL 26.50$          

15053B NUT, 1/4"-20 SERRATED FLNG NC ZP 0.10$            
15523 NUT, 3/8 NC JAM ZP 0.10$            

15884-00 SCREW, 3/16 X 1/2 SQ. HD CUP PT 0.10$            
15139B WASHER, 3/8" LOCK ZP 0.10$            
15602 WASHER, #6 SAE FLAT-800PCS/LB 0.10$            
12621 WASHER, UHMW SPACER .515ID-1.50OD 5.00$            
15594 SCW, #10X24X1-1/2 PAN PHP ZP 0.20$            

15039B WASHER, 1/4" FENDER ZP-46PCS/LB 0.20$            
15453B SET SCW,5/16-18*1/2" SQ HD,CUP 0.20$            
15040 WASHER, 5/16" FENDER ZP-32PCS/LB 0.20$            

15238B BOLT,CARR 1/4 X 3/4 GR5 ZP 0.20$            
15201B NUT 3/8 FINE THD 24UNF ZP 0.20$            
15356B NUT, 5/16-18 NE NYLOCK CMS F1 5ANS 0.20$            
15363 BOLT 1/4X3/4" GR5 HHCS NF ZP 0.20$            

15001B BOLT, 1/4-20x3/4 GR5 HEX HD CMS F1 5ANS 0.20$            
15284B BOLT 1/4*1 HEX CPS GR8 ZP 0.20$            
15239 BOLT,CARR,1/4 X 1,GR5,NC,ZP 0.20$            

15131B SCREW, 5/16-18 X 5/8 SQ HD SET 0.20$            
15185 SCREW 6/32 X 1/2 SL RND HD MAC 0.20$            

15032B WASHER, FLAT 7/16" ZP(41PC/LB) 0.20$            
15548 WASHER 5/16 GR8 USS FLAT (GOLD 0.20$            

15047B NUT, 3/8" CENTERLOCK CMS F1 5ANS 0.20$            
15097B WASHER, 1/2 SAE FLAT (56PC/LB) CMS F1 5ANS 0.25$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15093B BOLT 1/4*2 GR5 HEX CAPSCREW ZP 0.25$            
15532B SCREW 1/4*1-1/2" SKT HD CAP 0.25$            
15557B BOLT 10-24*3/4" HHCS GR8 PLAIN 0.25$            

31471-00 SCREW, #10 X 1" PAN HEAD SLOTTED 0.25$            
15818-00 NUT, 5/16 FLANGE TOPLOCK 0.25$            

X580000090 HANG TAG, PROP 65 0.25$            
15342B BOLT 1/4 X 1-1/2 HHCS GR5 ZP 0.25$            
15114B SCREW 1/4"*1/2" SQ HD CP SET 0.25$            
15461B SET SCREW, 3/8X1/2 CUP PT SKT 0.25$            
15137 SPRINGPIN 1/4*2"LG 0.40$            

15683-00 CLIP, 1/2" E 0.40$            
18290-00 PIN, ROLL 3/16" X 1" 0.40$            

36189-00B NUT, 7/16 CENTERLOCK ZP 0.40$            
15712-00 WASHER, 5/16 EXTERNAL TOOTH ZP 0.40$            
15282B BOLT 5/16 X 1-1/2 GR5 HEX CPS CMS F1 5ANS 0.40$            
15006B BOLT, 3/8 X 1 HEX HD GR5 ZP 0.40$            

32529-00 O-RING, -8 SAE 0.40$            
15496B BOLT 5/16*1-1/4" HCS NF GR5 ZP 0.40$            

15762-00B WASHER, 1/2 HI-STRENGTH SAE ZP 0.40$            
15034B WASHER, 1/2 FLAT (56PCS/LB) CMS F1 5ANS 0.40$            

0103-0714-00B BOLT, 1/4 X 2-3/4 HEX GR 5 ZP 0.40$            
15905-00B NUT, 3/8-16 NYLOCK FLANGE 0.45$            

0101-0100-00B NUT, 1/2-13 UNC NYLOCK CMS F1 5ANS 0.45$            
15350B BOLT 5/16X1-3/4 CARRIAG GR5 ZP 0.45$            

15755-00 BOLT, 5/16-24 X 1" HHCS GR5 ZP 0.45$            
15164B BOLT, CARR 3/8-16x3/4 GR5 CMS F1 5ANS 0.45$            

15117-00 BOLT, 5/16 X 3/4 FLANGE NC 0.50$            
0103-0909-00B BOLT, 5/16-18 X 3/4 CRG SN GR5 0.50$            

15403B BOLT 5/16-18 X 1-3/4 GR5 HCS CMS F1 5ANS 0.50$            
15035B WASHER, 5/8" FLAT ZP-37PCS/LB 0.50$            
15398B BOLT, CARR 5/16 X 1-1/4 GR5 CMS F1 5ANS 0.55$            
24159B KEY, 1/8" SQUARE * 1" LG PLAIN 0.55$            
15604B BOLT, 5/16-18 X 1 SKT,HD,CP,BZP 0.55$            

15697-00B BOLT, 3/8X1" NF GR8 ZP HHCS 0.55$            
15154B BOLT 5/16 X 2-1/2 G5 HX CAP CMS F1 5ANS 0.55$            

15754-00B BOLT, 5/16-18 X 2-1/4 GR5 HCPS 0.55$            
15364B BOLT, 3/8-16x1-1/4 HEX HD GR5 CMS F1 5ANS 0.55$            
15336 WASHER, .75 X 1.25 X .08 MACH BUSH. 0.55$            

15359B BOLT 5/16*5/8 CARR GR5 ZP 0.55$            
15344B BOLT, 1/4-20x1/2 SERR FL GR5 CMS F1 5ANS 0.55$            
15007B BOLT, 3/8-16 X 1-1/2 GR5 HCS CMS F1 5ANS 0.55$            
15500 KEY, 5MM SQUARE X 25MM 0.65$            
15438 BOLT,CARR 5/16 * 3" GR5 NC ZP 0.65$            

15068B PIN 5/32*1 1/4 COTTER PIN ZP 0.65$            
15043B NUT, 1/2-13 HEX CMS F1 5ANS 0.65$            
15199 BOLT 7/16 X 3/4 HHCS GR5 ZP 0.65$            

15052B NUT, 7/16" SERRATED FLANGE NC ZP 0.65$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15696-00B BOLT, 5/16X2-1/2" NF GR5 ZP HHCS 0.65$            
15059B BOLT 3/8*1 3/4 GR5 CARR BLT ZP 0.65$            
15378B BOLT, CARR 3/8-16x1-1/4 GR5 CMS F1 5ANS 0.75$            
15008B BOLT, 3/8 X 2 GR5 HEX CAPSCREW CMS F1 5ANS 0.75$            
15060B BOLT, CRG 3/8 X 2 NC FULLTHD GR5 ZP 0.75$            
15301B BOLT, CARR 5/16-18x1 GR5 CMS F1 5ANS 0.75$            
15409B WASHER, 5/16"ID 7/8"OD NYLON FLAT 0.75$            
16865 STRAP, 15-1/16 IN BLACK TIE 0.75$            

15103B BOLT 5/16*3 GR5 HEX CAP ZP 0.75$            
16752 EARPLUGS, ORANGE FOAM 0.75$            

15550B SCW MCH, 8-32x3/4 PHP RDHD CMS F1 5ANS 1.00$            
0101-0102-00B NUT, 5/8-11 UNC NYLOCK 0.80$            

15536 BOLT,5/16 X 3-1/2 CRG GR5 ZP 0.80$            
71413 KEY, SQUARE 3/8" * 3/4" PLAIN 0.80$            

15058B BOLT, CRG 3/8-16 X 1-1/2 GR5 CMS F1 5ANS 0.80$            
15116B BOLT, 3/8 X 2-1/2 GR5 HHCS ZP 0.80$            
15100B BOLT CARR 3/8 * 3" GR5 NC ZP 0.80$            

15849-00B NUT, 1/2 TOPLOCK GR8 NF ZP 0.90$            
14640-00 NYLON WASHER, 1/2 INCH 0.90$            
12275B K, STRAIGHT, 1/4-28 UNF MALE,SELF-TAP, .58 OVERAL  0.90$            

15770-00 WASHER, 5/8 SAE HARDENED CMS F1 5ANS 0.90$            
31527-00 PLUG, 1" ROUND RIBBED 0.90$            

16313 PIN, CLEVIS 1/2 * 4" ZP 6.00$            
15584B WASHER, FLAT .254X.400X.048 0.90$            
15124B BOLT, 5/16"*3-1/2" HEX CAP ZP 0.90$            
15391B KEY, 1/4"SQ X 2" PLAIN 0.90$            
16497 CLEVIS PIN 3/8 * 2" ZP 4.00$            

15012B BOLT 1/2*1 GR5 HEX CPSCREW ZP 0.90$            
16881 FITTING, 3/8 NPT*3/8 HOSE PLASTIC 0.90$            
16906 PLUG, 2 INCH DOME 0.90$            

33797-00 BLADE, 30 DEGREE 1/2" CHIPPER 51.00$          
16848 FITTING, 1/8 MNPT X 1/4 HOSE 4.00$            

15437B BOLT, 3/8 X 2-3/4 GR5 NC HHCS ZP 1.00$            
36230-00 TERMINAL, 14/16 GA ELECTRICAL 1.00$            
15417B BOLT,5/16"*4" GR5 HHCS ZP 1.05$            
15466 SKT HD CAP SCW#10-24*1-1/8" PL 1.05$            

18955-00 CAP, PLASTIC 3/4 X 1-1/2 TUBE 1.05$            
32246-00 GUARD, TUBE OUTER (FOR 32219-00) 52.00$          
15867-00 NUT, 5/16 SPIRAL LOCK 1.05$            
15010B BOLT, 3/8 X 3-1/2" HEXHD GR5 ZP 1.05$            

15877-00 REW, 3/8-16 X1 HX/W/HD THREAD ROLLING TRI-LOBE 1.05$            
15778-00 BOLT, 7/16 X 1-1/2 NF GR5 HEX ZP 1.05$            
34709-00 SPACER, 700 SERIES 1.10$            
15271B BOLT 7/16 X 3 GR5 HEX CPS ZP 1.10$            

15109-00 BOLT, 3/8 X 1-1/4 FLANGE NC 1.10$            
32247-00 GUARD, TUBE INNER (FOR 322219-00 52.00$          

62531 3/4" LONG IDLER SPACER TUBE 4.00$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15960-00 BOLT, M10 X 1.25 X 20 GR10.9 HEX HEAD ZP 1.25$            
15883-00B BOLT, M5X .8X 25.4 MM HCS GR.8.8 YZP 1.25$            

0103-0112-00B BOLT, 1/2 X 1 CARRIAGE GR5 ZP 1.25$            
15465 BOLT 5/16 * 6" GR5 HHCS ZP 1.25$            

15701-00 BOLT, 5/16 X 5-1/2 GR5 HEX HD 1.25$            
15009B BOLT, 3/8-16x3 GR5 HEX CAPSCREW CMS F1 5ANS 1.25$            

15662-00B WASHER, 5/8USS G8 ZP 1.25$            
16015B PIN, 7/16 X 1-1/4 LYNCH 1.25$            
15498B KEY, 5/16 X 1-1/2 SQUARE 1.30$            
17803B ZERK, STRAIGHT, 1/4"DIA DRIVE TYPE, .56 OVERALL LG 1.30$            
15527B NUT, 1/2-20 WHEEL 1.30$            

0103-0115-00B BOLT, 1/2 X 1-3/4 CARRIAGE GR5 ZP 1.35$            
15049B NUT, 1/2-13 GR5 CENTERLOCK GRB CMS F1 5ANS 1.35$            
12530B LANYARD, NYLON 1.35$            

15876-00 BOLT, 5/16-18 UNC X 2-1/2 ZP FLANGE 1.35$            
30515B FOAM 1"W*1/4"TH EPDM SCE41 *1' 1.50$            
15598 KEY, 4MM SQ X 20 MM 1.50$            

15365B KEY, 1/4" SQ X 1" LG 1.55$            
17524 GRIP,SPT HAND 1/4"X1.0"X2.25" 1.55$            

0103-0792-00B BOLT, 1/2 X 2-1/4 HEX GR5 ZP 1.55$            
15571B SCREW, 1/2 X 1-1/2 FLT HD SKT 1.55$            
15611B BOLT, 1/2" X 1" SERR FLANGE 1.55$            
15050B NUT, 5/8" CENTERLOCK ZP GR5 1.55$            

36689-00 GROMMET, TANK FITTING 1.55$            
12203 SNAP RING 1.60$            

0103-0113-00B BOLT, CARR 1/2-13x1-1/4 GR5 CMS F1 5ANS 1.60$            
15352B LOCKNUT,1/4NYL INSERT TP NU ZP 1.60$            
15092B BOLT 1/2*2-1/2 GR5 HEX CAP ZP 1.60$            

31993-00 RETAINER, HANDLEBAR ADJUSTMENT 1.60$            
15855-00B BOLT, 1/2 X 1-1/2 G8 NC ZP HEX HD 1.60$            

0122-0012-00B KEY, 3/8 SQ X 1-1/2 1.75$            
0110-0339-00B PIN CLEVIS-3/8 X 1-1/4 ZP 1.75$            

16264 BOLT, WHL 1/2-20UNF X 1.437 1.80$            
12342B SOLENOID, CONTINUOUS DUTY 53.00$          
73063 SPACER, .50 X .25 1.80$            

15542B WASHER, 1 INCH SHIM 1.85$            
69126 SPACER, IDLER PIVOT 1.85$            

0101-0001-00B NUT, 3/4 NF HEX SLOTTED ZP 1.85$            
15588 SCREW, 5/16 X 3 SQ HD SET 1.85$            

15205B BOLT 3/8*5" GR5 HEX CPS ZP 1.85$            
15440 KEY, 3/8" SQ X 2" LG PLAIN 1.85$            

15220-00 BOLT, 1/2 X 1-1/2 CRG SN GR5 ZP 1.85$            
14775-00 TIE, DOME FIR TREE 1.85$            
15286-00 WASHER, 3/4 INTERNAL LOCK 1.00$            
15312-00 WASHER, NYLON .390 ID X .750 OD 1.00$            

15316-00B SCREW, 8-32 X 1/4 HEX THREAD CUTTING 1.00$            
15727-00 BOLT, 9/16 X 1-3/4 HEX GR5 ZP 2.10$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



0103-0848-00B BOLT, 3/8 X 5-1/2 HEX GR5 ZP 2.10$            
14157-00B CLAMP, PLASTIC HOSE 2.10$            

15530 WASHER, .75 X 1.75 X 11GA 2.10$            
14636-00 ROLLER, 0.5 X 1.00 X 1.00 NYLON 2.10$            
15549B BOLT, 1/2*3-3/4 HHCS GR5 NC ZP 2.15$            

36174-00 PAPER TOP, TRIMMER STRING KIT 2.20$            
15394B BOLT 1/2 * 5" GR5 HHCS NC ZP 2.25$            
15174B BOLT 1/2 X 4 HEX CPS G5 ZP 2.25$            
15265B BOLT, 5/8 X 2-1/2 HEX HD GR5 ZP 2.35$            

15799-00 U-BOLT, 3/8 -16 X 2.06 X 3.00 SQ ZP 12.00$          
15817-00 SCREW, #8-32 X 1/2 SKT HD CAP 0.20$            
14076-00 GRIP, CLUTCH HANDLE 2.60$            
15019B BOLT, 5/8 X 3 HEX HD GR5 ZP 2.60$            
15541 U-BOLT, 1/4 X 1.0 X 1.75 ZP 2.70$            

72762-12 SPACER, 7/8 X .281 2.75$            
15449-00 SCREW, M6 X 1MM X 20MM FORMING 2.75$            

15200-00B BOLT, 1/2-13X2,FLANGE,GR5,CZP 2.75$            
12563B COUPLER, FEMALE QUICKTACH 54.00$          

14375-00 REFLECTOR, WIDE ANGLE AMBER 2.95$            
0103-0826-00B BOLT, 1/2 X 5-1/2 HEX GR5 ZP 2.95$            

70367 SPACER, .75 X .59 2.95$            
14635-00 SPACER, 0.5 X 1.00 3.00$            

12691 HARNESS, PTO CHIPPER 261.70$        
35093-00 KNOB, VALVE (18527-00) 28.00$          
30821-00 KIT, VALVE KNOB 28.00$          
34775-00 FLAP, SGACE 28.00$          
34675-00 CLUTCH, CENTRIFUGAL 4.0 AB 2 GROOVE 272.00$        
30155-00 PUMP, LOG SPLITTER 2 STAGE 90 DEG 276.10$        

70534 SPACER,0.75 X 0.620 3.20$            
0103-0814-00B BOLT, 5/8 X 3-1/4 HEX GR5 ZP 3.25$            

15018B BOLT, 1/2*6-1/2 GR5 HCS ZP 3.25$            
32847-00 FITTING, REDUCER 1/2" TO 1/4" BARB 13.80$          
33335-00 HARNESS, DDC PROGRAMMING 55.00$          
33591-00 ASSEMBLY, 410/350-4 FLAT-FREE WHEEL 28.50$          
32097-00 CLIP, LINE TUBE 3.00$            
18052-00 HARNESS, CHIPPER CONTROLLER 299.80$        

16507 LATCH, FLEXABLE DRAW W/ KEEPER 56.00$          
17738 TELE-TOP, FAR BOX 50" X 44" X 8" 29.00$          

15517B BOLT, 3/8 X 7-1/2 GR5 HHCS NC ZP 3.50$            
34700-00 FLAP, SGXTR 29.00$          
36398-00 HARNESS, 6" PGRM JMPR (DIESEL) 58.00$          
33340-00 CAP, CH611DH FUEL VENTED 14.15$          
31994-00 KNOB, 5/16-18 UNC TEE W/LOCKING INSERT 3.60$            
15017B BOLT, 1/2*4-1/2" GR5 HHCS NC ZP 3.75$            

33682-00 COVER, PLASTIC TRIMMER FRONT 29.00$          
31337-00 WHEEL ASSY, BEARVAC PUSH 60.00$          
34778-00 HARNESS, BRIGGS SGACE KILL SWITCH 29.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



34702-00 FLAP, SGPRO 29.00$          
36181-00 HOSE,.63X-10FMJIC SW/-10FMJIC SW46" 60.00$          
34685-00 WHEEL, 13/500 X 6 SNOW W/ HUB PLATE 60.00$          
34345-00 KIT, FIELD FIX (NPP) 317.00$        
34573-00 WELDMENT, 4-1/2" CHIPPER DISK 328.80$        
34574-00 WELDMENT, 4-1/2" PTO DISK 328.80$        
34575-00 WELDMENT, 4-1/2" HYD DISK 328.80$        
34594-00 CONTROL, THROTTLE HONDA 60.00$          
34660-00 SWITCH, ENGINE KILL 14.80$          
13853-00 SPROCKET, BEARVAC 35B10 29.50$          
30131-00 PIN, 3/8" X 4.25" DISCHARGE 29.50$          
33783-00 STRING, .155 DIA. CROSS-FIRE (1 LB DONUT) 14.00$          
34692-00 PIVOT, 5 POSITION SG HANDLE 61.00$          
33701-00 WIRE ASSY, ENGINE KILL 29.50$          
36399-00 HARNESS 8" PROGRAM JUMPER 62.00$          
34338-00 GROMMET, 3/8 ID PUSH IN 2.50$            
33882-00 HARNESS, E-STOP WIRE 63.00$          
33777-00 ENGINE, HONDA 160CC VERTICAL 363.00$        

36106-00B TACH/HOURMETER, DATCON 366.80$        
35092-00 COIL NUT, SOLENOID (VALVE 18527-00) 15.30$          
34715-00 BOLT, LOPRO 2.0 INCH 7.17$            

15407 BOLT,5/16*7-1/2"GR5 HHCS NC ZP 3.95$            
15429B BOLT, EYE 5/16-18 * 2"LG ZP 4.00$            

32523-00 SPACER, .75 X .94 4.00$            
32310-00 ASSEMBLY, SEALED SWITCH NORMALLY CLOSED 67.00$          
33781-00 WIRE ASSY, ENGINE KILL 30.00$          
16493B PIN, 3/16 X 1-5/16 LYNCH 4.05$            

36772-00 HARNESS, SAFETY RELAY 68.00$          
15234B BOLT 1/2 X 6 G5 HCS - ZP 4.05$            

36102-00 PUMP, 2 STAGE .841 DISP 427.50$        
34694-00 BUSHING, IGUS CLIP 1/2 ID .14 THICK 4.05$            
33434-00 HARNESS, RPM INPUT 69.00$          

12278 SCREEN, RADIATOR INLET 70.00$          
15349B BOLT, CARR 5/16-18x7/8 GR5 CMS F1 5ANS 4.15$            
70368 SPACER, .75 X .59 W/HOLE 4.15$            

36145-00B PLUG, DEUTSCH DT 2 SOCKET 4.15$            
15198-00B BOLT, 1/2-13X3-1/4,FLANGE,GR8,YZP 4.20$            

15575B PIN, M10 X 80 SPRING 4.20$            
18549-00 CLAMP, CABLE MOUNT 4.25$            

70369 SPACER, .75 X 1.18 4.25$            
36696-00 GROMMET, KELCH 100 GAUGE 4.25$            
77199-00 INSTRUCTIONS, FENDERS AND TAIL LIGHT KIT 2.00$            

70290 SPACER .75 X .90 4.30$            
0400-0209-00B PULLEY, FLAT IDLER 71.00$          

34298-00 CONTROLLER, DSE - KUBOTA 429.00$        
74157-10 LINK, PARALLEL 18.50$          
15841-00 SNAP RING, 2-1/2 EXTERNAL 4.45$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15768-00 U-BOLT, 1/4x1-1/2 PIPE CMS F1 5ANS 4.45$            
32044-00 CLIP, CABLE SNAP 4.45$            

70536 SPACER, 0.75 X 1.240 4.50$            
13404-00B ADAPTER, -8MORING/-6MJIC 4.50$            

17890 TERMINAL,BATTERY 12GA,3/8"RING 4.50$            
14366-00B GROMMET, CLEARANCE LIGHT 4.55$            
32846-00 CLAMP, SPRING 1/2" ID HOSE 4.65$            
15022B BOLT, 5/8 X 5 HEX HD G5 ZP 4.70$            

32910-00 ASSY, TIRE AND WHEEL 72.00$          
15193-00B BOLT, 1/2-13X4,FLANGE,GR5,CZP 4.75$            
14367-00 PLUG, 12 VOLT LIGHT 4.90$            

70371 SPACER, .75 X 1.47 4.95$            
32520-00 SPACER, 0.75 X 0.51 X 1.44 4.95$            
12615B ADAPTER, -8MORING/-8MJIC 4.95$            
16379 FITTING, 1/4 NPT * 1/4 HOSE 5.00$            

13870-12 HANDLEBAR, BEARVAC UPPER 78.70$          
31737-00B GROMMET, OVAL TAIL LIGHT 5.25$            
36690-00 PLUG, TANK VENT 5.45$            
17257B SPRING,LC-072J06S COMPRESSION 5.50$            

33351-00 KIT, HYD MOTOR SEAL W/SPACER 438.80$        
17165B CABLE STOP - BOWDEN PIN # 6170 5.65$            

14974-00 SNAP RING, 2-7/16 SHAFT 5.70$            
70968 SPACER, .81 X .620 5.70$            

71248-10 RING, DISCHARGE CLAMP 20.00$          
31129-00 BEARING, WHEEL 5/8 X 1 3/8 5.70$            
71207-12 HANDLE, UPPER SG 80.15$          
33292-00 HARNESS, DDC INFEED CHUTE 444.30$        
77679-00 KIT, OWNERS LS22 LOG SPLITTER 203.00$        

70370 SPACER, .75 X 1.18 W/HOLE 5.90$            
32243-00 PROFILE, INNER 1B (FOR 32219-00) 73.00$          

16020 PIN, TOP LINK 3/4 * 4-1/2"LG 6.00$            
70758-00 SPACER, 1 1/16 OD X 14 GA X 1.40 6.15$            
32521-00 SPACER, 0.75 X 0.51 X 1.74 6.15$            

70535 SPACER, 0.75 X 1.850 6.20$            
12188 ASSEMBLY, ENGINE KILL WIRE 6.20$            
70291 SPACER, .75 X .90 W/ HOLE 6.25$            
12307 WIRE HARNESS, CHIPPER BRAKE GROUND 31.50$          
72759 SPACER, TRIMMER SPINDLE 6.40$            

2511-0037-00B HOSE, FUEL 5/16 ID SAE 30R7 6.45$            
75815-12 SHEET, LEVER BOTTOM 22.05$          
12504-12 SPRING, EXTENSION 29.61$          
31311-00 SCREW, MUFFLER DEFLECTOR 6.50$            
15062B BOLT 5/8*6-1/2" HHCS GR5 NC ZP 6.65$            
12651 ADAPTER, -6MNPT/-6MJIC 90 DEG 6.75$            

77615-00 ASSEMBLY, C/S ROTOR KNIVES 219.00$        
15775-00 NUT, 5/8-32 JAM 6.90$            
36409-00 HARNESS, 12/14 INCH CHIPPER 467.50$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



34739-00 SOCKET, 1/2 DRIVE 1/2 ALLEN WRENCH 32.00$          
14254-00 COLLAR, SET 5/8" 6.90$            

12627 STRAP, 6 INCH TARP 7.00$            
31264-00 AXLE, TORSION 1800 472.00$        

2511-0022-00 HOSE- FUEL, 1/4ID, SAE 30R7 7.00$            
70533 SPACER, 0.75 X 2.170 7.00$            

32106-00 HARNESS, 9" PTO PLUS 1 CONTROLLER 482.60$        
12225 YOKE, 1-3/8" 6 SPLINE 76.00$          

77938-12 ASSEMBLY, BAIL HWS TRIMMERS 33.26$          
77939-12 ASSEMBLY, HWS SPROCKET N3548T 33.37$          

16830 CAP, WHEEL DUST 7.20$            
77588-00 SPACER, 0.75 X 2.05 7.40$            
16786B ABSORBER, IDLER SHOCK 77.00$          

32104-00 HARNESS, 6" DIESEL PLUS 1 CONTROLLER 510.60$        
14361-00B LIGHT, RED CLEARANCE 7.45$            
36691-00 FITTING, TANK VENT 7.50$            
30346-00 HARNESS, 8 IN. GAS PLUS 1 CONTROLLER 510.80$        
30470-00 HARNESS, 6 IN GAS PLUS 1 CONTROLLER 523.90$        
30408-00 HARNESS, 9" DIESEL PLUS 1 CONTROLLER 540.40$        
32248-00 COLLAR, REINFORCING (FOR 32219-00) 17.30$          
34663-00 HARNESS, 8IN GAS SUBARU DDC CONTROLLER 547.10$        
30600-00 HARNESS, 6 IN DIESEL PLUS 1 CONTROLLER 564.20$        

7166B FLEX HOSE 6" DAYCO U-11 X 25' 627.70$        
36211-00 CYLINDER, 5 X 24 WELDED 634.10$        
31793-00 CONTROL, TILT ADJUSTMENT 33.50$          
72293-10 WELDMENT,  INFEED TRAY 5" 260.00$        
33293-00 HARNESS, PTO DDC CONTROLLER 682.70$        
33294-00 HARNESS, 6" GAS DDC CONTROLLER 686.20$        
33983-00 CONTROLLER, DSE - KUBOTA 716.60$        

12788 MOTOR, 30 CU.IN. HYDRAULIC 726.60$        
12695 WIRE, SWITCH 7.75$            

31948-00 COUPLER, SPLIT 7/8" TO 1/2" SHAFT 77.00$          
32105-00 HARNESS, 8" GAS PLUS 1 CONTROLLER 781.00$        

71256 TUBE, DISCHARGE LOCK PIVOT 7.75$            
15783-00B BOLT, 5/8 X 3 NC GR 8 HEX ZP 7.75$            

12438 BOX, 38-1/4 X 23-3/16 X 20 34.00$          
16922 ELEMENT, HYDRAULIC FILTER 17.80$          

72518-10 COVER, JACKSHAFT 27.00$          
33435-00 HARNESS, SENSOR TEST 78.00$          
74097-10 WELDMENT,  BELT PIN 38.00$          
36109-00 GAUGE, DATCON FUEL 79.00$          
77342-12 BAIL, SP CONTROL 18.00$          
32103-00 HARNESS, 6" GAS PLUS 1 CONTROLLER 825.00$        
32195-00 BOX, 42.5 X 33.5 X 30.5 34.50$          
30334-00 LIGHT, LED TRI-COLOR 35.00$          
34557-00 CONTROL, CLUTCH ENGAGEMENT 35.00$          
34848-00 HANDLE, BAG BEARVAC 35.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



32304-00 HARNESS, SUBARU ENGINE KILL SWITCH 36.00$          
34773-00 BELT, BX50-X5 19.50$          

16319 PULLEY, 3-1/4 FLAT IDLER 36.00$          
18044-00 CAP, FUEL 36.50$          

14985-00B CABLE, 48" POS <R/R> 36.50$          
77161-12 DISK, TRIMMER 19.50$          

17488 FLANGETTE, 52MM 3 BOLT TRIANGLE 8.10$            
15875-00 BOLT, 3/8-16 X 3-1/4 FLANGED SHOULDER 8.40$            
10705B CLAMP, 6" HOSE 8.50$            
17520 SPRING,LT EXT .555OD  X 2.75LG 8.65$            

17497B PIPE NIPPLE,1/4 * 4"GALVANIZED 8.75$            
0883-0120-00B KIT, CROSS + BEARING W-2400 79.00$          

33674-00 HARNESS, B&S ENGINE KILL SWITCH 38.00$          
15481 STUD, 1/2"-13 * 3"LG B7 ZP 9.00$            
70537 SPACER, 1.00 X 1.700 (W/HOLE) 9.00$            

32127-00 SPROCKET, 35B9T WITH .500 HUB ID 9.15$            
32022-00 PAD, FOAM HANDLEBAR 9.55$            
17359B CLAMP, 8" HOSE 9.55$            

34757-00 CABLE, THROTTLE PUSH/PULL SGXTR/SGPRO 40.00$          
78080-00 WELDMENT, 6 CHIPPER DISK 977.60$        
14260-00 ADAPTER, -8MPNT/-8MJIC 90 9.65$            

73959-12B HINGE, DISCHARGE CAP 28.30$          
34349-00 CABLE, DIESEL THROTTLE 37.5 IN 87.00$          
18528-00 STRAP, 10 INCH TARP 9.75$            

41290 ADAPTER, -8MNPT/-6MJIC 90 DEG 9.80$            
32244-00 PROFILE, OUTER 2A (FOR 32219-00) 87.00$          
31786-00 COVER, UNDERCARRIAGE 41.50$          
32908-00 SHEAVE, 2B3.4 SH 42.50$          
12339B ADAPTER, -8MORING/-8MORING ADJ 9.90$            
12232 CONE, 4 RIB SAFETY 19.80$          
12304 WIRE HARNESS, CHIPPER BRAKES 89.00$          

33289-00 KIT, HYD MOTOR SEAL 90.00$          
14823-00B PIN, 3/8 HITCH 10.05$          
32543-00 CARBON CANISTER, 1000cc 42.50$          
73622-12 HANDLEBAR, LOWER BEARVAC 40.86$          
32673-00 CAP, EPA FUEL TANK 43.00$          
16683B COUPLER 1-1/4 SHAFT 94.00$          
12520 DEFLECTOR, EXHAUST 10.50$          

13850-00 CAP, ROUND VINYL (4X1) 10.55$          
33290-00 KIT, HYD MOTOR SEAL 95.00$          

31331-00B KIT, PUMP SEAL REPLACEMENT 97.00$          
32108-00 SENSOR, M12 PNP PROXIMITY 98.00$          
32139-00 CABLE, TRANSMISSION ENGAGE W/HANDLE 43.50$          

16723 KIT, HYDROSTATIC PUMP SEAL 98.00$          
17905B BULKHEAD FITTING 10.80$          

30325-00 FLAP, 9 INCH CHUTE 45.00$          
16692B KEY, 3/16 X 5/32"/4MM WOODRUFF JUMP 10.90$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



36185-00 COUPLER, FEMALE CONNECT 100.00$        
36469-00 PLUG, MANUAL GFCI 15 AMP-120V 100.00$        
13855-00 PULLEY, 2.85 O.D. X 7/8" BORE 45.00$          

17558 4L390 BELT 10.90$          
12271 BOX, PLASTIC BATTERY 45.50$          

33980-00 PUMP, ELECTRIC FUEL 100.00$        
17842 GOGGLE, EYE PROTECTIVE 10.90$          

33778-00 SPACER, HONDA 1 1/16 OD X 14 GA X 2.134 11.05$          
34774-00 DEFLECTOR, EXHAUST BRIGGS HORIZ ENGINES 11.25$          
36391-00 PLUG, JUMPER HARNESS 11.40$          
14198-00 WIRE ASSY, ENGINE KILL 11.55$          
32899-00 SHEAVE, 2B 3.8 SH 45.50$          

12839 BOX, SMALL BATTERY 45.50$          
32010-00 CASTING, BEARING HOUSING BOTTOM 48.00$          

12226 KIT, CROSS AND BEARING 48.00$          
30218-00 COUPLER, 1/2" ID FLEX DRIVE COUPLING 48.50$          
34754-00 CABLE, BRAKE 34701-00 105.00$        
30219-00 COUPLER, 3/4" ID FLEX DRIVE COUPLING 48.50$          
32245-00 YOKE, 1-3/8-6 SPLINGE ASGE (FOR 32219-00) 106.00$        
12209B CHAIN, SAFETY 12.00$          

32012-00 CASTING, BEARING HOUSING TOP 48.50$          
14623-00 WIRE, IGNITION SPLICE 20.00$          

0103-0849-00B BOLT, 3/4 X 8 HEX GR5 ZP 12.15$          
16019 PIN, LIFT ARM 7/8 * 5" LG 12.15$          

34406-00 BELT, 4RBX64-4 107.00$        
33436-00 HARNESS, SENSOR TEST INLINE 111.00$        

16919 BAG, LAWN VAC 113.00$        
14520-00 GRIP, 1.219 X 10.00 12.25$          
32921-00 FHP B PULLEY,5.6 - 1/2" BORE 114.00$        
77323-00 KIT, SC3305 AND SC3342 OWNERS 70.00$          

16585 PUMP, HYDROSTATIC 1,411.40$    
33736-00 VALVE, 4-WAY 4-POSITION FC & RELIEF 1,482.00$    
36184-00 COUPLER, MALE PRESSURE CONNECT 119.00$        

17006 COLLAR, SET 1-1/4 12.55$          
12219 YOKE, 1-1/2" RND 121.00$        

35095-00 CONTROL, SUBARU V-TWIN IGNITION/HOUR 127.00$        
34834-00 CLUTCH, CENTRIFUGAL 4.0 AB 1 GROOVE 134.00$        
16835B ADAPTER, -10MORING/-10MJIC 45 DEG 12.65$          

31781-00 TRANSMISSION, 3 SPEED TRIMMER 142.00$        
16777 TOP LINK PIN, CAT 2 13.25$          
12208 RING, SC15 BEARING 13.80$          

0032-0315-17B SPRING, 1.55 OD X 16 LG COMPRESSION 14.05$          
14803-00B SHEAVE, 5V7.10-5 GROOVE SF 150.00$        

16787 BELT, 3B85 BANDED 153.00$        
14638-00 HARNESS, PTO SAFETY BAR 155.00$        
31446-00 HOPPER, 2 INCH SHREDDER/CHIPPER 158.00$        
34404-00 SHAFT, 6 SPLINE INPUT 161.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



16473B SOLENOID VALVE ASSEMBLY 3 WAY 166.00$        
34776-00 WHEEL, 13/500 X 6 SNOW W/HUB PLATE FOAM 167.00$        

17969 CLUTCH, CENTRIFUGAL 2 HP 169.00$        
14542-00B ADAPTER, 8MJIC/8MJIC/8FMJIC SW TEE 14.65$          
14980-00 ADP, -8MORG/-8MJIC/-8MJIC BR TEE 14.80$          
75612-35 TUBE, LEG CHIPPER/SHREDDER 41.45$          
14587-00 HARNESS TRAILER LIGHTING 175.00$        
18273-00 CALIPER, 210M BRAKE 177.00$        
32674-00 TANK, 6.5 GALLON FUEL EPA 182.00$        
36094-00 ADAPTER, -12 MNPT/.75 HOSE 90 DEG 15.25$          
12223B RING, SC25 BEARING 15.55$          

18593-00 MOTOR, 4.46 CU IN HYDRAULIC 1,584.40$    
34274-00 CABLE, TRANS ENGAGE HWS 20.50$          

13317-00B SHEAVE, 4B13.6 SK 183.00$        
77089-10 WELDMENT, DL HITCH POLE 196.00$        
36322-00 TANK, HYDRAULIC 191.00$        
14565-00 CYLINDER, 2 X 12 HYD. 3000PSI 196.00$        

12252 DECAL, VAC DEBRIS 3.60$            
33571-00 SHAFT, 6 SPLINE 5" CHIPPER/SHREDDER 201.00$        
18553-00 HARNESS, SAFETY BAR 201.00$        
33932-00 TRANSMISSION, 3 SPEED MG512 208.00$        

12010 DECAL, MAINTENANCE ANSI 3.95$            
34676-00 CLUTCH, CENTRIFUGAL 4.0 AB 1 GROOVE 210.00$        
13857-00 PAD, FOAM HANDLEBAR 15.90$          
36049-00 DECAL, MODEL CH800H 4.45$            
18612-00 DECAL, BOBCAT 4.70$            

17897 BEARING, SIDE FLNG MOUNT,5/8" 16.05$          
16213 MODEL DECAL, 3HP MINI C/S 5.50$            

32519-00 DECAL, EPA EVAP 5.70$            
34698-00 BUSHING, .594 ID X 1.0 OD X 1.59 16.45$          
31500-00 ENGINE, SUBARU 720CC EH72 EFI 2,802.80$    
18940-00 DECAL, MODEL WV190S 6.15$            

15502 EYEBOLT, 1/2-13x2 CMS F1 5ANS 16.50$          
14991-00 GAUGE, 3" TACH/HR METER 213.00$        
33868-00 LIGHT, AMBER MARKER 16.85$          

12572 CHAIN, EZ TRIMMOWER 17.30$          
14368-00B LIGHT, LICENSE PLATE 17.30$          

12096 KEY, KUBOTA IGNITION 17.45$          
18069-00 HOUSING, 4 BOLT STEEL 214.00$        

12132 BEARING, 3/4 2-BOLT BRONZE 17.45$          
36680-00 DECAL, MODEL WV160S 7.20$            

71482 BELTING, EURO HOPPER 21.55$          
34695-00 BELT, BX58-X5 21.60$          
35321-00 PAINT, 12OZ SPRAY SATIN B-C ORANGE 22.00$          
34770-00 CRANKSHAFT, 208CC 900 SERIES B&S 215.00$        
32490-00 SHAFT, TRIMMER HEAD 22.50$          
34710-00 TOOTH, 700 SERIES WEARSHARP 22.55$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



34711-00 TOOTH, 700 SERIES GREEN (ROCKY SOIL) 22.55$          
34712-00 TOOTH, 700 SERIES RED (SAND/CLAY) 22.55$          

16969 VALVE, CROSSOVER RELIEF 217.00$        
15408 BOLT, 5/16 X 10"HHCS NC GR5 ZP 18.60$          

34713-00 POCKET, 700 SERIES LOPRO ANGLE 23.30$          
34714-00 POCKET, 700 SERIES LOPRO STRAIGHT 23.30$          
15772-00 LOCKNUT, 1/2-13 SECURITY 18.70$          
31773-00 PULLEY, 4" X 12 MM AB 24.60$          
31772-00 PULLEY, 4.0 X 3/4 D-BORE B GROOVE 24.80$          

31324-00B BOLT, 5/16 X 3-5/8" EYE 25.30$          
32376-00 SWITCH, MOMENTARY IP65 NORMALLY OFF 25.50$          
13876-00 CONTROL, CLUTCH ENGAGEMENT 25.55$          
36112-00 RELAY, BOXH 12 VOLT 50 AMP 25.85$          
31711-00 HOSE, .75 ID X 28 IN 100R4 HYD 26.05$          
33596-00 CAP, VENTED HYD TANK 26.55$          
33653-00 WIRE ASSY, ENGINE KILL 27.00$          
18697-00 DECAL, 77454S INFORMATION 8.85$            

71420 MUD FLAP, STUMP GRINDER 18.75$          
36041-00 DECAL, MODEL CH922DH 9.05$            
14020-00 DECAL, 6HP SP BEARVAC INFORMATION 9.80$            
32137-00 CABLE, 3 POSITION SHIFT 27.50$          
18523-00 ADAPTER, -10MORING/-12MJIC90 19.00$          
30165-00 HARNESS, SUBARU KILL SWITCH 19.50$          
36113-00 LAMP, GAUGE 19.55$          
16877B HANDLE, GRAB 19.60$          

31465-00 DECAL, MODEL CH5540 11.25$          
17960B CLAMP, T-BOLT 4-1/4"ID  ZP 20.00$          

13925-00 ADAPTER, -10FMJIC/-10MJIC/-10MJIC 20.75$          
31368-00 ADAPTER, 1" HOSE BEAD X 3/4" PIPE 20.85$          
34839-00 DECAL, SGACE MAINTENANCE INFORMATION 13.50$          

17663 PAINT 12 OZ. SPRAY B-C ORANGE 21.05$          
31967-00 DECAL, MANUAL INFORMATION 14.05$          
32171-00 KIT, KOHLER CE MANIFOLD SHIELD 222.00$        
77983-00 WELDMENT, BIG CHIPPER ROTOR 222.00$        
14180-00 DECAL, 87 DB 18.00$          
30285-00 CABLE, BRAKE CONTROL SUBARU 21.75$          
18287-00 DECAL, FLOW RATE HYDRAULIC 18.85$          
31390-00 DECAL, COLLECT IT 19.00$          

17837 DECAL, BLADE DANGER ANSI 20.80$          
14467-00 DECAL, 114 DB 21.25$          
32037-00 DECAL, CASE CONSTRUCTION 21.30$          

12193 DECAL, 73454S INFORMATION 22.05$          
12259 DECAL, CH8540 INFORMATION 22.05$          
12260 DECAL,CH9540 INFORMATION 22.05$          

13443-00 DECAL, 5 INCH C/S INFO 22.05$          
18475-00 DECAL, 74950S INFO 22.05$          
18561-00 DECAL, 76628S INFORMATION 22.05$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



16978 DECAL, WOODS C/S 25.00$          
18660-00 DECAL, CRARY BEARCAT 8.19 X 6.45 29.00$          
18682-00 DECAL, CRARY BEARCAT 35.77 X 11.00 31.80$          
18683-00 DECAL, CRARY BEARCAT 35.78 X 11.00 31.80$          
18431-00 DECAL, ECHO BEARCAT 33.55 X 11.00 34.10$          
18432-00 DECAL, ECHO BEARCAT 33.56 X 11.00 34.10$          
32155-00 DECAL, P205/75R14 LOAD RATING 34.60$          
32730-00 DECAL, CARB EVAP 42.25$          
18430-00 DECAL, BEARCAT LOGO 32.96 X 14.53 52.45$          

12330 MANUAL, TRIMMER PARTS 6.00$            
12331 17891L, TRIMMER OWNERS (TRILINGUAL) 7.00$            
16023 MANUAL, OWNERS LARGE C/S 11.00$          
16382 MANUAL, LARGE C/S OWNERS 16.00$          
16751 GLASSES, BEARCAT CLEAR SAFETY 4.10$            
16783 MANUAL, 72928/74950 OWNERS 11.00$          
16812 MANUAL, PTO CHIPPER OWNERS 11.00$          
16973 MANUAL, 70554W (51207) 11.00$          
16976 MANUAL, 854W (51210) 11.00$          
17891 INSERT, ELECTRIC START MANUAL 6.00$            

13986-00 MANUAL, HONDA ENGINE GX670 11.00$          
13987-00 MANUAL, 620/824 OWNERS 6.00$            
13988-00 MANUAL, 620/824 PARTS 6.00$            
13989-00 MANUAL, 73554/75524 OWNERS 11.00$          
13990-00 MANUAL, 73554/75524 PARTS 6.00$            
13992-00 MANUAL, DEBRIS LOADER PARTS 6.00$            
14294-00 MANUAL, 74624/74628 PARTS 6.00$            
14295-00 MANUAL, 74624/74628 OWNERS 6.00$            
14783-00 MANUAL, 77412/77413/77454 OWNERS 16.00$          
14784-00 MANUAL, 77412/77413/77454 PARTS 11.00$          
14785-00 MANUAL, B+S HORIZ. ENGINE 11.00$          
14846-00 MANUAL, DOMESTIC OWNERS 16.00$          
14849-00 MANUAL, DOMESTIC PARTS 11.00$          
18131-00 MANUAL, 12/14 INCH PARTS 11.00$          
18280-00 MANUAL, 824 + 835 TURNTABLE OWNERS 11.00$          
18281-00 MANUAL, 824 + 835 TURNTABLE PARTS 11.00$          
18591-00 MANUAL, 76624/76628 + 76635 OWNERS 11.00$          
18592-00 MANUAL, 76624/76628 + 76635 PARTS 11.00$          
18870-00 CARD, BEAR CAT REGISTRATION (ECHO) 0.80$            
31787-00 CATALOG, ECHO BEAR CAT CE 7.13$            
32213-00 CATALOG, ECHO BEAR CAT SPANISH 0.50$            
70404-00 KIT, SPANISH EBC PTO SALES 20.00$          
70690-00 MANUAL, DL10 PARTS 6.00$            
70714-00 MANUAL, DL10 OWNERS 6.00$            
75320-00 MANUAL, SERVICE BEARCAT 25.00$          
75521-00 CERT. OF COMPLIANCE, SC2206 0.80$            
77426-00 MANUAL, DL8 OWNERS 6.00$            
77449-00 MANUAL, DL8 PARTS 6.00$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77880-10 LDMENT,  DSE BACK - SELL TO NORTHERN POWER ON 7.32$            
77741-00 KIT, 6" CHIPPER DISK WITH BLADE 1,222.40$    
34740-00 WHEEL, 1/4" DIAMOND SG TEETH 375.00$        
73518-35 ASSEMBLY, BAIL WT TRIMMERS 26.50$          
72440-12 WELDMENT, CHIPPER TRAILER 461.90$        

73000 KIT, DEBRIS FILTER 85.05$          
78452-00 ASSEMBLY, BELT SHIELD 121.50$        

70631 WELDMENT INLET PAN BV 43.78$          
71716 ASSY, 8" CHUTE W/DECAL 333.51$        

74642-10 HINGE, DISCHARGE CAP 19.50$          
78781-00 ASSEMBLY, SC-3013 BODY W/ DECALS 290.00$        
78100-00 KIT, 12" DL ENGINE BRACE 46.50$          
77566-10 PLATE,  SUPPORT LH 46.00$          
72915-40 WELDMENT, TOP ROLLER COVER 46.00$          
77605-00 ASSEMBLY, 6" FEED ROLLER SERVICE 444.50$        
72917-33 WELDMENT, CONTROL PIVOT 88.25$          
74249-10 PLATE, ENGINE MOUNTING 41.50$          
71852-00 ASSEMBLY, 5" PTO DRIVELINE 295.00$        

16655 CABLE PIVOT PIN 19.73$          
70954-35 WELDMENT, WIDE RENTAL HOPPER 190.10$        
74610-10 HANDLE, COUPLER 19.00$          
30969-00 ADAPTER, -10 MORB/-12 HOSE BARB 12.22$          
74984-10 SHIELD, BACK BELT 36.00$          
71931-10 CAP, 6" LOW PROFILE DISCHARGE 23.50$          
77282-10 BRACKET, IDLER 3 IN CHIPPER 28.00$          
77634-12 WELDMENT, CYLINDER SUPPORT LS21 132.40$        
77843-10 WELDMENT, TRIMMER AXLE 79.00$          
77981-00 ASSEMBLY, 9" CHIPPER ROTOR 1,600.40$    
36027-00 DECAL, MODEL SC5540 4.86$            
72755-12 WELDMENT, SPINDLE HUB 48.05$          
74630-10 BRACKET, BRAKE CABLE 19.00$          
70395-10 WELDMENT, BAG FRAME 93.00$          

16831 BEARING, WHEEL (CONE) 22.30$          
72481-10 GUARD, LOWER BELT 43.50$          
76679-12 WELDMENT, CHUTE SUPPORT 84.10$          
70436-10 SHILED, JACKSHAFT 41.00$          
71978-40 WELDMENT, CHIPPER HOUSING ACCESS 20.00$          
75020-00 PIN, LOCKUP 20.00$          
18271-00 CABLE, HYDROSTATIC CONTROL 76.20$          
77638-12 WELDMENT, CYLINDER SUPPORT LS27 132.95$        
77355-12 PLATE, HITCH PIN 17.65$          
34780-00 TOOTH, 500 SERIES GREEN (ROCKY SOIL) 17.40$          
34781-00 TOOTH, 500 SERIES RED (SAND/CLAY) 17.40$          
35094-00 CAP, JACK (16616) 3.46$            
70396-40 COVER, BLADE ACCESS 17.00$          
77573-10 PLATE,  CHIPPER SUPPORT RH 51.00$          
77574-10 PLATE,  CHIPPER SUPPORT LH 51.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77616-00 KIT, SC2170 SHREDDER KNIVES STANDARD 85.00$          
77251-10 WELDMENT, SUPPORT LEG LONG 52.76$          
75512-12 SHEET, CAP WHEEL 16.10$          

70147 SCREEN, WDLT COARSE MINI 62.75$          
75221-12 WELDMENT, DISCHARGE CHUTE 313.50$        
74024-10 BRACKET,  FENDER 25.00$          
77530-00 ASSEMBLY, SWITCH BOX 295.00$        
78837-00 KIT, SC BLADES ECHO 73.00$          

71260 WELDMENT, CHIPPER LIFT ARM 183.15$        
32110-00B KNOB, 3/8-16 UNC FEMALE TEE 2.76$            
77999-10 SPACER,  15/16" X 1.65" 13.50$          

72218 ASSY, VAC HOSE ADAPTER 269.00$        
33933-00 WHEEL, TRIMMER HUB 15 X 1.75 26.60$          
71081-12 DEFLECTOR, BLOWER VAC DISCHARGE 29.26$          
13870-10 HANDLEBAR, BEARVAC UPPER 79.00$          
71325-10 WELDMENT, LEFT BEARING BRACKET 52.50$          
74033-10 HINGE, EXTENSION  TRAY 36.50$          
77527-00 ASSEMBLY, SWITCH BOX 260.00$        
78193-00 ASSEMBLY, ROTOR SGXTR SGPRO 545.60$        
78776-00 ASSEMBLY, SC-2013 BODY W/ DECALS 280.00$        
77151-40 WELDMENT, TOP ROLLER COVER 50.50$          
76022-12 TUBE, LEDGE 40.35$          
11810B ADAPTER, -10MORING/-8MJIC 90 DEG 12.60$          

72137-12 WELDMENT, BUCKET TOP 400.10$        
74074-10 BRACKET,  SPRING ANCHOR 20.00$          
75960-10 BRACKET, DISK LOCK 27.50$          
70429-10 WELDMENT, PTO BELT GUARD N/A use 70461 75.00$          
77299-00 ASSEMBLY, 3 IN FRONT PLATE COMP 183.80$        
75811-12 PLATE, BOTTOM WEDGE 12.00$          
75749-00 SPACER, 1.00 OD X 0.25 X 1.26 11.90$          
31449-00 FITTING, TANK FUEL PICK-UP TUBE 5/16" 11.90$          
73671-35 WELDMENT, CASTER WHEEL MOUNT 47.60$          
73375-10 HINGE, EXTENSION TRAY 28.00$          
70595-10 WELDMENT, 8" LEFT DOOR 58.00$          
72433-10 PLATE, BEARING MOUNT 20.00$          
71109-10 WELDMENT, VACUUM IDLER ARM 119.00$        

70361 SWIVEL PUSH ROD 10.70$          
76903-00 KIT, 12 BLD SG CUTTER RETRO 336.40$        
14222-00 BATTERY, 240 CCA 167.80$        

16172 BLADE SHREDDER INLET 10.40$          
77285-10 HANDLE, CHIPPER CHUTE 3 IN 18.50$          
78194-10 WELDMENT, AXLE SGXTR 51.00$          
75206-10 WELD, PUMP MOUNT 50.50$          
76915-10 SUPPORT, AXLE FENDER RH 22.00$          
76916-10 SUPPORT, AXLE FENDER LH 22.00$          
36083-10 ELBOW,  KUBOTA EXHAUST 29.50$          
71985-10 ANGLE, INFEED SUPPORT 25.50$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78278-12 WELDMENT, RHS RAMP SG TRAILER 43.00$          
77078-00 KIT, OWNERS DL TRAILER 193.00$        
74228-10 WELDMENT,  CHUTE SUPPORT 67.00$          
18640-00 HARNESS, 5 INCH PTO AUTO FEED 171.90$        
73372-00 JACKSHAFT, C/S 49.41$          
76548-40 COVER,  CHIPPER SHAFT 19.00$          
75052-10 ARM, INSIDE IDLER 28.50$          
78527-00 ASSEMBLY, SC5627B TRAY 190.00$        
73649-10 BAIL, BEARVAC CLUTCH CONTROL 47.00$          
75229-00 ASSEMBLY, DISCHARGE CHUTE 860.40$        
77685-12 WELDMENT, CYLINDER SUPPORT LS22 56.05$          
77867-10 FENDER, HEAVY-DUTY 92.50$          
77978-10 BRACKET,  DISK LOCK 29.50$          
77281-10 MOUNT, IDLER BRACKET 27.40$          
73981-40 WELDMENT, TOP  ROLLER COVER 63.50$          
77918-10 BRACKET, TRANS SPEED CABLE 9.00$            
72238-12 WELDMENT, CRANK EXTENSION 49.28$          
71058-40 PLATE, TRAY STOP 24.50$          
71010-10 WELDMENT, BLOWER SUPPORT (TOWABLE) 73.50$          
74171-12 WELDMENT, CONTROL PIVOT 81.65$          
74171-33 WELDMENT, CONTROL PIVOT 81.65$          
71727-00 WELDMENT, FINE-CHIP DISK 1,545.40$    
75233-10 SHIELD, HYD PUMP 19.50$          
78227-00 ASSEMBLY, BODY WITH DECALS SGPRO 715.00$        
71984-40 PLATE, TRAY LATCH 24.00$          
74911-00 KIT, LED AMBER LIGHT 30.02$          

16069 SPARK PLUG, KOHLER 14,20,25HP 15.50$          
77456-10 WELDMENT, INLET ADAPTER 85.00$          
78695-00 ASSEMBLY, CHUTE EXTENSION CBC 229.50$        
76848-10 PLATE, CONNECTING ARM 7.50$            
76475-10 RING, DL DISCHARGE 15.00$          
70354-10 PLATE, ENGINE MOUNTING 45.00$          
78071-00 LEVER, WV TRANS ENGAGE 28.60$          
77682-12 WELDMENT, CYLINDER SUPPORT LS27 56.40$          
77421-00 ASSEMBLY, VACUUM INTAKE 282.00$        
77938-10 ASSEMBLY, BAIL HWS TRIMMERS 33.50$          
75330-10 PLATE, ENGINE MOUNTING 41.80$          
70217-10 WELDMENT, BLOWER IMPELLER 5+8HP 55.50$          
12943-00 PAD, TRIMMER BATTERY 6.90$            
71502-00 KIT, WT HEAT SHIELD 37.17$          
76287-00 ASSEMBLY, 9 INCH CHIPPER DISK 1,249.00$    
74225-10 BRACKET,  INSIDE IDLER MOUNTING 26.00$          
74981-10 PLATE, JACK MOUNT 20.50$          
74666-12 WELDMENT, IDLER ARM 54.55$          
32386-00 SPACER, 1.5" OD X .750" ID 1.36$            

12682 SWITCH, OFF/ON 13.40$          
76910-10 PLATE,  HYDRAULIC PUMP 20.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



73048-10 WELDMENT, CHUTE SUPPORT 57.50$          
74364-35 WELDMENT, WIDE FRAME TOW 688.00$        
15161B NUT, 1/2 NC WING ZP 1.26$            

77156-00 AXLE, TRIMMER 18.90$          
74882-35 WELDMENT, FUEL TANK 514.70$        
71475-35 WLDMT, NARROW GB HOPPER-ORANGE 198.55$        

71252 LEVER, DISCHARGE LOCK 19.77$          
71252-33 LEVER, DISCHARGE LOCK 19.77$          

17736 PALLET,FAR BOX 44"X 50" 111.15$        
70193 8 HP HOPPER W/DECAL 195.60$        

74892-10 PLATE, LINE HOLDER 25.60$          
71367 ANGLE, CABLE ATTACHMENT 27.17$          

78485-00 ASSEMBLY, CH4420XE INFEED TRAY 235.00$        
77251-12 WELDMENT, SUPPORT LEG LONG 52.85$          
31996-00 WHEEL, 14 X 1.75 TRIMMER 23.45$          
32981-00 MUFFLER, SUBARU STARTER SIDE 116.00$        
74161-33 WELDMENT, SAFTEY BAR PIVOT 86.85$          
77132-00 ASSEMBLY, BRAKE COVER SERVICE PART 33.44$          
74608-10 STRIP, FLAP RETAINER 11.50$          
74035-12 WELDMENT, CHUTE SUPPORT 57.25$          

16656 CABLE CLAMP 5.60$            
18546-00 PLATE, LEXAN 22.10$          
36217-00 TUBE, HYDRAULIC LS33340 21.90$          
77254-12 WELDMENT, AXLE 3 IN CHIPPER 44.44$          

70460 DISCHARGE DOOR WITH DECAL 39.48$          
15895-00B BOLT, 1/2 X 4 GR8 CRG 5.30$            
71118-00 ASSEMBLY, 9" CHIPPER ROTOR 1,608.10$    

72818 SPACER, 1-3/4 X 1.52 15.70$          
31911-00B SWITCH, E-STOP FOOT + PALM 612.10$        
73004-33 WELDMENT, CHUTE SUPPORT 82.50$          
75788-10 BRACKET, TILT HANDLE HWT 20.50$          
71463-35 WLDMT, WIDE EURO HOPPER-ORANGE 198.45$        

12053 TANK, 19 GAL FUEL 264.40$        
70248-00 ASSEMBLY, LOG SPLITTER TANK ATF 444.90$        
71940-12 STRIP, ADJUSTOR MOUNT 20.20$          
14306-00 ASSEMBLY, DO3 VALVE 634.00$        
15835-00 BOLT, M20 X 2.5 X 50 HEX HD W/PATCH 20.10$          
36390-00 WELDMENT, 12/14 INCH DISK 3,286.30$    
74949-10 LEVER, ENGAGEMENT 10.00$          
73558-10 LEG, C/S SUPPORT 36.00$          
75608-12 WELDMENT, TOW BAR 64.15$          
75429-35 PLATE, RESTRICTOR 19.65$          
77425-00 ASSEMBLY, VACUUM INTAKE 291.00$        
71081-10 DEFLECTOR, BLOWER  VAC DISCHARGE 29.00$          
72720-35 COVER, FRONT TRIMMER 14.45$          
74280-00 BEARING, ROLLER SLIDE 19.20$          
23668B SPACER, .88 X 1.25 18.95$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



72374 ASSY, ROTOR HOUSING W/DECAL 376.20$        
71776 ASSY, WIDE EUROPEAN DISCHARGE 125.55$        

14746-00 FILTER, 5.5 AND 8 HP BRIGGS PRE AIR 13.90$          
71773 ASSY, NARROW EUROPEAN DISCHARGE 97.20$          

77372-12 BRACKET, CORNER 18.20$          
14233-00 CAP, TANK COVER 18.20$          

17794 BELT GUIDE, 2-1/2"LEG ZINC PLT 18.20$          
75963-10 SHEET, TANK MOUNT 36.00$          
72000-10 MOUNT, 5"/8"/9" DDC 32.00$          
74226-10 ARM,  INSIDE IDLER 27.50$          
78000-10 ARM,  INSIDE IDLER 27.50$          
74019-10 BRACKET,  TAIL LIGHT 27.50$          
77539-00 ASSEMBLY, SELF PROPELLED BODY (SERVICE) 115.00$        

73118 SPACER, 0.41" 4.40$            
72885-10 BRACE,  3 PT. BOTTOM 35.50$          
72492-12 ANGLE, ENGINE ADJUSTOR 25.85$          

16731 ROPE GUIDE 17.20$          
75053-10 BRACKET, INSIDE IDLER MOUNTING 21.50$          

16631 HYD. HOSE ASSY, X -6 JIC 21.40$          
77135-00 ASSEMBLY, TOP GRAB ROLLER SERVICE PART 376.30$        
78269-10 BRACKET, CHOCK SG TRAILER 38.00$          

16944 SPRING, CLUTCH RETURN 12.50$          
73111-39 WELDMENT, CHUTE SUPPORT 78.75$          
73111-12 WELDMENT, CHUTE SUPPORT 78.75$          
76922-00 ASSEMBLY, SC2170 STAND 105.34$        
18496-00 RELAY (Must Be Programmed) 420.00$        

70969 ASSY, COMM ROTOR W/RECT KNIVES 855.80$        
14397-00B LIGHT, AMBER CLEARANCE 8.00$            
76799-12 WELDMENT, BELT SHIELD BRACKET 42.85$          
71596-00 ASSEMBLY, WT LINE HOLDER 22.99$          
70433-10 GUARD, PTO END 28.50$          

16970 WIRE, HOUR METER CONNECTOR 7.90$            
12002 WIRE ASSY, 30" FM SPADE X RING 7.90$            
71376 ANGLE, VALVE SUPPORT 27.65$          

36692-00 Cap, Fuel Tank Sealed CARB 11.80$          
77750-00 KIT, WV190S TRANSMISSION 235.00$        

73076 ASSEMBLY, BOTTOM W/DECAL 538.60$        
72098 KNIFE, ROTOR NOTCHED 11.70$          

77781-00 KIT, CH450H CHIPPER HOUSING 391.50$        
75022-12 STRAP, TANK SUPPORT 19.10$          
18570-00 HARNESS, CHIPPER TRAILER 136.80$        
71723-10 CAP, LOW PROFILE DISCHARGE 25.00$          

71040 WELDMENT, BLOWER-VAC IMPELLER 224.00$        
71456-00 ASSEMBLY, 5" SKID STEER ROTOR 865.50$        
70679-00 KIT, BLOWER DISCHARGE WELDMENT 294.00$        
77455-10 WELDMENT, INLET ADPATER 94.50$          

70760 CAP,ROTOR SHAFT END CAP,RENTAL 4.36$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



17584 DETENT SPRING 3.60$            
73239-00 ASSEMBLY, SC2163 PANEL SERVICE 115.05$        
74230-10 WELDMENT,  PTO STAND 296.00$        
77995-10 WELDMENT,  PTO STAND 296.00$        
78263-10 BRACKET, LHS SG FENDER 49.00$          
78264-10 BRACKET, RHS SG FENDER 49.00$          
76594-12 WELDMENT, CONTROL ARM 166.85$        
74566-10 WELDMENT, TOP DISCHARGE CHUTE 48.50$          
72696-10 WELDMENT, CHUTE SUPPORT 68.80$          
73982-10 ANVIL,  6" CHIPPER 42.00$          
74961-00 ASSY, CHIPPER TRAILER 26,043.00$  
75085-35 WELDMENT, 6 IN CHIPPER HOUSING 2,130.50$    
75319-00 ASSEMBLY, 5 INCH CHUTE W/SAFETY BAR 3,212.60$    
77586-00 ASSEMBLY, CHANNEL CRADLE LS33340 47.25$          
77558-00 KIT, ENGINE GUARD 97.60$          
14667-00 IDLER, 2.75 X 1.25 26.90$          
73670-10 LEVER,  VALVE CONTROL 21.50$          
74830-00 KIT, 76854 BLADE 268.00$        
74654-10 PLATE, SPINDLE CASTING MOUNT 23.90$          
73287-10 BAR, SWITCH CONTROL 22.50$          
71704-10 CAP, 8 INCH DISCHARGE CHUTE 31.00$          

70550 8HP TOWABLE FRAME W/DECALS 747.10$        
17763 SPRING, DRIFT CUTTER 1-1/4LG 9.80$            

75183-10 BRACKET, LICENSE PLATE 30.00$          
76789-00 WELDMENT, CHIPPER DISK 678.00$        
77917-10 BRACKET, HWS TRANS MOUNT 51.00$          
73752-10 PLATE, TRIMMER PUSH BASE 23.50$          
73654-10 PLATE, TRIMMER AXLE 42.50$          
78843-00 KIT, SPARK ARRESTER BRIGGS 208CC 38.50$          
78844-00 KIT, SPARK ARRESTER BRIGGS 306/420CC 38.50$          
78846-00 KIT, SPARK ARRESTER BRIGGS TRIMMER 38.50$          
36258-00 CONTROLLER, PLUS 1 CHIPPER 981.80$        

71340 WELDMENT, FRONT GUARD SUPPORT 31.79$          
74611-12 GUIDE, BELT 21.35$          
73865-10 FENDER, CHIPPER 130.50$        
74712-12 GUIDE, ENGINE MOUNT BELT 18.15$          
77729-00 KIT, CH6730HXE HITCH POLE 300.00$        
76605-12 WELDMENT, EXTENSION TRAY W/ TABS 298.00$        
78379-00 ASSEMBLY, PUSH VAC HOUSING W/ CBC DECALS 174.50$        
74519-12 WELDMENT, ANVIL BACKPLATE 79.55$          
77080-10 MOUNT, COUPLER 20.50$          
72446-10 WELDMENT, BLOCK ADJUSTOR 38.00$          
77716-00 ASSEMBLY, CH611DH CHIPPER HOUSING TOP 548.20$        
77919-00 LEVER, HWS TRANS ENGAGE SS 28.90$          
72478-10 WELDMENT, PTO STAND 304.00$        
75884-00 KIT, WHEEL TRIMMER (SP) 128.65$        
72499-12 SPACER, 1-3/4 X 7/16 X .120 8.55$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71232-10 WELDMENT, PTO STAND 284.00$        
77916-10 BRACKET, HWS BASE 51.00$          
78591-00 ASSEMBLY, SC5540B TOP HOUSING W/ DECALS CBC 435.50$        
16576B SPROCKET, 40B9 36.14$          

75868-00 KIT, PSC6G FIELD 143.65$        
15171-00 BOLT, 1/4 X 2 FLANGE NC 1.12$            
32823-00 GAUGE, FUEL LEVEL KELCH 100 28.00$          
74670-00 ASSEMBLY, DISCHARGE CAP 131.05$        
78786-00 ASSEMBLY, SC-4213 BODY W/ DECALS 295.00$        

72944 WELDMENT, HYD ROTOR SHAFT MACHINED 222.00$        
77013-00 ASSEMBLY, HOUSING SC5720B 3,074.40$    
76302-12 WELDMENT, ALIGNMENT TOOL 154.90$        
77940-10 BRACKET, TRANS SHAFT SUPPORT 16.50$          
33899-00 CONNECTOR, STRAIN RELIEF 27.50$          

71771 ASSY, 3" CHIPPER CHUTE EXTENSION 126.40$        
71371-00 ASSEMBLY, CH5653/XE ROTOR 873.80$        
71594-00 CAP, HYDRAULIC W/ DIPSTICK 42.50$          
78222-10 BRACKET, RHS SIDE FLAP SGPRO 20.00$          
76661-00 ASSEMBLY, CHIPPER COVER W/ DECALS 540.20$        

70495 SPACER, .54 X .88 5.40$            
74569-10 CAP, DISCHARGE 22.50$          

71667 WELDMENT, UPPER EXT. SUPPORT 64.10$          
71081-33 DEFLECTOR, BLOWER-VAC DISCHARGE 29.25$          
71081-37 DEFLECTOR, BLOWER-VAC DISCHARGE 29.25$          
71081-39 DEFLECTOR, BLOWER-VAC DISCHARGE 29.25$          
78390-00 ASSEMBLY, SELF VAC HOUSING W/ CBC DECALS 164.50$        
70249-10 TUBE, BLOWER 175.80$        
75982-00 KIT, PLUS 1 6 INCH (GAS) EURO 1,142.20$    
76170-00 KIT, 6" PLUS 1 GAS 1,138.70$    
76132-00 KIT, 6" PLUS 1 (DIESEL) EUR0 1,143.70$    
75829-00 ASSEMBLY, HITCH POLE 137.05$        
36083-12 ELBOW, KUBOTA EXHAUST 29.93$          
36202-00 HARNESS, C/S TRAILER 103.00$        
72461-12 STRIP, FLAP RETAINER 23.15$          
76365-10 BASE,  9.25 GAL NYLON TANK 54.00$          
75205-10 ANGLE, IDLER BRACKET 19.50$          
77519-38 WELDMENT, BEARING SUPPORT 128.00$        
76171-00 KIT, 6" PLUS 1 (DIESEL) 1,125.10$    
70525-10 WELDMENT, CHIPPER BASE 705.00$        
74371-00 SHIM, 16 GA. 5.10$            
34936-00 BEARING, 1" PILLOW AP SEAL 25.50$          
75139-12 WELDMENT, SWITCH BOX 149.96$        
78622-00 ASSEMBLY, 6" INFEED CHUTE W/  CBC DECALS 453.50$        
76172-00 KIT, 8" PLUS 1 1,136.80$    

16629 ADAPTER, -12MNPT/-8FMNPT HEX 5.00$            
71618-10 BRACKET,  AIR-CLEANER MOUNT 24.50$          
72704-10 WELDMENT, TRIMMER HEAD (HEAT TREAT) 42.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



70767-12 BOTTOM, TRIMMER STANDOFF 40.95$          
71866 PANEL, KUBOTA ENGINE CONTROL 39.87$          

76666-00 ASSEMBLY, ROLLER FRAME W/ DECAL 246.00$        
75925-12 CHANNEL, HANDLE 26.85$          
75550-00 SHIM, BEARING 9.75$            
17740B PULLEY,3-1/2"IDLER 31.65$          

76110-00 KIT, 8" PLUS 1 EURO 1,140.50$    
77347-00 ASSEMBLY, CHANNEL CYLINDER 39.26$          
75333-10 CHANNEL, HITCH POLE 26.50$          
73621-12 WELDMENT, TRANSMISSION MOUNT 50.25$          
70236-10 WELDMENT, BLOWER BELT GUARD 8HP 85.50$          
77453-10 WELDMENT, HOSE SUPPORT 85.00$          
77845-10 BRACKET, AXLE SUPPORT HWT 14.00$          
78277-10 RAMP, SG TRAILER 46.50$          
74956-12 PLATE, SPEED SENSOR 18.50$          
15874-00 BOLT, 1/2 X 3-3/4 GR8 NC HEX HD 2.30$            

70040 ENGAGEMENT ARM 18.40$          
32530-00 O-RING, -10 SAE 0.46$            
73449-12 WELDMENT, REAR STABILIZER 62.05$          
74368-00 GUSSET, 2-1/2 X 2-1/2 11.40$          

71707 CONDUIT, 1/4 X 158 WIRE 20.90$          
77462-10 TUBE, HITCH 63.50$          

71104 TUBE, WHEEL AXLE 13.60$          
76622-00 ASSEMBLY, SEALED SWITCH 45.00$          
74640-00 ASSEMBLY, DISCHARGE CAP 152.95$        
15151B BOLT, 5/8*1-3/4 G5 NF HX CAP ZP 2.66$            
71091 WLDMNT, TOW BAR 104.15$        

71132-12 PLATE, CHIPPER BOTTOM 48.65$          
71455-00 ASSEMBLY, FUEL TANK DIESEL 221.00$        
76919-12 BRACKET, LIGHT RH 28.70$          
73890-10 WELDMENT, AXLE PIVOT 11.00$          
76538-12 MOUNT, PUMP 28.35$          
78220-10 BRACKET, RHS SIDE FLAP SGXTR 19.50$          
78229-10 WELDMENT, AXLE SGPRO 54.00$          
77776-00 KIT, CH45540 CHIPPER HOUSING 504.40$        

16347 BELT, 2B70 BANDED ARAMID 70.64$          
76617-35 WELDMENT, CHIPPER TOP 499.50$        
78588-00 ASSEMBLY, SC5540 BODY W/ DECALS 934.00$        

71330 BRACKET, PUMP MOUNT 59.20$          
77791-00 KIT, WT190S TRANSMISSION See Bulletin SIB 14 001 211.00$        
73866-10 BRACKET, FENDER 67.50$          
73985-10 WELDMENT, BLOCK  ADJUSTER 48.50$          
71504-00 KIT, 4-WAY WEDGE W/ 2 PIECE STRIPPER PLATE 295.00$        
31502-00 DECAL, 120 dB 6.30$            
32276-00 BEARING, 1-1/4" FLANGE BRACKET 42.00$          
75230-12 CAP, DISCHARGE 41.48$          
76368-00 WELDMENT, RH VACUUM WHEEL 66.50$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76369-00 WELDMENT, LH VACUUM WHEEL 66.50$          
70279 SHIELD, COUPLER 22.40$          

76940-40 LEVER, CHIPPER ENGAGEMENT 37.50$          
12659 PUMP, HYDRAULIC FEED 456.00$        

15122-00 BOLT, 5/16 X 1-1/2 FLANGE NC 0.82$            
32011-00 PLUG, 1.50 SQUARE 2.05$            
78541-00 ASSEMBLY, CH5627 TOP W/ DECALS CBC 338.50$        
76684-12 WELDMENT, AXLE BEARVAC PUSH 49.72$          
78028-00 WELDMENT, FAN "BEAR CLAW" 317.00$        

72003 DISK, SHAFT END 4.05$            
36682-00 HARNESS, LOG SPLITTER TRAILER 40.50$          
73598-00 ASSEMBLY, 5 INCH C/S CHUTE 383.40$        
77612-00 ASSEMBLY, 5" CS ROTOR KNIVES 1,004.10$    
72792-12 ANGLE, LH AXLE MOUNT 27.87$          
75771-33 SHIELD, KNEEBAR SWITCH 51.35$          
75849-12 PLATE, SLIDER QUICK SPLIT 30.32$          
73691-10 LINK,  VALVE CONTROL 23.50$          

70095 SCREEN, WLDT COARSE BOLT 3+5 86.05$          
77922-10 PLATE, HWS SPINDLE CASTING MOUNT 32.00$          

70420 JACKSHAFT, PTO C/S 41.62$          
17415B SPRING, 1.25OD X 3.50LG X .148WD 17.50$          

13924-00 ADAPTER, -12FMJIC/-12MJIC 90 19.40$          
75973-12 STRIP, SLOT COVER 15.50$          
77034-35 WELDMENT, FAN HOUSING 1,073.20$    
76759-35 PLATE, RESTRICTOR 19.35$          
74531-12 PLATE, HITCH POLE 23.20$          
72453-12 RING, DISCHARGE CLAMP 27.00$          

71283 SUPPORT, FENDER 43.78$          
74215-35 WELDMENT, KNEEBAR 221.82$        
75978-12 PLATE, COVER 15.15$          
77351-00 ASSEMBLY, 4-1/2 X 24 CYLINDER 664.00$        
34763-00 BAG, BEARVAC 215.00$        
75098-12 WELDMENT, 18 GAL TANK 514.80$        
72719-12 ANGLE, SHIELD SUPPORT 24.00$          

71591-00B ASSEMBLY, 5" PTO DRIVELINE 294.00$        
74041-10 SPACER, IDLER SHEAVE 5.50$            
78013-10 COVER, METAL HW TRIMMERS 23.50$          

71584 WELDMENT, TANK STRAP 60.37$          
76925-00 ASSEMBLY, SC2170 PANEL SERVICE 59.55$          
77361-38 WELDMENT, TOP ROLLER COVER 75.70$          
76665-00 ASSEMBLY, CHIPPER HOUSING MAIN W/ DECAL 1,841.80$    

70218 SHAFT,BLOWER IMPELLER 8HP 33.71$          
74199-35 WELDMENT, KNEEBAR 203.70$        
76767-00 WELDMENT, S/C ROTOR 160.80$        
13854-00 PULLEY, 4 O.D. X 12MM BORE 48.87$          

16832 SEAL, WHEEL GREASE 3.50$            
77622-00 KIT, VALVE AND O-RINGS 210.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



70945 SUPPORT, AXLE FENDER 45.00$          
75104-00 ELATE, HINGE 29.65$          

72826 ASSEMBLY, BODY W/DECAL 498.40$        
72972-10 PLATE, DDC WASHER 2.78$            
77629-12 CLAMP, CYLINDER SUPPORT TOP 22.14$          
77228-12 COVER, ENGINE SHAFT 19.00$          

71788 ASSY, NARROW RENTAL HOPPER 207.00$        
70417 WELDMENT, PTO C/S POST 68.95$          

71724-00 ASSEMBLY, LOW PROFILE DISCHARGE W/DECALS 322.40$        
72866-10 PLATE,  AXLE SAFETY 12.00$          
72798-35 WELDMENT, STUMPGRINDER FRAME 493.70$        
70017-10 WELDMENT, CHIPPER DISCHARGE 99.00$          

72985 SPACER, 1/2 X .135 1.70$            
74889-12 WELDMENT, BATTERY BOX 130.40$        
73132-00 ASSEMBLY, "CE" CHIPPER HOUSING W/DECALS 2,061.20$    
74860-12 LINK, VALVE 8.30$            
77466-00 ASSEMBLY, CHIPPER TOP SERVICE 341.80$        
76722-00 KIT, BATTERY DISCONNECT 117.75$        
77414-00 ASSEMBLY, DL8 HOUSING 997.30$        
73371-00 ASSEMBLY, 5 INCH C/S ROTOR 1,026.60$    
74038-00 ASSEMBLY, CHIPPER HOUSING 294.30$        

71449 WELDMENT, 3 INCH EURO CHUTE 173.55$        
35067-00 SHEAVE, 3B3.8 SH 49.50$          
77591-00 ASSEMBLY, 3" NARROW ROTOR KNIVES 263.00$        
73019-33 WELDMENT, CHIPPER BASE 1,529.60$    
18278-00 CABLE, BATTERY POSITIVE 66" 29.40$          
75737-10 SHIELD, INTAKE 21.50$          
77846-10 PLATE, AXLE SUPPORT HWT 6.50$            
16512B HINGE, 72 INCH 28.89$          
70097 SCREEN, WLDT COARSE BOLT 8HP 94.10$          
70526 WIDE LEAF SCREEN WELDMENT - BOLT 92.35$          

71795-00 ASSEMBLY, 6" CHIPPER HOUSING WITH DECALS 2,030.30$    
73787-10 WELDMENT, FEED  ROLLER N/A use 71839-00 524.50$        
70423-00 ASSY, BLOWER DISCHARGE 297.00$        
77348-00 SERVICE, TANK 21 TON 453.00$        
75843-12 ANGLE, MOUNT 23.90$          
77119-00 ASSEMBLY, GUARD PTO SERVICE PART 149.70$        
71050-12 WELDMENT, BLOCK ADJUSTOR 44.00$          
73153-12 WELDMENT, HOSE ARM 118.65$        

70184 WELDMENT, 7" ROTOR 81.50$          
70605-10 DOOR, 8" RIGHT 31.00$          
71560-00 ASSEMBLY, NARROW RENTAL HOPPER W/DECALS 192.95$        

71819 WELDMENT, REAR ENGINE COVER 136.70$        
76975-00 ASSEMBLY, BELT GUIDE W/DECAL 81.60$          
77437-12 BRACKET, ENGINE BASE 27.20$          

70899 WELDMENT, FOOT PEDAL 69.66$          
71357 WELDMENT, CABLE ANCHOR 64.70$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77702-00 ASSEMBLY, LS22 BEAM W/ DECALS 583.60$        
77192-12 STAND, JACK 36.04$          
15538B BOLT, 5/16 * 5" HHCS NC GR5 ZP 1.50$            

12852BC ADAPTER, -8MORING/-6MJIC 90 DEG 12.00$          
77349-00 SERVICE, TANK 27 TON 452.80$        
77703-00 ASSEMBLY, LS27 BEAM W/ DECALS 583.50$        
77633-12 CLAMP, CYLINDER SUPPORT 22.73$          
77140-00 ASSEMBLY, SHIELD FRONT SERVICE PART 269.00$        
75184-12 LINK, DETENT 11.95$          
78532-00 ASSEMBLY, SC5627B BODY W/ DECALS 830.00$        
77844-10 PLATE, BODY BOTTOM HWT 25.00$          

70366 KIT, LARGE ROTOR REPLACEMENT 589.00$        
73241-33 WELDMENT, HYD MOTOR COVER 98.80$          
71071-10 WELDMENT, ANVIL SPACING 25.00$          
72518-12 COVER, JACKSHAFT 27.90$          
73353-12 SHIELD, BOTTOM BELT 88.10$          

71363 STRIP, CONTROL TIE ROD 20.25$          
71297-00 ASSEMBLY, FUEL TANK CLAMP W/DECALS 129.30$        
76724-00 KIT, BATTERY DISCONNECT 102.00$        
77071-00 ASSEMBLY, VACUUM INTAKE COVER 229.00$        
73142-12 WRAP, VACUUM HOSE 50.00$          
33877-00 COVER, HWS TRANSMISSION 57.00$          

16917 AXLE, 1000LB TORSION 437.60$        
70488 STRIP, BRUSH RETAINING 21.30$          

74690-12 STAND, JACK 36.29$          
75228-12 WELDMENT, DISCHARGE BOTTOM 93.30$          
76957-00 SERVICE ASSEMBLY, HOPPER WITH DECALS 1,235.70$    
77468-00 ASSEMBLY, BELT SHIELD SERVICE 168.40$        

12277 PLUG, 3/8 NPT GALV. PIPE 1.40$            
17630 CARD, BEAR CAT REGISTRATION (CRARY) 1.40$            

36542-00B BOX, 7 X 7 X 4" (200 LB TEST) 2.80$            
72689 WELDMENT, LARGE ROTOR 526.10$        

77885-10 WELDMENT, 5"/6"  ANVIL SPACING 19.00$          
71247-33 RING, DISCHARGE SPACER 19.25$          
74483-12 SHIELD, BELT 42.04$          
71674-10 ANGLE,  LOWER SHOCK 19.50$          
73800-35 HOUSING, 6 IN CHIPPER BOTTOM 1,361.40$    
74079-00 ASSEMBLY, DISK COVER 192.55$        

16586 MOTOR, 45 CU IN HYDRAULIC 681.70$        
73675-10 GUARD, NOZZLE WEAR 42.00$          
71920-00 ASSEMBLY, 6" LOW PROFILE DISCHARGE 298.00$        
76721-00 KIT, BATTERY DISCONNECT 100.00$        
77015-00 ASSEMBLY, HOUSING TOP 5" C/S/B 402.50$        
76930-00 BRACKET, IDLER SERVICE 68.20$          
71829-00 ASSEMBLY, CH611DH CHIPPER HOUSING TOP 405.60$        
78249-00 KIT, FC200 FRONT COVER & INFEED CHUTE 290.00$        
72999-12 ANCHOR, SP CABLE 21.83$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75795-12 PLATE, SPACER TOP 13.15$          
15914-00 WASHER, 1.062 OD X .329 ID X .062 ZP FLAT 1.30$            
74203-33 BRACKET, SWITCH 25.15$          

71247 RING, DISCHARGE SPACER 19.40$          
70478 SHAFT, BLOWER 41.07$          

77721-35 WELDMENT, DISK COVER 193.05$        
75890-12 ANGLE, SLIDE 24.45$          

71066 ANGLE, HITCH SUPPORT 21.75$          
72109 PACKAGE, CH9540HXW HOPPER (BOX 2) 1,517.30$    

75409-35 WELDMENT, PLATE AND CHUTE 160.15$        
76736-12 WELDMENT, TRIMMER AXLE 48.25$          

70576 WELDMENT,COMM BL EXT SUPPORT 91.40$          
70538 SPACER, 1.00 X 1.240 (W/HOLE) 7.60$            

72790-12 COVER, BATTERY 25.26$          
74216-00 ASSEMBLY, 928S + 950S SAFETY BAR 1,811.70$    
70485-10 WELDMENT, BELT GUARD 160.00$        

70045 WELDMENT,SHREDDER FRAME 8HP 460.00$        
71702-33 WELDMENT, 8 INCH DISCHARGE TUBING 335.00$        
73117-12 BAR, PIVOT 29.90$          
75718-12 WELDMENT, HOSE SUPPORT 90.60$          
74217-00 ASSEMBLY, CHIPPER SAFETY BAR 1,798.80$    
71150-33 WELDMENT, TOP CHIPPER HOUSING 510.30$        
74026-00 ASSEMBLY, FC ROTOR KNIVES 297.00$        
71505-10 WELDMENT, IDLER ARM 68.00$          
77184-35 WELDMENT, BEAM 524.40$        
75414-00 PANEL, C/S W/DECAL 51.65$          

70372 WELDMENT, HITCH JACK 63.43$          
70195 8 HP DISCHARGE DOOR W/DECAL 28.13$          
70059 C/S SCREEN WELD 8HP MED (BOLT) 73.15$          
71379 HOSE, 20" FUEL LINE 15.80$          

74532-00 PACKAGE, 5.5HP GB HOPPER W/HANDLE 300.50$        
73852-33 PLATE, IDLER ARM 10.90$          
70870-00 ASSEMBLY, FUEL TANK UNLEADED VENTED 240.00$        
77164-00 ASSEMBLY, 8 INCH DISCHARGE CHUTE 420.33$        
72907-33 WELDMENT, ROLLER SLIDE 238.00$        
75930-12 CHANNEL, MOUNT PUMP GC160 20.91$          
77749-00 TRANSMISSION, 3 SP. BEARVAC 166.00$        
18008-00 CONTAINER, MANUAL 13.99$          
77086-12 WELDMENT, STORAGE HITCH OBS use 77086-10 361.90$        
70166-00 ASSEMBLY, 6 INCH DISCHARGE CHUTE 298.00$        

70349 AXLE, C/S TRAILER 43.84$          
76844-00 WELDMENT, 5 INCH C/S ROTOR 666.00$        
75794-12 WELDMENT, BODY TRAILER 488.50$        
71718-12 HANDLE, EURO HOPPER 37.89$          

72608 ASSEMBLY, CHIPPER BOTTOM W/DECALS 527.30$        
74929-12 TANK, 30 GAL. FUEL 549.80$        
15176B SCREW, 11/32-12x7/8 FLANGE T-AB CMS F1 5ANS 1.15$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



12828 CONNECTOR, #10 INSULATED RING 1.15$            
71928 END, LH INLET DOOR 19.55$          

73267-12 SUPPORT, TRANSMISSION 48.15$          
33784-00 STRING, .155 DIA. CROSS-FIRE (3 LB SPOOL) 33.00$          
74264-12 WELDMENT, FEED ROLLER SLIDE 311.70$        
78010-00 ASSEMBLY, CH5627 HITCH POLE 250.00$        
76524-10 COVER,  CHIPPER VALVE 24.00$          
70475-10 BLOWER, IDLER PLATE 9.00$            
76527-12 BASE, KOHLER ENGINE 46.60$          
34400-00 BELT, RBX64-3 89.00$          

71421 PLATE, SPRING ANCHOR 10.00$          
75614-35 WELDMENT, SHREDDER FRAME 5 HP 361.00$        
77483-00 ASSEMBLY, DISCHARGE 343.00$        
32107-00 HARNESS, 9" DIESEL PLUS 1 CONTROLLER 484.60$        
74087-00 HANDLE, CHUTE ROTATOR 39.80$          
15489B WLD NUT,HEX 1/2" LG PILOT,PROJ 1.10$            
15406 PUSHNUT, 5/8" ZP 1.10$            

71493-35 WELDMENT, ENGINE RIGHT 90.00$          
72653-12 WELDMENT, THROTTLE CONTROL 101.50$        
75177-10 WELDMENT, ENGINE BASE 205.50$        

72531 TUBE, 5" SQ X 6" ROUND 45.14$          
70725 WELDMENT, MINI ROTOR 133.10$        

74939-00 JACKSHAFT, CHIPPER 30.88$          
71267 WELDMENT, CHIPPER IDLER ARM 119.79$        

73722-12 JACK, HYDRAULIC 2 TON 85.00$          
74274-00 PACKAGE, 72620 HOPPER (BOX 2) 874.30$        
77613-00 KIT, SC5720B SHREDDER KNIVES 275.00$        

71277 HOLDER, FRONT BATTERY 44.17$          
70042 C/S SCREEN WELD 3+5HP MED (BOL 64.95$          
12554 MANIFOLD, BOBCAT HYD VALVE 851.50$        

74362-10 HANDLE, ENGAGEMENT 12.50$          
78115-00 KIT, SG TEETH WEARSHARP (DIRT) 165.00$        
78116-00 KIT, SG TEETH 700 SERIES GREEN (ROCKY SOIL) 165.00$        
78121-00 KIT, SG TEETH 700 SERIES RED (SAND/CLAY) 165.00$        
75931-12 CHANNEL, COVER COUPLER GC160 22.55$          
73365-00 WELDMENT, 5 INCH C/S ROTOR 691.80$        
75781-12 SHIELD, HEAT 36.89$          

71545 ANGLE, FENDER MOUNT LH 38.47$          
71587 ANGLE, FENDER MOUNT RH 38.47$          

76781-12 WELDMENT, CHIPPER TRAILER 517.60$        
77470-00 ASSEBMLY, CHIPPER BOTTOM SERVICE 870.90$        
73982-12 ANVIL, 6" CHIPPER 44.20$          
78211-10 BRACKET, LHS MANUAL HOLDER SGXTR SGPRO 21.00$          
77252-10 WELDMENT, SUPPORT LEG SHORT 65.96$          
73643-12 PLATE, BEARVAC PUSH COVER 12.95$          
78572-00 ASSEMBLY, 5" PTO CHIPPER COVER W/ DECALS 310.50$        
74957-12 BRACKET, AIR CLEANER 25.70$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



72789-12 STRIP, ENGINE TIE 31.05$          
78102-00 KIT, ZENER DIODE 133.50$        
76805-00 ASSEMBLY, 2 INCH HITCH POLE 255.00$        
76766-12 WELDMENT, STAND 93.00$          

17988 TRLR HITCH COUPLER 48.48$          
73754-00 ASSEMBLY, BEATER BAR 371.00$        
70405-00 KIT, CH450H BASE 464.10$        
33369-00 HARNESS, 5" PTO DDC CONTROLLER 681.90$        
72423-00 ASSEMBLY, CHUTE SUPPORT 70.95$          
70253-10 SPOUT, BLOWER TUBE 16.50$          

71123 PADDLE, BIG CHIPPER 29.63$          
75701-00 ASSEMBLY, DISCHARGE 342.50$        
73103-37 PLATE, BEARING 20.30$          
77367-12 STAND, JACK 38.56$          
73764-00 LEVER, CABLE L 44.94$          
77102-10 HANDLE, ENGAGEMENT 25.50$          
75567-00 ASSY, PANEL W/ECHO BEARCAT 44.80$          
72452-12 SPACER, DISCHARGE PIVOT 14.35$          
71544-00  WELDED WEDGE W/ SPACERS {Please Call Bearcat Ser 299.00$        
31276-00 FENDER, BLACK PLASTIC 28.50$          
75402-35 PLATE, HITCH POLE 11.30$          
73600-00 ASSY, CHUTE HYD FEED 792.60$        
72561-00 TRIM, SLOT EDGE COVER 23.45$          
78012-00 ASSEMBLY, CH5627XE HITCH POLE 242.00$        

12596 DECAL, WARNING KNIFE 6.50$            
74191-00 ASSEMBLY, INFEED CHUTE 185.90$        
75361-12 BRACKET, LIGHT RH 23.19$          
74357-10 SHIELD, UPPER 43.50$          
78066-00 ASSEMBLY, HWT BODY WITH DECALS 105.00$        
74360-35 WELDMENT, 8 HP WIDE FRAME 426.80$        

70088 SHAFT, DOOR PIVOT 5.45$            
71341 STRIP, FLAP RETAINER 21.80$          

71548-12 WELDMENT, RESERVOIR SUPPORT 83.45$          
74374-10 GUIDE, BELT 14.50$          
73995-10 WELDMENT,  ENGINE MOUNT 52.50$          
78011-10 POLE, CH5627 HITCH 127.50$        
78221-10 BRACKET, LHS SIDE FLAP SG FAMILY 19.50$          
15029B BOLT, 5/8 X 1-1/2 HEX HD GR5 ZP 1.80$            

33282-00 BEARING, .375 X .50 X .25 LONG 9.00$            
77717-00 ASSEMBLY, FUEL TANK EFI 252.00$        
77059-12 WELDMENT, SHIELD ENGINE 43.67$          
75534-00 ASSEMBLY, TRIMMER WHEEL 45.18$          
74157-33 LINK, PARALLEL 11.65$          
15774-00 SCREW, 1/2X1-3/4 FLHD CAP(ASTMF835) 1.43$            
76582-12 MOUNT, SWITCH BOX 43.58$          

12317 BELT, 4L 53 ARAMID 22.20$          
73364-12 WELDMENT, JOINT SHIELD 44.84$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76806-00 ASSEMBLY, 50 MM HITCH POLE 247.00$        
77578-00 KIT, 6 INCH SUPPORTS WITH NYLON TANK 176.00$        
75278-00 KIT, 76624 OWNERS 125.65$        

71193 WELDMENT, CHIPPER TRAILER 605.30$        
75787-00 ASSEMBLY, HWT BODY WITH DECALS 110.55$        
78630-00 ASSEMBLY, CHIPPER COVER W/ DECALS 572.50$        
75492-10 WELDMENT, HITCH POLE W/PLATE 174.00$        
75119-12 DEFLECTOR, MUFFLER 19.65$          
15285B SETSCREW, 1/2X3 SQ HD 1/2 DOG PT 11.30$          

75782-12 WELDMENT, HEAT SHIELD 65.15$          
70197 ASSEMBLY, 5HP FRAME W/DECALS 423.80$        

75927-00 KIT, PUMP PB HIGH/LOW 406.40$        
77554-12 CHUTE, ENGINE GUARD 46.15$          
76906-00 KIT, SG340 CUTTER UPGRADE 90.20$          
78196-00 ASSEMBLY, INSIDE SHIELD WITH DECALS SGXTR SGPRO 80.50$          
70337-00 WELDMENT, BEARVAC ROTOR 242.00$        
74678-00 KIT, HW BELT TENSION TOOL 69.00$          
74495-12 PLATE, HITCH 24.24$          
35262-00 DECAL, ECHO LARGE 6.00$            
77281-12 MOUNT, IDLER BRACKET 29.10$          
31289-00 ASSY, TIRE AND WHEEL 14 IN 248.00$        
77052-12 WELDMENT, ENGINE PLATE 64.90$          

73075 ASSEMBLY, FRAME W/DECAL 550.90$        
77191-12 TUBING, HITCH POLE 63.75$          
33855-00 CLAMP, STRAIGHT LINE 600 LB 68.00$          
71717-12 HANDLE, RENTAL HOPPER 40.45$          
74422-00 BASE, IDLER PIVOT 33.62$          

70069 STRIP, GUARD RETAINING 16.10$          
78677-00 ASSEMBLY, CBC CHIPPER COVER W/ DECALS 574.00$        
71334-33 WELDMENT, TOP ROLLER COVER 53.20$          
74577-12 BRACKET, L + G AXLE 25.25$          
75399-00 ASSEMBLY, C/S ROTOR 269.00$        

71858 ASSY, CHIPPER CHUTE PLUG 59.60$          
77124-00 ASSEMBLY, UPPER BELT GUARD SERVICE PART 176.05$        
75541-12 BRACKET, LH FENDER 46.55$          
75542-12 BRACKET, RH FENDER 46.55$          
74361-12 MOUNT, IDLER BRACKET 23.10$          
33280-00 CONTROLLER, CL-709-100 MASTER 1,652.80$    
73867-12 WELDMENT, CHIPPER TRAILER 1,052.50$    
74029-10 LINK, ENGAGEMENT  ARM 10.00$          
76595-12 SUPPORT, CHIPPER FLAP 29.99$          
77954-00 EMBLY, 5" CE CHUTE See PUB 20180327 Before Orde 692.20$        
74284-12 WELDMENT, FEED ROLLER 633.90$        
75966-12 PLATE, MOUNT HYDRAULIC PUMP 22.40$          
72481-12 GUARD, LOWER BELT 46.35$          
71132-10 PLATE, CHIPPER BOTTOM 47.50$          
75613-35 WELDMENT, 8 HP WIDE FRAME 383.80$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77903-12 WELDMENT, HOUSING BRACKET 44.50$          
76803-10 POLE, C/S HITCH 133.50$        
76028-12 WELDMENT, FEED ROLLER 632.10$        

70972 KIT, COMM SHRED W/RECT KNIVES 295.00$        
12556 COUPLER, CHAIN 1-3/4" ID 106.50$        

17777B HOSE, FLEXIBLE 8" ID X 8 FT LONG 180.00$        
71326-00 ASSEMBLY, BELT SHEILD W/DECALS 229.00$        
77366-12 WELDMENT, SC3" TRAILER 371.00$        
31952-00 HOSE, 0.75 ID X 60" 100R4 HYD 49.00$          
78611-00 ASSEMBLY, CHIPPER COVER W/ CBC DECALS 425.00$        
72793-12 ANGLE, RH AXLE MOUNT 26.33$          
73472-35 WELDMENT, BOTTOM C/S 762.10$        
75569-12 SHIELD, SAFETY 24.95$          
33725-00 HOSE, .500" X 82" -8FMJICSW/-8FMJICSW 40.50$          

71447 BOTTOM DISK, STUMP GRINDER 19.40$          
73253-33 WELDMENT, ROLLER SUPPORT 484.60$        
77150-10 WELDMENT, ROLLER SLIDE 266.50$        
71289-35 WELDMENT, HITCH SUPPORT 438.70$        
72951-00 ASSEMBLY, CHIPPER COVER WITH DECALS 549.70$        

70194 3 + 5HP DISCHARGE DOOR W/DECAL 43.29$          
15178B NUT, 5/16 CENTERLOCK NC CMS F1 5ANS 0.16$            

14239-00 BUSHING, 3/8 X 1/2 SLEEVE LUBE 0.80$            
15454 BOLT 1/4-28*2-1/2"GR8 HHCS ZP 0.80$            

22341B KEY, 3/16SQ X 2" PLAIN 0.80$            
15399 NUT, 1/2" PUSHNUT 0.80$            

36149-00 WEDGE, DEUTSCH PLUG DT 2 SOCKET 0.80$            
33670-00 SPACER, TRIMMER SPINDLE 8.00$            

17867 WHEEL ASSY.,8"DIA * 2.25" 17.60$          
74731-12 WELDMENT, CHUTE EXTENSION 175.00$        
75029-12 TRAY, FUEL TANK 69.00$          
77384-12 WELDMENT, NARROW COARSE TAPERED 66.60$          

71248 RING, DISCHARGE CLAMP 21.35$          
71248-33 RING, DISCHARGE CLAMP 21.35$          
76865-12 WELDMENT, BELT GUIDE 23.58$          
73104-33 MOUNT, ROTOR MOTOR 69.10$          
73486-00 KIT, 73554 OWNERS 130.30$        
36658-00 ADAPTER, -16MORING X -10FMORING 16.45$          
18363-00 HOSE, .375 X 85 -8FMJSW/-8FMJSW90 47.00$          
77341-00 ASSEMBLY, 3" C/S WIDE BODY SERVICE 296.00$        
76664-00 ASSEMBLY, BELT GUARD WITH DECALS 296.00$        
32035-00 STRING, .175 DIA. CROSS-FIRE (3 LB SPOOL) 36.00$          

71140 BEARING BRACKET, RIGHT 30.98$          
75295-00 KIT, CH8993H OWNERS 297.00$        
75186-00 ASSEMBLY, SWITCH BOX 234.00$        
70280-00 WELDMENT, FAN "BEAR CLAW" 335.10$        
78273-12 BRACE, HITCH STAND SG TRAILER 42.50$          
30932-00 SHAFT, 6 SPLINE INPUT 171.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



17831 BEARING,1"FLUSHMOUNT,3BOLT,W/COLLAR 57.72$          
71343 COVER, HOSE ACCESS 23.95$          
12446 SHEAVE, 2B3.6 SH, QD 47.60$          

33726-00 HOSE, .500" X 112" -8FMJICSW/-FMJICSW 90 53.50$          
12319 PULLEY, 5.0 X 7/8 AB 29.43$          

74538-00 CONDUIT, 1/4 X 120 WIRE 21.00$          
75961-12 ENCLOSURE, PLUS 1 MOUNT 48.44$          

0123-0434-00B CLAMP, 10.50" T-BOLT HOSE 27.30$          
77137-00 ASSEMBLY, SHIELD REAR SERVICE PART 187.40$        
73694-00 ASSY, SKID STEER CHUTE 969.50$        
13898-00 VALVE, 30 GPM FLOW CONTROL 320.43$        
36596-00 KIT, SEAL VALVE 36099-00 48.20$          

12776 HOSE ASSY, -10FMJIC/-10FMJIC X 38 45.00$          
75834-12 CHANNEL, MOUNT PUMP 31.05$          
76927-00 ASSEMBLY, SC2170 CHUTE SERVICE 201.50$        
41287B ADAPTER, -8MORING/-8MJIC 90 DEG 9.38$            

73810-12 WELDMENT, ROLLER SIDE 223.00$        
73026-35 WELDMENT, PLATE AND CHUTE 178.00$        
77743-00 WOODS SHIELD, FORWARD BELT 106.05$        
73102-33 WELDMENT, BOTTOM CHIPPER HOUSING 471.60$        
73102-35 WELDMENT, BOTTOM CHIPPER HOUSING 471.60$        
75034-40 WELDMENT, CHIPPER HITCH 419.00$        
77151-33 WELDMENT, TOP ROLLER COVER 53.95$          
74387-12 RING, CHUTE SPACER 29.39$          
71514-10 WELDMENT, ENGINE MOUNT 60.50$          
77467-00 ASSEMBLY, CHIPPER BOTTOM SERVICE 567.90$        
76133-12 ENCLOSURE, PLUS 1 MOUNT KIT 37.12$          

71375 GUARD, PUMP DRIVE BELT 44.30$          
77113-00 ASSEMBLY, MANUAL CONTAINER SERVICE PART 49.32$          

70198 ASSEMBLY, 8HP FRAME W/DECALS 490.00$        
77711-00 ASSEMBLY, FUEL TANK 234.00$        

17996 BELTS HAH29.1 EL MATCHED SET 27.05$          
74374-12 GUIDE, BELT 14.60$          
15776-00 BOLT, 5/8-11X3 FLTHD SKT (ASTMF835> 5.10$            
74583-00 WELDMENT, ROTOR HUB 227.00$        
78274-00 ASSEMBLY, 2 INCH HITCH POLE SG TRAILER 202.00$        
74608-12 STRIP, FLAP RETAINER 12.25$          
73186-12 HOLDER, FUEL TANK 43.00$          
76292-00 KIT, 12 BLADE CUTTER REPLACEMENT 287.00$        
74247-10 WELDMENT, CHIPPER DISCHARGE 68.00$          
77590-00 WELDMENT, 3" NARROW ROTOR 177.00$        
75183-12 BRACKET, LICENSE PLATE 31.95$          
77991-40 WELDMENT,  HITCH SUPPORT 439.00$        
75894-00 ASSEMBLY, QUICK SPLIT 203.22$        
74081-00 GUSSET, PIVOT ARM 24.20$          
77576-00 KIT, CH6730H SUPPORTS 183.00$        

72498 ASSEMBLY, CHIPPER BOTTOM W/DECALS 561.30$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



72885-12 BRACE, 3 PT BOTTOM 37.95$          
77117-00 ASSEMBLY, SC5540B BODY W/ DECALS 1,180.80$    

15432 KEY,SQUARE 3/16" * 3/4" PLAIN 0.70$            
77128-00 ASSEMBLY, EXTENSION TRAY SERVICE PART 425.00$        

12655 CABLE, 18" POS (R / R WITH BOOT) 19.50$          
75566-00 ASSY, PANEL W/ECHO BEARCAT 43.03$          

70453 CHIPPER BLADE KIT-LARGE 110.00$        
73558-12B LEG, C/S SUPPORT 38.83$          
76020-00 ASSEMBLY, MOUNT TAILLIGHT RH 31.82$          
76021-00 ASSEMBLY, MOUNT TAILLIGHT LH 31.82$          
72559-00 TRIM, SLOT EDGE COVER 24.90$          
77221-12 PLATE, PUMP MOUNT COVER 8.30$            

71077 SHAFT, VACUUM IMPELLER DRIVE 28.75$          
14257-00 COUPLER, 2 IN 56.60$          
73462-12 WELDMENT, CHUTE EXTENSION TRAY 193.00$        
36070-00 TUBE, DISCHARGE 261.40$        
31671-00 PUMP, 2 STAGE CW HI/LO 0.605 DISP. 334.20$        
77122-00 ASSEMBLY, HYDRAULIC TANK 3.25 GAL SERVICE PART 301.00$        

70923 PLATE, TANK SHIELD 28.56$          
16480 HOSE, FLEX 8"ID * 20' LG PVC 461.79$        
71438 SCREEN CLAMP, STUMP GRINDER 4.05$            

74702-12 WELDMENT, 3" SQ. HITCH POLE 201.50$        
74166-33 WELDMENT, EXTENSION TRAY 413.60$        
75243-12 MOUNT, SWITCH BOX 39.14$          

12688 HARNESS, TOWABLE CHIPPER 266.50$        
70292 SPROCKET 35A72, BORED 43.48$          

73762-00 PIN, 5/16 PIVOT 23.45$          
74116-12 STRIP, CONTROL TIE ROD 11.25$          
76956-00 SPACER, 1-1/2" OD X 3/16" WA X 1.92" 14.55$          
76266-12 PLATE, HITCH/AXLE 19.86$          
73538-00 ROD, CLUTCH CONTROL 21.80$          
75140-12 BAR, SWITCH CONTROL 28.20$          
72446-12 WELDMENT, BLOCK ADJUSTOR 40.90$          
77120-00 ASSEMBLY, SHREDDER CHUTE SERVICE PART 262.00$        
72915-35 WELDMENT, TOP ROLLER COVER 49.50$          
77185-35 CHANNEL, CRADLE CYLINDER 20.93$          

12685 HOSE ASSY, -8FMJ/-6FMJ X 31 26.00$          
33671-00 CASTING, TRIMMER SPINDLE HUB 52.00$          
74319-00 ASSEMBLY, HOPPER 4-1/2 PTO 195.00$        
71971-12 WELDMENT, CABLE ANCHOR 89.25$          
77388-12 WELDMENT, WIDE COARSE TAPERED 87.90$          
15769-00 PIN, 1/4" BOWDEN 7.75$            
70689-00 ASSEMBLY, TOP STUMPGRINDER COVER 94.85$          
74406-12 SHIELD, CHUTE ROTATOR 100.00$        

71336 WELDMENT, BELT GUARD 167.00$        
77056-12 GUIDE, BELT 50.70$          
77506-00 INSTRUCTIONS, TRAILER SETUP 17.20$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71956-12 WELDMENT, ENGINE SPACER 48.95$          
71549 BASE, RESERVOIR SUPPORT 70.45$          

73110-33 WELDMENT, MOTOR COVER 119.95$        
77661-00 KIT, DL BELT SHIELD 141.20$        
74575-12 AXLE, L + G 46.20$          
77908-12 WELDMENT, HOUSING BRACKET 48.50$          
72671-12 WELDMENT, BELT GUARD 255.30$        
18536-00 HOSE ASSY, -8FMJIC/-8FMJIC X 61 51.10$          
77318-00 ASSEMBLY, EUROPEAN WIDE HOPPER 228.40$        
74814-10 SPACER, 2.00 X 1.50 X 0.25 10.50$          
77953-00 SSEMBLY, 5" CHUTE See PUB 20180327 Before Orderi 466.90$        
70081-00 KIT, CH6720H OWNERS 308.00$        

72100 ASSY, COMM. HOPPER W/DECALS 191.55$        
18633-00 BELT, BX33 23.40$          
73253-40 WELDMENT, ROLLER SUPPORT 495.00$        
14598-00 PLUG, 12N 7 PIN TRAILER 19.60$          
72923-33 PLATE, CONTROL BOX 40.09$          
74581-00 ASSEMBLY, DISCHARGE CHIPPER 220.00$        
30347-00 HARNESS, 9" PTO PLUS 1 CONTROLLER 597.00$        
73266-12 PAN, TRIMMER BOTTOM 28.00$          

70980 BELTING, RENTAL HOPPER 19.40$          
76257-12 WELDMENT, SPINDLE HUB 84.75$          
75850-12 PLATE, SLIDER THROTTLE DOWN 12.10$          
75280-00 KIT, CH611DH OWNERS 301.00$        
74463-12 WELDMENT, HITCH POLE 198.50$        

71251 DISK, DISCHARGE MOUNT 30.12$          
16958 DRIVESHAFT, 540 CHIPPER WS 389.79$        

14124-00 SWITCH, PDI PRESSURE 261.00$        
31947-00 ENGINE, SUBARU SP210 444.15$        
36207-00 PUMP, 2 STAGE .646 DISP 391.59$        
18003-00 PUMP, HYD GEAR .66 CU.IN. 513.15$        

70939 GUARD, INNER BELT 37.45$          
71589 HOSE, 76" FUEL LINE 16.20$          

14626-00 RING, 1-3/4 EXT HEAVY DUTY SNAP 4.20$            
78811-00 ASSEMBLY, BODY W/ DECALS WT-1610T 115.00$        

70523 NARROW LEAF SCREEN WLDT (BOLT) 46.00$          
71781 ASSY, COMM CHUTE EXTENSION W/DECAL 166.65$        

36111-00 HARNESS, CONTROLS/ENGINE D1105 345.00$        
36116-00 HARNESS, CONTROLS/ENGINE V3300DI-T 345.00$        
71958-00 SPINDLE, SG 12 BLADE 44.15$          
32102-00 HARNESS, 5 IN PTO PLUS 1 CONTROLLER 329.00$        

16005 CLUTCH,2 GRV CENTRIFUGAL 4 X 1 608.00$        
18563-00 HARNESS, 6 INCH CHIPPER 474.70$        
18547-00 HARNESS, CHIPPER CONTROLLER 470.90$        
13858-00 KIT, HONDA MUFFLER 255.30$        
71783-35 WELDMENT, NARROW RENTAL HOPPER 189.85$        
78032-00 BLADE, 12" DL INNER 23.72$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



74563-12 WELDMENT, BRAKE MOUNT 51.11$          
36108-00 GAUGE, DATCON TEMPERATURE 314.00$        

16966 PICKUP, PULSE 229.50$        
74329-10 BAR, BRAKE COMP. 10.00$          
12562B COUPLER, MALE QUICKTACH 47.00$          

71107-10 SUPPORT, VACUUM IDLER 40.00$          
74704-12 WELDMENT, IDLER ARM 121.95$        
76771-00 HOSE, 28 INCH FUEL LINE 1/4" 21.10$          
34000-00 BUSHING, FLANGE 1/2 DIA 38 DEG MAX ANGLE 20.50$          
72995-12 WELDMENT, SP BAIL 44.39$          
74423-12 BRACE, IDLER SUPPORT 42.00$          

71441 ASSY, CHIPPER BOTTOM SERVICE 790.60$        
73958-12 SUPPORT, CHIPPER FLAP 35.29$          

70940 GUIDE, REAR BELT 24.10$          
71704-12 CAP, 8 INCH DISCHARGE CHUTE 33.55$          

72411 ANGLE, CHIPPER THROWER 26.80$          
77376-12 PLATE, BOTTOM WEDGE 20.70$          

71551 COVER, RESERVOIR BASE 48.80$          
74093-12 RETAINER, DISCHARGE 23.75$          
36107-00 GAUGE, DATCON OIL PRESSURE 316.00$        
77339-00 ASSEMBLY, BASE 3 IN CHIPPER SERVICE 87.60$          

71418 BOTTOM BALE WELDMENT 43.77$          
70684-35 WELDMENT, CHUTE EXTENSION 109.90$        
76931-10 BRACKET, LIGHT RH 25.00$          
74155-35 WELDMENT, KNEEBAR 221.82$        
72645-12 WELDMENT, SIDE PANEL 201.00$        
73673-10 PLATE, BEARVACHOSE KIT SEAL 37.50$          
72173-12 SPACER, CHIPPER ANVIL 27.18$          
75120-12 PANEL, GUAGE 26.59$          
74186-12 BRACKET, FENDER 44.39$          
72196-35 WELDMENT, CHIPPER BOTTOM 777.40$        
71704-33 CAP, 8 INCH DISCHARGE CHUTE 33.55$          
71704-39 CAP, 8 INCH DISCHARGE CHUTE 33.55$          

12640 AXLE, 2000LB TORSION 382.40$        
73675-12 GUARD, NOZZLE WEAR 44.09$          

36420-00B CLAMP, 11.00 T-BOLT HOSE 26.50$          
34405-00 SHEAVE, 5B 4.8 SK 326.70$        
33654-00 WHEEL, TRIMMER 15 X 1.75 27.50$          
14583-00 COUPLING, SURGE W/JOCKEY WHEEL 843.60$        

73107 WELDMENT, ROTOR (BOBCAT) 730.30$        
18276-00 SHEAVE, 1B6.8 TYPE SDS 57.80$          
77139-00 ASSEMBLY, HITCH POLE SERVICE PART 205.92$        
78031-00 BLADE, 8"/10" DL INNER 24.55$          
73027-40 WELDMENT, CHIPPER FRAME 526.00$        

16908 TRANSAXLE, LAWNVAC 335.10$        
12564 TREAD, SAFETY 24.40$          

18116-00 ASSEMBLY, DO3 VALVE (2500 PSI) 537.50$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



36208-00 PUMP, 2 STAGE 1.034 DISP 406.30$        
36319-00 KIT, TACHOMETER (SERVICE) 569.80$        
36466-00 PUMP, 2 STAGE .453 DISP. 397.40$        
18006-00 HARNESS, ELECTRIC BRAKE TRAILER 491.20$        
14796-00 TIRE + WHEEL, LT235/85R16 592.60$        
14939-00 HARNESS, 12 INCH CHIPPER 249.70$        

16965 SWITCH, HYDRAULIC FEED SPEED 337.10$        
76604-12 WELDMENT, EXTENSION TRAY W/O TABS 291.00$        
72642-10 ANGLE, SPRING ANCHOR 26.50$          

12566 TREAD, SAFETY 23.00$          
36018-00 BOLT, SHOULDER 3/8X1/4 5/16-18 PLN 1.60$            

71590 HOSE, 76" FUEL RETURN 28.80$          
71327-00 ASSEMBLY, BELT GUIDE W/DECALS 94.90$          
75362-12 BRACKET, LIGHT LH 35.37$          
76898-12 PLATE, COVER STUMPGRINDER HEAD 25.55$          
76019-00 ASSEMBLY, MOUNT LICENSE 30.00$          
77942-00 , CH5540XE CHIPPER CHUTE See PUB 20180327 Befor  682.30$        

71281 WELDMENT, LONG HITCH 179.85$        
73122-12 FENDER, HEAVY DUTY 92.30$          
31486-00 VALVE DIFFERENTIAL SENSING 95.00$          
72413-00 ASSEMBLY, DDC ENCLOSURE 1,899.70$    

72989 WELDMENT, LH WHEEL CLUTCH 90.70$          
72990 WELDMENT, RH WHEEL CLUTCH 90.70$          

14262-00 TAIL LIGHT, OVAL RED 29.12$          
41271 HYD HOSE 3/8 X 43 FM, FM 24.70$          

77029-00 WRAP, HOUSING FAN 150.45$        
70078 BELT GUARD 29.85$          

70250-35 PLATE, LOG STRIPPER 25.50$          
31995-00 BELT, 5L500 WRAPPED ARAMID 28.10$          

71910 PIVOT, HEIGHT ADJUSTMENT 27.00$          
12504-10 SPRING, EXTENSION 30.00$          
72802-35 PLATE, ENGINE SLIDE 45.70$          
75036-12 TUBE, MOUNTING 33.39$          
75207-12 MOUNT, SWITCH BOX 33.28$          
36355-00 HARNESS, SAFETY BAR 46.50$          
75994-00 KIT, SC5670B FENDER 144.55$        
75241-00 TUBE, 1-1/2 FLEXIBLE EXHAUST 46.23$          

71335 SHIELD, COUPLER 21.65$          
74713-12 HANDLE, ENGAGEMENT 15.45$          
78775-00 ASSEMBLY, SC-2013 HOPPER W/ DECALS 175.00$        

36061-00B HOSE, 10 INCH X 12-1/2 FT 231.90$        
77217-00 ASSEMBLY, HITCH POLE 103.70$        

70894 WELDMENT, C/S HITCH POLE 115.85$        
76024-00 WELDMENT, DISK PADDLE 122.75$        
73578-12 WELDMENT, CLUTCH BRACKET 45.54$          

70907 GUARD, BATTERY 30.02$          
16230 PULLEY, IDLER 5" X 2.50" 46.60$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76822-00 KIT, CH5653 OWNERS 186.45$        
76968-00 KIT, SC5720B OWNERS 181.00$        
77141-00 ASSEMBLY, CH9540H BOTTOM HOUSING SERVICE PAR 843.20$        

0122-0231-00B KEY, 3/8 SQ X 1-1/4 1.50$            
36096-00 BOLT, HEX 3/8 X 3/4 SELF TAP ZP 1.50$            

12169 DECAL, KNIFE ACCESS ISO 3.00$            
13764-00 FASTENER, 1/2" ANTILUCE 7.50$            
15915-00 BOLT, 5/16-18 X 3-1/2 LONG NECK GR5 ZP CARR. 8.50$            
71489-12 BASE, RESERVOIR SUPPORT 59.40$          
75393-35 SIDE, HOPPER RH 40.70$          
77121-00 ASSEMBLY, CH8540 BOTTOM HOUSING SERVICE PART 835.30$        
76914-12 HANDLE, SC2170 31.50$          
70332-10 WELDMENT, LARGE SCREEN COARSE 183.00$        
78216-00 ASSEMBLY, TOW BAR WITH DECAL SG 145.50$        

70038 ANGLE, CLUTCH PIVOT 23.10$          
70062 KIT, REPLACEMENT ROTOR 275.00$        

18526-00 PULLEY, 7.5 OD X 1/2 IN BORE 56.80$          
71339-10 WELDMENT, REAR GUARD SUPPORT 47.00$          
36016-00 HOSE, .75 ID X 24 IN. 100R4 HYD 24.84$          
76909-00 HOSE, 3/8 X 35 -8FJICSW 27.18$          
77479-10 PLATE, ENGINE SPACER 21.00$          
71558-00 KIT, 5" FORMED CHIPPER PADDLES 139.15$        

71430 ASSY, CHIPPER BOTTOM SERVICE 823.00$        
73011-12 STRIP, FENDER SUPPORT 20.70$          
73986-35 PLATE, ROLLER COVER 13.05$          
71187-40 WELDMENT, CHIPPER BOTTOM 802.00$        

70461 BELT GUARD WITH DECAL 540 104.20$        
74362-12 HANDLE, ENGAGEMENT 13.50$          
76475-12 RING, DL DISCHARGE 16.85$          
76874-00 KIT, CH4400 OWNERS 111.60$        
73018-33 COVER, HYDRAULIC MOTOR 138.05$        
74778-00 HOLDER, LINE 81.20$          
77946-00 ASSEMBLY, CH5540 CHIPPER CHUTE 454.70$        
77046-12 WELDMENT, BASE DL12720 590.00$        
73963-12 WELDMENT, DISCHARGE CHUTE 352.40$        
72473-35 WELDMENT, PTO CHIPPER HITCH 383.60$        

12042 HOSE, 6" X 32" FLEXABLE PVC 64.80$          
76949-00 LY, 5 INCH CHIPPER CHUTE See PUB 20180327 Before 472.60$        
77486-12 BRACKET, LEFT TAIL LIGHT 65.10$          
73708-10 WELDMENT, GUARD SUPPORT 47.50$          
31610-00 HARNESS, CARB SAFETY RELEAY 57.00$          

71426 KIT, 8" CHIPPER BLADE 285.00$        
76978-12 WELDMENT, ENGINE ADJUSTER 46.50$          
73264-12 BOTTOM, TRIMMER FRAME 50.25$          
78784-00 ASSEMBLY, SC-4213 HOPPER W/ DECALS 180.00$        

70189 5 + 8HP CHIPPER CHUTE W/DECAL 190.10$        
13755-00B VALVE, RELIEF -8 ORING PORTS 192.48$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75568-35 ASSY, HOUSING W/STUDS 97.20$          
70379 SHAFT, LARGE C/S ROTOR 70.35$          

73299-12 BOTTOM, TRIMMER FRAME 56.60$          
75248-12 WELDMENT, EXTENSION TRAY 403.30$        

70544 KIT, HONDA RENTAL MAINTENANCE 85.00$          
75010-12 STOP, DISCHARGE ROTATOR 13.00$          
77960-00 ASSEMBLY, 5" CEG CHUTE 466.90$        
31443-00 HANDLE, LOG SPLITTER VALVE REPLACEMENT 48.20$          
73717-12 WELDMENT, ENGINE TIE 89.30$          

71480 WELDMENT, CHIPPER FENDER 149.45$        
78272-00 ASSEMBLY, HITCH POLE WITH DECALS SG TRAILER 170.00$        
72889-33 WELDMENT, ROLLER SUPPORT 421.30$        
74892-12 PLATE, LINE HOLDER 28.71$          
75977-12 PLATE, CONTROLLER 23.54$          
75799-12 ANGLE, RH TAIL LIGHT 23.79$          
75800-12 ANGLE, LH TAIL LIGHT 23.79$          

70442 JOINT SHIELD WELDMENT 47.49$          
31374-00 CABLE, 72" NEGATIVE BATTERY 53.90$          

12120 ENGINE, HONDA 390CC GX390 1,500.00$    
12363 SHEAVE, 3V4.5-2 GROOVE SH 51.10$          

16615B BUSHING, SD 1-3/4" 31.00$          
12660 BELT, 4L350 15.95$          

14242-00 HOSE ASSY, -6FMJIC/-8FMJICSW X 19 30.39$          
16081 BELT, 27" C/S 26.01$          

14750-00 FILTER, 8 HP HONDA GX240 PRE AIR 24.72$          
72364 BUSHING, SH 7/8" HEX 28.44$          

14794-00 BEARING, 1" BRONZE 2 BOLT FLANGE 30.24$          
13502-00 WIRE ASSY, ENGINE KILL 24.12$          

71276 HOLDER, REAR BATTERY 61.29$          
18275-00 BUSHING, SDS 5/8" 23.18$          

16116 FILTER, AIR 5HP HONDA 30.90$          
73499-12 WELDMENT, LONG HITCH 160.20$        
14538-00 HOSE ASSY, 8FMJIC/8FMJIC SW 18" 22.80$          
34688-00 BAND, BRAKE 4" W/ PIN AND SET SCREW 28.80$          
14539-00 HOSE ASSY, 6FMJIC90/8FMJIC SW 24" 28.80$          
72952-12 WELDMENT, RESERVOIR SUPPORT 84.70$          
74086-12 WELDMENT, CHIPPER HITCH 148.35$        
77496-12 PLATE, BELLY 33.18$          
75719-00 ASSEMBLY, HOSE 10 INCH 731.00$        
77975-40 WELDMENT, CHIPPER  BOTTOM (PTO) 802.50$        
74848-12 BRACKET, E-STOP 30.15$          
77390-00 KIT, CH8540, CH9540H & CHF9540HXE OWNERS 183.07$        
14535-00 ENGINE, 190CC QUANTUM 400.00$        
36088-00 CABLE, THROTTLE LOG SPLITTER 29.40$          
74856-12 SUPPORT, FLAP 37.09$          
36034-00 DECAL, MODEL CH45540 6.05$            
34687-00 DRUM, BRAKE 4" DIA 19.00$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77134-00 ASSEMBLY, CH8720IH CHIPPER BOTTOM SERVICE PAR 724.60$        
72949-33 WELDMENT, ROTOR HOUSING 724.30$        

14860-00B ADAPTER, -10MORING/-6MJIC 8.60$            
31783-12 HANDLEBAR, TRIMMER N/A use 77662-00 28.30$          
74359-12 BRACKET, IDLER 26.40$          

16913 PULLEY, 3V3.0 IDLER 23.10$          
36266-00 HOSE, .50 X 66 -8FMJIC/-10FMJIC 90 55.50$          
13972-00 BUSHING, SD 1" 57.20$          

12668 SHEAVE, 3B4.0 SH 59.48$          
16000 V-BELT BX-65 23.00$          
12228 PROFILE, INNER 0V 58.36$          
16850 CABLE, CHOKE CONTROL 51.00$          

16776B CABLE, 16" NEG (P / R) 22.90$          
75504-12 BOTTOM, TRIMMER FRAME 56.80$          
14865-00 SWITCH, N/O MOMENTARY PUSHBUTTON 51.60$          

17967 COUPLING, FLEXIBLE 27.90$          
0032-0295-00B SPRING, 9 GAUGE WIRE TENSION 27.90$          

73138 ASSEMBLY, VACUUM HOSE 983.10$        
75993-12 PLATE, SUPPORT 16.90$          
36598-00 KIT, SEAL VALVE 18116-00 53.90$          
36263-00 HOSE, .50 X 48 -8FMJIC/-8FMJIC 45.40$          
32785-00 DECAL, MODEL LS22 2.10$            
31298-00 SLEEVING, BRAIDED ELECTRICAL HARNESS 59.60$          

16775 CABLE, 48" POS (P / R) 26.00$          
14488-00B CHAIN, SAFETY 10000 LB W/LATCH 23.90$          
73661-12 SIDE, ENGINE COVER 88.85$          

71274 FLAP, CHIPPER CHUTE 57.40$          
70323-12 PLATE, TRIMMER AXLE 35.54$          
73179-12 WELDMENT, ENGINE TIE 66.00$          

12106 BELT, 3V670 26.10$          
76802-10 BRACKET, CHUTE MOUNT 38.50$          
76795-12 WELDMENT, ENGINE MOUNT PLATE 65.55$          

17818 SHEAVE 2B4.0 SH, QD 52.36$          
73187 WELDMENT, LOADER FAN 322.80$        

14323-00 WIRE ASSY, ENGINE KILL 35.30$          
77133-00 ASSEMBLY, CHIPPER BASE SERVICE PART 681.10$        
10218B BEARING, 30MM 34.20$          

72738-12 WELDMENT, TRIMMER AXLE 47.20$          
76899-12 PLATE, SPACER STUMPGRINDER 20.75$          
71574-12 BRACKET, RH FENDER 51.25$          
71575-12 BRACKET, LH FENDER 51.25$          

16156 BAG, MESH DEBRIS BEARCAT 49.04$          
72313-00 ASSEMBLY, ENCLOSURE COVER WITH DECAL 50.30$          
73257-12 WELDMENT, RESERVOIR SUPPORT 66.00$          
75134-12 MOUNT, PUMP 20.60$          

12221 TUBE, OUTER SHIELD OVL 46.80$          
16032 FENDER SINGLE AXLE 31.40$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



12233 SHIELD, OUTER TUBE OVL 51.40$          
12407B SHEAVE, 2B4.4 SH, QD 57.12$          
16481 SHEAVE, 1B6.6 SDS 57.12$          

32475-00 KNOB, 5/16-18 FEEM TEE 2.80$            
15381 BOLT 5/16-24X3/4" GR5 HHCS ZP 0.40$            

15197B BOLT 1/4 X 2-1/4 G5 HCS ZP 0.40$            
15808-00 BOLT, 5/16 X 1/2 CRG SN GR5 ZP 0.40$            

15620 BOLT, 3/8"-16 X 7/8" GR5 HCPS 0.40$            
15076B REW,3/8-16X1 T23 THD CUTT FLANGE MAGNI 565 SILV 1.60$            

33672-00 SPACER, PLASTIC TRIMMER SHIELD 4.00$            
71228 JACKSHAFT, CHIPPER DRIVE 48.25$          

14566-00 LIGHT, TAIL RH 48.60$          
14580-00 LIGHT, TAIL LH 48.60$          
14251-00 GUAGE, FUEL 59.50$          

16261 CROSS KIT, 54O/1000 PTO SHAFT 45.20$          
15525 KNOB, 3/8" INSERT 10.30$          

71541-00 KIT, BIG CHIPPER FORMED PADDLES 165.00$        
73511-35 ADJUSTOR, SHREDDER TOWABLE 39.42$          
74671-00 ASSEMBLY, EURO CHUTE EXT. 196.00$        
13978-12 DEFLECTOR, EXHAUST 29.60$          
75128-12 TUBE, CHIPPER HITCH 85.50$          
75631-00 DISK, FLANGE 24.97$          
72643-12 COVER, REAR ENGINE 98.50$          
14275-00 HOSE ASSY,8FMJIC SW X 38 28.80$          
78087-40 WELDMENT, CHIPPER BOTTOM 715.00$        
75756-00 KIT, DL10570 OWNERS 168.80$        
75757-00 KIT, DL8390 OWNERS 168.80$        
75487-00 ASSEMBLY, HITCH POLE 338.00$        
33572-00 SHAFT, 6 SPLINE 5" CHIPPER/SHREDDER 186.00$        
77227-12 MOUNT, VERT ENGINE 60.34$          
75950-12 SHEET, MOUNT HYDRAULIC TANK 37.82$          

71937 WELDMENT, INLET ADJUSTOR 47.11$          
18125-00 CAP, TEMPO REPLACEMENT GAS 45.40$          
18020-00 LATCH, COMPRESSION 59.80$          

12230 YOKE, INBOARD 1 50.60$          
13460-00B ACTUATOR, 2" STROKE ELECTRIC 319.00$        
77952-00 ASSEMBLY, 5" CHUTE WITH DECALS 350.40$        
70866-12 PLATE, DL ENGINE SHIELD 34.97$          
76958-12 PLATE, HITCH 20.55$          
77523-12 PLATE, TRIMMER TILT BASE 73.05$          

72929 SPACER, VALVE 10.65$          
74607-12 GUIDE, BELT 28.71$          
75683-00 WELDMENT, FAN 393.60$        
74701-12 GUIDE, BELT 44.78$          
31679-00 SHIELD, TRIMMER 54.15$          

16691 BELT, 3VX500 WEDGE BAND 48.40$          
12809 COUPLER, 50MM X 3 INCH 54.20$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15684-00B BOLT,7/16"-20 X 1" GR5 HCPS 1.50$            
12675 RELAY, AUTO FEED CONTROL 50.20$          

71217-12 WELDMENT, SIDE COVER PANEL 184.00$        
31916-00 CABLE, DIESEL THROTTLE 30 IN 92.42$          
72660-33 WELDMENT, CHUTE EXTENSION TRAY 275.00$        
30132-00 SWITCH, PRESSURE GC 241.50$        

70471 IMPELLER WELDMENT 195.65$        
12917-00B ADAPTER, -8MORING/-10MJIC 90 DEG 15.55$          
13877-00 CONTROL, HEIGHT ADJUSTMENT 45.68$          

16482 SHEAVE, 1B5.2 SDS 46.85$          
76896-00 FLAP, SHREDDER HOPPER 22.10$          
36152-00 HOSE ASSY, CRANKCASE DRAIN 40.50$          
73846-00 TANK ASSY, 74624 FUEL 739.00$        
34696-00 BELT, 2BX59-X5 62.50$          

0122-0222-00B KEY, 1/2 SQ X 3 3.30$            
72462 FLAP, CHIPPER CHUTE 55.60$          

76289-00 ASSEMBLY 9" CHIPPER DISK 1,450.50$    
73817-12 WELDMENT, EXTENSION TRAY 360.90$        
70751-00 ASSEMBLY, SELF VAC HOUSING W/ DECALS 176.55$        
14768-00 SNAP RING, 1-1/4 EXT. HEAVY DUTY 2.26$            
16383B CLAMP, 1 9/16 COATED METAL 5.10$            

73298-35 WELDMENT, TRIMMER BODY 102.25$        
77152-40 WELDMENT, ROLLER SUPPORT 634.50$        
14942-00 DECAL, MUTILINGUAL MANUAL 1.80$            
31256-00 CABLE, 72" POSITIVE BATTERY 60.40$          
76878-00 ASSEMBLY, EXTENSION TRAY 273.00$        
73937-00 ADJUSTOR, SCREW 37.76$          
74691-35 WELDMENT, VACUUM HOUSING 858.40$        
74471-12 PLATE, 13 HP HONDA ENGINE 44.60$          

71192 WELDMENT, CHIPPER BASE 890.40$        
76288-00 ASSEMBLY 9" CHIPPER DISK 1,442.10$    
77127-00 ASSEMBLY, CHUTE EXTENSION TRAY SERVICE PART 269.00$        

70284 MAINTENANCE KIT - 2HP B + S 79.25$          
12340B ADAPTER,-8MORING/-8MJIC/-8MJIC TEE 17.25$          
16499 SHEAVE, 1B3.6 SH 36.14$          
70431 WELDMENT FENDER BRACKET 63.10$          

74723-00 WELDMENT, VACUUM ROTOR 403.00$        
16806 CLAMP, 9/16 SPRING 0.70$            
15405 SCREW, WELD 5/16"-18 * 3/4"PLN 0.70$            
73078 ASSEMBLY, TOP W/DECAL 364.02$        
12558 MOTOR, 32.7 CU IN HYDRAULIC 706.10$        
70979 WELDMENT, LARGE BELT GUARD 101.45$        

77945-00 ASSEMBLY, CH5540 CHUTE WITH DECALS 335.00$        
14417-00B ADAPTER, -8MORB/-8MJIC 45 10.75$          
14804-00 BELT, 5-5V750, NON COG 247.50$        
72969-12 WELDMENT, GUARD SUPPORT 44.48$          

16326 SHEAVE, 2B5.2 SDS 66.64$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



72796-12 WELDMENT, BELT GUARD 113.40$        
75212-00 SPACER, 5/8 OD X 11 GA X 4.30 11.36$          
74028-10 LEVER, CLUTCH  ENGAGEMENT 15.00$          
74198-12 WELDMENT, EXTENSION TRAY 391.20$        
18450-00 SHEAVE, 4B5.2 SD 93.80$          
18270-00 ROLLER, POLYURETHANE 5" 27.10$          
18277-00 BELT, BX44 29.35$          
72705-12 DISK, TRIMMER HEAD 30.42$          
75730-00 ASSEMBLY, HOSE 8 INCH 609.20$        
73832-00 CRANK, DISCHARGE 48.20$          
74342-00 WELDMENT, ROTOR HUB 384.50$        
17248B BUSHING, SK 1-3/4" 35.88$          
15613B BOLT, 1/2" X 1-1/2" SERR FLANGE 2.00$            
15086B BOLT, 1/2*3 GR5 HEX HD ZP 2.00$            
15616B NUT, 1/2 SPIRAL LOCK NC ZP 3.00$            

14374-00 REFLECTOR, WIDE ANGLE RED 3.00$            
73249-10 SPACER, .75 OD X .5 ID X .37 4.00$            
76663-00 ASSEMBLY, CHIPPER CHUTE W/ DECALS 576.20$        
13872-00 WHEEL, 4 X 2 CASTER 55.36$          
73167-35 WELDMENT, VACUUM HOUSING 690.90$        
76974-00 ASSEMBLY, CHIPPER TOP W/DECALS 371.00$        
74466-00 SPACER, TUBE 1 OD X .5 ID X 3.13 29.48$          
73974-35 SHIELD, ENGINE LEFT 73.10$          

14850-00B LATCH, SINGLE ROTOR RH 62.50$          
36118-00 BUSHING, 1-7/16 SK 34.20$          
78779-00 ASSEMBLY, SC-3013 HOPPER W/ DECALS 190.00$        
36182-00 MOTOR, .93 CU. IN. HYD 1,336.70$    
14281-00 CLAMP, EXHAUST 25.80$          
36062-00 HOSE, 8 INCH X 12-1/2 FT 204.40$        
15135-00 BOLT, 5/16 X 2-1/4 FLANGE NC 1.30$            
73662-12 SIDE, ENGINE COVER 73.10$          
14114-00 ASSEMBLY, CHIPPER VALVE 917.00$        
72823-12 STRIP, HANDLEBAR SUPPORT 4.20$            
73829-35 WELDMENT,TOP DISCHARGE 357.00$        
75222-12 CHANNEL, DISCHARGE CHUTE 124.36$        

14525-00B ACTUATOR, HYD BRAKE, 10000 LB 441.00$        
16552 BUSHING, SD 1-7/16" 31.00$          

32033-00 STRING, .175 DIA. CROSS-FIRE (1 LB DONUT) 15.00$          
31498-00 BELT, 2RB40 75.90$          
71543-12 SIDE, ENGINE COVER 82.85$          
77063-00 SHAFT, VACUUM FAN 52.19$          
72971-00 ASSEMBLY, 6 INCH DISCHARGE CHUTE 330.00$        
76913-12 PLATE, ENGINE 39.12$          
14637-00 IDLER, INSIDE 33.24$          

16905 HARNESS, TRAILER LIGHT 31.46$          
0733-0034-00B PLATE, SMV EMBLEM 31.46$          

71370-00 PADDLE, 5" CHIPPER 28.27$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76727-00 ASSEMBLY, 6 IN DISCHARGE CHUTE 468.30$        
77522-12 PLATE, TRIMMER BASE 49.20$          
31153-00 SHAFT, SIX SPLINE INPUT 4.5" CHIPPER 164.00$        
74253-00 PLATE, ANVIL 23.95$          
77312-00 ASSEMBLY, WIDE BODY RENTAL HOPPER 203.30$        

70277 KIT, REPLACEMENT ROTOR 198.75$        
17348B SHEAVE, 4BQ4.8 SD 92.84$          

71628-00 ASSEMBLY, HYDRAULIC FEED FLOW VALVE W/ PS 1,180.00$    
36177-00 HOSE, .50 X 50 -10FJICSW/-10FJICSW 54.80$          
75807-35 CHANNEL, CRADLE CYLINDER 22.90$          

71347 STRAP, RESERVOIR 28.10$          
70761 ASSY, HOPPER W/DECALS 197.85$        

73865-12 FENDER, CHIPPER 153.00$        
12325 GRIP, TILT CONTROL 10.73$          

74220-00 KIT, 74624 + 74628 BLADE KIT 285.00$        
16194 HOSE, PVC 4"ID * 10'LG 127.60$        

74358-12 SHIELD, LOWER 23.50$          
70203-00 KIT, DISCHARGE PIN 59.00$          
74569-12 CAP, DISCHARGE 26.80$          
77091-12 MOUNT, FENDER 33.65$          

16004 BEARING,2 BLT FLG 1-1/2" BORE 44.80$          
71402 TOP BALE WELDMENT 51.90$          

77544-00 ASSEMBLY, HITCH POLE LS 85.70$          
77769-00 KIT, CH4400 CHIPPER HOUSING 408.50$        
33684-00 SPACER, 1 1/16 OD X 14 GA X 1.630 10.00$          

12681 SOCKET, CONTROL HARNESS 63.50$          
74024-12 BRACKET, FENDER 29.70$          
78360-00 KIT, 4-1/2 CHIPPER BLADE (1/2") 175.00$        
74711-12 PLATE, ENGINE MOUNTING 55.50$          
71133-10 BASE, CHIPPER  CHUTE 104.50$        
74209-00 ASSEMBLY, BALANCED RENTAL ROTOR 382.90$        

13851-00B CLIP, HAIRPIN ZP (CLIP #13) 0.30$            
17320B STRAP, 11 IN BLACK TIE 0.30$            
16553B BEARING, 1-3/4 4 BOLT FLANGE 49.30$          

74228-12 WELDMENT, CHUTE SUPPORT 80.10$          
0313-0561-00B SPACER, 1.00 X .688 X 1.50 STEEL 8.00$            

18671-00 HARNESS, TRAILER LIGHTING 117.90$        
12842 CABLE, TRANSMISSION CONTROL 31.28$          

76811-00 KIT, DL HITCH POLE 405.20$        
73523-00 KIT, BLADE HD 177.77$        
74369-00 SHIM, 20 GA. 6.20$            
72055-12 WELDMENT, PICKUP SPROCKET 66.63$          
74416-12 WELDMENT, FENDER 188.00$        
77280-00 ASSEMBLY, NARROW EURO HOPPER 242.30$        
71292-35 WELDMENT, ROLLER SUPPORT 546.70$        
76217-10 WELDMENT, ENGINE MOUNT PLATE 71.00$          
14264-00 SHEAVE, 4B4.2 SD 85.66$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



71360 WELDMENT, FEED CONTROL LEVER 39.60$          
13717-00 SWITCH, FEED CONTROL 56.72$          
74904-00 PIN, HOOD HINGE PLATED 26.20$          

12646 VALVE, HYDRAULIC CONTROL 785.40$        
73630-35 BODY, TRIMMER 62.35$          
72921-33 WELDMENT, CHUTE EXTENSION TRAY 254.10$        
31391-00 DECAL, CHIP IT 7.20$            
73296-00 ASSEMBLY, 6" DISCHARGE CHUTE 436.90$        

70634 CLAMP WELDMENT 32.10$          
75195-12 WELDMENT, CONTROL ARM 192.60$        

12793 CAP, PLUG 63.00$          
75394-35 FRONT, HOPPER 52.80$          
77187-12 CRADLE, LOG SPLITTER 64.20$          
77214-12 CRADLE, LOG SPLITTER 64.20$          
72966-12 WELDMENT, CHUTE SUPPORT 62.35$          
12441B BUSHING, SK 1-1/2" 35.87$          
16002 BUSHING SK 1-1/8" 35.87$          

12437B BUSHING, SK 1-1/4" 35.88$          
16083 BUSHING, 1" SK 35.88$          

15833-00 BOLT, M16 X 2.0 X 30 HEX HD W/PATCH 6.40$            
72921-12 WELDMENT, CHUTE EXTENTION TRAY 256.00$        

17995 PULLEY, 4X1 2A GROOVE 64.65$          
72821-12 WELDMENT, BOTTOM BALE 48.10$          

12136 MANUAL, LARGE S CHIPPER OWNER'S 31.00$          
77768-00 ASSEMBLY, CHIPPER HOUSING 384.00$        
13918-00 HOSE ASSY, -8FMJIC/-8FMJIC90SW X 35 51.32$          
74497-12 POLE, L + G HITCH 54.60$          

16258 GRIP - 1" I.D. X 4.63" 10.70$          
72646-12 PANEL, SIDE COVER 123.95$        
33295-00 HARNESS, 9" DIESEL DDC CONTROLLER 805.00$        
77921-00 ASSEMBLY, HWS BODY WITH DECALS 85.00$          
31342-00 SWITCH, HONDA ENGINE KILL 24.05$          

70082 ANGLE, GUARD SUPT. 7.10$            
78192-40 DISK, ROTOR SGXTR SGPRO 66.80$          
15170B BOLT, 5/8 X 5-1/2 HEX HD GR5 ZP 4.90$            
70378 WELDMENT, MOTOR DRAW ANGLE 34.81$          

14051-00B ROLLER, NARROW IDLEMASTER 60.04$          
16001 SHEAVE 2B 6.6 SDS 82.12$          

77485-12 BRACKET, RIGHT TAIL LIGHT 71.40$          
17026 SHEAVE, 3BQ5.6, SD 78.52$          

18596-00 HARNESS, CHIPPER WC-8B 339.20$        
16581B SHEAVE, 3B13.6 SK 185.60$        

14802-00B BUSHING, E 2-7/16" 82.36$          
14236-00 BUSHING, 1/2 X 1 FLANGE LUBE 4.61$            
17029B SHEAVE, 3BQ5.2, SD 73.76$          
12458 SHEAVE, 3BQ11.0, SK 147.52$        

18356-00 HOSE, .625X48 -12FMJIC90/-12FMJIC 99.60$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18890-00 ASSEMBLY, CLEVIS 33.20$          
77154-12 PLATE, TRIMMER AXLE 37.45$          

16500 V-BELT, DRIVE 31.37$          
72231 WELDMENT, LH OUTSIDE BAIL 48.60$          

15509B WASHER, FLT 3/8" NYLON .062 TH 0.80$            
15120-00 BOLT, 5/16 X 1 FLANGE NC 0.80$            
15119-00 BOLT, 5/16 X 7/8 FLANGE NC 0.80$            

15565 BOLT,5/16X1-1/4 HHD GR8 PATCH 0.80$            
71578-12 BRACKET, RH FENDER "CE" 86.85$          
71586-12 BRACKET, LH FENDER "CE" 86.85$          
73642-12 GUARD, BEARVAC BELT 35.85$          
31392-00 DECAL, RECLAIM IT 5.05$            
36183-00 COUPLER, 7/8 SPLIT 127.00$        

70982 ASSY, BC WIDE RENTAL HOPPER 296.00$        
14276-00 HOSE ASSY, 8FMJIC SW X 86" 54.30$          
78268-10 PLATE, HITCH SADDLE 19.50$          
77116-00 ASSEMBLY, 6 INCH DISCHARGE SERVICE PART 356.70$        

71964 BEARING, ROLLER SLIDE 26.30$          
18700-00 SWITCH, DP ON/NONE/ON 42.70$          

12145 SHEAVE, 2B4.8 SDS 61.90$          
15806-00 BOLT, M8 X 1.25 X 40 GR8.8 HCPS 1.30$            
31305-00 PIN, PULL WELD-IN 1/2 X 5/8 X 1-1/2 40.91$          
73660-12 HOOD, ENGINE 113.00$        
31457-00 DECAL, MODEL SC3265 3.10$            
75395-35 REAR, HOPPER 52.30$          
72704-12 WELDMENT, TRIMMER HEAD (HEAT TREAT) 52.00$          
14261-00 BELT, 3RB48 ARAMID 187.56$        

70144 ANGLE, BATTERY HOLD DOWN 8.70$            
72736-12 PLATE, HANDLE LOCK 25.80$          
74385-12 RING, CHUTE RETAINER 41.10$          
13720-00 SWITCH, MURPHY (50 HP) 158.00$        

12680 SENSOR, PROXIMITY 176.72$        
76272-12 LEG, SUPPORT 51.90$          

17771 ADAPTER, 1/4"SHORT 90 DEG ST BRASS 8.03$            
71756-12 COVER, ENGINE SIDE 110.40$        
14282-00 MUFFLER, HONDA EXHAUST 282.90$        

72487 ASSEMBLY, DICHARGE CHUTE SERVICE 347.00$        
34777-00 SCREW, BRIGGS EXHAUST DEFLECTOR 0.50$            
15459B SKT HD CAP SCW #10-24*1-3/8"PL 1.00$            

15163-00B BOLT, 3/8 X 1 FLANGE NC 1.00$            
12173 DECAL, DISCHARGE ISO 2.00$            
12174 DECAL, SHIELD DANGER ISO 2.50$            

14807-00 SPROCKET, 50B8 5/8 BORE 25.50$          
12459B SHEAVE, 3BQ9.4, SK 123.76$        
70419 KIT, 70554/70520 OWNERS 64.20$          

14509-00B ROLLER, 5 X 1 X 5/8 NOFF AL 40.01$          
18703-00 HOSE ASSY, 12MORING/12FMJ90SW X 72 124.00$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



16017 SHEAVE, 2B13.6 SK 142.80$        
72062 ASSY, CHIPPER CHUTE 523.90$        
12536 COUPLER, 50 MM BALL 61.40$          

36268-00 SHEAVE, 3B6.8 SD 91.50$          
16616 JACK, PIVOTING W SWIVEL CASTOR 110.32$        

77631-00 SHAFT, .50 X 10.875 25.20$          
18535-00 HOSE ASSY, -8FMJIC/-8FMJIC90 X 61 57.70$          
75380-00 HOSE, 63" FUEL LINE 28.70$          
73866-12 BRACKET, FENDER 84.55$          

16323 SHEAVE, 2B9.4 SK 92.84$          
17055B V BELT BX-56 SINGLE 33.26$          

31957-00 KIT, SEAL LOG SPLITTER VALVE 38.30$          
72483B ASSEMBLY, 6 INCH DISCHARGE 427.50$        

14173-00 GUARD, CE MUFFLER 79.24$          
12119 BELT, 2RB65 70.44$          

72449-33 WELDMENT, 6 INCH DISCHARGE 343.40$        
12365 BELT, 3VX530 DOUBLE BANDED 44.06$          

77138-00 ASSEMBLY, HYDRAULIC RESERVOIR SERVICE PART 338.64$        
75836-12 SHEET, FENDER 33.60$          

16068 BRUSH, INLET 48.50$          
77274-00 ASSEMBLY, NARROW RENTAL HOPPER 204.20$        
75518-12 CHANNEL, HANDLE SUPPORT 27.10$          

12117 BEARING, 1-1/2" 2-BOLT SET SCREW 45.40$          
72057 ASSY, BLOWER GUARD SERVICE 193.00$        

76611-35 WELDMENT, KNEEBAR 199.55$        
17434B WEAR PAD,STD.SPRING HD FRONT 1.20$            

32522-00 SPACER, .75 X .47 3.60$            
16946 METER, HOUR 148.00$        
12656 CABLE, 18" NEG (R / R) 25.30$          

36265-00 HOSE, .50 X 84 -8FMJIC/-8FMJIC 49.40$          
17755B ANTI-SEIZE LUBRICANT 8 OZ BRUSH TOP BTL 36.75$          

34347-00 HARNESS, FUEL PUMP GROUND WIRE 19.20$          
18533-00 HOSE ASSY, -8FMJIC/-8FMJIC90 X 21 31.70$          
15016B BOLT, 1/2"X3-1/2" GR5 HEXHD ZP 2.60$            

77006-00 FLAP, C/S/B CHUTE 81.20$          
18022-00 HARNESS, 8" PTO LOFA 313.90$        

16484 PULLEY, 4" IDLER 36.18$          
71919-12 STRIP, SHIFT ARM 7.30$            
73849-33 BRACKET, MOTOR MOUNT 32.30$          
73482-00 FLAP, C/S CHUTE 67.30$          
36523-00 GAUGE, FUEL 36.20$          
36115-00 LAMP, INDICATOR (KUBOTA) 47.00$          
74317-12 WELDMENT, CHIPPER 3 PT. 485.50$        
72684-12 BRACE, HANDLEBAR 15.50$          
14585-00 CABLE, BRAKE 38.12$          

15747-00B BOLT,M10 X 1.5 X 50 CLASS 8.8 HCPS 6.80$            
16113 FILTER, 8HP HONDA AIR 36.86$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



17984 SPINDLE, AXLE 43.25$          
18186-00 COUPLER, MALE QUICK -8 ISO10 33.71$          
36093-00 ASSEMBLY, TIRE 4.8-8 96.70$          
18529-00 MUFFLER, TYPE 5 SIDE IN/END OUT 324.50$        
15345B BOLT 5/16X3/4" SERR FL GR5 ZP 0.70$            
15372 SQUARE KEY, 3/16" X 1.00"LG 0.70$            

14625-00 CONNECTOR, 1/4 QD MALE 1.40$            
34779-00 SPACER, 500 SERIES 1.40$            
16602B CLAMP, 1-1/4" HOSE 2.80$            
16689 SHEAVE 3V3.0-2 GROOVE JA 43.92$          
73139 WELDMENT, HOSE INLET 379.50$        
16726 KIT, 2000 PSI RELIEF SHIM 38.21$          

14058-00 HUB, COUPLER (X SERIES) 21.28$          
75773-00 SPACER, 5/8 OD X 11 GA X 0.88 5.10$            
18532-00 HOSE ASSY, -10FMJ/-10FMJ LD 90 X 21 45.90$          

72721 SHIELD, FRONT TRIMMER 34.43$          
35091-00 COIL, SOLENOID (VALVE 18527-00) 99.48$          
14365-00 ASSEMBLY, HUB 48.47$          

73147 ASSEMBLY, HOSE ADAPTER W/DECAL 231.00$        
36084-12 ELBOW, HONDA + BRIGGS EXHAUST 35.10$          
70046B IDLER SPACER 4.60$            
16914 CABLE, LAWNVAC CLUTCH 40.90$          

73597-12 PANEL, RADIATOR COVER 159.40$        
12216 PROFILE, INNER 1B 49.23$          

77114-00 LY, 5 INCH CHIPPER CHUTE See PUB 20180327 Before 391.05$        
31460-00 BELT, 2BRP67 161.20$        

12224 KIT, AS COL 49.28$          
18446-00 HOSE ASSY, -6FMJICSW/-6FMJICSW X 43 33.30$          
73663-12 HOOD, ENGINE 132.25$        

16635 BUSHING, SH 15 MM 42.93$          
16501 SHEAVE, 1B5.0 SDS 45.50$          

75727-00 WELDMENT, HOSE INLET 10 INCH 327.00$        
12177B SPRING, HEAVY DUTY COMPRESSION 2.95$            

14751-00 FILTER, 8 HP HONDA GX240 AIR 37.22$          
18539-00 MUFFLER, BRIGGS 35 HP 190.00$        

16262 CROSS KIT, 2000 PTO SHAFT 42.40$          
16769 CABLE, DIESEL THROTTLE 34 IN 91.25$          

31413-00 SWITCH, BATTERY DISCONNECT 48.20$          
12107 SHEAVE, 3V6.0-1 GROOVE SH 47.57$          

35256-00 DECAL, MODEL ECHO WT-1610 6.30$            
15750-00 BOLT, 5/16X1-1/2 CRG GR5 ZP 0.90$            
14624-00 CONNECTOR, 1/4 QD FEMALE 0.90$            
36695-00 GAUGE, FUEL LEVEL KELCH 100 31.50$          
31489-00 CONTROL, SUBARU V-TWIN IGNITION 79.80$          
74521-12 PLATE, ANVIL 93.00$          

16089 BRUSH 5 * 15" 32.20$          
18070-00 BEARING, 2-7/16 INSERT 177.80$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15767-00B SCREW, 1/2X2-1/4 FLHD CAP(ASTMF835) 2.90$            
16291 MUFFLER, 5HP B+S 47.70$          

75785-00 HOSE, 20" FUEL 19.60$          
76461-12 SPACER, DL DISCHARGE 35.65$          
36101-00 HOSE, 1.00 ID X 22 IN 100R4 HYD 30.60$          
12215B YOKE, INBOARD 1B 116.24$        

33939-00 SPRING, CLIP HW TRIMMERS 7.50$            
12829 CONNECTOR, #10 INSULATED FORK 1.10$            
16633 CABLE, HYDROSTAT CONTROL 78.96$          

77126-00 ASSEMBLY, BIG CHIPPER CHUTE SERVICE PART 414.90$        
73919-00 ASSEMBLY, HOPPER 199.45$        
74389-00 PADDLE, FAN 58.95$          

12544 CHAIN, 12" REPLACEMENT 44.70$          
76545-12 WELDMENT, CHIPPER TRAILER 748.20$        
76462-12 RING, DL DISCHARGE 35.06$          
36397-00 HARNESS, 6" PGRM JMPR (GAS) 94.70$          
76551-12 WELDMENT, CHIPPER FENDER 199.85$        

71280 COLLAR, CHIPPER LOCK 25.15$          
16556 SPRING, LOCK COMPRESSION 3.90$            

75086-00 SPACER, ROTOR 2.60$            
12449 SHEAVE 3B4.8 SD 69.00$          
71149 WELDMENT,CHIPPER ROTOR SHAFT 284.00$        

18420-00 BUMPER, RECESSED RUBBER 17.40$          
31815-00 ADAPTER, -20FJIC/-12MJIC 24.70$          
31481-00 HOSE, 1.00 ID X 28 IN 100R4 HYD 31.30$          
15866-00 KEY, 3/16 X 3.38 SQ. 1.50$            
73991-12 LINK, CONTROL VALVE 12.60$          
36382-00 HARNESS, 8" PROGRAM JUMPER EURO 83.60$          

15321 KNOB, SPOUT 5/16-18 1.70$            
74776-00 SPACER, IDLER 12.90$          
72807-12 WELDMENT, SPINDLE HUB 100.50$        

16782 CLAMP, 3/16 CABLE 1.90$            
16086 V-BELT BX-49 34.07$          
16799 BELT, 2R3VX475 EL COG. ARAMID CORD 70.80$          

14891-00 HOSE ASSY, -6FJIC 90/-6FJIC X 102 77.40$          
18001-00 SENDING UNIT, FUEL GAUGE 77.44$          
74149-12 SPACER, DISCHARGE CHUTE 34.15$          
73823-35 WELDMENT, CHIPPER TOP 310.25$        

16725 KIT, RELIEF CARTRIDGE SEAL 68.40$          
12093 SWITCH, KUBOTA IGNITION 92.12$          

14373-00 HOSE ASSY, CRANKCASE DRAIN 42.12$          
18520-00 ENGINE, BRIGGS 35 HP 5,000.00$    
73205-12 SPACER, 7/8 X 3/4 7.90$            
36597-00 KIT, SEAL VALVE 13897-00 64.55$          

12856 CABLE, SP CONTROL 27.60$          
75210-12 ANGLE, FENDER GUSSET 27.30$          

16915 CABLE, SHIFT CONTROL 67.20$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



13919-00 HOSE ASSY,-10FMJIC/-8FMJIC90SW X 53 63.28$          
76533-12 WELDMENT, HITCH POLE 199.10$        
75980-12 SHEET, LEDGE EXTENSION 52.81$          

12222 TUBE, INNER SHIELD RND 60.66$          
14130-00 FLAP, CHUTE 110.80$        
13874-00 CONTROL, THROTTLE 27.45$          
73845-00 TANK ASSY, 74628 FUEL 860.00$        
73249-12 SPACER, .75 OD X .5 ID X .37 4.50$            

73249 SPACER, .75 OD X .5 ID X .37 4.50$            
36137-00 HOSE, FLEX 8IN X 3FT GALVANIZED 90.00$          

12217 PROFILE, OUTER 2A 70.16$          
14995-00 HUB, DRIVE SHAFT ADAPTER 150.96$        

12549 HOSE, .625X22 -12FMJIC90/-12FMJIC 72.84$          
14252-00 METER, HOUR 80.80$          
14249-00 SENSOR, PROXIMITY 116.60$        
15780-00 U-BOLT, 5/16 X 1.0 X 2-3/16 5.50$            

12548 HOSE, .625X72 -12FMJIC90/-12MORING 116.64$        
12147 MUFFLER, 8HP B + S 62.30$          
12550 HOSE, .625X34 -12FMJIC90/-12FMJIC 88.88$          

13544-00 CABLE, HYDROSTATIC CONTROL 118.10$        
12475 SHEAVE, 4BQ6.8, SD 115.48$        

30177-00 BAG, 3" DISCHARGE DEBRIS 84.96$          
31288-00 HARNESS, CHIPPER SAFETY RELAY 77.00$          

71432 ASSY, CHIPPER CHUTE SERVICE 409.80$        
76265-12 HITCH, DEBRIS LOADER 184.30$        

12547 ASSY, HYD HOSE -8FMJIC90SW/-8FMJIC 66.44$          
18545-00 GAUGE, FUEL MECHANICAL 101.00$        
36114-00 TIMER, GLOW PLUG (KUBOTA) 168.80$        
14372-00 WIRE HARNESS, TRAILER 158.20$        
15212B BOLT, 5/8 X 3-1/2 HEX HD G5 ZP 3.46$            

75302-33 BRACKET, DISK LOCK 25.70$          
12227 YOKE, INBOARD 0V 66.56$          

72451-33 WELDMENT, 4 INCH CHIPPER CHUTE 386.79$        
14997-00 CAP, 2" NPT FUEL 109.20$        
75268-12 WELDMENT, LICENSE PLATE 58.00$          
31485-00 VALVE, NEEDLE -10 MOUNT 133.28$        
18579-00 HARNESS, SAFETY BAR CONTROL 129.30$        
14376-00 SHEAVE, A5.5 X 5/8 BORE 82.65$          
15002B BOLT, 1/4*1 GR5 HEX HD ZP 0.20$            
15180B SET SCREW 1/4*5/8 SQ HD 0.20$            

0101-0072-00B NUT, 5/16 FINE HEX JAM ZP 0.20$            
18607-00 STRAP, 7-1/2 IN RED TIE 0.20$            
15634B WASHER, M6 FLAT(6.4 X 12.1 X 1.6) 0.20$            
17898 @ SKT HD CP SCW 10/24*1 1/4 @ 0.20$            

15436B BOLT, 5/16-18x1-1/4GR5 HHCS CMS F1 5ANS 0.40$            
15797-00B SCREW, 1/4-20 X 1 SKT HD CUP PT SET 0.40$            
18950-00 RIVET, PLASTIC 1/4 X 7/8 0.80$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15448 BOLT 5/16-18*1/2"G8 HCS PATCH Z 1.40$            
15162-00B NUT, 1/2-13 NYLOCK FLANGE 1.60$            

17865B ADAPTER, -6MNPT/-4FMNPT HEX GALV 3.20$            
32669-00 ORING, HYD PUMP 0.60$            
15912-00 SNAPRING, 1.75 INTERNAL 1.80$            
14237-00 BUSHING, 5/8 X 1 FLANGE LUBE 1.80$            
15287-00 SCREW, #10-16 3/4 LONG FOR PLASTIC 2.00$            
36081-00 ADAPTER, -8MORING/-12 HOSE BEADED 19.00$          

12792 BEARING, 1/2" L2 NYLINER 5.40$            
73177 SHAFT, VACUUM FAN 193.36$        

14990-00 RAIN CAP, INTAKE 118.70$        
14900-00B HITCH, PINTLE RING, 20,000 LB 145.44$        

12213 YOKE, 1-3/8" 6 SPLINE 100.10$        
16907 ASSY, 480/400 X 8 WHEEL + TIRE 65.40$          

14791-00 BEARING, 2-7/16 4 BOLT FLANGE 81.44$          
14278-00 HOSE ASSY, 8FMJIC/8FMJIC SW X 32" 33.39$          
75976-00 KIT, SNUBBER 130.00$        
18007-00 SWITCH ASSY, ENGINE THROTTLE 100.30$        

12698 HOSE ASSY, -8FMJICSW/-8MSAE X 72.0 70.90$          
16322 KIT, CH20 MUFFLER 157.90$        

14614-00 BRAKE ASSY, ELECTRIC, 12" LEFT 121.80$        
34068 TUBE SQ 2 X 1/4 WA X 1' 25.10$          
12567 TRANSMISSION, EZ TRIMMOWER 64.30$          

18077-00 PROX.SWITCH, W/CONNECTOR 148.70$        
18051-00 GAUGE, MECH. FUEL 111.20$        
14193-00 GUARD, CE MUFFLER 8 HP INTEK 120.60$        

16767 EYE, PINTLE HITCH 158.40$        
14776-00 DAMPER, IDLER 67.12$          
14613-00 BRAKE ASSY, ELECTRIC, 12" RIGHT 110.10$        
14632-00 HOSE ASSY,-8FMJIC/-8FMJICSW90 X 27 34.92$          

12168 DECAL, PTO DANGER ISO 4.30$            
72943-12 STRIP, ENGINE TIE 26.30$          

16011 DRIVESHAFT PTO, 1000 RPM 188.30$        
15497B RIVET 1/4X1/2 DOME HD BLIND SS 1.75$            
12414 JACK, PIVOTING W FLAT PLATE 140.00$        
12745 HARNESS, FEED CONTROL 129.30$        

36098-00 HOSE, .75 ID X 38 IN 100R4 HYD 37.73$          
31749-00 CAP, FUEL TANK W/ GAUGE 41.10$          
74249-12 PLATE, ENGINE MOUNTING 55.86$          

14629-00B CABLE, 50" NEG (R / R) 28.85$          
17833 SPRING, .80 OD X 3.50 LG ZP CLUTCH 5.40$            

14665-00 HOSE ASSY 8FJIC90 SW X 8FJIC SW 54" 45.95$          
14243-00 HOSE ASSY, -6FMJIC/-6FMJIC90SW X 39 48.66$          

12092 SWITCH, ENGINE MURPHY 170.60$        
14247-00 HOSE ASSY, -8FMJIC90/-8FMJICSW X 32 37.94$          
18025-00 HOSE, .50 X 38 -10FMJIC/-10FMJIC 35.24$          
33854-00 DECAL, HW MAINTENANCE INFORMATION 4.00$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18957-00 WHEEL, 15 INCH TRIMMER (BLACK) 33.90$          
74226-12 ARM, INSIDE IDLER 36.90$          
34140-00 SHAFT, HWS AXLE 29.50$          
77462-12 TUBE, HITCH 86.50$          

12663 HOSE ASSY, -8FMJ/-6FMJ X 38 40.82$          
14864-00 SWITCH, N/C MOMENTARY PLUNGER 45.60$          
75211-00 SPACER, 1/2 OD X 14 GA X .49 4.50$            

12310 HYD.HOSE ASSY.,2X-8FMJICSW(72") 39.60$          
77115-00 ASSEMBLY, 5 INCH EURO CHUTE TRAY SERVICE PART 217.15$        

71534 FENDER, HEAVY DUTY 127.70$        
14600-00B HOSE ASSY, -6FMJIC90/-6FMJIC SW, 28 32.94$          

12561 ADAPTER, -16MORING/-12MJIC 24.00$          
14246-00 HOSE ASSY, -8FMJIC/-8FMJICSW X 45 37.17$          
18029-00 HOSE, .375 X 36 -8FMJIC/-8FMJIC 44.06$          
15828-00 RIVET, AL BLIND 1/4 X 3/4 DOME HEAD 1.45$            
75148-33 ANGLE, BRACKET 27.30$          
14521-00 LED, 12V RED 1/2" SNAP MOUNT 55.30$          
31965-00 ADAPTER, -8 MORING X -12 FMNPT 28.00$          
14570-00 HOSE ASSY,8FMJIC/8FMJIC SW 90 X 20 38.75$          
15447B BOLT 5/16-18*1"GR8 HCS PATCH ZP 0.90$            
73054 KIT, 74554 OWNERS/PARTS 179.02$        

73081-00 ADAPTER, HYDRAULIC PUMP FITTING 27.00$          
70574 STRAP,COMM BLOWER EXT SUPPORT 11.70$          

74609-12 WELDMENT, CHIPPER DISCHARGE 113.10$        
75141-12 COVER, CONTROL BOX 28.10$          

15411 PUSHNUT, 5/16" ZP 0.70$            
15862-00 BOLT, 5/16-18 X 7/8 GR5 HH SER/FLN 0.70$            
74604-12 BOX, WP18-12 BATTERY 42.40$          
32329-00 DECAL, PINTLE SAFE COUPLING 11.70$          
73722-10 JACK, HYDRAULIC 2 TON 113.50$        
74750-00 CRANK, DISCHARGE 65.90$          

12834 TRANSMISSION, 3 SPEED see Bulletin SIB 14 001 192.44$        
36017-00 ADAPTER, -10 MORING/.75 90 DEG HOSE 22.40$          
14272-00 CABLE, THROTTLE CONTROL 36.78$          
31238-00 RELAY, 12V SPDT W/ FLANGE 32.10$          

16630 SHEAVE, 1B4.0 SH 46.87$          
16968 COIL, SOLENOID VALVE 90.95$          

73599-12 SHIELD, 28 HP HEAT 36.54$          
71752-12 COVER, RADIATOR 190.00$        
31263-00 FLAP, CHUTE 74.00$          
74386-12 RING, CHUTE SPACER 90.00$          
36035-00 DECAL, MODEL CH6614 1.50$            

17863 STARTER CONTROL PANEL, 8HP ELEC 72.20$          
12125 ASSY, 15 INCH TIRE + WHEEL 306.34$        

75410-35 SUPPORT, CHIPPER/SHREDDER 50.00$          
16753 DECAL, CE APPROVAL 1.80$            

74208-00 WELDMENT, BALANCED RENTAL ROTOR 257.80$        

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18542-00 NUT, FLYWHEEL GUARD BRIGGS 14.70$          
15908-00B BOLT, 5/16-18 X 3/4 ZP FLANGE SHOULDER 4.90$            
18556-00 DECAL, FEED SPEED 3.90$            

12318 PULLEY, 5.0 X 3/4 AB 37.30$          
12220B CONE, 6 RIB SAFETY 30.08$          
12234 SHIELD, INNER TUBE RND 68.00$          

75707-12 LINER, WEAR 42.85$          
32327-00 DECAL, SAFETY CHAINS 4.20$            
32328-00 DECAL, TRAILER ELECTRICAL 4.20$            
74579-00 SPACER, .63 X 3.060 11.10$          
32392-00 DECAL, ECHO BEARCAT QR CODE 1.60$            
15739-00 BOLT, 3/8 X 3-1/2 FULL THD ZP GR5 1.60$            
16682B BEARING 1-1/4" DIA 2 BOLT FLNG 41.50$          
12789 HOSE ASSY, -8FMJSW/-8FMJ90SW X 42.0 37.90$          

14018-00 DECAL, 6HP PUSH BEARVAC INFORMATION 1.75$            
36679-00 DECAL, MODEL WV160 3.50$            
12211B DECAL, IN 5.70$            

31484-00 DECAL, BEARCAT WEB 14.70$          
15488 BOLT, 1/2 * 3" FLT HD SKT CAP 6.00$            

71492-12 HINGE, EXTENSION TRAY 58.60$          
12017 DECAL, STUMPGRINDER CONTROL 8.93$            

18944-00 DECAL, MODEL SG340 6.60$            
14182-00 DECAL, 98 DB 6.60$            
36472-00 DECAL, WEDGE CAUTION 7.70$            

12533 DECAL, STUMPGRINDER INFO 9.90$            
15277-00 NUT, 1-1/8"-12 HEX UNF GR5 MAGNI 565  SILVER 27.00$          
18540-00 GUARD, WIRE FLYWHEEL BRIGGS 45.50$          
14858-00 DECAL, ROTOR ENGAGEMENT 10.35$          
31788-12 SPACER, 2" OD X .760 ID X 1.00 D-BORE 9.40$            
18061-00 DECAL, ROTATING SHAFT 6.10$            
75544-00 TAG, VIN 12.20$          

70521 PIN 5/16 X 14 29.70$          
32014-00 DECAL, SAFETY INFORMATION 3.75$            
31990-00 DECAL, 3" CHIPPER BODY SIDE 15.00$          
12210B DECAL, OUT 6.40$            

36050-00 DECAL, MODEL WV190 6.55$            
14772-00 DECAL, START/ENGAGE 14.80$          

12231 YOKE 98.70$          
17838B DECAL, MADE IN USA 1.40$            

36033-00 DECAL, MODEL CH45390 2.80$            
77337-00 SPACER, 7/8 X 2.00 W/ HOLE 11.20$          
32109-00 DECAL, DISCHARGE DEBRIS & LOCK 10.10$          
18059-00 DECAL, CHIPPER ENGAGEMENT 7.30$            
73779-00 ASSEMBLY, HWX BODY WITH DECALS 100.00$        
36176-00 DECAL, INSTRUCTION ISO 3.25$            
18993-00 DECAL, INSTRUCTION ISO 3.40$            
18424-00 HOSE, .750 X 19 -12FMJIC90/-12FMJIC 85.79$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



12555 COUPLER, CHAIN 1" ID 106.50$        
74811-12 SHIM, DISCHARGE SPACER RING 24.50$          
18653-00 DECAL, FEED RESET 9.70$            
36022-00 DECAL, MODEL SC3206 2.00$            
35257-00 DECAL, MODEL ECHO WT-1610T 6.30$            
73633-12 SHAFT, LONG AXLE 32.69$          
32090-00 DECAL, CH8720iH INFORMATION 6.90$            

71303 KIT, BEARING REPLACEMENT 40.40$          
14384-00 DECAL, 103 DB 6.40$            
36023-00 DECAL, MODEL SC3305E 6.55$            
36037-00 DECAL, MODEL CH8540 6.55$            
36040-00 DECAL, MODEL CH911DH 6.55$            
36055-00 DECAL, MODEL DL10570 6.55$            
14277-00 HOSE ASSY, 8FMJIC SW X 98" 87.90$          
76178-00 BLADE, THREADED 5/8 CHIPPER 89.43$          

71087 WELDMENT, HOSE INLET 316.00$        
12747 DECAL, FEED POSITION 4.10$            

13707-00 CONTROLLER, KEY START 104.40$        
18033-00 DECAL, CHIPPER OPERATION 9.55$            

16085 DECAL, KNIFE ACCESS ANSI 10.15$          
31246-00 DECAL, 160cc PUSH BEARVAC INFORMATION 5.90$            
31247-00 DECAL, 160cc SP BEARVAC INFORMATION 5.90$            
31344-00 DECAL, CH6730H CE INFORMATION 5.90$            
31483-00 DECAL, SC2170 INFORMATION 5.90$            
31499-00 DECAL, CH4400 INFORMATION 5.90$            
31604-00 DECAL, CH5653 INFORMATION 5.90$            

12273 BELT, 3B90 BANDED 109.10$        
12780 SPRING, GAS 60 PSI 42.62$          

14528-00 DECAL, RESET/OVERRIDE 8.30$            
12737 DECAL, AUTO FEED 8.30$            

32176-00 DECAL, SC3342 CE INFO AND NOISE 10.10$          
32157-00 DECAL, 4.80-8 LOAD RATING 22.00$          

16548 ASSEMBLY, ST5.30-12 TIRE + SPOKE RIM 187.20$        
76547-12 PLATE, AXLE SAFETY 19.70$          
32251-00 DECAL, EUROPEAN (FOR 32219-00) 8.70$            

0040-0137-00B STRAP, 4-1/2 IN BLACK TIE 0.15$            
15368B HAIRPIN CLIP ZP #203 0.30$            
7022B KEY, 3/16 SQ X 1-1/4" PLAIN 0.60$            

33460-00 DECAL, HWX PUSH TRIMMER 1.80$            
33461-00 DECAL, HWT TILT TRIMMER 1.80$            
33462-00 DECAL, HWS SELF-PROPELLED TRIMMER 1.80$            
14559-00 DECAL, 75365 MODEL 4.80$            
14181-00 DECAL, 97 DB 6.30$            
14184-00 DECAL, 101 DB 6.60$            
32028-00 DECAL, SC3305 CE INFO AND NOISE 6.90$            

17846 DECAL, OPERATING INSTRUCTIONS ANSI 8.40$            
32123-00 DECAL, WT24S & RECLAIM 13.20$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



32096-00 DECAL, WT24T AND RECLAIM 26.70$          
13904-00 BUMPER, RUBBER 1.35$            
18606-00 DECAL, BRAKE 5.25$            
18681-00 DECAL, CRARY BEARCAT 22.94 X 6.00 19.50$          
18114-00 DECAL, ECHO BEARCAT 16.22 X 13.41 31.13$          
14343-00 DECAL, 112 DB 6.83$            
31375-00 DECAL, DISCHARGE POSITION LOCK 5.93$            
17423B DECAL, SHIELD DANGER ANSI 5.03$            

32260-00 DECAL, 3" ROUND CROSSFIRE 4.66$            
18659-00 DECAL, ECHO BEARCAT 17.81 X 6.25 11.65$          

16994 DECAL, FLYING DEBRIS 8.50$            
71554 STRIP, BATTERY SUPPORT 34.98$          
16703 DECAL, CUTTER CAUTION 8.20$            

31511-00 DECAL, SMALL RECLAIM IT 8.05$            
31646-00 DECAL, SC5720B INFORMATION 5.95$            
18554-00 DECAL, 76824 INFORMATION 5.95$            
18949-00 DECAL, MANUAL/SAFETY INFO 5.65$            
13756-00 DECAL, CONTROL LOCK 10.40$          
18461-00 DECAL, WARNING FLOW RATE HYDRAULIC 10.10$          

12754 DECAL, 5HP TRIMMER INFO 4.90$            
16142 DECAL, MODEL 8HP ELEC CHIPPER 4.90$            
16154 DECAL, MODEL 8HP TOWABLE C-S 4.90$            
16766 DECAL, MODEL 72928 4.90$            

13892-00 DECAL, MODEL 75060 4.90$            
13974-00 DECAL, MODEL 75524 4.90$            
13976-00 DECAL, MODEL 73724 4.90$            
14674-00 DECAL, 77413 MODEL 4.90$            

12772 ADAPTER, -10MORING/-6MJIC 90 19.60$          
18065-00 DECAL, THROTTLE CONTROL 9.20$            
18192-00 DECAL, BEARCAT CASE POWER TAN 9.20$            
18292-00 LANYARD, STEEL W/PVC 1/8" X 20" 34.92$          
18939-00 DECAL, MODEL SC3305 4.30$            
36026-00 DECAL, MODEL SC3342 4.30$            
36039-00 DECAL, MODEL CHF9540H 4.30$            

16276 DECAL, THROTTLE ANSI/ISO 3.85$            
32250-00 DECAL, CE MARK (FOR 32219-00) 3.70$            

12766 DECAL, MAINTENANCE ANSI 7.40$            
78069-00 ASSEMBLY, HWS BODY WITH DECALS 105.00$        
32015-00 DECAL, MAINTENANCE INFORMATION 3.10$            
36138-00 DECAL, SHARP BLADES 8.40$            
14187-00 DECAL, 109 DB 5.30$            
74564-00 ASSEMBLY, 2500LB TORSION AXLE 1,604.50$    
12886-00 DECAL, MODEL 73350 5.00$            
18443-00 DECAL, OPERATING INSTRUCTIONS ANSI 13.50$          

16479 DECAL, INSTRUCTION ANSI 13.50$          
17999 DECAL, SHREDDER SIZE ANSI 4.40$            

18113-00 DECAL, BEARCAT LOGO 37.10$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



31926-00 DECAL, MODEL LS21 2.05$            
16485 DECAL, BLOWER ANSI 6.00$            

36140-00 DECAL, BELT CAUTION 7.90$            
12250 DECAL, MAINTENANCE ISO 1.90$            

18190-00 DECAL, NEW HOLLAND BRIGHT YELLOW 9.50$            
70618 WELDMENT, BLOWER SPACER 30.65$          

31322-00 DECAL, MODEL CH6730H 3.50$            
14699-00 DECAL, CLUTCH ENGAGEMENT ANSI 7.00$            
78812-00 ASSEMBLY, BODY W/ DECALS WT-1610HSP 115.00$        

16035 DECAL, 2000 PTO DANGER 12.50$          
75708-12 LINER, WEAR 40.00$          

71519 WELDMENT, ADJUSTABLE HITCH 256.23$        
74413-12 CAP, DISCHARGE 52.00$          
18889-00 ROD, SPOOL END 26.90$          
18053-00 MOTOR, 56 CI HYDRAULIC 2,727.10$    
34556-00 BELT, 3L360 15.50$          
74529-00 ANVIL, CHIPPER 30.12$          

71904 BUSHING, JA 7/8" HEX 59.95$          
71720 STRIP, THROTTLE CONTROL 29.65$          
12545 DECAL, CAUTION 2.00$            

18943-00 DECAL, MODEL CH45342 4.00$            
36029-00 DECAL, MODEL SC5670B 4.00$            
72760-12 HANDLE, TRIMMER 67.85$          

16698 SPRING 1/2 X 2.00 LG 11.80$          
16033 DECAL, PTO DANGER ANSI 6.80$            
12702 BLADE, PLASTIC TRIMMER 7.50$            

78061-00 ASSEMBLY, HWX BODY WITH DECALS 105.00$        
12706 DECAL, WARNING GENERAL 10.00$          

18942-00 DECAL, MODEL SC5540B 4.50$            
31464-00 DECAL, MODEL CH5653 4.50$            
31466-00 DECAL, MODEL CH4400 4.50$            
12218B YOKE, INBOARD 2A 136.64$        

15854-00 BOLT, 5/16-18 X 1/2 G5 HH SR/FLN 0.70$            
16778 DECAL, DIESEL FUEL 7.70$            

77532-12 BRACKET, SWITCH 31.05$          
16234B BEARING,1"FLUSHMOUNT CAST W/COLLAR 36.30$          
71580 SPACER 1.0 X 4.25 47.30$          

31966-00 ADAPTER, -8 MORING X 3/4" HOSE BARB 90 20.80$          
15559 BOLT,M10*1.5*90 HEXHE GR8.8 Z 6.00$            

36250-00 HARNESS, SNUBBER 60.00$          
16687 STUMP CUTTER TEETH, STRAIGHT 35.00$          
16688 STUMP CUTTER TEETH, R.H. 35.00$          

14705-00 ENGINE, 342CC ELEC B+S HORIZONTAL 1,350.00$    
77288-12 SUPPORT, TRIMMER HANDLE 31.20$          

17667 PILLOW BLOCK BEARING 1" 36.98$          
78810-00 ASSEMBLY, BODY W/DECALS WT-1610 115.00$        
74565-12 HINGE, DEFLECTOR 29.15$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



73695-00 ROD, 1/4-28 THREADED 29.75$          
71675 SPACER, .63 X 1.5 33.15$          
72107 PACKAGE, 71854W HOPPER (BOX 2) 1,093.40$    

14582-00B PIN, CLEVIS 5/16 X 1 1.10$            
72732-12 BAIL, TRIMMER 28.40$          
36356-00 LED, TRI-COLOR 12V 3-TERMINAL BASE 36.70$          
33677-00 BELT, AX48 21.70$          
13884-00 BELT, SP BEARVAC (3L32) 19.70$          
15194B BOLT, 5/8 X 2 HEX HD GR5 ZP 3.25$            

74707-12 WELDMENT, BELT GUARD 90.00$          
73287-33 BAR, SWITCH CONTROL 31.50$          
36038-00 DECAL, MODEL CH9540H 7.00$            

0125-0060-00B LATCH, FLEXIBLE DRAW 36.23$          
15348B BOLT 1/4*5/8 CARR GR5 NC ZP 0.40$            
16551 DECAL, CLUTCH ENGAGEMENT ANSI 5.60$            
16759 DECAL, EYE PROTECTION 5.60$            

34272-00 BELT, 3L220 10.00$          
71364 WELDMENT, PUMP CONTROL ARM 42.35$          

73850-33 BRACKET, PUMP MOUNT 29.75$          
73099-12 BRACKET, PROXIMITY SENSOR 29.65$          

16140 DECAL, MODEL 5HP CHIPPER 5.15$            
16147 DECAL,MODEL 8HP RENTAL CHIPPER 5.15$            

13431-00 DECAL, MODEL 73554 5.15$            
70362 SPACER .63 X .63 PULLEY 5.00$            

18537-00 HOSE ASSY, 1" X 25 -12FMJIC/NONE 61.40$          
70694 SPACER .63 X 1.63 8.50$            

71334-35 WELDMENT, TOP ROLLER COVER 72.60$          
12172 DECAL, OPERATING INSTRUCTIONS ISO 3.90$            
17481 BELT, BX34 24.70$          

76546-12 BRACKET, FENDER 31.89$          
75147-12 PLATE, FENDER SPACER 37.75$          
75277-12 BOX, RELAY 31.35$          
77373-12 BRACKET, ENGINE BASE 29.65$          
72651-12 PANEL, ENGINE CONTROL 38.38$          
75835-12 CHANNEL, COVER COUPLER 31.65$          

16008 TIRE + WHEEL ASSEMBLY 4.80-8 121.12$        
70896 ANGLE, SPRING ANCHOR 30.00$          

75148-12 ANGLE, BRACKET 29.50$          
75813-12 ANGLE, LICENSE 31.00$          

71440 GUIDE, LOWER BELT 31.05$          
13426-00 BELT, 2RBP56 48.60$          
18597-00 BUSHING, SH 1/2" 32.00$          
74367-00 PADDLE, CHIPPER DISK 29.80$          
18329-00 DECAL, WARNING ROTATING BLADE HAZ 8.60$            
31393-00 DECAL, SHRED IT 7.20$            
77531-12 PLATE, SWITCH BOX 40.86$          
72433-12 PLATE, BEARING MOUNT 33.02$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



14186-00 DECAL, 107 DB 6.30$            
73687-12 BRACKET, HOSE HOLDER 35.30$          
32029-00 STRING, .155 DIA, CROSS-FIRE (10 PACK) 9.06$            
15351B NUT, 5/16-18 SERR FLNG NC CMS F1 5ANS 0.50$            
15225B SCREW, #10 X 3/4 HEX TAP SC 0.50$            

14947-00 WIRE ASSY, ENGINE KILL 24.75$          
17416B EYE BOLT, 3/8-16x2 GR2 CMS F1 5ANS 15.00$          

14544-00 PIN, HITCH 1/2 X 6-1/2 W LYNCH 20.55$          
16007 BUSHING, SDS 1-1/2" 37.10$          

16458B BUSHING, SDS 1" 37.10$          
14769-00 BUSHING, SDS 1-1/4" 37.10$          
31927-00 DECAL, MODEL LS27 2.95$            

0202-0020-00B BEARING, 1" X 52MM SPH NIR W/COLLAR 21.75$          
73245-12 PLATE, FILTER MOUNT 18.40$          

71329 SHAFT CHIPPER TOP PIVOT 25.80$          
16660 BELT, BX38 27.68$          

14914-00 CAP, HYD TANK FILLER 25.28$          
33683-00 HARNESS, HONDA TRIMMER KILL SWITCH 26.90$          

16327 BUSHING, SDS 1-7/16" 37.10$          
71409 SHIELD, SHAFT 12.80$          
16043 BELT, 29" C/S 35.00$          
12807 CHAIN,COUPLER NO.60 W/LINK 17.60$          

33429-00 HARNESS, BRIGGS TRIMMER KILL SWITCH 26.40$          
71253 WELDMENT, DISCHARGE LOCK PIN 24.23$          

74320-00 BLADE, 12 INCH CHIPPER 146.10$        
16740 DECAL, THROTTLE 5.10$            
12571 SPROCKET, 35A60 W/HOLES 33.80$          

14940-00 HANDLE, HITCH COUPLER 30.30$          
14381-00B CHAIN, SAFETY 5000 LB W/LATCH 25.30$          
13922-00 ADAPTER, -12FMJIC/-12MJIC/-12MJIC 27.75$          

15771-00B BOLT, 5/8 X 2-1/2 HEX ZP GR8 4.00$            
15214B BOLT, 1/4-20X1-1/4 GR5 HHCS MAGNI 565 SILVER 2.10$            
73248 BEARING, SLIDE 21.70$          

76920-12 BRACKET, LIGHT LH 40.30$          
32170-00 DECAL, SC3269 CE INFO AND NOISE 10.60$          
76900-12 PLATE, DISK STUMPGRINDER HEAD 37.40$          
74428-00 PIN, LOCKUP 29.93$          

16724 KIT, WHITE MOTOR SEAL 135.40$        
36082-00 HOSE, .75 X 19.75 100R4 32.80$          

16617 PLATE, WELD ON JACK 25.13$          
12686 HOSE ASSY, -6FMJ/-6FMJ X 30 36.90$          
16557 DECAL, TURNTABLE 11.30$          

14631-00 HOSE ASSY, -8FMJIC/-8FMJICSWX8-1/2 36.00$          
13973-00 BELT, 2RB63 58.40$          

0032-0230-00B SPRING,TENSN 11GA 1"OD 8 1/8" 26.30$          
16460 CAP, LARGE SHAFT 12.40$          
16016 BUSHING, SH 1-1/2" 33.23$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77080-12 MOUNT, COUPLER 35.85$          
16517B BUSHING, SH 1" 33.30$          
12777B CLAMP, 12 INCH HOSE 31.60$          

14770-00 BELT, 2RB61 ARAMID 108.70$        
16634 BUSHING, SDS 1-3/4" 36.80$          
17923 PULLEY,3"OD,A GROOVE,1"BORE 31.50$          

77285-35 HANDLE, CHIPPER CHUTE 3 IN 33.10$          
15715-00 BOLT, 5/16 NC X 3 FULL THD 0.90$            
35258-00 DECAL, MODEL ECHO WT-1610HSP 6.30$            
31425-00 CLAMP, 1-5/32 TO 7/32 OD RANGE T-BOLT 27.38$          

16694 CABLE, STUMP GRINDER 33.00$          
31310-00 MUFFLER DEFLECTOR, HONDA 5.5 HP GCV 34.10$          

70358 PUSH ROD WELDMENT 21.90$          
13599-00 BUSHING, SH 1-7/16 33.23$          
75798-12 STAND, JACK 63.60$          

17888 CABLE, 33" POS (R / R WITH BOOT) 36.75$          
72723 FLAP, TRIMMER 17.20$          

14771-00 FLAP, CHIPPER CHUTE 27.83$          
31992-00 SPACER, SPINDLE WITH D-BORE 25.80$          
75185-00 SPACER, 1/2 OD X .35 ID X .47 6.20$            
76908-00 HOSE, 63" FUEL LINE 1/4" DIA 39.56$          
76725-00 HOSE, 38" FUEL 23.95$          
75057-00 HOSE, 43 INCH FUEL LINE 28.90$          

72448 DISK, DISCHARGE MOUNT 35.00$          
18093-00 BELT, 2RB47 (ARAMID) 93.10$          

16636 BELT, BX43 29.26$          
16638B ADAPTER, -10MORING/-10MJIC 90 DEG 26.00$          

18550-00 MOUNT, 5/16 STUD/PLATE 24.08$          
70967 KNIFE, ROTOR BALANCE 9.90$            

31791-00 CABLE, TRIMMER ENGAGEMENT 27.01$          
16737 AIR FILTER, 5.0 HP HONDA 23.93$          

32023-00 CONTROL, THROTTLE 23.10$          
12773 HOSE ASSY, -6FMJIC/-6FMJIC X 21 34.80$          

31367-00 ADAPTER, -10 ORING X 3/4" PIPE 90 31.06$          
12705 ADAPTER, -12MORING/-12MJIC LD 90 32.40$          
16560 BEARING,3/8-24 ROD END 29.50$          

18137-00 LIGHT, PEDESTAL STOP, TURN, TAIL 23.70$          
36216-00 TUBE, HYDRAULIC LS21160 43.28$          
12434B BUSHING, SH 7/8" 28.95$          

14409-00B SPRING, EXTENSION 49.49$          
18670-00 FLAP, CHIPPER CHUTE 29.25$          
75412-00 FLAP, C/S HOPPER 29.25$          

70047 SHREDDER KNIFE 15.00$          
77246-12 BAIL, CONTROL 27.00$          

12751 BULB, PRIMER 27.75$          
12662 PULLEY, 3-1/2 X 5/8 A 30.00$          
12039 PIN, 5/16" PIVOT 27.10$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



32184-00 CABLE, AXLE BRAKES SHORT 37.90$          
16469 OIL FILTER, 20,25HP KOHLER 36.40$          
16632 HYD. HOSE ASSY. 2 X -6 JIC 32.93$          
17870 FILTER, B + S P/N 491588-OR-5043 23.18$          
16239 THROTTLE CONTROL 24.50$          

14622-00 CABLE,CHOKE CONTROL 29.60$          
16542 BEARING, 7/8 HEX 31.43$          
12576 CABLE, SP CONTROL 30.60$          

14932-00 CAP, DUST, WHEEL HUB W/GREASE FTGN 24.20$          
36408-00 BELT, BX40 24.20$          
18019-00 HEX SOCKET W/ORING 31.30$          

16310 CAP CNV CHIPPER CHUTE 22.80$          
12035 SWITCH, KEY START 29.90$          
16467 FILTER, 20HP KOHLER AIR 35.20$          
16912 BELT, 3V600 35.30$          

33179-00 BEARING, 25 mm BALL 26.50$          
16800 PULLEY, 3.25" FLAT IDLER 35.50$          

14271-00 HOSE, AIR INLET 37.40$          
17994 CHAIN, SAFETY W/HOOK 35.70$          

14992-00 CHAIN ASSY, #50 X 92 LINK W/CONN 34.40$          
18009-00 HARNESS, KILL SWITCH 30.80$          
14040-00 CONTROL, THROTTLE 31.10$          

12637 GUARD, RECOIL FINGER 25.70$          
73508-00 SPACER, .50 X .50 6.55$            
36028-00 DECAL, MODEL SC5614 2.00$            
36047-00 DECAL, MODEL CH123DH 2.00$            
36053-00 DECAL, MODEL SC5614 2.00$            
18147-00 PUMP, HYDROSTATIC 1,255.00$    
15545B BOLT 5/16*3/4"HCS GR8 PATCH ZP 2.10$            

73601-12 SHIELD, 50 HP HEAT 39.11$          
18685-00 SERVICE CD, BEARCAT 32.90$          
74048-00 TUBE, 1/2" OD X 1.00 8.10$            
18983-00 DECAL, CRUSHING ISO 2.70$            
18982-00 DECAL, UNLEADED GASOLINE 2.80$            
14049-00 DECAL, CRUSHING ANSI 6.20$            

7504B BEARING HUB (MACHINED) 150.20$        
31924-00 ADAPTER, 1" HOSE BEAD X -12 MORING 26.30$          

0853-0079-00B FILTER, FUEL 25.40$          
73079 HOSE, 38" FUEL LINE 27.70$          

18063-00 DECAL, KNIFE ACCESS COVER LOCK PIN 6.80$            
12568 PULLEY, 7-1/2 X 12MM A GROOVE 61.55$          
15354 ROLL PIN 5/32 X 3/4" PLAIN 0.30$            

15376B SET SCW 5/16X3/8 KNR-CUPHXSK GR5 0.30$            
15402B NUT 5/16"-18 TINNERMAN U-TYPE 2.40$            
12849 DECAL, 3 SPEED 2.90$            

18294-00 DECAL, HITCH TRANSPORT 10.20$          
18288-00 DECAL, CHIPPER TURNTABLE 12.70$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



15209 WASHER, #8 SAE 0.10$            
15132B WASHER,3/16"FLAT ZP(361 PC/LB) 0.10$            
15505 PIN, 1/16X3/4 COTTER ZP 0.10$            

15416B WASHER,5/16"SAE FLT ZP(195PC/# 0.10$            
15601B NUT, #6-32 NYLON LOCK ZP 0.10$            
15640B NUT, M4-0.7 ZP HEX 0.10$            
15255B NUT, 8-32 NYLOCK CMS F1 5ANS 0.20$            

15695-00B SCREW, 1/4 X 3/4" FLANGE TAPPING ZP 0.20$            
15665-00B WASHER, 3/8 GR8 USS ZP 0.50$            

15422B SCREW,TEK HX WSH HD 10/16*1"ZP 1.00$            
15702-00B SCREW, WELD 5/16 X 1-1/2 TOP PROJ 1.50$            
14965-00 DECAL, PROTECTION 4.00$            
14984-00 DECAL, PROTECTION 5.00$            

16558 DECAL, DISCHARGE ANSI 5.00$            
16325 DECAL, MODEL 1020 6.50$            

16627B ADAPTER, -4MORING/-6MJIC 7.00$            
18115-00 DECAL, MODEL 7812086 8.00$            

70155 TOOL STEEL CHIPPER BLADE 40.00$          
33270-00 ENCLOSURE, CONTROLLER 179.00$        

71122 BLADE, 6"+8" CHIPPER 91.90$          
32345-00 DECAL, WARNING TOWING SPEED 4.20$            
16502B SPRING, 7-3/4" EXTENSION 25.10$          
70739 BLADE, TWO EDGE TOOL STEEL 40.00$          

15331-00 NUT, 3/8-24 JAM 2.00$            
16067B ADAPTER, -10MORING/-8MJIC 45 DEG 30.60$          

0311-0110-00B BUSHING, 1/2ID X3/4OD X17/32 LNST 8.40$            
71382 KNIFE, ROTOR BALANCE 13.60$          
16238 DECAL, THROTTLE 2.70$            

13960-00 CAP, FUEL TANK 26.10$          
73064 SPACER, .50 X .775 8.80$            
15446 BOLT 5/16-18*5/8"G8 HCS PATCH Z 1.20$            

73853-00 SPACER, 1/2 OD X 14 GA WALL X .320 8.20$            
14938-00 DECAL, CHIPPER SIZE 2.00$            

16414 CLAMP, 1" COATED METAL 7.70$            
12183 DECAL, CLUTCH ENGAGEMENT ISO 5.70$            
12622 WASHER, SPRING 2.40$            

14369-00 DECAL, ACCESS COVER 9.30$            
18601-00 COUPLER, SDS 1-1/4 116.50$        

12126 SHEAVE, 2B12.4 SK 223.15$        
15127-00 BOLT, 5/16 X 1-3/4 FLANGE NC 2.00$            
77378-12 SHIM, BOTTOM WEDGE 10.45$          
74019-12 BRACKET, TAILLIGHT 64.90$          

72208 WELDMENT, TIE ROD 31.50$          
12060 VALVE, -10MJIC/-10MJIC CHECK 208.00$        

13711-00 DECAL, MANUAL BOX 5.40$            
16114 SPARK PLUG , HONDA 5 + 8 13.10$          

71631B SPACER 1.0 X 0.50 19.30$          

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



0122-0212-00B KEY, 3/8 SQ X 3 7.00$            
12557 CHAIN, COUPLING ROLLER W/LINK 62.70$          

36030-00 DECAL, MODEL CH4614 8.00$            
18551-00 CIRCUIT BREAKER, 10 AMP RESETTABLE 29.50$          
14302-00 DECAL, CHIPPER ENGAGEMENT 7.20$            
36239-00 DECAL, MODEL SC3270 8.10$            

15079-00B BOLT, 1/4-20X3/4,FLANGE,GR5,CZP 1.00$            
17889 CABLE, 9" NEG (R / R) 37.10$          

32156-00 DECAL, ST5.30-12 LOAD RATING 12.55$          
14329-00 DECAL, ECHO BEARCAT 23.00 X 7.00 18.70$          

0111-0058-00B RIVET, 1/4 X 3/4 ST POP 1.90$            
17871 SPARK PLUG 15.80$          

17804B EYEBOLT 3/8"X 5"LG,4-1/4THD ZP 20.40$          
34267-00 KEY, 1/8 X 1/8 X 1 3/8 2.00$            
15157B BOLT, 1/2"X1-1/2" GR5 ZP CRG 4.43$            
12254 DECAL, GRINDER DANGER 3.50$            
12804 COUPLER, CHAIN 7/8" I.D. 39.40$          

36090-00 DECAL, CYLINDER OPERATION (ISO) 3.70$            
70856 SHREDDING KNIFE, RECTANGULAR 25.00$          
16889 DECAL, 8.0 HP INFO 5.10$            
71224 IDLER ARM, STUMP GRINDER 29.65$          

14786-00 DECAL, ECHO BEARCAT 14.12 X 4.00 17.40$          
12171 DECAL, SMALL KNIFE 6.50$            

18666-00 DECAL, CRARY BEARCAT 6.82 X 1.90 5.70$            
14342-00 DECAL, 111 DB 5.00$            
70321-00 SPACER, .334 X .50 X .29 9.50$            
18261-00 DECAL, DISCHARGE LOCK 7.50$            

15714-00B BOLT, M5 X .08 X 10MM LONG SHCS 1.15$            
13890-00 DECAL, DANGER 5.00$            
32154-00 DECAL, ST215/75R15 LOAD RATING 12.55$          
31890-00 DECAL, CERTIFICATION EXPERTS B.V. INFO 5.30$            
33283-00 SPRING, COMPRESSION .437 DIA X 2.0 LONG 22.20$          
18627-00 DECAL, ROTATING SHAFT 12.70$          

0104-0076-00B SETSCREW HSC 1/4 -20X -3/8 CUP 0.50$            
18555-00 DECAL, RESET/OVERRIDE 20.80$          
18189-00 DECAL, BEARCAT NH BRIGHT YELLOW 31.00$          
14301-00 DECAL, ECHO BEARCAT 12.00 X 4.00 8.80$            
32542-00 VALVE, ROLL OVER 100.00$        

16897 DECAL, HYDRAULIC FLUID 4.80$            
14703-00 DECAL, CLUTCH ENGAGEMENT ISO 5.90$            

15600 SCREW, #6-32 X 1-1/4" PHP HD 0.30$            
15680-00 SCREW, #8-32 X 3/16 KNR CUP PT 0.60$            

17913 DECAL, ECHO BEARCAT 6.82 X 1.90 3.30$            
14564-00 DECAL, 6.5 HP SP INFORMATION 6.60$            
74218-00 PLATE, HOPPER REAR 144.50$        
13616-00 DECAL, SHRED SIZE 8.90$            

12755 DECAL, 5.5 HP INFORMATION 6.40$            

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



18902-00 DECAL, MODEL SC2206 5.80$            
16882 DECAL, OIL LEVEL 5.10$            

18541-00 SCREW, FLYWHEEL GUARD BRIGGS 4.50$            
76693-00 INSTRUCTIONS, VACUUM WHEEL KIT 7.50$            
15830-00 NUT, #10-24 K-LOCK ZP 1.10$            

16875 DECAL, HITCH LOAD 6.40$            
31490-00 MANUAL, SUBARU 720CC EH72 ENGINE 2.50$            
75352-10 HINGE, CHUTE EXT 21.00
75352-12 HINGE, CHUTE EXTENSION OBS use 75352-10 0.00
75353-00 ASSEMBLY, 4-1/2" EXTENSION TRAY OBS use 78485- 0.00
75358-12 STRIP, FLAP RETAINER OBS use 75358-10 0.00
75361-12 BRACKET, LIGHT RH 23.19
75362-12 BRACKET, LIGHT LH 35.37
75363-35 WELDMENT, DISK COVER OBS use 77721-35 0.00
75380-00 HOSE, 63" FUEL LINE 28.70
75381-00 HOSE, 63" RETURN LINE 0.00
75391-10 WELDMENT, AXLE PIVOT 37.60
75391-12 WELDMENT, AXLE PIVOT HWT OBS use 75391-10 0.00
75392-35 SIDE, HOPPER LH N/A SEE NOTES 0.00
75393-35 SIDE, HOPPER RH 40.70
75394-35 FRONT, HOPPER 52.80
75395-35 REAR, HOPPER 52.30
75398-00 WELDMENT, C/S ROTOR 193.80
75399-00 ASSEMBLY, C/S ROTOR 269.00
75401-00 SPACER, .75 X .750 9.00
75402-35 PLATE, HITCH POLE 11.30
75403-35 PLATE, DEFLECTOR 20.90
75405-35 PLATE, C/S FRONT OBSOLETE 0.00
75409-35 WELDMENT, PLATE AND CHUTE 160.15
75410-35 SUPPORT, CHIPPER/SHREDDER 50.00
75412-00 FLAP, C/S HOPPER 29.25
75413-00 PANEL, C/S W/ECHO BEARCAT 69.10
75414-00 PANEL, C/S W/DECAL 51.65
75427-35 WELDMENT, C/S AXLE 64.90
75428-12 MOUNT, PUMP 40.67
75429-35 PLATE, RESTRICTOR 19.65
75481-12 ROD, BRAKE 27.70
75487-00 ASSEMBLY, HITCH POLE 338.00
75489-10 WELDMENT, HITCH POLE W/PLATE N/A use 77139-0 0.00
75489-12 WELDMENT, HITCH POLE W/PLATE OBS use 75489-1 0.00
75492-10 WELDMENT, HITCH POLE W/PLATE 174.00
75492-12 WELDMENT, HITCH POLE W/PLATE OBS use 75492-1 0.00
75494-12 PLATE, OVERFLOW BOTTLE 25.15
75495-00 KIT, OWNERS SC2206 73.05
75501-12 WELDMENT, TRIMMER AXLE 47.60
75502-00 KIT, SHREDDER 89.85
75503-12 WELDMENT, TRIMMER AXLE 42.20

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75504-12 BOTTOM, TRIMMER FRAME 56.80
75505-12 WELDMENT, TRIMMER AXLE 62.25
75512-12 SHEET, CAP WHEEL 16.10
75518-12 CHANNEL, HANDLE SUPPORT 27.10
75519-35 COVER, FRONT TRIMMER 24.85
75520-00 PANEL, C/S W/ECHO BEARCAT  DECAL 70.40
75521-00 CERT. OF COMPLIANCE, SC2206 0.80
75529-12 SHAFT, LONG AXLE 20.25
75530-12 WELDMENT, SP LONG AXLE 66.15
75532-10 WELDMENT, AXLE PIVOT 154.00
75532-12 WELDMENT, AXLE PIVOT 151.90
75534-00 ASSEMBLY, TRIMMER WHEEL 45.18
75541-12 BRACKET, LH FENDER 46.55
75542-12 BRACKET, RH FENDER 46.55
75543-10 PLATE, LICENSE 24.00
75543-12 PLATE, LICENSE OBS use 75543-10 0.00
75544-00 TAG, VIN 12.20
75548-12 BRACKET, LIGHT LH OBS use 71575-12 0.00
75549-12 BRACKET, LIGHT RH OBS use 71574-12 0.00
75550-00 SHIM, BEARING 9.75
75553-12 BRACKET, LIGHT OBS use 71578-12 0.00
75554-12 BRACKET, LIGHT OBS use 71586-12 0.00
75555-12 PLATE, MOUNTING OBS use 75555-10 0.00
75560-12 WELDMENT, HYDRAULIC RESERVOIR N/A use 77138- 0.00
75566-00 ASSY, PANEL W/ECHO BEARCAT 43.03
75567-00 ASSY, PANEL W/ECHO BEARCAT 44.80
75568-35 ASSY, HOUSING W/STUDS 97.20
75569-12 SHIELD, SAFETY 24.95
75589-00 CHIP, 6 IN. GAS RELAY (EURO) OBSOLETE 0.00
75600-12 WELDMENT, ARM STEERING 48.55
75608-10 WELDMENT, TOW BAR 63.50
75608-12 WELDMENT, TOW BAR 64.15
75612-35 TUBE, LEG CHIPPER/SHREDDER 41.45
75613-35 WELDMENT, 8 HP WIDE FRAME 383.80
75614-35 WELDMENT, SHREDDER FRAME 5 HP 361.00
75626-35 WELDMENT, FAN HOUSING 741.00
75631-00 DISK, FLANGE 24.97
75639-12 WELDMENT, TRAILER DEBRIS LOADER 397.20
75649-12 LINER, WEAR 43.20
75650-12 LINER, WEAR 25.88
75656-12 WELDMENT, HITCH 439.50
75671-12 WELDMENT, TOOL MOUNT 133.75
75677-10 WELDMENT, HOSE SUPPORT 101.00
75677-12 WELDMENT, HOSE SUPPORT OBS use 75677-10 0.00
75679-10 WELDMENT, HOSE SUPPORT 87.00
75679-12 WELDMENT, HOSE SUPPORT OBS use 75679-10 0.00
75683-00 WELDMENT, FAN 393.60

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75692-35 WELDMENT, FAN HOUSING 671.00
75701-00 ASSEMBLY, DISCHARGE 342.50
75703-00 WELDMENT, FAN OBS use 70245-00 0.00
75707-12 LINER, WEAR 42.85
75708-12 LINER, WEAR 40.00
75713-12 MOUNT, ENGINE SUPPORT 34.79
75715-10 WELDMENT, HOSE SUPPORT 115.00
75715-12 WELDMENT, HOSE SUPPORT OBS use 75715-10 0.00
75718-12 WELDMENT, HOSE SUPPORT 90.60
75719-00 ASSEMBLY, HOSE 10 INCH 731.00
75720-35 WELDMENT, VACUUM INTAKE 267.00
75725-12 WELDMENT, HOSE INLET 95.45
75726-10 WRAP, HOSE SUPPORT 43.00
75726-12 WRAP, HOSE SUPPORT OBS use 75726-10 0.00
75727-00 WELDMENT, HOSE INLET 10 INCH 327.00
75730-00 ASSEMBLY, HOSE 8 INCH 609.20
75731-35 WELDMENT, VACUUM INTAKE 265.00
75735-12 WELDMENT, INLET ADPATER 83.10
75737-10 SHIELD, INTAKE 21.50
75737-12 SHIELD, INTAKE OBS use 75737-10 0.00
75738-10 SPACER, 5/8 OD X 11 GA X 2.13 20.50
75738-12 SPACER, 5/8 OD X 11 GA X 2.13 OBS use 75738-10 0.00
75749-00 SPACER, 1.00 OD X 0.25 X 1.26 11.90
75756-00 KIT, DL10570 OWNERS 168.80
75757-00 KIT, DL8390 OWNERS 168.80
75767-00 KIT, LINER WEAR DL12725 77.00
75771-33 SHIELD, KNEEBAR SWITCH 51.35
75773-00 SPACER, 5/8 OD X 11 GA X 0.88 5.10
75774-33 WELDMENT, SWITCH BRACKET 44.45
75781-12 SHIELD, HEAT 36.89
75782-12 WELDMENT, HEAT SHIELD 65.15
75785-00 HOSE, 20" FUEL 19.60
75787-00 ASSEMBLY, HWT BODY WITH DECALS 110.55
75788-10 BRACKET, TILT HANDLE HWT 20.50
75788-12 BRACKET, TILT HANDLE HWT OBS use 75788-10 0.00
75794-12 WELDMENT, BODY TRAILER 488.50
75795-12 PLATE, SPACER TOP 13.15
75798-12 STAND, JACK 63.60
75799-12 ANGLE, RH TAIL LIGHT 23.79
75800-12 ANGLE, LH TAIL LIGHT 23.79
75806-35 WELDMENT, BEAM 537.00
75807-35 CHANNEL, CRADLE CYLINDER 22.90
75808-12 KIT, CAST WEDGE, OBS use 76244-00 0.00
75810-12 PLATE, SPACER BOTTOM 8.00
75811-12 PLATE, BOTTOM WEDGE 12.00
75812-12 TUBE, LEDGE 40.35
75813-12 ANGLE, LICENSE 31.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75815-12 SHEET, LEVER BOTTOM 22.05
75829-00 ASSEMBLY, HITCH POLE 137.05
75834-12 CHANNEL, MOUNT PUMP 31.05
75835-12 CHANNEL, COVER COUPLER 31.65
75836-12 SHEET, FENDER 33.60
75843-12 ANGLE, MOUNT 23.90
75844-12 WELDMENT, LEVER 115.85
75849-12 PLATE, SLIDER QUICK SPLIT 30.32
75850-12 PLATE, SLIDER THROTTLE DOWN 12.10
75851-12 SPACER, 1/2 OD X 14 GA X .36 8.60
75852-12 PLUG, SWITCH 12.05
75853-00 SEAL, 1 X 14.13 FOAM 3.95
75854-00 SEAL, 1 X 7 FOAM 3.05
75858-12 WELDMENT, DISCHARGE BASE 596.30
75861-12 WELDMENT, CLEAN OUT DOOR 73.95
75868-00 KIT, PSC6G FIELD 143.65
75869-00 KIT, PSC6D FIELD 102.90
75870-00 KIT, PSC12D FIELD OBSOLETE 0.00
75876-12 WELDMENT, RING CLAMPING 66.80
75877-00 POLE, GUIDE ORANGE 21.82
75884-00 KIT, WHEEL TRIMMER (SP) 128.65
75887-00 CHIP, 8 IN. RELAY (DOMESTIC) 87.65
75890-12 ANGLE, SLIDE 24.45
75891-12 SPACER, 1/2 OD X 14 GA X .43 8.35
75894-00 ASSEMBLY, QUICK SPLIT 203.22
75904-00 KIT, 6 INCH HOURMETER 154.15
75906-12 SPACER, 1-1/4 OD X 11 GA X 1.25 9.65
75907-12 SPACER, 1-1/4 OD X 16 GA X 1.25 OBS use 76956-12 0.00
75915-12 WELDMENT, BASE OBS use 70405-00 0.00
75922-00 WELDMENT, 4-1/2 HYD DISK OBS use 32840-00 0.00
75924-10 HANDLE, HWT HEIGHT ADJUST 26.50
75924-12 HANDLE, HWT HEIGHT ADJUST OBS use 75924-10 0.00
75925-12 CHANNEL, HANDLE 26.85
75926-00 KIT, OWNERS LS27270 113.45
75927-00 KIT, PUMP PB HIGH/LOW 406.40
75928-33 LOCK, SAFETY BAR 18.30
75930-12 CHANNEL, MOUNT PUMP GC160 20.91
75931-12 CHANNEL, COVER COUPLER GC160 22.55
75934-35 CHANNEL, CRADLE CYLINDER LS33340 N/A use 7758 0.00
75936-35 WELDMENT, BEAM LS33340 535.50
75939-00 KIT, OWNERS LS21160 113.40
75943-10 WELDMENT, TANK HYDRAULIC 3.25 GAL N/A use 712 225.00
75943-12 WELDMENT, TANK HYDRAULIC 3.25 GAL OBS use 759 0.00
75949-00 TRIM, SLOT EDGE COVER 16.05
75950-12 SHEET, MOUNT HYDRAULIC TANK 37.82
75951-10 BRACKET, SENSOR  SHORT MOUNT 20.00
75951-12 BRACKET, SENSOR SHORT MOUNT OBS use 75951-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



75960-10 BRACKET, DISK LOCK 27.50
75960-12 BRACKET, DISK LOCK OBS use 75960-10 0.00
75961-12 ENCLOSURE, PLUS 1 MOUNT 48.44
75962-12 BRACKET, MOUNT HYDRAULIC PUMP OBS use 75962 0.00
75963-10 SHEET, TANK MOUNT 36.00
75963-12 SHEET, TANK MOUNT OBS use 75963-10 0.00
75965-10 BRACKET, MOUNT  HYDRAULIC PUMP 37.00
75965-12 BRACKET, MOUNT HYDRAULIC PUMP OBS use 75965 0.00
75966-12 PLATE, MOUNT HYDRAULIC PUMP 22.40
75973-12 STRIP, SLOT COVER 15.50
75976-00 KIT, SNUBBER 130.00
75977-12 PLATE, CONTROLLER 23.54
75978-12 PLATE, COVER 15.15
75980-12 SHEET, LEDGE EXTENSION 52.81
75982-00 KIT, PLUS 1 6 INCH (GAS) EURO 1142.20
75983-00 KIT, SNUBBER HARNESS W/RELAY OBS see SIB 10-01 0.00
75993-12 PLATE, SUPPORT 16.90
75994-00 KIT, SC5670B FENDER 144.55
75995-00 WELDMENT, 6 CHIPPER DISK OBS use 78080-00 0.00
76015-35 CHANNEL, MOUNT QUICK SPLIT 28.50
76019-00 ASSEMBLY, MOUNT LICENSE 30.00
76020-00 ASSEMBLY, MOUNT TAILLIGHT RH 31.82
76021-00 ASSEMBLY, MOUNT TAILLIGHT LH 31.82
76022-12 TUBE, LEDGE 40.35
76024-00 WELDMENT, DISK PADDLE 122.75
76028-12 WELDMENT, FEED ROLLER 632.10
76057-00 WELDMENT, FILLER BLADE 72.50
76080-12 WELDMENT, GUARD PTO LOWER BELT OBS use 7608 0.00
76084-10 WELDMENT, BRACE  PTO 3-POINT 41.00
76084-12 WELDMENT, BRACE PTO 3-POINT OBS use 76084-10 0.00
76086-00 KIT, CH9540H 3 PT PTO BRACE 70.30
76110-00 KIT, 8" PLUS 1 EURO 1140.50
76111-00 INSTRUCTIONS, 8" PLUS 1 2.65
76112-00 BLADE, BIG CHIPPER OBS use 33797-00 0.00
76132-00 KIT, 6" PLUS 1 (DIESEL) EUR0 1143.70
76133-12 ENCLOSURE, PLUS 1 MOUNT KIT 37.12
76170-00 KIT, 6" PLUS 1 GAS 1138.70
76171-00 KIT, 6" PLUS 1 (DIESEL) 1125.10
76172-00 KIT, 8" PLUS 1 1136.80
76178-00 BLADE, THREADED 5/8 CHIPPER 89.43
76200-12 SCREEN, WLD WIDE CRS TAPERED OBS use 77388-12 0.00
76208-12 SCREEN, WLD NARROW COARSE TAPERED OBS use 7 0.00
76217-10 WELDMENT, ENGINE MOUNT PLATE 71.00
76217-12 WELDMENT, ENGINE MOUNT PLATE 70.10
76228-12 PLATE, CAST WEDGE BOTTOM 16.25
76244-00 KIT, CAST WEDGE OBS use 77380-00 0.00
76247-00 ASSY, RETROFIT SG 12 BLADE CUTTER, OBS use 7690 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76249-12 PLATE, COVER STUMPGRINDER HEAD OBS use 76898 0.00
76250-12 PLATE, SPACER STUMPGRINDER HEAD OBS use 7690 0.00
76251-12 PLATE, DISK STUMPGRINDER HEAD OBS use 76900-1 0.00
76253-00 SPINDLE, CUTTER SG 12 BLADE OBS use 71960-00 0.00
76254-00 TUBE, SPACER 1-3/4 X 1.520 25.90
76256-00 KIT, 12 BLD SG CUTTER RETRO OBS use 76903-00 0.00
76257-12 WELDMENT, SPINDLE HUB 84.75
76265-12 HITCH, DEBRIS LOADER 184.30
76266-12 PLATE, HITCH/AXLE 19.86
76272-12 LEG, SUPPORT 51.90
76274-00 WELDMENT, 4-1/2 CHIPPER DISK OBS use 32838-00 0.00
76275-00 WELDMENT, 4-1/2 PTO DISK OBS USE 32839-00 0.00
76280-00 HOSE, FLEXIBLE 8" ID X 4 FT LONG N/A USE PART W/  0.00

76280-00B HOSE, FLEXIBLE 8" ID X 4 FT LONG 135.90
76286-00 DISK, 9 INCH CHIPPER "N/A PLEASE CALL" 0.00
76287-00 ASSEMBLY, 9 INCH CHIPPER DISK 1249.00
76288-00 ASSEMBLY 9" CHIPPER DISK 1442.10
76289-00 ASSEMBLY 9" CHIPPER DISK 1450.50
76292-00 KIT, 12 BLADE CUTTER REPLACEMENT 287.00
76293-00 KIT, CHIPPER BLADE (1/2 INCH) OBS use 78361-00 0.00
76295-00 KIT, 4-1/2 CHIPPER BLADE (1/2") OBS use 78360-00 0.00
76302-12 WELDMENT, ALIGNMENT TOOL 154.90
76358-00 SHAFT, SHREDDER 22.40
76365-10 BASE,  9.25 GAL NYLON TANK 54.00
76365-12 BASE, 9.25 GAL NYLON TANK OBS use 76365-10 0.00
76367-00 SPACER, 1 OD X 1-1/8 X 5/8 ID 7.00
76368-00 WELDMENT, RH VACUUM WHEEL 66.50
76369-00 WELDMENT, LH VACUUM WHEEL 66.50
76371-00 KIT, VACUUM WHEELS SP, OBS use 76690-00 0.00
76372-00 KIT, VACUUM WHEELS PUSH, OBS use 76689-00 0.00
76461-12 SPACER, DL DISCHARGE 35.65
76462-12 RING, DL DISCHARGE 35.06
76472-00 PAD, FOAM LS CYLINDER BRACE 9.80
76475-10 RING, DL DISCHARGE 15.00
76475-12 RING, DL DISCHARGE 16.85
76477-00 PAD, FOAM FUEL TANK DAMPER 9.10
76523-12 GUARD, MUFFLER KOHLER 19.05
76524-10 COVER,  CHIPPER VALVE 24.00
76524-12 COVER, FEED VALVE 6" OBS use 76524-10 0.00
76525-10 LEVER,  CLUTCH ENGAGEMENT 28.50
76525-12 LEVER,  CLUTCH ENGAGEMENT 28.65
76526-12 BRACKET, HYDRAULIC TANK OBS use 76526-10 0.00
76527-12 BASE, KOHLER ENGINE 46.60
76528-00 ASSEMBLY, CHIPPER CHUTE SUPPORT 99.05
76533-12 WELDMENT, HITCH POLE 199.10
76538-12 MOUNT, PUMP 28.35
76545-12 WELDMENT, CHIPPER TRAILER 748.20

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76546-12 BRACKET, FENDER 31.89
76547-12 PLATE, AXLE SAFETY 19.70
76548-12 COVER, CHIPPER SHAFT OBSOLETE 0.00
76548-35 COVER, CHIPPER SHAFT OBS use 76548-40 0.00
76548-40 COVER,  CHIPPER SHAFT 19.00
76551-12 WELDMENT, CHIPPER FENDER 199.85
76552-12 GUIDE, TRAILER SUPPORT 29.65
76555-10 WELDMENT,  MOTOR COVER 73.00
76555-12 WELDMENT, MOTOR COVER OBS use 76555-10 0.00
76560-12 WELDMENT, BELT SHIELD N/A use 76664-00 0.00
76561-12 BRACE, IDLER OBS use 76561-10 0.00
76563-35 WELDMENT, TOP ROLLER COVER OBS use 76563-40 0.00
76563-40 WELDMENT, TOP  ROLLER COVER 51.00
76581-35 WELDMENT, 6 IN CHIPPER HOUSING MAIN, OBS use 0.00
76582-12 MOUNT, SWITCH BOX 43.58
76594-12 WELDMENT, CONTROL ARM 166.85
76595-12 SUPPORT, CHIPPER FLAP 29.99
76600-12 WELDMENT, ROLLER SLIDE N/A use 76666-00 0.00
76604-12 WELDMENT, EXTENSION TRAY W/O TABS 291.00
76605-12 WELDMENT, EXTENSION TRAY W/ TABS 298.00
76611-35 WELDMENT, KNEEBAR 199.55
76612-12 BRACKET, BATTERY HOLDER OBS use 76612-10 0.00
76617-35 WELDMENT, CHIPPER TOP 499.50
76619-12 WELDMENT, FEED ROLLER OBS use 77605-00 0.00
76622-00 ASSEMBLY, SEALED SWITCH 45.00
76624-00 FENDER, BLACK PLASTIC DRILLED 34.70
76626-00 KIT, BOBCAT WC-5A VALVE ORIFICE 77.90
76661-00 ASSEMBLY, CHIPPER COVER W/ DECALS 540.20
76663-00 ASSEMBLY, CHIPPER CHUTE W/ DECALS 576.20
76664-00 ASSEMBLY, BELT GUARD WITH DECALS 296.00
76665-00 ASSEMBLY, CHIPPER HOUSING MAIN W/ DECAL 1841.80
76666-00 ASSEMBLY, ROLLER FRAME W/ DECAL 246.00
76667-00 ASSEMBLY, FUEL TANK UNLEADED OBS use 70870-00 0.00
76672-00 KIT, CH6730H OWNERS 235.00
76679-10 WELDMENT,  CHUTE SUPPORT 84.00
76679-12 WELDMENT, CHUTE SUPPORT 84.10
76684-10 WELDMENT, AXLE BEARVAC PUSH 48.50
76684-12 WELDMENT, AXLE BEARVAC PUSH 49.72
76689-00 KIT, VACUUM WHEELS PUSH 190.30
76690-00 KIT, VACUUM WHEELS SP 209.00
76691-00 WHEEL, BEARVAC SP LEFT 122.45
76692-00 WHEEL, BEARVAC SP RIGHT 122.45
76693-00 INSTRUCTIONS, VACUUM WHEEL KIT 7.50
76696-12 PLATE, HONDA BRAKE HOLDER OBS use 76696-10 0.00
76721-00 KIT, BATTERY DISCONNECT 100.00
76722-00 KIT, BATTERY DISCONNECT 117.75
76723-00 KIT, BATTERY DISCONNECT 177.95

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76724-00 KIT, BATTERY DISCONNECT 102.00
76725-00 HOSE, 38" FUEL 23.95
76727-00 ASSEMBLY, 6 IN DISCHARGE CHUTE 468.30
76736-12 WELDMENT, TRIMMER AXLE 48.25
76754-00 ASSEMBLY, S/C ROTOR OBS use 77615-00 0.00
76755-35 PLATE, DEFLECTOR 19.70
76758-35 SCREEN, 2" COARSE OBS use 76758-40 0.00
76758-40 SCREEN, 2" COARSE 41.00
76759-35 PLATE, RESTRICTOR 19.35
76762-00 ASSY, 2 INCH S/C HOPPER 219.00
76766-12 WELDMENT, STAND 93.00
76767-00 WELDMENT, S/C ROTOR 160.80
76770-00 SPACER, .75 X .532 X 1.390 9.60
76771-00 HOSE, 28 INCH FUEL LINE 1/4" 21.10
76781-12 WELDMENT, CHIPPER TRAILER 517.60
76786-35 WELDMENT, CHIPPER BOTTOM OBS use 76786-40 0.00
76787-12 BRACKET, ROTOR LOCK OBS use 76787-10 0.00
76789-00 WELDMENT, CHIPPER DISK 678.00
76793-12 WELDMENT, ENGINE BASE OBS use 76793-10 0.00
76795-12 WELDMENT, ENGINE MOUNT PLATE 65.55
76796-10 BRACKET, IDLER 67.50
76796-12 WELD, IDLER BRACKET OBS use 76796-10 0.00
76799-12 WELDMENT, BELT SHIELD BRACKET 42.85
76802-10 BRACKET, CHUTE MOUNT 38.50
76802-12 BRACKET, CHUTE MOUNT OBS use 76802-10 0.00
76803-10 POLE, C/S HITCH 133.50
76803-12 POLE, C/S HITCH OBS use 76803-10 0.00
76804-10 STAND, JACK 37.50
76804-12 WELD, STAND JACK OBS use 76804-10 0.00
76805-00 ASSEMBLY, 2 INCH HITCH POLE 255.00
76806-00 ASSEMBLY, 50 MM HITCH POLE 247.00
76811-00 KIT, DL HITCH POLE 405.20
76822-00 KIT, CH5653 OWNERS 186.45
76826-12 WELDMENT, SHIELD OBS use 76826-10 0.00
76828-12 GUIDE, BELT OBS use 77654-00 0.00
76834-12 WELDMENT, C/S TRAILER OBS use 76834-10 0.00
76840-35 WELDMENT, C/S BOTTOM OBS use 76840-40 0.00
76840-40 WELDMENT, C/S BOTTOM N/A use 77469-00 816.00
76844-00 WELDMENT, 5 INCH C/S ROTOR 666.00
76847-12 WELDMENT, PIVOT ROD OBS use 76847-10 0.00
76848-10 PLATE, CONNECTING ARM 7.50
76848-12 PLATE, CONNECTING ARM OBS use 76848-10 0.00
76855-35 WELDMENT, CHUTE OBS use 76855-40 0.00
76855-40 WELDMENT, CHUTE 196.50
76856-00 ROTOR KNIFE SHAFT (LARGE C/S) OBS see SIB 13 005 0.00
76859-12 SHIELD, BELT OBS use 76859-10 0.00
76860-12 WELDMENT, SHIELD OBS use 76860-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76861-00 ASSEMBLY, 5 INCH C/S ROTOR OBS use 77612-00 0.00
76862-35 ADJUSTOR, SHREDDER OBS use 76862-40 0.00
76862-40 ADJUSTOR, SHREDDER 37.50
76865-12 WELDMENT, BELT GUIDE 23.58
76866-10 HINGE, EXTENSION TRAY 34.00
76866-12 HINGE, EXTENSION TRAY OBS use 76866-10 0.00
76874-00 KIT, CH4400 OWNERS 111.60
76878-00 ASSEMBLY, EXTENSION TRAY 273.00
76884-00 ASSEMBLY, CHUTE EXTENSION OBS use 78695-00 0.00
76889-12 PLATE, ROTOR LOCK OBS use 76889-10 0.00
76890-00 KIT, CH8720iH OWNERS 277.00
76895-00 KIT, SC2170 OWNERS 49.65
76896-00 FLAP, SHREDDER HOPPER 22.10
76898-12 PLATE, COVER STUMPGRINDER HEAD 25.55
76899-00 PLATE, SPACER STUMPGRINDER HEAD N/A use 7689 0.00
76899-12 PLATE, SPACER STUMPGRINDER 20.75
76900-12 PLATE, DISK STUMPGRINDER HEAD 37.40
76903-00 KIT, 12 BLD SG CUTTER RETRO 336.40
76906-00 KIT, SG340 CUTTER UPGRADE 90.20
76908-00 HOSE, 63" FUEL LINE 1/4" DIA 39.56
76909-00 HOSE, 3/8 X 35 -8FJICSW 27.18
76910-10 PLATE,  HYDRAULIC PUMP 20.00
76910-12 PLATE, HYDRAULIC PUMP OBS use 76910-10 0.00
76912-12 WELDMENT, CHIPPER TRAILER OBS use 76912-10 0.00
76913-12 PLATE, ENGINE 39.12
76914-12 HANDLE, SC2170 31.50
76915-10 SUPPORT, AXLE FENDER RH 22.00
76915-12 SUPPORT, AXLE FENDER RH OBS use 76915-10 0.00
76916-10 SUPPORT, AXLE FENDER LH 22.00
76916-12 SUPPORT, AXLE FENDER LH OBSS use 76916-10 0.00
76917-12 SHEET, MOUNT FENDER LH OBS use 76917-10 0.00
76918-12 SHEET, MOUNT FENDER RH OBS use 76917-10 0.00
76919-12 BRACKET, LIGHT RH 28.70
76920-12 BRACKET, LIGHT LH 40.30
76921-10 BRACKET, FENDER 22.00
76921-12 BRACKET, FENDER SUPPORT OBS use 76921-10 0.00
76922-00 ASSEMBLY, SC2170 STAND 105.34
76923-00 ASSEMBLY, SC2170 SERVICE HOPPER 216.00
76925-00 ASSEMBLY, SC2170 PANEL SERVICE 59.55
76927-00 ASSEMBLY, SC2170 CHUTE SERVICE 201.50
76929-00 SHIELD, CH4400 BELT SERVICE OBS use 78476-00 0.00
76930-00 BRACKET, IDLER SERVICE 68.20
76931-10 BRACKET, LIGHT RH 25.00
76931-12 BRACKET, LIGHT RH OBS use 76931-10 0.00
76932-10 BRACKET, LIGHT LH 25.00
76932-12 BRACKET, LIGHT LH OBS use 76932-10 0.00
76937-12 WELDMENT, SHIELD BRACKET OBS use 76937-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



76938-10 TUBE, 1.75 OD X .109 WALL X 1.150 20.00
76938-12 TUBE, 1.75 OD X .109 WALL X 1.150 OBS use 76938-1 0.00
76939-12 STRIP, ADJUSTOR BLOCK OBS use 76939-10 0.00
76940-35 LEVER, CHIPPER ENGAGEMENT OBS use 76940-40 0.00
76940-40 LEVER, CHIPPER ENGAGEMENT 37.50
76941-12 BRACKET, BELT GUARD SUPPORT OBS use 77249-12 0.00
76944-12 WELDMENT, BELT GUIDE BRACKET OBS use 76944-1 0.00
76947-12 SPACER, 0.75 X 1.180 BLACK 4.25
76949-00 ASSEMBLY, 5 INCH CHIPPER CHUTE See PUB 2018032   472.60
76951-00 KIT, CH5540 OWNERS 134.00
76956-00 SPACER, 1-1/2" OD X 3/16" WA X 1.92" 14.55
76956-12 SPACER, 1-1/2" OD X 3/16" WA X 1.92" OBS use 769 0.00
76957-00 SERVICE ASSEMBLY, HOPPER WITH DECALS 1235.70
76958-12 PLATE, HITCH 20.55
76968-00 KIT, SC5720B OWNERS 181.00
76973-00 ASSEMBLY, CHIPPER SHIELD W/DECALS OBS use 777 0.00
76974-00 ASSEMBLY, CHIPPER TOP W/DECALS 371.00
76975-00 ASSEMBLY, BELT GUIDE W/DECAL 81.60
76976-10 BRACE, FENDER 17.50
76976-12 BRACKET, FENDER OBS use 76976-10 0.00
76978-12 WELDMENT, ENGINE ADJUSTER 46.50
76981-10 WELDMENT, IDLE ARM 84.00
76981-12 WELDMENT, IDLE ARM OBS use 76981-10 0.00
76984-12 BRACE, FENDER OBS use 76984-10 0.00
76985-00 SPACER, 1/2" OD X 14GA WA X 0.26" 3.15
76987-12 SPACER, 5/8" OD X 3/8" ID X 0.28" OBS use 76987-10 0.00
76993-10 WELDMENT, HITCH BOTTOM 95.00
76993-12 WELDMENT, HITCH BOTTOM OBS use 76993-10 0.00
76995-10 WELDMENT, HITCH TOP 80.50
76995-12 WELDMENT, HITCH TOP OBS use 76995-10 0.00
77002-00 ASSEMBLY, EXTENSION TRAY OBS use 78527-00 0.00
77006-00 FLAP, C/S/B CHUTE 81.20
77008-12 WELDMENT, PIVOT ARM OBS use 77008-10 0.00
77011-10 WELDMENT, HANDLE 46.00
77011-12 WELDMENT, HANDLE OBS use 77011-10 0.00
77013-00 ASSEMBLY, HOUSING SC5720B 3074.40
77015-00 ASSEMBLY, HOUSING TOP 5" C/S/B 402.50
77022-00 KIT, SC2170 SHREDDER FLAIL OBS use 77561-00 0.00
77025-00 KIT, SHREDDER FLAILS SC5720B OBS use 77332-00 0.00
77029-00 WRAP, HOUSING FAN 150.45
77034-35 WELDMENT, FAN HOUSING 1073.20
77046-12 WELDMENT, BASE DL12720 590.00
77050-35 WELDMENT, FAN HOUSING OBS use 77050-40 0.00
77050-40 WELDMENT, FAN HOUSING 1030.00
77052-12 WELDMENT, ENGINE PLATE 64.90
77055-00 WELDMENT, FAN OBS use 70280-00 0.00
77056-12 GUIDE, BELT 50.70

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77059-12 WELDMENT, SHIELD ENGINE 43.67
77063-00 SHAFT, VACUUM FAN 52.19
77071-00 ASSEMBLY, VACUUM INTAKE COVER 229.00
77078-00 KIT, OWNERS DL TRAILER 193.00
77080-10 MOUNT, COUPLER 20.50
77080-12 MOUNT, COUPLER 35.85
77086-10 WELDMENT, STORAGE HITCH 344.00
77086-12 WELDMENT, STORAGE HITCH OBS use 77086-10 0.00
77087-10 WELDMENT, IDLER ARM 100.50
77087-12 WELDMENT, IDLER ARM OBS use 77087-10 0.00
77089-10 WELDMENT, DL HITCH POLE 196.00
77089-12 WELDMENT, DL HITCH POLE OBS use 77089-10 0.00
77090-12 PLATE, PUMP MOUNT OBS use 77090-10 0.00
77091-12 MOUNT, FENDER 33.65
77102-10 HANDLE, ENGAGEMENT 25.50
77102-12 HANDLE, ENGAGEMENT OBS use 77102-10 0.00
77113-00 ASSEMBLY, MANUAL CONTAINER SERVICE PART 49.32
77114-00 ASSEMBLY, 5 INCH CHIPPER CHUTE See PUB 2018032   391.05
77115-00 ASSEMBLY, 5 INCH EURO CHUTE TRAY SERVICE PART 217.15
77116-00 ASSEMBLY, 6 INCH DISCHARGE SERVICE PART 356.70
77117-00 ASSEMBLY, SC5540B BODY W/ DECALS 1180.80
77118-00 ASSEMBLY, CHIPPER TOP SERVICE PART OBS use 785 0.00
77119-00 ASSEMBLY, GUARD PTO SERVICE PART 149.70
77120-00 ASSEMBLY, SHREDDER CHUTE SERVICE PART 262.00
77121-00 ASSEMBLY, CH8540 BOTTOM HOUSING SERVICE PAR 835.30
77122-00 ASSEMBLY, HYDRAULIC TANK 3.25 GAL SERVICE PART 301.00
77123-00 ASSEMBLY, CHIPPER TOP HOUSING SERVICE PART OB   0.00
77124-00 ASSEMBLY, UPPER BELT GUARD SERVICE PART 176.05
77126-00 ASSEMBLY, BIG CHIPPER CHUTE SERVICE PART 414.90
77127-00 ASSEMBLY, CHUTE EXTENSION TRAY SERVICE PART 269.00
77128-00 ASSEMBLY, EXTENSION TRAY SERVICE PART 425.00
77129-00 ASSEMBLY, SWITCH BOX SERVICE PART 155.00
77130-00 ASSEMBLY, 8 INCH DISCHARGE SERVICE PART OBS us  0.00
77131-00 ASSEMBLY, DISCHARGE CHIPPER SERVICE PART OBS  0.00
77132-00 ASSEMBLY, BRAKE COVER SERVICE PART 33.44
77133-00 ASSEMBLY, CHIPPER BASE SERVICE PART 681.10
77134-00 ASSEMBLY, CH8720IH CHIPPER BOTTOM SERVICE PA 724.60
77135-00 ASSEMBLY, TOP GRAB ROLLER SERVICE PART 376.30
77137-00 ASSEMBLY, SHIELD REAR SERVICE PART 187.40
77138-00 ASSEMBLY, HYDRAULIC RESERVOIR SERVICE PART 338.64
77139-00 ASSEMBLY, HITCH POLE SERVICE PART 205.92
77140-00 ASSEMBLY, SHIELD FRONT SERVICE PART 269.00
77141-00 ASSEMBLY, CH9540H BOTTOM HOUSING SERVICE PA 843.20
77142-00 ASSEMBLY, FUEL TANK UNLEADED FUEL INJECTION O   0.00
77143-12 SPACER, 1-3/4" OD X 1-1/2" ID X 1-1/4" OBS use 771 0.00
77150-10 WELDMENT, ROLLER SLIDE 266.50
77150-12 WELDMENT, ROLLER SLIDE 262.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77151-33 WELDMENT, TOP ROLLER COVER 53.95
77151-35 WELDMENT, TOP ROLLER COVER OBS use 77151-40 0.00
77151-40 WELDMENT, TOP ROLLER COVER 50.50
77152-35 WELDMENT, ROLLER SUPPORT OBS use 77152-40 0.00
77152-40 WELDMENT, ROLLER SUPPORT 634.50
77154-12 PLATE, TRIMMER AXLE 37.45
77155-12 PLATE, TRIMMER BASE OBSOLETE 0.00
77156-00 AXLE, TRIMMER 18.90
77160-00 ASSEMBLY, FUEL TANK DIESEL OBS use 71455-00 0.00
77161-12 DISK, TRIMMER 19.50
77164-00 ASSEMBLY, 8 INCH DISCHARGE CHUTE 420.33
77166-00 SHAFT, TRIMMER SPINDLE (PLATED) OBS use 32490- 0.00
77184-35 WELDMENT, BEAM 524.40
77185-35 CHANNEL, CRADLE CYLINDER 20.93
77187-12 CRADLE, LOG SPLITTER 64.20
77191-12 TUBING, HITCH POLE 63.75
77192-12 STAND, JACK 36.04
77194-12 WELDMENT, LS CYLINDER BRACE 79.50
77197-12 BRACKET, RIGHT TAIL LIGHT 44.06
77198-12 BRACKET, LEFT TAIL LIGHT 44.06
77199-00 INSTRUCTIONS, FENDERS AND TAIL LIGHT KIT 2.00
77202-35 PLATE, LOG STRIPPER OBS use 77513-35 0.00
77209-00 KIT, CH500H OEM OWNERS 139.20
77214-12 CRADLE, LOG SPLITTER 64.20
77217-00 ASSEMBLY, HITCH POLE 103.70
77218-12 PLATE, CAST WEDGE BOTTOM 25.10
77219-00 SPACER, BEARING HUB 17.05
77221-12 PLATE, PUMP MOUNT COVER 8.30
77224-12 WELDMENT, PUMP MOUNT 71.30
77227-12 MOUNT, VERT ENGINE 60.34
77228-12 COVER, ENGINE SHAFT 19.00
77243-00 BRACKET, IDLER ENGAGEMENT 14.95
77243-12 BRACKET, IDLER 12.70
77246-12 BAIL, CONTROL 27.00
77247-12 BRACKET, CABLE ANCHOR 15.25
77249-10 WELDMENT, BELT GUARD SUPPORT 37.00
77249-12 WELDMENT, BELT GUARD SUPPORT OBS use 77249- 0.00
77251-10 WELDMENT, SUPPORT LEG LONG 52.76
77251-12 WELDMENT, SUPPORT LEG LONG 52.85
77252-10 WELDMENT, SUPPORT LEG SHORT 65.96
77252-12 WELDMENT, SUPPORT LEG SHORT 65.60
77254-10 WELDMENT, AXLE 3 IN CHIPPER 40.00
77254-12 WELDMENT, AXLE 3 IN CHIPPER 44.44
77263-00 ASSY, NARROW ROTOR W/ CAST FLAILS OBS use 775 0.00
77264-00 PIN, FLAIL ROTOR NARROW BODY 13.70
77274-00 ASSEMBLY, NARROW RENTAL HOPPER 204.20
77280-00 ASSEMBLY, NARROW EURO HOPPER 242.30

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77281-10 MOUNT, IDLER BRACKET 27.40
77281-12 MOUNT, IDLER BRACKET 29.10
77282-10 BRACKET, IDLER 3 IN CHIPPER 28.00
77282-12 BRACKET, IDLER 3 IN CHIPPER OBS use 77282-10 0.00
77285-10 HANDLE, CHIPPER CHUTE 3 IN 18.50
77285-35 HANDLE, CHIPPER CHUTE 3 IN 33.10
77288-12 SUPPORT, TRIMMER HANDLE 31.20
77291-00 KIT, SC3206 OWNERS 86.00
77296-00 KIT, WT24 OWNERS 21.50
77299-00 ASSEMBLY, 3 IN FRONT PLATE COMP 183.80
77300-00 ASSEMBLY, 3 IN DOM NAROW BODY 285.00
77302-00 SHAFT, WIDE ROTOR FLAIL MOUNT 22.05
77304-00 ASSEMBLY, BALANCED ROTOR OBS use 74209-00 0.00
77312-00 ASSEMBLY, WIDE BODY RENTAL HOPPER 203.30
77318-00 ASSEMBLY, EUROPEAN WIDE HOPPER 228.40
77320-00 KIT, NARROW BODY ROTOR FLAILS OBS use 77562-0 0.00
77321-00 KIT, WIDE BODY ROTOR FLAILS OBS use 77563-00 0.00
77323-00 KIT, SC3305 AND SC3342 OWNERS 70.00
77331-00 SPACER, 7/8 OD X 0.562 ID X 2.38 11.60
77332-00 KIT, SHREDDER FLAILS SC5720B OBS use 77559-00 0.00
77334-00 ASSEMBLY, SP TRIMMER WHEEL RH OBS use 77704-0 0.00
77337-00 SPACER, 7/8 X 2.00 W/ HOLE 11.20
77338-00 SPACER, 7/8 X 0.88 W/HOLE OBS see Bulletin SIB 13 0.00
77339-00 ASSEMBLY, BASE 3 IN CHIPPER SERVICE 87.60
77341-00 ASSEMBLY, 3" C/S WIDE BODY SERVICE 296.00
77342-12 BAIL, SP CONTROL 18.00
77344-00 ASSEMBLY, STRIPPER PLATE OBS use 77516-00 0.00
77345-00 SERVICE, 4-WAY WEDGE N/A use 77514-00 0.00
77346-00 SERVICE, PUMP MOUNT 77.30
77347-00 ASSEMBLY, CHANNEL CYLINDER 39.26
77348-00 SERVICE, TANK 21 TON 453.00
77349-00 SERVICE, TANK 27 TON 452.80
77350-00 ASSEMBLY, 4 X 24 CYLINDER 569.60
77351-00 ASSEMBLY, 4-1/2 X 24 CYLINDER 664.00
77355-12 PLATE, HITCH PIN 17.65
77361-38 WELDMENT, TOP ROLLER COVER 75.70
77366-12 WELDMENT, SC3" TRAILER 371.00
77367-12 STAND, JACK 38.56
77370-00 KIT, PLUS 1 SERVICE TOOL 886.20
77372-12 BRACKET, CORNER 18.20
77373-12 BRACKET, ENGINE BASE 29.65
77376-12 PLATE, BOTTOM WEDGE 20.70
77377-12 PLATE, CAST WEDGE BOTTOM 18.80
77378-12 SHIM, BOTTOM WEDGE 10.45
77380-00 KIT, WEDGE W/ SPACERS 189.00
77384-12 WELDMENT, NARROW COARSE TAPERED 66.60
77388-12 WELDMENT, WIDE COARSE TAPERED 87.90

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77390-00 KIT, CH8540, CH9540H & CHF9540HXE OWNERS 183.07
77393-00 BODY, TRIMMER W/DECALS (SERVICE) 110.80
77414-00 ASSEMBLY, DL8 HOUSING 997.30
77421-00 ASSEMBLY, VACUUM INTAKE 282.00
77425-00 ASSEMBLY, VACUUM INTAKE 291.00
77426-00 MANUAL, DL8 OWNERS 6.00
77428-00 KIT, DL10 OWNERS 97.00
77437-12 BRACKET, ENGINE BASE 27.20
77439-10 MOUNT, BATTERY BOX 48.00
77439-12 MOUNT, BATTERY BOX OBS use 77439-10 0.00
77440-00 ASSEMBLY, DL10 HOUSING OBS use 78446-00 0.00
77449-00 MANUAL, DL8 PARTS 6.00
77453-10 WELDMENT, HOSE SUPPORT 85.00
77453-12 WELDMENT, HOSE SUPPORT OBS use 77453-10 0.00
77455-10 WELDMENT, INLET ADPATER 94.50
77455-12 WELDMENT, INLET ADAPTER OBS use 77455-10 0.00
77456-10 WELDMENT, INLET ADAPTER 85.00
77456-12 WELDMENT, INLET ADAPTER OBS use 77456-10 0.00
77461-00 KIT, SC3305E OWNERS 89.00
77462-10 TUBE, HITCH 63.50
77462-12 TUBE, HITCH 86.50
77466-00 ASSEMBLY, CHIPPER TOP SERVICE 341.80
77467-00 ASSEMBLY, CHIPPER BOTTOM SERVICE 567.90
77468-00 ASSEMBLY, BELT SHIELD SERVICE 168.40
77469-00 ASSEMBLY, CHIPPER BOTTOM SERVICE OBS use 7853 0.00
77470-00 ASSEBMLY, CHIPPER BOTTOM SERVICE 870.90
77479-10 PLATE, ENGINE SPACER 21.00
77479-12 PLATE, ENGINE SPACER OBS use 77479-10 0.00
77483-00 ASSEMBLY, DISCHARGE 343.00
77484-10 RING, DL DISCHARGE 14.50
77484-12 RING, DL DISCHARGE OBS use 77484-10 0.00
77485-12 BRACKET, RIGHT TAIL LIGHT 71.40
77486-12 BRACKET, LEFT TAIL LIGHT 65.10
77496-12 PLATE, BELLY 33.18
77497-00 ASSEMBLY, 6 INCH SCREEN 250.00
77506-00 INSTRUCTIONS, TRAILER SETUP 17.20
77516-00 ASSEMBLY, STRIPPER PLATE WIDE OBS use 70262-00 0.00
77519-35 WELDMENT, BEARING SUPPORT OBS use 77519-40 0.00
77519-38 WELDMENT, BEARING SUPPORT 128.00
77519-40 WELDMENT, BEARING SUPPORT 124.50
77522-12 PLATE, TRIMMER BASE 49.20
77523-12 PLATE, TRIMMER TILT BASE 73.05
77527-00 ASSEMBLY, SWITCH BOX 260.00
77530-00 ASSEMBLY, SWITCH BOX 295.00
77531-12 PLATE, SWITCH BOX 40.86
77532-12 BRACKET, SWITCH 31.05
77536-00 KIT, CONTROL SWITCHES 350.50

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77538-00 ASSEMBLY, TILT BODY (SERVICE) 119.70
77539-00 ASSEMBLY, SELF PROPELLED BODY (SERVICE) 115.00
77540-00 KIT, CONTROL SWITCHES (5 INCH) 410.50
77542-00 KIT, CONTROL SWTICHES (6 IN GAS) 377.40
77544-00 ASSEMBLY, HITCH POLE LS 85.70
77551-00 ASSEMBLY, SP TRIMMER WHEEL LH OBS use 77705-0 0.00
77554-12 CHUTE, ENGINE GUARD 46.15
77558-00 KIT, ENGINE GUARD 97.60
77559-00 KIT, SHREDDER FLAILS SC5720B OBS use 77613-00 0.00
77561-00 KIT, SHREDDER FLAIL OBS use 77616-00 0.00
77562-00 KIT, NARROW BODY ROTOR FLAILS OBS use 77589-0 0.00
77563-00 KIT, WIDE BODY ROTOR FLAILS OBS use 70973 0.00
77564-00 KIT, 6 INCH SUPPORTS WITH STEEL TANK 201.00
77566-10 PLATE,  SUPPORT LH 46.00
77566-12 WELD, PLATE LH SUPPORT OBS use 77566-10 0.00
77573-10 PLATE,  CHIPPER SUPPORT RH 51.00
77573-12 PLATE, CHIPPER SUPPORT RH OBS use 77573-10 0.00
77574-10 PLATE,  CHIPPER SUPPORT LH 51.00
77574-12 PLATE, CHIPPER SUPPORT LH OBS use 77574-10 0.00
77576-00 KIT, CH6730H SUPPORTS 183.00
77578-00 KIT, 6 INCH SUPPORTS WITH NYLON TANK 176.00
77582-00 KIT,BIG CHIPPER FORMED PADDLES OBS use 71541-0 0.00
77586-00 ASSEMBLY, CHANNEL CRADLE LS33340 47.25
77588-00 SPACER, 0.75 X 2.05 7.40
77589-00 KIT, 3" NARROW SHREDDER KNIVES 125.40
77590-00 WELDMENT, 3" NARROW ROTOR 177.00
77591-00 ASSEMBLY, 3" NARROW ROTOR KNIVES 263.00
77593-00 TUBE, 1-1/16 OD X 0.82 X .455 9.55
77601-00 CH6730H ANVIL, SUPPORT KIT 78.85
77605-00 ASSEMBLY, 6" FEED ROLLER SERVICE 444.50
77607-00 KIT, LS21 ENGINE CONVERSION 589.70
77608-00 ASSEMBLY, FUEL TANK 9 GAL EPA OBS use 77711-00 0.00
77609-00 ASSEMBLY, FUEL TANK 9 GAL EPA EFI OBS use 77717 0.00
77612-00 ASSEMBLY, 5" CS ROTOR KNIVES 1004.10
77613-00 KIT, SC5720B SHREDDER KNIVES 275.00
77615-00 ASSEMBLY, C/S ROTOR KNIVES 219.00
77616-00 KIT, SC2170 SHREDDER KNIVES STANDARD 85.00
77618-00 KIT, SC2170 SHREDDER KNIVES ADDITIONAL 67.20
77620-00 SHAFT, .50 X 3.0 10.15
77622-00 KIT, VALVE AND O-RINGS 210.00
77629-12 CLAMP, CYLINDER SUPPORT TOP 22.14
77631-00 SHAFT, .50 X 10.875 25.20
77633-12 CLAMP, CYLINDER SUPPORT 22.73
77634-12 WELDMENT, CYLINDER SUPPORT LS21 132.40
77638-12 WELDMENT, CYLINDER SUPPORT LS27 132.95
77643-00 SHAFT, KNIFE 10.50
77652-12 WELDMENT, BELT GUIDE OBS use 71954-00 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77654-00 KIT, CH4400/XE BELT GUIDES OBS use 71954-00 0.00
77657-00 ASSEMBLY, BELT SHIELD OBS use 78452-00 0.00
77661-00 KIT, DL BELT SHIELD 141.20
77662-00 ASSEMBLY, TRIMMER HANDLE BAR 77.05
77679-00 KIT, OWNERS LS22 LOG SPLITTER 203.00
77682-12 WELDMENT, CYLINDER SUPPORT LS27 56.40
77685-12 WELDMENT, CYLINDER SUPPORT LS22 56.05
77686-00 KIT, OWNERS LS27 LOG SPLITTER 203.00
77692-00 KIT, WT24T 14 DEG ANGLE REDUCTION 36.46
77702-00 ASSEMBLY, LS22 BEAM W/ DECALS 583.60
77703-00 ASSEMBLY, LS27 BEAM W/ DECALS 583.50
77704-00 ASSEMBLY, RH WHEEL 106.35
77705-00 ASSEMBLY, LH WHEEL 106.35
77711-00 ASSEMBLY, FUEL TANK 234.00
77713-00 KIT, WT24S WELDED CLUTCH WHEEL REPLACEMENT 181.00
77714-00 KIT, VENTED TANK PARTS 43.56
77716-00 ASSEMBLY, CH611DH CHIPPER HOUSING TOP 548.20
77717-00 ASSEMBLY, FUEL TANK EFI 252.00
77721-35 WELDMENT, DISK COVER 193.05
77721-40 WELDMENT, DISK COVER 184.00
77729-00 KIT, CH6730HXE HITCH POLE 300.00
77731-00 KIT, 5" FORMED CHIPPER PADDLES OBS use 71558-0 0.00
77734-12 SPACER, 1-3/4 X 9/16 X .120 OBS use 77734-10 0.00
77740-12 WELDMENT, BELT KICKER SUBARU 25.24
77741-00 KIT, 6" CHIPPER DISK WITH BLADE 1222.40
77742-00 KIT, LS ENGINE COUPLER OBS use 70465-00 0.00
77743-00 WOODS SHIELD, FORWARD BELT 106.05
77745-12 WELDMENT, WHEEL BRAKE 46.85
77749-00 TRANSMISSION, 3 SP. BEARVAC 166.00
77750-00 KIT, WV190S TRANSMISSION 235.00
77755-00 ASSEMBLY, SHIELD WITH DECALS OBS use 78542-00 0.00
77757-00 WELDMENT, 5" CHIPPER DISK OBS use 76789-00 0.00
77762-00 SPACER, 1-1/2 X 11/16 13.10
77766-35 PLATE, BOLT ACCESS COVER OBS use 77766-35 0.00
77768-00 ASSEMBLY, CHIPPER HOUSING 384.00
77769-00 KIT, CH4400 CHIPPER HOUSING 408.50
77771-35 PLATE, BOLT ACCESS COVER OBS use 77771-40 0.00
77775-00 ASSEMBLY, CHIPPER HOUSING OBS use 78492-00 0.00
77776-00 KIT, CH45540 CHIPPER HOUSING 504.40
77781-00 KIT, CH450H CHIPPER HOUSING 391.50
77791-00 KIT, WT190S TRANSMISSION See Bulletin SIB 14 001 211.00
77797-00 ASSEMBLY, CH4400 ROTOR 447.50
77798-00 ASSEMBLY, CH45540 ROTOR 447.50
77799-00 ASSEMBLY, CH450H ROTOR 447.50
77800-00 ASSEMBLY, WTI90 LINE HOLDER 43.20
77801-12 WELDMENT, DISCHARGE CAP N/A use 74670-00 0.00
77808-12 WELDMENT, HITCH POLE OBS use 77808-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77843-10 WELDMENT, TRIMMER AXLE 79.00
77843-12 WELDMENT, AXLE HWT OBS use 77843-10 0.00
77844-10 PLATE, BODY BOTTOM HWT 25.00
77844-12 PLATE, BODY BOTTOM HWT OBS use 77844-10 0.00
77845-10 BRACKET, AXLE SUPPORT HWT 14.00
77845-12 BRACKET, AXLE SUPPORT HWT OBS use 77845-10 0.00
77846-10 PLATE, AXLE SUPPORT HWT 6.50
77846-12 PLATE, AXLE SUPPORT HWT OBS use 77846-10 0.00
77855-00 SPRING, CLIP HW TRIMMERS N/A use 33939-00 0.00
77856-00 ASSEMBLY, 3 IN DOM BODY COMPONENTS 280.00
77867-10 FENDER, HEAVY-DUTY 92.50
77867-12 FENDER, HEAVY - DUTY OBS use 77867-10 0.00
77868-12 SPACER, ISOLATOR OBS use 77868-10 0.00
77869-12 PANEL, RADIATOR COVER OBS use 77869-10 0.00
77870-12 WELDMENT, SIDE COVER PANEL OBS use 77870-10 0.00
77872-12 SIDE, ENGINE COVER OBS use 77872-10 0.00
77873-10 BRACKET, HOUSING 17.50
77873-12 BRACKET, HOUSING OBS use 77873-10 0.00
77874-12 FENDER, HEAVY - DUTY OBS use 77874-10 0.00
77875-12 BRACKET, HOUSING OBS use 77875-10 0.00
77876-12 COVER, ENGINE SIDE OBS use 77876-10 0.00
77877-12 COVER, RADIATOR OBS use 77877-10 0.00
77878-12 SIDE, ENGINE COVER OBS use 77878-10 0.00
77879-35 SHIELD, ENGINE RIGHT OBS use 77879-40 0.00
77880-10 WELDMENT,  DSE BACK - SELL TO NORTHERN POWE  7.32
77880-12 WELDMENT, DSE BACK OBS use 77880-10 0.00
77882-10 PLATE, DSE  FRONT - SELL TO NORTHERN POWER ON 13.85
77882-12 PLATE, DSE FRONT OBS use 77882-10 0.00
77885-10 WELDMENT, 5"/6"  ANVIL SPACING 19.00
77885-12 WELDMENT, 5"/6" ANVIL SPACING 29.45
77895-00 ASSEMBLY, CHIPPER TOP W/DECALS OBS use 78541- 0.00
77900-00 KIT, CH922DH DSE FIELD FIX 734.00
77903-12 WELDMENT, HOUSING BRACKET 44.50
77908-12 WELDMENT, HOUSING BRACKET 48.50
77910-00 KIT, CH911DH DSE FIELD FIX 727.60
77915-00 ASSEMBLY, BELT SHIELD W/DECALS 551.70
77916-10 BRACKET, HWS BASE 51.00
77916-12 BRACKET, HWS BASE OBS use 77916-10 0.00
77917-10 BRACKET, HWS TRANS MOUNT 51.00
77917-12 BRACKET, HWS TRANS MOUNT OBS use 77917-10 0.00
77918-10 BRACKET, TRANS SPEED CABLE 9.00
77918-12 BRACKET, TRANS SPEED CABLE OBS use 77918-10 0.00
77919-00 LEVER, HWS TRANS ENGAGE SS 28.90
77921-00 ASSEMBLY, HWS BODY WITH DECALS 85.00
77922-10 PLATE, HWS SPINDLE CASTING MOUNT 32.00
77922-12 PLATE, HWS SPINDLE CASTING MOUNT OBS use 779 0.00
77924-10 BRACKET, HWS ENGAGE CABLE 10.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



77924-12 BRACKET, HWS ENGAGE CABLE OBS use 77924-10 0.00
77938-10 ASSEMBLY, BAIL HWS TRIMMERS 33.50
77938-12 ASSEMBLY, BAIL HWS TRIMMERS 33.26
77939-12 ASSEMBLY, HWS SPROCKET N3548T 33.37
77940-10 BRACKET, TRANS SHAFT SUPPORT 16.50
77940-12 BRACKET, TRANS SHAFT SUPPORT OBS use 77940-10 0.00
77942-00 ASSEMBLY, CH5540XE CHIPPER CHUTE See PUB 2018   682.30
77945-00 ASSEMBLY, CH5540 CHUTE WITH DECALS 335.00
77946-00 ASSEMBLY, CH5540 CHIPPER CHUTE 454.70
77952-00 ASSEMBLY, 5" CHUTE WITH DECALS 350.40
77953-00 ASSEMBLY, 5" CHUTE See PUB 20180327 Before Ord 466.90
77954-00 ASSEMBLY, 5" CE CHUTE See PUB 20180327 Before O 692.20
77957-00 KIT, CH611DH DSE FIELD FIX 784.00
77960-00 ASSEMBLY, 5" CEG CHUTE 466.90
77963-00 KIT, 8"/9" DDC TRAY/KNEEBAR 749.40
77966-00 KIT, CH911DH DDC TRAY/KNEEBAR 752.60
77968-00 KIT, CH922DH DDC TRAY/KNEEBAR 749.40
77970-00 KIT, CH5540H DDC TRAY/KNEEBAR 838.00
77975-35 WELDMENT, CHIPPER BOTTOM (PTO) OBS use 77975 0.00
77975-40 WELDMENT, CHIPPER  BOTTOM (PTO) 802.50
77978-10 BRACKET,  DISK LOCK 29.50
77978-12 BRACKET, DISK LOCK OBS use 77978-10 0.00
77979-10 WELDMENT, LEFT  BEARING BRACKET 32.00
77979-12 WELDMENT, LEFT BEARING BRACKET OBS use 77979 0.00
77981-00 ASSEMBLY, 9" CHIPPER ROTOR 1600.40
77982-00 ASSEMBLY, 9" CHIPPER DISK 1241.10
77983-00 WELDMENT, BIG CHIPPER ROTOR 222.00
77985-12 WELDMENT, SPACER OBS use 78359-12 0.00
77987-00 ASSEMBLY, CHIPPER COVER W/DECALS OBS use 7863 0.00
77991-35 WELDMENT, HITCH SUPPORT OBS use 77991-40 0.00
77991-40 WELDMENT,  HITCH SUPPORT 439.00
77994-10 COLLAR,  CHIPPER  LOCK 28.50
77994-12 COLLAR, CHIPPER LOCK OBS use 77994-10 0.00
77995-10 WELDMENT,  PTO STAND 296.00
77995-12 WELDMENT, PTO STAND OBS use 77995-10 0.00
77997-10 BRACKET, SENSOR  SHORT MOUNT 14.50
77997-12 BRACKET, SENSOR SHORT MOUNT OBS use 77997-10 0.00
77999-10 SPACER,  15/16" X 1.65" 13.50
77999-12 SPACER, 15/16" X 1.65" OBS use 77999-10 0.00
78000-10 ARM,  INSIDE IDLER 27.50
78000-12 ARM, INSIDE IDLER OBS use 78000-10 0.00
78001-10 SPACER,  15/16" X 1.32" 12.50
78001-12 SPACER, 15/16" X 1.32" OBS use 78001-10 0.00
78003-10 WELDMENT,   SHAFT COVER 31.50
78003-12 WELDMENT, SHAFT COVER OBS use 78003-10 0.00
78004-12 BRACKET, RH FENDER OBS use 78004-10 0.00
78005-12 BRACKET, LH FENDER OBS use 78005-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78006-12 BRACKET, LH FENDER CE OBS use 78006-10 0.00
78007-12 BRACKET, RH FENDER CE OBS use 78007-10 0.00
78009-12 WELDMENT, CHIPPER TRAILER OBS use 78009-10 0.00
78010-00 ASSEMBLY, CH5627 HITCH POLE 250.00
78011-10 POLE, CH5627 HITCH 127.50
78011-12 POLE, CH5627 HITCH OBS use 78011-10 0.00
78012-00 ASSEMBLY, CH5627XE HITCH POLE 242.00
78013-10 COVER, METAL HW TRIMMERS 23.50
78013-12 COVER, METAL HW TRIMMERS OBS use 78013-10 0.00
78026-00 ASSEMBLY, 9" PTO DRIVELINE 512.50
78028-00 WELDMENT, FAN "BEAR CLAW" 317.00
78031-00 BLADE, 8"/10" DL INNER 24.55
78032-00 BLADE, 12" DL INNER 23.72
78033-00 ASSEMBLY, BELT SHIELD WITH DECALS 530.10
78058-00 ASSEMBLY, SELF VAC HOUSING W/ DECALS OBS use 0.00
78061-00 ASSEMBLY, HWX BODY WITH DECALS 105.00
78062-12 WELDMENT, SP LONG AXLE OBS use 78062-10 0.00
78063-12 GUARD, WV BELT OBS use 78063-10 0.00
78064-00 TRANSMISSION, WHEEL VAC 221.00
78065-12 BRACKET, WV TRANS MOUNT OBS use 78065-10 0.00
78066-00 ASSEMBLY, HWT BODY WITH DECALS 105.00
78069-00 ASSEMBLY, HWS BODY WITH DECALS 105.00
78071-00 LEVER, WV TRANS ENGAGE 28.60
78080-00 WELDMENT, 6 CHIPPER DISK 977.60
78087-35 WELDMENT, CHIPPER BOTTOM OBS use 78087-40 0.00
78087-40 WELDMENT, CHIPPER BOTTOM 715.00
78088-10 BRACKET, HW KILL SWITCH 15.50
78088-12 BRACKET, HW KILL SWITCH OBS use 78088-10 0.00
78091-10 BRACKET, SG340 KILL SWITCH 17.55
78091-12 BRACKET, SG340 KILL SWITCH OBS use 78091-10 0.00
78093-00 KIT, HW AND SG KILL SWITCH 49.00
78100-00 KIT, 12" DL ENGINE BRACE 46.50
78102-00 KIT, ZENER DIODE 133.50
78113-00 KIT, CLUTCH 34675-00 REBUILD 181.00
78114-00 KIT, CLUTCH 34676-00 REBUILD 153.00
78115-00 KIT, SG TEETH WEARSHARP (DIRT) 165.00
78116-00 KIT, SG TEETH 700 SERIES GREEN (ROCKY SOIL) 165.00
78119-00 KIT, E-STOP SWITCH 5" 442.10
78121-00 KIT, SG TEETH 700 SERIES RED (SAND/CLAY) 165.00
78154-00 WELDMENT, PLATED ADJUSTMENT PIN SGXTR 60.00
78174-00 WELDMENT, PLATED ADJUSTMENT PIN SGPRO 61.00
78180-00 WELDMENT, ROTOR SHAFT SGXTR SGPRO 99.50
78182-00 KIT, SG TEETH 500 SERIES GREEN (ROCKY SOIL) 164.40
78183-00 KIT, SG TEETH 500 SERIES RED (SAND/CLAY) 164.40
78189-00 ASSEMBLY, BODY WITH DECALS SGXTR 705.00
78190-10 WASHER, CLUTCH HONDA SGXTR 3.80
78190-12 WASHER, CLUTCH HONDA SGXTR OBS use 78190-10 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78192-35 DISK, ROTOR SGXTR SGPRO 66.50
78192-40 DISK, ROTOR SGXTR SGPRO 66.80
78193-00 ASSEMBLY, ROTOR SGXTR SGPRO 545.60
78194-10 WELDMENT, AXLE SGXTR 51.00
78194-12 WELDMENT, AXLE SGXTR OBS use 78194-10 0.00
78196-00 ASSEMBLY, INSIDE SHIELD WITH DECALS SGXTR SGPR 80.50
78198-00 ASSEMBLY, BELT SHIELD WITH DECALS SGXTR OBS us  0.00
78199-10 WELDMENT, LOWER HANDLE SGXTR 163.00
78199-12 WELDMENT, LOWER HANDLE SGXTR OBS use 78199- 0.00
78200-10 WELDMENT, PIVOT PIN SG FAMILY 21.00
78200-12 WELDMENT, PIVOT PIN SG FAMILY OBS use 78200-1 0.00
78201-10 BRACKET, BRAKE CABLE SGXTR SGPRO 14.60
78201-12 BRACKET, BRAKE CABLE SGXTR SGPRO OBS use 7820 0.00
78202-10 BRACKET, ADJ PIN SG FAMILY 14.50
78202-12 BRACKET, ADJ PIN SG FAMILY OBS use 78202-10 0.00
78203-35 WELDMENT, BAIL SGXTR OBS use 78203-40 0.00
78203-40 WELDMENT, BAIL SGXTR 52.00
78205-00 ASSEMBLY, HANDLE WITH DECALS SGXTR OBS use 78 0.00
78210-10 BRACKET, RHS MANUAL HOLDER SGXTR SGPRO 21.00
78210-12 BRACKET, RHS MANUAL HOLDER SGXTR SGPRO OBS  0.00
78211-10 BRACKET, LHS MANUAL HOLDER SGXTR SGPRO 21.00
78211-12 BRACKET, LHS MANUAL HOLDER SGXTR SGPRO OBS  0.00
78214-10 BRACKET, TOW BAR SG FAMILY 27.50
78214-12 BRACKET, TOW BAR SG FAMILY OBS use 78214-10 0.00
78216-00 ASSEMBLY, TOW BAR WITH DECAL SG 145.50
78220-10 BRACKET, RHS SIDE FLAP SGXTR 19.50
78220-12 BRACKET, RHS SIDE FLAP SGXTR OBS use 78220-10 0.00
78221-10 BRACKET, LHS SIDE FLAP SG FAMILY 19.50
78221-12 BRACKET, LHS SIDE FLAP SG FAMILY OBS use 78221-1 0.00
78222-10 BRACKET, RHS SIDE FLAP SGPRO 20.00
78222-12 BRACKET, RHS SIDE FLAP SGPRO OBS use 78222-10 0.00
78227-00 ASSEMBLY, BODY WITH DECALS SGPRO 715.00
78229-10 WELDMENT, AXLE SGPRO 54.00
78229-12 WELDMENT, AXLE SGPRO OBS use 78229-10 0.00
78231-00 ASSEMBLY, BELT SHIELD WITH DECALS SGPRO OBS u  0.00
78232-10 WELDMENT, LOWER HANDLE SGPRO 163.50
78232-12 WELDMENT, LOWER HANDLE SGPRO OBS use 78232 0.00
78233-35 WELDMENT, BAIL SGPRO OBS use 78233-40 0.00
78233-40 WELDMENT, BAIL SGPRO 52.50
78235-00 ASSEMBLY, HANDLE WITH DECALS SGPRO OBS use 7 0.00
78243-00 ASSEMBLY, DISK COVER OBS use 78461-00 0.00
78248-00 ASSEMBLY, INFEED CHUTE OBS use 78462-00 0.00
78249-00 KIT, FC200 FRONT COVER & INFEED CHUTE 290.00
78255-00 KIT, 6"  TRAY/KNEEBAR 860.70
78262-10 WELDMENT, STUMP  GRINDER TRAILER 500.00
78262-12 WELDMENT, STUMP GRINDER TRAILER OBS use 7826 0.00
78263-10 BRACKET, LHS SG FENDER 49.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78263-12 BRACKET, LHS SG FENDER OBS use 78263-10 0.00
78264-10 BRACKET, RHS SG FENDER 49.00
78264-12 BRACKET, RHS SG FENDER OBS use 78264-10 0.00
78265-10 BRACE, LHS SG FENDER 23.50
78265-12 BRACE, LHS SG FENDER OBS use 78265-10 0.00
78266-10 BRACE, RHS SG FENDER 23.50
78266-12 BRACE, RHS SG FENDER OBS use 78266-10 0.00
78267-12 HINGE, SG TRAILER 40.30
78268-10 PLATE, HITCH SADDLE 19.50
78268-12 PLATE, HITCH SADDLE OBS use 78268-10 0.00
78269-10 BRACKET, CHOCK SG TRAILER 38.00
78269-12 BRACKET, CHOCK SG TRAILER OBS use 78269-10 0.00
78272-00 ASSEMBLY, HITCH POLE WITH DECALS SG TRAILER 170.00
78273-10 BRACE, HITCH STAND SG TRAILER 39.50
78273-12 BRACE, HITCH STAND SG TRAILER 42.50
78274-00 ASSEMBLY, 2 INCH HITCH POLE SG TRAILER 202.00
78277-10 RAMP, SG TRAILER 46.50
78277-12 RAMP, SG TRAILER OBS use 78277-10 0.00
78278-12 WELDMENT, RHS RAMP SG TRAILER 43.00
78279-10 BRACKET, LICENSE PLATE SG TRAILER 22.00
78279-12 BRACKET, LICENSE PLATE SG TRAILER OBS use 78279 0.00
78284-10 BRACKET, RHS MANUAL HOLDER SGACE 21.50
78284-12 BRACKET, RHS MANUAL HOLDER SGACE OBS use 782 0.00
78285-10 BRACKET, LHS MANUAL HOLDER SGACE 21.50
78285-12 BRACKET, LHS MANUAL HOLDER SGACE OBS use 782 0.00
78286-10 BRACKET, LHS BRAKE CABLE SGACE 16.50
78286-12 BRACKET, LHS BRAKE CABLE SGACE OBS use 78286-1 0.00
78289-00 KIT, CLUTCH 34834-00 REBUILD (SGACE) 87.50
78290-10 BRACKET, RHS BRAKE CABLE SGACE 16.50
78290-12 BRACKET, RHS BRAKE CABLE SGACE OBS use 78290-1 0.00
78291-10 SPACER, 5/8 OD X 11 GA X 0.750 5.00
78291-12 SPACER, 5/8 OD X 11 GA X 0.750 OBS use 78291-10 0.00
78294-10 BRACKET, RHS SIDE FLAP SGACE 18.00
78294-12 BRACKET, RHS SIDE FLAP SGACE OBS use 78294-10 0.00
78295-00 KIT, RUSSIAN DECALS 179.95
78301-00 WELDMENT, PLATED ADJUSTMENT PIN SGACE 51.84
78359-10 SPACER, 2-1/4 X  3.43 23.50
78359-12 SPACER, 2-1/4 X 3.43 OBS use 78359-10 0.00
78360-00 KIT, 4-1/2 CHIPPER BLADE (1/2") 175.00
78361-00 KIT, CHIPPER BLADE (1/2 INCH) 242.00
78375-00 KIT, CH611DHM MANUAL VALVE 1570.40
78379-00 ASSEMBLY, PUSH VAC HOUSING W/ CBC DECALS 174.50
78380-00 ASSEMBLY, FAN INTAKE HOUSING W/ CBC DECALS N   0.00
78390-00 ASSEMBLY, SELF VAC HOUSING W/ CBC DECALS 164.50
78400-00 ASSEMBLY, SGACE BELT SHIELD WITH DECALS CBC 318.70
78401-00 ASSEMBLY, SGACE HANDLE WITH DECALS CBC 223.00
78409-00 ASSEMBLY, BELT SHIELD WITH CBC DECALS SGXTR 322.50

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78410-00 ASSEMBLY, HANDLE WITH DECALS CBC SGXTR 227.00
78413-00 ASSEMBLY, BELT SHIELD WITH CBC DECALS SGPRO 324.50
78414-00 ASSEMBLY, HANDLE WITH DECALS CBC SGPRO 213.00
78441-00 ASSEMBLY, DL8 HOUSING CBC 973.00
78446-00 ASSEMBLY, DL10 HOUSING 973.00
78452-00 ASSEMBLY, BELT SHIELD 121.50
78461-00 ASSEMBLY, DISK COVER FC200 CBC 191.00
78462-00 ASSEMBLY, FC200 INFEED CHUTE CBC 178.00
78471-00 ASSEMBLY, 4.5" INFEED WITH DECALS 160.00
78476-00 ASSEMBLY, CH4420 SHIELD W/ DECALS CBC 80.50
78477-00 ASSEMBLY, CH4420 CHIPPER HOUSING CBC 309.50
78485-00 ASSEMBLY, CH4420XE INFEED TRAY 235.00
78492-00 ASSEMBLY, CH45540 CHIPPER HOUSING CBC 419.00
78527-00 ASSEMBLY, SC5627B TRAY 190.00
78532-00 ASSEMBLY, SC5627B BODY W/ DECALS 830.00
78541-00 ASSEMBLY, CH5627 TOP W/ DECALS CBC 338.50
78542-00 ASSEMBLY, CH5627 SHIELD / DECALS CBC 166.50
78572-00 ASSEMBLY, 5" PTO CHIPPER COVER W/ DECALS 310.50
78588-00 ASSEMBLY, SC5540 BODY W/ DECALS 934.00
78591-00 ASSEMBLY, SC5540B TOP HOUSING W/ DECALS CBC 435.50
78611-00 ASSEMBLY, CHIPPER COVER W/ CBC DECALS 425.00
78622-00 ASSEMBLY, 6" INFEED CHUTE W/  CBC DECALS 453.50
78630-00 ASSEMBLY, CHIPPER COVER W/ DECALS 572.50
78642-00 KIT, SHOE CLUTCH 34834-00 67.50
78643-00 KIT, SPRING CLUTCH 34834-00 51.50
78644-00 KIT, SHOE CLUTCH 34675-00 159.01
78645-00 KIT, SPRING CLUTCH 34675-00 & 34676-00 68.00
78646-00 KIT, SHOE CLUTCH 34676-00 175.00
78676-00 ASSEMBLY, CBC HYDRAULIC TANK SERVICE PART 278.00
78677-00 ASSEMBLY, CBC CHIPPER COVER W/ DECALS 574.00
78679-00 ASSEMBLY, 8"/9" TRAY W/ DECALS 275.00
78695-00 ASSEMBLY, CHUTE EXTENSION CBC 229.50
78766-00 KIT, SC-2013 OWNERS 0.00
78767-00 KIT, SC-3013 OWNERS 0.00
78768-00 KIT, SC-4213 OWNERS 0.00
78775-00 ASSEMBLY, SC-2013 HOPPER W/ DECALS 175.00
78776-00 ASSEMBLY, SC-2013 BODY W/ DECALS 280.00
78779-00 ASSEMBLY, SC-3013 HOPPER W/ DECALS 190.00
78781-00 ASSEMBLY, SC-3013 BODY W/ DECALS 290.00
78784-00 ASSEMBLY, SC-4213 HOPPER W/ DECALS 180.00
78786-00 ASSEMBLY, SC-4213 BODY W/ DECALS 295.00
78793-00 KIT, WT-1610 OWNERS 0.00
78794-00 KIT, WT-1610T OWNERS 0.00
78795-00 KIT, WT-1610HSP OWNERS 0.00
78810-00 ASSEMBLY, BODY W/DECALS WT-1610 115.00
78811-00 ASSEMBLY, BODY W/ DECALS WT-1610T 115.00
78812-00 ASSEMBLY, BODY W/ DECALS WT-1610HSP 115.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



78822-00 KIT, 3 IN DEBRIS SCREEN - STANDARD 90.00
78826-00 KIT, 3 IN DEBRIS SCREEN NARROW - STANDARD 67.00
78837-00 KIT, SC BLADES ECHO 73.00
78838-00 KIT, WIDE SHREDDER ECHO 180.00
78839-00 KIT, NARROW SHREDDER ECHO 145.00
78841-00 KIT, SPARK ARRESTER HONDA TRIMMER 38.50
78843-00 KIT, SPARK ARRESTER BRIGGS 208CC 38.50
78844-00 KIT, SPARK ARRESTER BRIGGS 306/420CC 38.50
78846-00 KIT, SPARK ARRESTER BRIGGS TRIMMER 38.50
78858-00 ASSEMBLY, 8" BOBCAT INFEED CHUTE W/ DECALS 362.98

80023 SPACER, RH 7.75
09-000-018 NUT, REPLACEMENT 3/4" THREADED AXLES OBS use 0.00
30970-00 SALES RESOURCE, PRESSURE WASHERS AND GENERA  0.00
30971-00 SERVICE RESOURCE, PRESSURE WASHERS AND GENE  0.00
30972-00 SALES RESOURCE, ALL CHORE PRODUCTS 6.98
30973-00 SERVICE RESOURCE, ALL CHORE PRODUCTS 11.45
33370-00 MANUAL, ANNOVI REVERBERI, PUMPS TECH 4.98

85-571-401E MUFFLER ASSEMBLY OBS use 90950000BE 0.00
85-571-402E FUEL TANK OBS use 90950002BE 0.00
85-571-403E FUEL CAP REPAIR KIT OBS use 90900002BE 0.00
85-571-404E FUEL COCK ASSY OBS use 90900005BE 0.00
85-571-405E FRAME ASSY, ENGINE OBS use 90950003BE 0.00
85-571-406E CUSHION, FRAME ENGINE OBS use 90900008BE 0.00
85-571-407E GN7100E FEET ASSEMBLY OBS use 90950004BE 0.00
85-571-408E BATTERY (GN7100E) OBS use 90950005BE 0.00
85-571-409E CONTROL PANEL SUBASSEMBLY OBS use 90950010B 0.00
85-571-410E SWITCH ASSEMBLY OBS use 90950007BE 0.00
85-571-411E SOCKET SET OBS use 90900012BE 0.00
85-571-412E BREAKER SET GN7100E OBS use 90950008BE 0.00
85-571-413E MOTOR ASSEMBLY OBS use 90950012BE 0.00
85-571-414E VOLTAGE REGULATOR OBS use 90950011BE 0.00
85-571-415E MOTOR BRACKET OBS use 90950013BE 0.00
85-571-416E WHEEL AND HANDLE TUBE ASSEMBLY OBS use 9090   0.00
85-571-417E WHEEL ASSEMBLY OBS use 90900018BE 0.00
85-571-418E HANDLE TUBE ASSY OBS use 90900019BE 0.00
85-571-450 MUFFLE ASSY OBS USE 90900000BE 0.00
85-571-451 FUEL TANK OBS USE 90900001BE 0.00
85-571-452 FUEL CAP REPAR KIT OBS use 90900002BE 0.00
85-571-453 FUEL COCK ASSY OBS use 90900005BE 0.00
85-571-454 FRAME ASSY, ENGINE OBS use 90900007BE 0.00
85-571-455 FEET ASSEMBLY OBS use 90900009BE 0.00
85-571-456 CONTROL PANEL SUBASSEMBLY OBS use 90900014B 0.00
85-571-457 SWITCH ASSEMBLY OBS use 90900011BE 0.00
85-571-458 SOCKET SUBASSM, POWER SUPPLY GN5200 OBS use 0.00
85-571-459 MOTOR ASSEMBLY OBS use 90900016BE 0.00
85-571-460 VOLTAGE REGULATOR OBS use 90900015BE 0.00
85-571-461 MOTOR BRACKET OBS use 90900017BE 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



85-571-462 WHEEL AND HANDLE TUBE ASSEMBLY OBS use 9090   0.00
85-571-463 WHEEL ASSEMBLY OBS use 90900018BE 0.00
85-571-464 HANDLE TUBE ASSY OBS use 90900019BE 0.00
85-591-018 ROLLOVER VALVE, 212CC ENGINE 15.98
85-591-050 SPARK PLUG - OBS use 90200003BE 0.00
85-591-051 IGNITION ASSY - OBS use 90200010BE 0.00
85-591-052 COIL SOLENOID - OBS use 90200011BE 0.00
85-591-053 MUFFLER ASSY - OBS use 90200020BE 0.00
85-591-054 AIR CLEANER ASSY - OBS use 90200021BE 0.00
85-591-055 SPONGE SPARSITY - OBS use 90200022BE 0.00
85-591-056 GASKET, CARBURETOR - OBS use 90200024BE 0.00
85-591-057 RECOIL STARTER COMP - OBS use 90200026BE 0.00
85-591-058 SPEED-REGULATED OBS use 90200025BE 0.00
85-591-059 FUEL TANK - OBS use 90200027BE 0.00
85-591-060 FUEL FILTER OBSOLETE 0.00
85-591-061 NOTE OIL GUM SET OBS use 90200028BE 0.00
85-591-062 FUEL COCK COMPLETE - OBS use 90200032BE 0.00
85-591-063 INVERTER ASSY OBS use 90200036BE 0.00
85-591-064 COMBINATION SWITCH OBS use 90200045BE 0.00
85-591-065 HANDLE OBS use 90200064BE 0.00
85-591-066 CONTROL PANEL ASSY OBS use 90200043BE 0.00
85-591-067 HARNESS ASSY, WIRE OBS use 90200052BE 0.00
85-591-068 RECTIFIER BRIDGE OBS use 90200037BE 0.00
85-591-069 CAP/GASKET ASSY, TANK OBS use 90200034BE 0.00
85-591-071 CARBURETOR ASSY- OBS use 90200023BE 0.00
85-591-238 BATTERY OBS use 85-591-260 0.00
85-591-243 LEFT AND RIGHT COVER OBS use 90100052BE OR 90 0.00
85-591-245 HEAD GASKET ASSY OBS use 90100001BE 0.00
85-591-246 OIL DIP STICK OBS use 90100003BE 0.00
85-591-247 RECOIL KIT OBS use 90100007BE 0.00
85-591-248 CARBURETOR ASSY OBS use 90100008BE 0.00
85-591-251 RUBBER FEET 1.00
85-591-252 FUEL CUP W/ FILTER OBS use 90100051BE 0.00
85-591-253 FUEL TANK OBS use 90100020BE 0.00
85-591-254 FUEL COCK ASSY OBS use 90100021BE 0.00
85-591-255 STARTER, MOTOR OBS use 90100030BE 0.00
85-591-256 SOCKET KIT OBS use 90100032BE 0.00
85-591-257 WHEEL KIT OBS use 90100043BE 0.00
85-591-258 MUFFLER COVER OBS use 90100045BE 0.00
85-591-259 AIR FILTER KIT OBS use 90100013BE 0.00
85-591-260 BATTERY, IG3500E OBS use 90100016BE 0.00
85-610-233 MANUAL, BEARCAT GN7100E OBS use 90950014BE 0.00
85-790-034 HEAD ROTARY 16" YELLOW 196.98
90000000BE HEAD COVER ASSY W/GASKET 12.00
90000001BE BREATHER TUBE 0.98
90000002BE BREATHER CAP/GASKET/FILTER 4.98
90000003BE SPARK PLUG 7.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90000004BE EXHAUST STUDS 0.98
90000005BE EXHAUST GASKET 1.98
90000006BE CYLINDER HEAD 55.98
90000007BE AIR DEFLECTOR 9.98
90000008BE INTAKE STUDS {212cc Engine} 2.98
90000009BE HEAD GASKET & SEAL ASSY 18.98
90000010BE PUSH ROD 2.98
90000011BE INT/EXH VALVE KIT 38.98
90000012BE OIL CAP W/DIPSTICK 2.98
90000013BE CAMSHAFT W/LIFTER 39.98
90000014BE CRANKSHAFT ASSY 62.98
90000015BE OIL LEVEL SENSOR 12.98
90000016BE PISTON RING ASSY 30.98
90000017BE CONNECTING ROD 14.98
90000018BE SPEED REG. BRACKET 2.98
90000019BE GOVERNOR ASSY 5.98
90000020BE DRAIN PLUG W/WASHER 1.98
90000021BE LOW ENGINE OIL SHUTOFF 4.98
90000022BE FLYWHEEL, ENGINE 36.98
90000023BE STARTER IMPELLER W/PULLY & NUT 15.98
90000024BE IGNITION COIL ASSY 25.98
90000025BE STARTER RECOIL COVER OBS USE 90000040BE 0.00
90000026BE RECOIL 31.98
90000027BE IGNITION STOP SWITCH 3.98
90000028BE THROTTLE HANDLE 6.98
90000029BE FUEL TANK ASSY W/HARDWARE 57.98
90000030BE FUEL TANK FILTER 1.98
90000031BE FUEL TANK CAP 45.98
90000032BE FUEL TANK DRAIN PLUG 11.98
90000033BE THROTTLE/GOVERN SPRING W/ROD 1.98
90000034BE CARBURETOR GASKETS 3.98
90000035BE CARBURETOR W/GASKETS 57.98
90000036BE CARB. INSULATOR 1.98
90000037BE AIR FILTER ASSY 19.98
90000038BE MUFFLER ASSY 29.98
90000039BE PTO KEY 1.98
90000040BE ASSY, RECOIL, ORANGE FAN SHROUD & ON/OFF SWI 56.98
90000041BE MANUAL, 212CC ENGINE 2.98
90000042BE MANUAL, 212CC ENGINE OBS USE 90000041BE 0.00
90000043BE AIR FILTER, 212CC ENGINE 6.00
90000044BE BEARING, 212CC BEAR CAT ENGINE 18.98
90100000BE BREATHER TUBE 0.98
90100001BE HEAD GASKET & SEAL ASSY 14.98
90100002BE INTAKE STUDS {IG3500E} 1.98
90100003BE OIL CAP W/DIPSTICK 3.98
90100005BE OIL LEVEL SENSOR 20.98
90100006BE CRANKSHAFT ASSY 53.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90100007BE ASSY, RECOIL W/COVER 56.98
90100008BE CARBURETOR ASSY W/GASKETS 58.98
90100009BE CARBURETOR GASKETS 6.98
90100010BE CARB CHOKE BRACKET 8.98
90100011BE SPEED REG.STEP MOTOR 22.98
90100012BE AIR FILTER 5.98
90100013BE AIR FILTER ASSY 25.98
90100014BE MUFFLER ASSY 135.98
90100015BE INVERTER ASSY 1262.98
90100016BE BATTERY IG3500E 124.98
90100017BE DC, RECTIFIER 27.98
90100018BE FUEL TANK FILTER 2.98
90100019BE SPILL GUARD 17.98
90100020BE FUEL TANK, (IG3500E CARB APPROVED) 75.98
90100021BE FUEL COCK 6.98
90100022BE FUEL LINE W/CLAMPS 24.98
90100023BE CHOKE CABLE ASSY 46.98
90100024BE ON/OFF/CHOKE KNOB 3.98
90100026BE STARTER PULLEYSS 10.98
90100027BE MOTOR FAN 10.98
90100028BE ALTERNATOR/FLYWHEEL 437.00
90100029BE IGNITION COIL 47.98
90100030BE STARTER 141.98
90100031BE CONTROL PANEL ASSY 201.98
90100032BE SOCKET SWITCH KIT OBS USE 90100064BE OR 90100 0.00
90100033BE RED GRID SOCKET W/CAP 13.98
90100034BE BLACK GRID SOCKET W/CAP 13.98
90100035BE STOP SWITCH W/CAP 11.98
90100036BE COMBO SWITCH ASSY 51.98
90100037BE DC SOCKET 17.98
90100038BE DIGITAL DISPLAY METER 107.98
90100039BE CIRCUIT BREAKER 20.98
90100040BE PANEL 37.98
90100041BE HARNESS WIRE ASSY 90.98
90100042BE FRAME SHOCK ABSORBERS 30.98
90100043BE WHEEL KIT 58.98
90100044BE FRAME 80.98
90100045BE MUFFLER COVER 42.98
90100046BE OIL EXAM WINDOW 5.98
90100047BE LEFT SIDE COVER 88.98
90100048BE RIGHT SIDE COVER 104.98
90100049BE SCREW GROMMET COVER 0.98
90100050BE IGNITOR MODULE 42.98
90100051BE FUEL FILLER CAP 10.98
90100052BE LEFT SIDE COVER OBS USE 90100068BE OR 9010006 0.00
90100053BE RIGHT SIDE COVER OBS USE 90100070BE OR 901000   0.00
90100054BE MANUAL, 3500W INVERTER OBS USE 90100055BE 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90100055BE MANUAL, 3500W INVERTER 2.98
90100056BE STORAGE BATTERY MAINTENANCE COVER 7.98
90100057BE HIGH ALTITUDE CARB JET, BEARCAT 212CC ENGINE 10.98
90100058BE SPARK ARRESTOR FOR 3500 WATT INVERTER 14.98
90100060BE DC CHARGING CABLES, 2000W & 3500W INVERTERS 15.00
90100061BE RECTIFIER BRIDGE 15.98
90100062BE BEARING 6205 18.98
90100063BE BATTERY STRAP, IG3500E 5.98
90100064BE 120V 25A TWISTLOCK 15.98
90100065BE 120V 20A POWER SOCKET 48.98
90100066BE WATERPROOF BREAKER COVER 6.98
90100067BE AC CIRCUIT BREAKER (20 Amp) 11.98
90100068BE LEFT SIDE APPEARANCE COVER 46.98
90100069BE LEFT SIDE GENERATOR COVER 66.98
90100070BE RIGHT SIDE GENERATOR COVER 66.98
90100071BE RIGHT SIDE APPEARANCE COVER 54.98
90100072BE RECOIL HANDLE COVER 13.98
90100073BE AC CIRCUIT BREAKER (30 Amp) 23.98
90100074BE WHEEL BRAKE KIT, IG3500E 40.98
90100075BE FRAME PILLARS, FULL SET LEFT & RIGHT 71.98
90100076BE RECOIL, IG3500E 51.98
90100077BE ASSY, CARBON CANISTER W/ BRACKET 57.98
90150000BE COMPLETE 3" PUMP KIT 1677.98
90150001BE SCREW PLUG FOR PRIMING 3.98
90150002BE PUMP CASING 143.98
90150003BE WHORL CASE KIT 188.98
90150004BE SEAL KIT 68.98
90150005BE IMPELLER 61.98
90150006BE INLET/OUTLET KIT 86.98
90150007BE PUMP BODY 774.98
90150008BE SPRING PLATE HARDWARE 36.98
90150009BE HARDWARE KIT, 3" TP 44.98
90150010BE PUMP CASING SPRING PLATE 41.98
90150011BE COMPLETE PUMP REBUILD KIT 138.98
90150012BE ENGINE MAINT. KIT, HONDA GX270 50.98
90150500BE COMPLETE 4" PUMP KIT 1887.98
90150505BE INLET/OUTLET KIT 99.98
90150509BE HARDWARE KIT 151.98
90155000BE COMPLETE 2" PUMP KIT 629.98
90155001BE INLET/OUTLET KIT 117.98
90155002BE SEAL KIT 45.98
90155003BE SCREW PLUG FOR PRIMING 2.98
90155004BE PUMP BODY 122.98
90155005BE IMPELLER 31.98
90155006BE WHORL CASE 106.98
90155007BE PUMP CASING 94.98
90155008BE WIRE LOCK CLAMP KIT 15.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90155009BE PUMP CASING SPRING PLATE 31.98
90155010BE SPRING PLATE HARDWARE 21.15
90155011BE HARDWARE KIT 12.98
90155012BE COMPLETE PUMP REBUILD KIT 78.98
90200000BE CYLINDER HEAD 49.98
90200001BE EXHAUST STUDS 1.00
90200002BE INTAKE STUDS {IG2000} 2.98
90200003BE SPARK PLUG 6.98
90200004BE HEAD GASKET & SEAL ASSY 16.98
90200005BE HEAD COVER ASSY 6.98
90200006BE BREATHER CAP/GASKET/FILTER 2.98
90200007BE BREATHER TUBE 7.98
90200008BE CRANKSHAFT ASSY 52.98
90200009BE OIL CAP W/DIPSTICK 1.98
90200010BE IGNITION ASSY 49.98
90200011BE IGNITION CHARGE COIL 23.98
90200012BE FLYWHEEL 59.98
90200013BE FLYWHEEL FLANGE NUT 1.98
90200014BE CONNECTING ROD ASSY 13.98
90200015BE PISTON & RING ASSY 24.00
90200016BE CAMSHAFT W/LIFTERS 31.98
90200017BE PUSH ROD 3.98
90200018BE INT/EXH VALVE KIT 40.98
90200019BE EXHAUST GASKET 0.98
90200020BE MUFFLER ASSY 89.98
90200021BE AIR FILTER ASSY 22.98
90200022BE AIR FILTER ELEMENT 1.98
90200023BE CARBURETOR ASSY W/GASKETS 64.98
90200024BE CARBURETOR GASKETS 2.98
90200025BE GOVERNOR ACTUATOR 28.98
90200026BE ASSY, RECOIL W/COVER 36.98
90200027BE FUEL TANK 88.98
90200028BE SPILL GUARD 6.98
90200029BE TANK CUSHIONS 3.98
90200030BE FUEL FILTER W/SCREEN 6.98
90200031BE FUEL SWITCH 5.98
90200032BE FUEL COCK 2.98
90200033BE FUEL FILTER W/TUBING & CLAMPS 27.98
90200034BE FUEL FILLER CAP 31.98
90200035BE ALTERNATOR ASSY 241.98
90200036BE INVERTOR ASSY 779.98
90200037BE RECTIFIER BRIDGE 24.98
90200038BE CHOKE W/CABLE ASSY 24.98
90200039BE OUTER COVER ASSY 210.98
90200040BE SPARK PLUG MAINT. COVER 2.98
90200041BE FRAME ASSY 122.98
90200042BE FRAME SHOCK ABSORBERS 20.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90200043BE CONTROL PANEL 9.98
90200044BE LED INDICATOR LIGHT 20.98
90200045BE DEACTIVATION SWITCH 9.98
90200046BE POWER SOCKET 37.98
90200049BE DC SOCKET 16.98
90200050BE GROUND 6.98
90200051BE SWITCH 11.98
90200052BE HARNESS WIRE ASSY 33.98
90200053BE PANAL 18.98
90200054BE OUTER COVER ASSEMBLY 210.98
90200055BE MANUAL, 2000W INVERTER 4.98
90200056BE MANUAL, 2000W INVERTER 1.98
90200058BE HIGH ALTITUDE CARB JET, IG2000 6.98
90200059BE LEASH HANDLE ADORNMENT HOOD 11.98
90200060BE LEFT APPEARANCE COVER PLATE (Recoil Side) 39.98
90200061BE RIGHT APPEARANCE COVER PLATE 43.98
90200063BE SHUTTER 23.98
90200064BE RECOIL HANDLE 42.98
90200065BE RECOIL, IG2000 20.98
90200066BE MOTOR FAN 13.98
90250000BE HOSE SET, SUCTION 12FT 2" 109.98
90250001BE FOOT VALVE POLY 2" 15.98
90250002BE FIRE HOSE ASSY 1.5" X 50' 123.98
90250003BE NOZZLE FIRE 1.5" FOG/STREAM 16.98
90250004BE ADAPTOR FIRE HOSE X 1.5" MNPT 12.98
90250005BE ADAPTOR FIRE HOSE x1.5" FNPSH 12.98
90250006BE ADAPTER REDUCING 2" X 1.5" 49.98
90250007BE PRIMING JUG HOLDER 27.98
90250008BE PRIMING JUG, FIRE CART 7.98
90250009BE NEW FIRE CART WHEELS,123 FRAME 63.98
90250010BE HANGER,SUCTION HOSE 14.98
90250011BE PUMP ASSY 2" HIGH PRESSURE 288.98
90250012BE FIRE CART 2" W/ ORANGE FRAME 384.98
90250013BE KIT, 2" HP WP, PUMP REBUILD 190.98
90250014BE SCREW PLUG, FOR PRIMING PUMP 12.98
90250015BE IMPELLER, 2" HP WP 100.98
90250016BE SEAL KIT, 2" HP WP 48.98
90250017BE INLET/OUTLET, 2" HP WP 67.98
90250018BE PUMP BODY, 2" HP WP 57.98
90250019BE VOLUTE, 2" HP WP 26.98
90250020BE WATER PUMP CASING, 2" HP WP 52.98
90250021BE HARDWARE KIT, 2" HP WP 33.98
90250022BE WIRE LOCK CLAMP KIT, 2"HP WP 15.98
90250023BE ENGINE MOUNTING HDWR, 2"HP WP 2.98
90250024BE WHEEL MOUNTING HARDWARE 18.98
90250026BE CLAMP 2" WIRE HOSE 2.00
90250027BE OUTLET KIT - 2" FIRE CART, FP2126 35.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90250028BE INLET KIT- 2" FIRE CART, FP2126 34.98
90300000BE NOZZLE, MEG 25 DEG-020 4.98
90300001BE COVER FOR 14" WAW 25.98
90300002BE ARM, ROTARY FOR 14" WAW 25.98
90300003BE HEAD ROTARY 14" 82.98
90300004BE BRUSH SKIRT FOR 14" WAW 17.98
90300005BE COLLAR, ROTARY HEAD MOUNT 21.98
90300006BE HEAD ROTARY 16" & 20"  YELLOW 310.98
90300007BE BRACKET, WAW HANDLE MOUNT 25.98
90300008BE HOSE, WHIRL-A-WAY 62"X3/8" 63.98
90300009BE GUN, EASY PULL WHIRL-A-WAY 68.98
90300010BE PLUG, 3/8"QD MNPT STEEL 1.98
90300011BE HANDLE SET FOR 16" 182.98
90300012BE FOAM GRIP, FOR WAW 1.98
90300013BE BRUSH 16" 74.98
90300014BE POLYPROPYLENE 16" COVER 32.98
90300015BE 16" ROTARY ARM 28.98
90300016BE NOZZLE, MEG 25 DEG-025 4.98
90300017BE SLEEVE FOR DC5090 WAW GUN 7.98
90300018BE DECAL, FOR 14" WAW COVER 3.98
90300020BE DECAL, FOR 16" WAW COVER 5.98
90300026BE HOSE SET,DISCHARGE 50FT 1" 65.98
90300027BE O'RING, M22 FITTING 0.98
90300028BE FOOT ACTUATED VALVE 3000 PSI 267.98
90300031BE KNOB, UNLOADER 9.98
90300032BE UNLOADER KNOB 41.98
90300033BE UNLOADER STEM KIT 32.98
90300034BE INLET KIT 36.98
90300035BE IGNITION KEYS     VI-6500W 13.98
90300036BE HEAD BOLT M8X45 2.98
90300037BE GUN, LW (THREAD TYPE) 51.98
90300038BE LEVER LOCK,18'&24' LW FRNT 5.98
90300039BE LEVER LOCK,18'&24' LW BACK 8.98
90300040BE ROTARY NOZZLE ASSY, #3.0 36.98
90300041BE HOSE, 18FT  1/4" LONG WAND 46.98
90300042BE M22 MALE, 3/8" MNPT 4.98
90300043BE GENERATOR CORD, 25' 30 AMP 108.98
90300044BE GENERATOR CORD, 25' 30 AMP 125.98
90300045BE GENERATOR CORD, 25' 30 AMP 110.98
90300046BE GEN. CORD Y ADAPTER, 3' 30 AMP 37.98
90300047BE GENERATOR RV PLUG ADAPTER 9.98
90300048BE GEN. CORD, 50' HEAVY DUTY 194.98
90300049BE GEN. CORD, 100' HEAVY DUTY 362.98
90300050BE ENGINE, 15HP G420F EPA3 805.00
90300051BE ELBOW 1/4" MXF 90DEG NPT 7.98
90300052BE LANCE, FRONT ASSY, FIB LW 17.98
90300053BE SCREW-TYPE, M22x3/4"MNPT 7.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90300054BE ADAPTER,25MM CRMPx3/4"FNPT 7.98
90300055BE CLIP, POP DISPLAY (BLACK) 2.98
90300057BE WASHER, FILTER 1/2"GHA 0.98
90300058BE MANUAL, WHIRL-A-WAY 14" 7.98
90300059BE MANUAL, WHIRL-A-WAY 16" 7.98
90300060BE ADAPTER SET,3/8MNPTx3/4FGHT 7.98
90300061BE ADAPTER KIT,1/2MNPTx3/4FGHT 8.98
90300066BE 3/8” HOSE AND COUPLER ORING 0.98
90300067BE 1/4” HOSE AND COUPLER ORING 0.98
90300068BE Nozzle, MEG 65 DEG #013 Waterbroom 6.98
90350000BE KIT, AR RRV4G42 PUMP REBUILD 417.98
90350001BE UNLOADER, VRT3 4500 PSI 93.98
90350002BE KUS VALVE 83.98
90350003BE PISTON KIT 226.98
90350004BE WATER SEAL KIT 103.13
90350005BE OIL SEAL KIT 27.88
90350006BE O-RING KIT 19.98
90350007BE INJECTOR, 3/8" QC SS/BR 28.98
90350008BE PISTON GUIDE SEAL KIT 67.98
90350009BE BYPASS HOSE 36" W/FITTINGS 9.98
90350010BE ZIP TIE, 11" BLACK 0.98
90350011BE FILTER, CLEAR (2 PORTS) 32.98
90350012BE COUPLER, 3/8" QC MNPT BRASS 7.98
90350013BE SOAP HOSE, 3FT W/FILTER 3.98
90350014BE PUMP, COMPLETE AR RRV4G42 690.98
90350015BE COUPLER, 3/8" FNPT 8.98
90400000BE ENGINE MAINT. KIT 48.98
90400001BE FRAME SMALL ORANGE W/O WHEELS 144.98
90400002BE DECAL, HANDLE/NOZZLE 1.98
90400003BE DECAL,WARNING 3.98
90400004BE DECAL, OPERATIONAL 7.98
90400005BE HANGER,ON LEFT SIDE OF FRAME 5.98
90400006BE HANGER,ON RIGHT SIDE OF FRAME 5.98
90400007BE KNUCKLE, PLASTIC w/ BOLT 3.25
90400008BE LANCE CLIP, REPLACEMENT 2.98
90400009BE FOOT,RUBBER W/ VIB. DAMPNR,GRY 3.13
90400010BE WASHER SPLIT LOCK, 5/16" 0.98
90400011BE WHEEL,LG FOAM FILL 10"BLK TIRE 19.98
90400012BE SET PRESSURE WASHER ACC. OBSOLETE 0.00
90400013BE PUMP ASSY RMV25G30D-EZ BOXED 277.98
90400014BE KIT, AR RMV25G30D PUMP REBUILD 78.98
90400015BE MOUNTING BOLT/WASHER, PUMP 0.98
90400016BE UNLOADER KNOB 7.98
90400017BE DECAL, HANDLE/NOZZLE ECHO ONLY DO NOT SELL 0.00
90400018BE DECAL,WARNING ECHO ONLY DO NOT SELL 0.00
90400019BE DECAL, OPERATIONAL ECHO ONLY DO NOT SELL 0.00
90400020BE UNLOADER KIT, PUMP 75.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90400021BE VALVE KIT, PUMP 29.98
90400022BE PISTON KIT, PUMP 65.98
90400023BE WATER SEAL KIT, PUMP 26.98
90400024BE OIL SEAL KIT, PUMP 20.98
90400025BE ORING KIT, PUMP 16.75
90400026BE INJECTOR KIT 18.98
90400027BE NOZZLE GROMMET 0.98
90400028BE FACEPLATE BOLT 0.98
90400029BE FACEPLATE NUT 0.98
90400030BE WASHER, FLAT M20 0.98
90400031BE NUT, NYLOCK M18-2.5 x 12mm 0.98
90400032BE SIDE HANDLE, H-STYLE GUN 4.00
90400033BE MANUAL, PRESSURE WASHERS 6.98
90400035BE UPPER HANDLE ASSEMBLY 42.98
90400036BE LOWER HANDLE ASSEMBLY 82.98
90400037BE UPPER HANDLE ASSEMBLY 41.98
90400038BE LOWER HANDLE ASSEMBLY 101.98
90400040BE EZ START, PUMP RELIEF KIT 13.98
90450000BE DECAL SET, 4" WP 20.98
90450001BE BOX LABEL, 4" WP 20.98
90450002BE PUMP ASSY,4",ORNG,W/ DECAL PLT 437.98
90450003BE HOSE SET,DISCHARGE 50FT 4" 308.00
90450004BE HOSE SET, SUCTION 25FT 4" 489.00
90450005BE PLASTIC STRAINER 4", HD 24.98
90450006BE CAMLOCK 4", TYPE A 28.98
90450007BE CAMLOCK 4", TYPE C 47.98
90450008BE CAMLOCK 4", TYPE E 49.98
90450009BE KIT, 4" WP, PUMP REBUILD 90.98
90450010BE WATER PUMP CASING, 4" WP 61.98
90450011BE IMPELLER 4" WP ASSY 22.98
90450012BE PUMP BODY 4" WP ASSY 121.98
90450013BE SEAL KIT 4" WP ASSY 35.98
90450014BE INLET/OUTLET 4" WP ASSY 42.98
90450015BE SCREW PLUG FOR PRIMING PUMP, 4"WP 1.98
90450016BE WHORL CASE, 4" WP ASSY 47.98
90450017BE HARDWARE KIT, 4" WP 45.98
90450018BE WIRE LOCK CLAMP KIT, 4" WP 54.98
90450019BE FRAME, 4" WP 90.98
90450020BE STRAINER, FOR 4" TP 117.00
90500000BE KIT 5 - GFCI 58.98
90500001BE TURBO LANCE/NOZZLE 21.98
90500002BE KIT 3 - WHEEL ASSEMBLY W/GUARD 5.98
90500003BE HOSE, 20FT 48.98
90500004BE ACCESSORY BRACKET 3.98
90500005BE KIT 1 - HANDLE ASSEMBLY 42.98
90500006BE HIGH/LOW LANCE/NOZZLE 16.98
90500007BE KIT 4 - DETERGENT TANK 8.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90500008BE MALE GARDEN HOSE ADAPTER - PW1813E 10.98
90500009BE KIT 2 - HOSE REEL ASSEMBLY 16.98
90500010BE SPRAY GUN  ASSEMBLY 50.13
90500011BE KIT 6 - EXTENSION CORD HOOK 1.98
90500012BE KNOB, ON/OFF SWITCH PW1813E 2.63
90500013BE LANCE HOLDER 2.98
90500014BE REAR COVER 41.98
90500015BE PUMP MOTOR ASSY 265.00
90500017BE PRESSURE WASHER Q/C FILTER 5.98
90500018BE FRONT COVER BEARCAT ONLY 32.98
90500019BE NOZZLE TRAY 2.98
90500020BE MANUAL, PW1813E 7.98
90510000BE HANDLE ASSEMBLY 67.98
90510001BE HOSE REEL ASSEMBLY 34.98
90510002BE WHEEL ASSEMBLY W/ GUARD 10.98
90510003BE DETERGENT TANK 11.98
90510004BE GFCI PLUG 110V OBS use 90500000BE 0.00
90510006BE PRESSURE HOSE, PW2014E 58.98
90510007BE KNOB, ON/OFF SWITCH PW2014E 9.98
90510008BE LANCE HOLDER 5.98
90510009BE NOZZLE TRAY 5.98
90510010BE ACCESSORY BRACKET FOR COVER 50.98
90510011BE REAR COVER 42.98
90510012BE PUMP MOTOR ASSEMBLY 359.98
90510013BE FRONT COVER 43.98
90510014BE NOZZLE CLIP, PW2014E 6.98
90510015BE NOZZLES KIT, PW2014E 37.98
90510016BE ROTARY NOZZLE, PW2014E 62.90
90510017BE LANCE, PW2014E 60.98
90510018BE SPRAY GUN ASSEMBLY, PW2014E 46.98
90510019BE GARDEN HOSE ADAPTER, PW2014E 14.98
90550000BE DECAL,PLATE DECAL BEARCAT 9.98
90550001BE BOX LABEL  BEAR CAT 3"PUMP 16.98
90550002BE PUMP ASSY 3" W/ ORANGE FRAME 266.98
90550003BE PLASTIC STRAINER 3", HD 14.98
90550004BE KIT, 3" WP, PUMP REBUILD 39.98
90550005BE WATER PUMP CASING, 3" WP 54.98
90550006BE IMPELLER, 3" WP 15.98
90550007BE PUMP BODY, 3" WP 56.98
90550008BE SEAL KIT, 3" WATERPUMP 32.98
90550009BE INLET/OUTLET, 3" WP 46.98
90550011BE VOLUTE, 3" WP 34.98
90550012BE HARDWARE KIT, 3" WP 25.98
90550013BE WIRE LOCK CLAMP KIT, 3" WP 28.98
90550014BE FRAME, WP3264 82.98
90600000BE ENGINE KIT GX200 6.5HP BEARCAT 40.98
90600003BE OPERATIONAL DECAL 2.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90600004BE SET PRESSURE WASHER ACC. 135.00
90600005BE PUMP RSV3G31D-F25EZ BOXED 461.98
90600006BE PUMP REBUILD KIT,RSV3G31DF25EZ 209.98
90600009BE UNLOADER REPAIR KIT 90.98
90600010BE VALVE SET 57.98
90600011BE PISTON SET 187.98
90600012BE WATER SEAL SET 88.98
90600013BE OIL SEAL KIT 57.98
90600014BE O-RING KIT 14.98
90600015BE SUPPORT RING KIT 6.98
90650000BE DECAL, SPEC, ECHO BEAR CAT, TP 13.98
90650001BE BOX LABEL, ECHO BEAR CAT, TP 22.98
90650002BE PUMP ASSY 3"TRASH W ORANGE FRM 475.98
90650003BE HOSE SET,DISCHARGE 50FT 3" 210.00
90650004BE HOSE SET, SUCTION 25FT 3" 352.00
90650005BE KIT, 3" SEMI TP, PUMP REBUILD 97.98
90650006BE PUMP BODY, 3" TP 110.98
90650008BE "T" TYPE SCREW FOR 3" TP 32.98
90650009BE VOLUTE, 3" TP 90.98
90650010BE IMPELLER, 3" TP 30.98
90650011BE SEAL KIT, 3" TP 48.00
90650012BE TRASH PUMP CASING, 3" TP 84.98
90650013BE STRAINER, FOR 3" TP 70.98
90650014BE CAMLOCK 3", TYPE A 10.98
90650015BE CAMLOCK 3", TYPE C 31.98
90650016BE CAMLOCK 3", TYPE E 17.98
90650018BE FRAME, TP3264 83.98
90650019BE WIRE LOCK CLAMP KIT, 3" TP 25.00
90650020BE HARDWARE KIT, 3" TP 18.98
90700000BE ENGINE, 212C CARB EPA3 BEARCAT 358.00
90700001BE ENGINE KIT, LONCIN G210FA 27.98
90700003BE DECAL, OPERATIONAL BEARCAT 6.98
90700004BE SET  PRESSURE WASHER ACC. OBSOLETE 0.00
90700007BE DECAL, RECOIL 210CC BEARCAT 0.98
90700010BE KIT, SPLIT LANCE O-RING 0.98
90750000BE DECAL,PLATE DECAL BEARCAT 17.98
90750001BE BOX LABEL BEARCAT 2"PUMP 29.98
90750002BE PUMP ASSY 2" W/ ORANGE FRAME 211.98
90750003BE KIT, 2" WP, PUMP REBUILD 42.98
90750004BE WATER PUMP CASING, 2" WP 23.98
90750005BE IMPELLER, 2" WP 10.98
90750006BE PUMP BODY 2" WATER PUMP 37.98
90750007BE SEAL KIT, 2" WATERPUMP 25.98
90750008BE INLET/OUTLET, 2" WP 23.98
90750009BE SCREW PLUG, FOR PRIMING PUMP 1.98
90750010BE VOLUTE, 2" WP 35.98
90750012BE HOSE SET,DISCHARGE 50FT 2" 113.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90750013BE HOSE SET, SUCTION 25FT 2" 192.00
90750014BE PLASTIC STRAINER 2", HD 5.98
90750015BE HARDWARE KIT, 2" WP 9.98
90750016BE WIRE LOCK CLAMP KIT, 2" WP OBS use 90250022BE 0.00
90750017BE FRAME, WP2158 82.98
90750018BE MANUAL, WATER & TRASH PUMPS 6.98
90800000BE ENGINE KIT GX390 13HP 41.98
90800001BE FRAME, PW4000 134.98
90800002BE OPER'AL DECAL BEARCAT 3.98
90800003BE PUMP ASSY BOXED RSV4G40HDF40EZ 506.98
90800004BE KIT, AR RSV4G40 PUMP REBUILD 235.98
90800007BE UNLOADER KIT, PUMP 94.98
90800008BE VALVE SET 127.98
90800012BE SET  PRESSURE WASHER ACC. 208.00
90800014BE OIL CAP, AR PW PUMP RSV3G31D-F25EZ & RSV4G40 16.98
90850000BE DECAL SET,BEARCAT, TP 15.98
90850001BE BOX LABEL, BEARCAT, TP 13.98
90850002BE COMPLETE 2" PUMP KIT WITH FRAME (NO ENGINE) 427.98
90850003BE KIT, 2" TP, PUMP REBUILD 57.98
90850004BE PUMP BODY, 2" TP 104.98
90850005BE SCREW PLUG, FOR PRIMING PUMP 1.98
90850006BE "T" TYPE SCREW FOR 2" TP 29.98
90850007BE  SEAL KIT FOR 2" TP 35.98
90850008BE VOLUTE, 2" TP 97.98
90850009BE IMPELLER FOR 2" TP 25.98
90850010BE TRASH PUMP CASING, 2" TP 82.98
90850011BE HARDWARE KIT, 2" TP 13.98
90850013BE CAMLOCK 2", TYPE A 7.98
90850014BE CAMLOCK 2", TYPE C 16.98
90850015BE CAMLOCK 2", TYPE E 12.98
90850016BE FRAME, TP2158 83.98
90850017BE WIRE LOCK CLAMP KIT, 2" TP 15.98
90850018BE STRAINER, 2" TRASH PUMP 49.98
90900000BE MUFFLER ASSEMBLY 126.98
90900001BE FUEL TANK GN5200 W/DECAL 135.98
90900002BE FUEL CAP W/STRAINER 25.98
90900003BE FUEL GAUGE 7.98
90900004BE ROLL OVER VALVE KIT 18.98
90900005BE FUEL COCK 13.98
90900006BE FUEL/AIR HOSE 23.98
90900007BE FRAME ASSY, ENGINE 181.98
90900008BE FRAME/ENGINE CUSHION 30.98
90900009BE FRAME FOOT KIT 20.98
90900010BE CONTROL, PANEL 38.98
90900011BE POWER SWITCH ASSY 14.98
90900012BE POWER SOCKET ASSY 182.98
90900013BE BREAKER SET 53.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



90900014BE CONTROL PANEL SUBASSEMBLY 659.98
90900015BE VOLTAGE REGULATOR 50.98
90900016BE MOTOR ASSEMBLY 767.98
90900017BE MOTOR BRACKET 115.98
90900018BE WHEEL W/HARDWARE, EACH 64.24
90900019BE HANDLE KIT, EACH 19.98
90900020BE EXHAUST GASKET 1.98
90900022BE MANUAL, GN5200 9.98
90900023BE CUSHION, MUFFLER INSULATOR RUBBER 7.98
90900024BE MULTI METER 65.98
90900025BE VOLTAGE SWITCH 51.98
90900026BE KIT, FRAME SUPPORT SHOCK ABSORBER 5.98
90900027BE RUBBER GRIP 5.98
90900028BE ON/OFF SWITCH GN5200 9.98
90900029BE AUTO THROTTLE SWITCH SUBASSEMBLY 10.98
90950000BE MUFFLER ASSEMBLY 123.98
90950002BE FUEL TANK GN7100E W/DECAL 139.98
90950003BE FRAME ASSY, ENGINE 196.98
90950004BE FEET ASSEMBLY 21.98
90950005BE BATTERY, GENERATOR GN7100E 124.98
90950006BE CONTROL, PANEL 35.98
90950007BE POWER SWITCH ASSEMBLY 26.98
90950008BE BREAKER SET 81.98
90950010BE CONTROL, PANEL SUBASSY 673.98
90950011BE VOLTAGE REGULATOR 52.98
90950012BE MOTOR ASSEMBLY 924.00
90950013BE MOTOR BRACKET 114.98
90950014BE MANUAL, GN7100E 9.98
90950015BE SEAT, PANEL 35.98
90950016BE POWER SWITCH ASSY. 27.98
90950017BE AUTO THROTTLE SWITCH 10.98
90950018BE 120v 20A POWER SOCKET 200.98
90950019BE 120v 30A TWISTLOCK 26.98
90950020BE 120v/240V 30A TWISTLOCK 25.98
90950021BE AC OVER CURRENT BREAKER 40.98

96190000001 OIL, PUMP, 1 LITER 17.98
96190000002 GUN, WAND & COUP 900mm 108 GUN 73.00
96190000009 HOSE, 25' x 1/4" PACKAGED 85.00
96190000010 HOSE, 50FT 3/8" S/B BLK BRS QC 129.00
96190000012 VALVE, THERMAL 1/4" MNPT 145F 13.98
96190000016 HOSE, SOAP 3' W/FILTER PKGD 5.00
96190000019 KIT, COMPLETE COUPLER/PLUG 15.98
96190000020 O-RING AND FILTER SET 4.98
96190000021 OIL, PUMP, 1/2 LTR OBS use 96190000001 0.00
96190000034 KIT, AR RMV25G30D PUMP REBUILD 80.98
96190000035 KIT, AR RCV3G25D PUMP REBUILD OBS use 9060000 0.00
96190000036 KIT, AR RSV4G40 PUMP REBUILD OBS use 90800004 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



96190000037 ENGINE KIT, GC160 5HP OBS use 90400000BE 0.00
96190000038 ENGINE KIT, GX200 6.5HP OBS use 90600000BE 0.00
96190000039 ENGINE KIT, GX390 13HP OBS use 90800000BE 0.00
96190000040 KIT, 2" HP PUMP REBUILD OBS use 90250013BE 0.00
96190000041 KIT, 2" WP PUMP REBUILD OBS use 90750003BE 0.00
96190000042 KIT, 2" SEMI TP PUMP REBUILD OBS use 90850003BE 0.00
96190000043 KIT, 3" WP PUMP REBUILD OBS use 90550004BE 0.00
96190000044 KIT, 3" SEMI TP PUMP REBUILD OBS use 90650005BE 0.00
96190000045 KIT, 4" WP PUMP REBUILD OBS use 90450009BE 0.00
96190000046 CRARY PUMPS/PRESSURE CATALOGUE, ENGLISH OBS 0.00
96190000047 CRARY PUMPS/PRESSURE CATALOGUE, FRENCH OBS 0.00
96190000049 HOSE ASSY FIRE 1.5" X 50' OBS use 90250002BE 0.00
96190000051 NOZZLE FIRE 1.5" FOG/STREAM OBS use 90250003B 0.00
96190000052 FIRE CHARGE SUCTION 12' COMPLETE W/ FITTINGS O   0.00
96190000054 ADAPTOR, FIRE HOSE 1.5" MNPT OBS use 90250004B 0.00
96190000055 ADAPTOR, FIRE HOSE 1.5" FNPSH OBS use 90250005 0.00
96190000056 ADAPTOR, REDUCING 2" X 1.5" OBS use 90250006BE 0.00
96190000057 ADAPTOR, 2" FEMALE NPT OBS use 90850013BE 0.00
96190000058 PRIMING JUG HOLDER OBS use 90250007BE 0.00
96190000059 PRIMING JUG (1 GAL) OBS use 90250008BE 0.00
96190000060 COMPLETE 2" PUMP KIT WITH FRAME AND WHEELS   0.00
96190000061 FRAME, PW2700 & PW3000 OBS use 90400001BE 0.00
96190000062 10” WHEEL OBS use 90400011BE 0.00
96190000063 PUMP ASSY, RMV25G30D EZ BOXED OBS USE 90400 0.00
96190000064 WATER SEAL SET, PW2700 OBS use 90400023BE 0.00
96190000065 OIL SEAL SET, PW2700 OBS use 90400024BE 0.00
96190000066 VALVE SET, PW2700 OBS use 90400021BE 0.00
96190000067 ACCESSORY KIT, PW2700 OBSOLETE 0.00
96190000068 PUMP ASSY, RSV3G31D-F25EZ BOXED OBS use 90600 0.00
96190000069 WATER SEAL SET, PW3000 & PW4000 OBS use 90600 0.00
96190000070 OIL SEAL SET, PW3000 & PW4000 OBS use 90600013 0.00
96190000071 VALVE SET, PW3000 OBS use 90600010BE 0.00
96190000072 ACCESSORY KIT, PW3000 OBS use 90800012BE 0.00
96190000073 COUPLER, 1/4” BRASS QUICK CONNECT 7.98
96190000074 FRAME, PW4000 OBS use 90800001BE 0.00
96190000075 PUMP, AR RSV4G40HDF40EZ OBS USE 90800003BE 0.00
96190000076 VALVE SET, PW4000 OBS use 90800008BE 0.00
96190000077 COMPLETE 2" PUMP KIT WITH FRAME (NO ENGINE)   0.00
96190000078 COMPLETE 2" PUMP KIT WITH FRAME (NO ENGINE)   0.00
96190000079 COMPLETE 2" PUMP KIT WITH FRAME (NO ENGINE)   0.00
96190000080 COMPLETE 3" PUMP KIT WITH FRAME (NO ENGINE)   0.00
96190000081 COMPLETE 4" PUMP KIT WITH FRAME (NO ENGINE)   0.00
96190000083 HANGER FOR FP2126 OBS use 90250010BE 0.00
96190000084 HANGER, RIGHT OBS use 90400006BE 0.00
96190000085 HANGER, LEFT OBS use 90400005BE 0.00
96190000086 FOOT VALVE POLY 2" OBS use 90250001BE 0.00
96190000087 FIRE CART WHEELS OBS use 90250009BE 0.00

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23



96190000088 STRAINER FOR 2" WP OBS use 90750014BE 0.00
96190000089 KNUCKLE, PLASTIC w/BOLT OBS use 90400007BE 0.00
96190000090 LANCE CLIP, REPLACEMENT OBS use 90400008BE 0.00
96190000091 STRAINER FOR 3" WP OBS USE 90550003BE 0.00
96190000092 STRAINER, 2" TRASH PUMP OBS use 90850018BE 0.00
96190000093 STRAINER, 3" TRASH PUMP OBS use 90650013BE 0.00
96190000094 STRAINER FOR 4" WP OBS use 90450005BE 0.00
96190000095 UNLOADER, PW2700 OBS use 90400020BE 0.00
96190000096 UNLOADER, PW3000 & PW4000 OBS use 90600009B 0.00
96190000099 SIDE HANDLE, H-STYLE GUN OBS use 90400032BE 0.00
96190000101 NYLON ROTATING BRUSH, PW2700 27.98
96190000114 BEAR CAT GUN ASSY, COMPLETE - OBS use 90500010 0.00
96190000115 BEAR CAT LANCE 1000MM ADJ YLG05A - OBS use 90 0.00
96190000116 BEAR CAT ADAPTER, MALE GARDEN HOSE OBS use 9 0.00
96190000122 GREY RUBBER FOOT OBS use 90400009BE 0.00
96190000124 BEAR CAT TURBO LANCE - OBS use 90500001BE 0.00
96190000125 BEAR CAT HOSE, 20FT Q/C - OBS use 90500003BE 0.00
96190000154 KIT, BEARCAT PARTS PACKAGE OBSOLETE 0.00
96190000156 PUMP, COMPLETE AR RRV4G42 OBS USE 90350014B 0.00
96190000163 SOAPER NOZZLE, #2.5 3.98
96190000164 0 DEG NOZZLE OBSOLETE 0.00
96190000165 15 DEG NOZZLE 6.00
96190000166 40 DEG NOZZLE 6.00
96190000167 SOAPER NOZZLE, #3.0 5.98
96190000168 0 DEG NOZZLE 6.00
96190000169 15 DEG NOZZLE 6.00
96190000171 40 DEG NOZZLE 6.00
96190000172 0 DEG NOZZLE 6.00
96190000173 15 DEG NOZZLE 6.00
96190000174 40 DEG NOZZLE 6.00
96190000175 AL13 GUN/WAND ASSEMBLY 92.98
96190000179 3/8” X 30 FOOT HOSE 87.00
96190000180 Kit, Replacement Nozzles, #3.0 15.98
96190000181 Kit, Replacement Nozzles, #2.5 15.98
96190000182 Kit, Replacement Nozzles, #3.5 15.98

Bear Cat -2022 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23

Billygoat -6-1-21 Price List
Educational Services Commission of New Jersey 

NJ State Approved Co-op #65MCESCCPS Grounds Equipment - Bid #ESCNJ 18/19-25

Bid Term: 2/22/19 - 2/21/21; Extended to 2/21/22; Extended to 2/21/23


	Bear Cat Accessories Price List 2021
	Accessories

	Bear Cat Parts Price List 2021
	Parts




